10 ASSORTMENTS

Assortments

SECTION PAGE NO.

Fasteners 10-1-1 to 100

Electrical 10-2-1 to 12

Shop Supplies 10-4-1to 2

Abrasives 10-5-1to0 2

Cutting Tools 10-6-1 to 4

Fluid Power 10-7-1to 12

Automotive 10-8-1t0 16

Security 10-9-1to 2

Organization 10-10-1to 8

TABLE OF CONTENTS

1 FASTENERS HEX HEAD CAP SCREW GRADE 5

ALL THREAD ROD — COARSE & FINE 1/4-1/2. ..o 10-1-5
— B7 YELLOW ZINC 1/4-1" X 3" . e 10-1-23 — COARSE 1/4-1/2 . oo 10-1-4
— GRADE2ZINC 1/4-3/4X 3" ... 10-1-23 — COARSE 7/16-1/2. 1o 10-1-3

ANCHORS — COARSE 9/16-3/4 .ot 10-1-6
— BANTAM PLUGS W/ SMALL PLASTICBOX ..........ou.... 10-1-92 —FINET/4-1/2. 10-1-6
— CONCRETE SCREWS PHILLIPSFLAT ..o 10-1-99 —FINE1/4-3/8. e 10-1-6
— CONCRETE SCREWS SLOTTED HEX WASHER.............. 10-1-97 —FINEO/16-3/4 ..o 10-1-6
— CONCRETE SCREWS SLOTTED HEX WASHER & FLAT PHIL W/BITS 10-1-97 HEX HEAD CAP SCREW GRADE 5 USA
— EXPANSION & LAG SHIELD. ... eveee i 10-1-96 — COARSE 1/4-1/2 ..ot 10-1-3
— EXPANSIONSHIELD ...ttt 10-1-96 —COARSE1/4-3/4 . ..o 10-1-2
— HAMMER SCREW — COARSE 1/4-3/8 ... oo 10-1-3
— HOLLOW WALL — COARSE 1/4-5/8 . . o oo 10-1-1
— MACHINE SCREW — COARSE 7/16-1/2 .« oo 10-1-1
— MUNGO ..... FINE 1/A5/8 oo 10-1-2
— NAILIN STYLE HEX HEAD CAP SCREW GRADE 8
— PLASTIC PLUG & CONICAL. ... 10-1-93 — COARSE & FINE 1/4-1/2. ...t 10-1-15
—PLASTICPLUGS. ..o 10-1-92 — COARSE 1/4-1/2
— PLASTIC RIBBED CONICALW/SCREWS.................... 10-1-92 —COARSE1/4-1" ..
— SECURITY PICTUREHANGERS ..o 10-1-92 — COARSE 1/4-3/4
—TOGGLEBOLT ..ot 10-1-94 — COARSE 1/4-3/8
TOGGLERS. ... e 10-1-93 — COARSE 9/16-3/4. .ottt 10-1-13
— WALLHANGER. ... 10-1-94 HEXHEAD CAP SCREW GRADE 8 USA
— WALLBOARD .....ooitiii e 10-1-95 — COARSE 1/4-3/4 ...t 10-1-8
— WALLBOARD & SCREWS ......oeveeeeeiieieeieei 10-1-95 = COARSE 1/A-5/8. .ottt 10-17
— WALLDOG™ SCREW . ..o 10-1-95 — COARSE 7/16-1/2. .o 10-1-7
—WEDGE ... 10-1-99 —FINE1/A-1/2. 10-1-9

CARRIAGE BOLTS —FINET/4-3/8. . e 10-1-9
— CARRIAGE GRADE2 ZINC 1/4-5/16 .. ..o 10-1-22 —FINEV/A-5/8... 10-1-10
— CARRIAGE GRADE 5 ZINC 1/4-3/8 . ..o 10-1-23 FINEQ/163/4 1ttt 10-1-9
— GRADE2 ZINCU/4-1/2 e 10-1-22 — MASTERBOLTSETUP ..o 10-1-11

CHAIN & CABLE HEX HEAD CAP SCREW METRIC 10.9
— CHAIN LINKS et 10-1-100 — ANSICLASS 109 M12-M14METRIC........ooovviiiiinnnt 10-1-62
— ROLLER CHAIN REPAIRLINKS .. ..o 10-1-100 — ANSICLASS 109M6-M10 ..o 10-1-62

DRYWALL SCREWS — FINECLASS 109MI2-M14. ... 10-1-62
— DRYWALL COARSEBLACK ...t 10-1-38 —M10COARSE&FINE. ..ot 10-1-61
— PARTICLEBOARD .. ...\t eee e 10-1-38 — M12 COARSE & FINE. ...t tieeiieeieeie e 10-1-60

HEX HEAD CAP SCREW BRASS — COARSE 1/4-3/8 .......c.cv... 10-1-72 T MI2-MT6. 10-1-60

Copyright © 2023
1-23 P Page 1



TABLE OF CONTENTS

T MI2-MI6 ZINC ..o 10-1-61

— M14 METRICCOARSE&FINE ......cooooiiiiiii s 10-1-60

—ME-MIOZINC. ..o 10-1-59

— M6-M8 ZINC COARSE&FINE. ..ot 10-1-59

—M8-MIOZINCFINE......oooiiiiii i 10-1-60
HEX HEAD CAP SCREW METRIC 10.9 USA — M6-M16 ANSI ....... 10-1-59
HEX HEAD CAP SCREW METRIC 8.8

—ANSIME-MT0 ...

T MA-MEZINC. ..

— M5-M10 YELLOW ZINC

—M5-MIOZINC ..o

— M5-M12 YELLOW ZINC

— M6-M10 YELLOW ZINC
HEX HEAD CAP SCREW METRIC STAINLESS

— M6-MTO A2 STAINLESS. ... 10-1-86

— M6-MTO A4 STAINLESS. ....oooiiii i 10-1-86
HEX HEAD CAP SCREWS METRIC 8.8

—ANSIM5-MT0ZINC ... 10-1-56

—ANSIM5-M12ZINC ... 10-1-57

—FINEM8-M14ZINC......ooiiiiiiii i 10-1-55

T M5-MI2ZINC . 10-1-56

—ME-MIOZINC. ..ot 10-1-55

—M7-MBZINC .. 10-1-55
HEX HEAD CAP SCREWS STAINLESS

— 18-8SSCOARSE 1/4-3/8 ..ot 10-1-71

— 18-8SSSSCOARSE 1/4-1/2 «.oovviiii i 10-1-71

— 316 SSCOARSE 1/4-1/2 oo 10-1-71

— 316 SSCOARSE 1/4-3/8 ..ot 10-1-71

— M5-MT12 A2 STAINLESS.....cooii i 10-1-86
KEYSTOCK

—SQUARE ZINC 1/2-1" i 10-1-53

—SQUAREZINC1/8-1/2 . .iiiiiiiii i 10-1-53
KEYSTOCK METRIC STAINLESS

—A8-8SS1/8-1/2 e 10-1-88

—18-85S9/16-7/8 oot 10-1-88
LAGSCREWS — 1/4-3/8 ...t 10-1-22
MACHINE SCREW METRIC

— PHILLIPS FLAT ZINCM3-M8.......coiiiiiiiii s 10-1-68

— PHILLIPSOVALZINCM3-M8 ..ot 10-1-68

— PHILLIPSPANZINCM4-M8 ........cooiiiiiiiiiiiinn 10-1-67
MACHINE SCREW METRIC STAINLESS

— PHILLIPS PAN A2 STAINLESSM2-M8 ...............oounnt 10-1-88

— PHILLIPS PAN A2 STAINLESSM3-M6 ............covnnnt 10-1-88
MACHINE SCREWS

— COMBOROUND ZINCH#6-1/4. ...

— PHILLIPS FLAT ZINC#6-5/16 . ....covviiiiiiiii i

—PHILLIPSPANHEAD ...t

— PHILLIPSPAN ZINC#10-1/4 ......oooiiiiiiii s

— PHILLIPS PAN ZINC#4-#10.......oooiiiiiiiii i

— PHILLIPSPAN ZINC#6-#10.......oooiiiiiiiiiii i

— PHILLIPSPAN ZINC#6-1/4 ........cooiiiiiiiiii i

— PHILLIPS ROUND ZINC /NUTS #6-1/4

— SLOTTED FLAT ZINCH#6-1/4 . ...

— SLOTTED INDENTED HEX WASHER ZINC #8-#10........... 10-1-28
— SLOTTEDPAN ZINCH#6-T/4 ...t 10-1-27
— SLOTTED ROUND ZINCH#6-1/4 .....coooiiiiiiii i 10-1-26
— SLOTTED ROUND ZINCW/NUTS #6-1/4 .............oo..t 10-1-26
— SLOTTED TRUSS ZINC#6-1/4. . ...cooviiiiiiii i 10-1-27

MACHINE SCREWS METRIC — JIS PHILLIPS PAN ZINC M3-M6...10-1-68
MACHINE SCREWS STAINLESS

— PHILLIPS FLAT 18-8SS STAINLESS #6-1/4 .................. 10-1-76
— PHILLIPS OVAL 18-8SS STAINLESS #6-1/4.................. 10-1-75
— PHILLIPS PAN STAINLESS #4-1/4 ...t 10-1-75
— PHILLIPS ROUND 18-8SS STAINLESS #4-#10............... 10-1-75
— SLOTTED FLAT 18-8SS STAINLESS #6-1/4..................
— SLOTTED PAN 18-8SS STAINLESS #4-1/4............
— SLOTTED ROUND 18-8SS STAINLESS #6-1/4
MACHINERY BUSHINGS
—NARROW ... 10-1-52
T WIDE L 10-1-52
MAXGRIP PLUS
— CABINET CAPSCREWS. ...coiiiiiii i 10-1-37
— CONSTRUCTION. ...t 10-1-37
—UNIVERSAL ... 10-1-37
METRICJIS HEXHEAD CAP SCREWS
—JISCLASS88W/BIN ...t 10-1-63
— JISHEX FLANGE ZINCM6-M10......oooiiiiiii s 10-1-63
— JISM5-M10 CLASS8.8&10.9.....cooiiiiiiiiiii i 10-1-64
— JISM5-M12 CLASS 8.8 &10.9.....cooviiiiiiiiii s 10-1-64
— JISM6-MT0 CLASS8.8ZINC......cooiiiiiiiiii i 10-1-63
—JISM6-M12 CLASS 8.8, ...ttt 10-1-65
— JISM8-M12CLASS8.8ZINC.......cooiiiiiiiiii i 10-1-63
NUT METRIC
— METRIC HEX FLANGE TENSILOCK & JIS M4-M10........... 10-1-69
— METRICNUTS, FW, LW & EXT TOOTH LOCKS M6-M12...... 10-1-68

— METRIC NYLON INSERT LOCKING M3-M18
NUT STAINLESS

— COUPLING STAINLESS 1/4-1. ..ot 10-1-77
— HEX NUTS, FW, LW, EXT TOOTH LW SS #6-1/4 ............. 10-1-77
— NYLON INSERT LOCKNUT COARSE & FINE SS #10-3/4...... 10-1-77
— WING STAINLESS #6-1/2 ..o 10-1-77
NUTS
— CAP NICKELPLATED #6-3/8......cooviiiiiiiiiiins 10-1-41
— COUPLING ZINCH#10-T" ..t 10-1-41
— FLEXLOCK COARSE PLAIN #10-1/2. ... 10-1-40
— HEX FLANGE LOCK COARSE PLAIN 1/4-3/4 ................ 10-1-40
— HEXJAM COARSE ZINC 1/4-1". ...ooii i 10-1-39
— HEXJAMFINE ZINC 1/4-1" ..o 10-1-39
— HEX NUTS COARSE & WASHERS ZINC #4-1/4 .............. 10-1-38
— HEX NUTS GR5 COARSE & FINE ZINC 1/4-3/4.............. 10-1-38
— HEX NUTS, KEP NUTS, FW, LW WASHERS ZINC #6-1/4 ..... 10-1-39
— HEX SLOTTED COARSE & FINEZINC 1/4-3/4 ............... 10-1-39
— KEP COARSE ZINC#4-3/8 ......oiiiiiiiiiiiii i 10-1-40

— NYLON INSERT LOCKING COARSE & FINE ZINC #10-3/4....10-1-41
— NYLON INSERT LOCKING GR 8 COARSE & FINE YZ 1/4-1" ..10-1-40
— PREVAILING TORQUE GR 8 COARSE & FINE CADMIUM 1/4-1"..10-1-41

Copyright © 2023

Page 2



TABLE OF CONTENTS

TEEH#63/8 1ot 10-1-42 SELF DRILLING SCREW (TEK)
—WINGNUTS ZINC .t 10-1-42 — HEX & PHILLIPS PAN ZINC #6-1/4 ...\, 10-1-35
NUTSERTS — HEXHEAD ZINCH#6-1/4. . ...t 10-1-35
— #6-3/8 W/MANDRELSAND TOOL ....covviiiiiiiiinneen 10-1-91 — PHILLIPS FLAT ZINC#6-1/4. ..o i 10-1-34
— RIVET NUTS INCH & METRICW/TOOL ...t 10-1-91 — PHILLIPS MODIFIED TRUSS ZINC #8-$10 ......ovuunenen 10-1-34
— RIVETNUTS METRICW/TOOL ..oviviiiiiiiiiaiiiians 10-1-91 — PHILLIPS PAN ZINC & BLACK #6-#10.........uveeeenen.n. 10-1-34
PINS — SELF-HEXHEAD ZINC#6-1/4.......cooiiiiiiiiiiiis 10-1-34
— ALLOY STEELDOWEL 1/8-3/8 . .cevvviiiiiiiiiiiiiee 10-1-46 SELF DRILLING SCREW (TEK) STAINLESS
= BRIDGE .. 10-1-45 — HEX &PHILLIPS PAN#6-1/4 .. ..ot 10-1-79
— CLEVIS ADJUSTABLE & STANDARD ZINC 3/16-5/8........... 10-1-49 — HEXHEAD #6-1/4 ...t 10-1-79
— CLEVIS STANDARD ZINC3/16-1/2 ..o ocovviiiii e 10-1-48 — PHILLIPS FLAT#8-#14. .. ..ottt 10-1-79
—COILED 3/32-3/4 . i 10-1-48 — PHILLIPS PAN#6-T/4 . ... oot 10-1-79
— COTTER HAMMERLOCK ZINC 1/16-3/16 .. ... 10-1-46 SELF DRILLING SCREW (TEK) USA
— COTTER HAMMERLOCK ZINC 1/16-5/32 .. ..o 10-1-45 — HEX HEAD CRIMPTITE ZINC#8-1/4. ...t 10-1-33
— SPLITPLAIN T/16-1/4. ..ot 10-1-48 — HEXHEAD ZINCH#8-1/4. . ..o 10-1-33
— SPLITPLAINZINC1/16-1/2 . e oo 10-1-47 SELF TAPPING SCREW (SMS)
— SPLITZINC 1/16-1/8 .o 10-1-47 — BLACK AUTOMOTIVE TRIM APPLICATIONS ............... 10-1-28
— SPLIT ZINC 5/32-1/4. ..10-1-47 — CHROME & ZINC-PLATED AUTOMOTIVE TRIM APPLICATIONS 10-1-29
—TAPER#O-#8 ... i 10-1-49 — COMBOPAN ZINCH#6-1/4 ..oovviiiiiiiiiiii i 10-1-31
PINS METRIC — COTTER ZINC EXT. PRONGM1-M5 .............. 10-1-70 — COMBO PAN ZINCH#8-1/4. ..o 10-1-31
PINS STAINLESS — PHILLIPS FLAT ZINC #4-#12 ...t 10-1-31
—CLEVIS3/16-3/8. ..o 10-1-84 — PHILLIPS FLAT ZINC#8-1/4. . ...t 10-1-30
— COTTEREXTENDED PRONG .......covvviiiiiiiiiiiinnens 10-1-84 — PHILLIPS OVAL BLACK AUTOMOTIVE TRIM APPLICATION. 10-1-28
—DOWEL1/16-1/4 ..o 10-1-85 — PHILLIPS OVAL BLACK STANDARD & METRIC ............. 10-1-30
= SPLIT 1161/ 4 e 10-1-84 — PHILLIPS OVAL CHROME #4-#10 . ... 10-1-30
RETAINERS — PHILLIPS OVAL ZINC#4-#12. ... oii i 10-1-30
— HITCH, BRIDGE & E-CLIPS ......cooiiiiiiiiii 10-1-51 — PHILLIPSPAN ZINC#6-1/4 .....oooiiiiiiiiiiiiiiiiies 10-1-29
— RETAINING CRIMP STYLES5/32-3/4 .....oooiiiiiiin 10-1-51 — PHILLIPSPAN ZINC#8-1/4 ....iiiiiiiiiiiii i 10-1-29
— RETAINING RINGS E-STYLE 1/8-1" ...t 10-1-50 — SLOTED FLAT ZINC#4-1/4. ..o 10-1-32
— RETAINING RINGS E-STYLE 3/32-1". ... 10-1-50 — SLOTTED HEX WASHER ZINC #6-1/4.. ... 10-1-33
— RETAINING RINGS EXTERNAL 1/4-2" ......cooviiiviinnen. 10-1-50 — SLOTTED PANZINCH#4-1/4 .. ..coviiii i 10-1-32
— RETAINING RINGS EXTERNAL 1/8-1" ... 10-1-50 — SQUARE PAN ZINCH#6-#10 .....oviiiiiiiiiiiiiiinn 10-1-33
— RETAINING RINGS INT, EXT & E-STYLE3/16-17/8........... 10-1-51 SHAFT COLLARS — STAINLESS 1/4-2" ....oiuiiiiiiiiiiiiins 10-1-52
— RETAINING RINGS INTERNAL & EXTERNAL 1/4-1 .......... 10-1-51 SOCKET PRODUCTS
— RETAINING RINGS INTERNAL 1/4-15/16.......coovvvnnnnn 10-1-49 — BUTTON HEAD SOCKET CAP #4-5/16...........ccovvvvnnnn 10-1-20
— RETAINING RINGS INTERNAL 7/16-13/4.....ccovvivnnn.n. 10-1-49 — FLAT HD SOCKET CAP SCREWS FINE #10-1/2.............. 10-1-21
RETAINERS METRIC — FLAT HEAD SOCKET CAP COARSE #6-1/2
— RETAINING RINGS E-STYLE M1.2-M24..... ..10-1-70 — SOCKET CAP COARSE #6-#10 .
— RETAINING RINGS EXTERNALM3-M30........covvvvnnen 10-1-70 — SOCKETCAP COARSE 1/4-1/2 oo
— RETAINING RINGS INTERNALM8-M30 ........covevnnnnn. 10-1-70 — SOCKET CAPCOARSE 1/4-3/8 oo
RETAINERS STAINLESS — SOCKET CAP FINE #6-#10 ... e it
— RETAINING E-STYLE5/32-3/4.......coooiiiiiiiiis 10-1-85 — SOCKETCAPFINE1/4-3/8 ... .oiiiii i
— RETAINING RINGS E-STYLEM3.2-M12.........coovivnnnen 10-1-89 — SOCKET SET SCREWS CUP POINT #4-1/4
— RETAINING RINGS EXTERNAL 1/4-2 ....oooviiiiiiiinnen 10-1-85 — SOCKET SET SCREWS CUP POINT COARSE #4-3/8 ......... 10-1-21
— RETAINING RINGS INTERNAL 1/4-2. . ..o 10-1-85 — SOCKET SET SCREWS CUP POINT FINE #10-3/8............ 10-1-21
RIVETS — SQUARE HEAD SET SCREW 1/4-1/2. .. 10-1-22
— ALUMINUM/STEEL1/8-1/4 ....oooiviiiiiii i 10-1-90 SOCKET PRODUCTS METRIC
— ALUMINUM 1/8-3/16 . oo 10-1-90 — BUTTON HD SOCKET CAP SCREWS 109 M3-M8........... 10-1-67
— STAINLESS / STEEL 1/8-3/16 . . e 10-1-90 — FLAT HD SOCKET CAP SCREWS M4-M8 .........c.ovvuunn. 10-1-67
— STAINLESS 1/8-3/16 . oo 10-1-91 — SOCKET CAP SCREWS CLASS 129 M4-M12................ 10-1-65
— STEEL 1/8-3/16. ..ot 10-1-90 — SOCKET CAP SCREWS CLASS 129 M4-M8................. 10-1-65
RIVETS USA — SOCKET CAP SCREWS CLASS 129 M8-M12................ 10-1-66
/8316 10-1-89 — SOCKET CAP SCREWS CLASS 8.8 ZINC M3-M6 ............ 10-1-66
— ALUMINUM 1/8-3/16 . ...t 10-1-89 — SOCKET CAP SCREWS CLASS 8.8 ZINCM4-M8 ............ 10-1-66
Copyright © 2023

Page 3



TABLE OF CONTENTS

— SOCKET SET SCREWS CUP POINTM3-M10 ................ 10-1-67
SOCKET PRODUCTS METRIC STAINLESS

— BUTTON HEAD SOCKET CAP SCREWS A2 M3-M8 ......... 10-1-87

— FLAT HEAD SOCKET CAP SCREWS A2 M8-M16 ............ 10-1-87

— SOCKET CAP SCREWS A2 M2-M6 .......covvvnniiiiiinnn, 10-1-86

— SOCKET CAP SCREWS A2 M8-M24 ............oooiiiiinnn. 10-1-87

— SOCKET SET SCREWS CUP POINT A2 M3-M10............. 10-1-87

SOCKET PRODUCTS STAINLESS
— BUTTON SOCKET CAP COARSE 18-8SS #6-1/2
— FLAT HD SOCKET CAP FINE 18-8SS #10-3/8................

— PHILLIPSPAN#4-1/4 .....oooiiiiii i 10-1-80

— PHILLIPS TRUSS #6-1/4. ... 10-1-80

—SQUAREOVAL#6-1/4 .....coiiiiiiiiii i 10-1-81

— SQUAREPAN#6-1/4. ..o 10-1-80
THREAD REPAIR

— KEENSERT METRIC THINWALL M6-M12 ............euee 10-1-53

— KEENSERT THICKWALL 1/4-1/2 .. ..ooooiiiiiii 10-1-52
WASHERS

— CASE HARDENED BLACK 3/16-1"
—FENDERZINC3/16-3/8 . ..oviiiiiiii i

— SOCKET CAP SCREWS 18-855 #6-3/8 .......uovvevnnnnn.. — FLAT “AN" TYPE STAINLESS #6-1" . .......ovieinnennnnn. 10-1-43

— SOCKET CAP SCREWS 18-85S COARSE #6-1/2 — FLATUSS ZINC#10-1" ..ottt e 10-1-42

— SOCKET CAP SCREWS 18-85S COARSE #6-1/2 — LOCK, FLAT USS & SAE ZINC #10-1/2. ... 10-1-43

— SOCKET CAP SCREWS 18-855 COARSE 1/4-1/2............. 10-1-72 — TOOTH INTERNAL & EXTERNAL ZINC #6-1/2 .............. 10-1-43

— SOCKET CAP SCREWS COARSE #4-#10 .................... 10-1-72 — UNIFIT YELLOW ZINC 1/4-3/4 ... 10-1-43

— SOCKET SET SCREWS CUP POINT 18-855 #6-3/8 .......... 10-174 WASHERS METRIC — FENDERZINC M4-M12 .................... 10-1-69

— SOCKET SET SCREWS CUP POINT 18-8SS FINE 1/4-3/8.....10-1-74 WASHERS STAINLESS

— SOCKET SET SCREWS CUP POINT COARSE 18-855 1/4-5/8 .10-1-74 — FENDER 18-855 1/4-1/2. . ... 10-1-78
SOCKET PRODUCTS USA — FLAT 31655 1/4-T ...t 10-1-78

— BUTTON HD SOCKET CAP COARSE #4-3/8................. 10-1-16 —LOCK 31655 1/4-T 1 veeieee e 10-1-78

— BUTTON HEAD SOCKET CAP FINE #6-3/8 ........vvevenn.. 10-1-17 — TOOTH INTERNAL & EXTERNAL 410SS #6-1/2.. ... ....... 10-1-78

— FLAT HEAD SOCKET CAP COARSE #6-1/2 ...vvvevennn... 10-1-17 WOOD SCREWS

— FLAT HEAD SOCKET CAP FINE#6-1/2 .....ovevvinennn. 10-1-17 — PHILLIPS FLAT ZINC#6-#12 .....ovvei e 10-1-36

— SHOULDER SCREW 1/4-1/2. ..o 10-1-18 — SLOTTED FLAT BRASS #6-#12 .. .\vieiaieieiaiannnss 10-1-36

— SOCKET CAP COARSE #6-#10 .. .\viieraiiieieinennnns 10-1-15 — SLOTTED FLAT ZINC #4-#12. ... 10-1-36

— SOCKET CAP COARSE 1/4-1/2 ..o 10-1-16 WOODRUFF KEYS

— SOCKET CAP COARSE 1/4-3/8 ... 10-1-15 — WOODRUFF KEY 3/8-1.1/4. ... 10-1-54

— SOCKET CAP FINE #6-#10 — WOODRUFF KEY M2.5-M10 ... .vovsinaieienaieennns. 10-1-54

— SOCKET CAP FINE 1/4-3/8

— SOCKET SET CUP POINT COARSE #6-3/8 .......vuennn. 2 ELECTRICAL

— SOCKET SET SCREW CUP POINT FINE #10-3/8 AUTOMOTIVE & FLEET

— SOCKET SET SCREW KNURLED POINT COARSE #6-3/8......10-1-18 — BATTERY TERMINALS ... .o 10-2-6
SPRINGS — MINIATURE-AUTOMOTIVE ...\t iviveiiiaieieieieeene 1027

— COMPRESSION SPRING .. ...\ 10-1-53 FUSE & BREAKER

— EXTENSION SPRING .. ..ovviieiieiiee e 10-1-54 — BLADE TYPE (ATO/ATC &MINI). ....vovieireiiiaieennn 10-2-7
TAMPER RESISTANT MACHINE SCREWS — GLASS AGC & SFE. .. tutiniieiiei e 10-2-8

— BUTTON HEAD HEX PIN IN STAINLESS .....vvviveen 10-1-81 — MCASEPLUS™ ...ttt e 10-2-8

— BUTTON HEAD TORX PIN IN STAINLESS. ... ..vuvvennnn.. 10-1-81 HEAT SHRINK TUBING

— FLAT HEAD SPANNER STAINLESS .....vvvieiinennnss 10-1-82 o BLACK e 10-2-9

— FLAT HEAD TORX PIN IN STAINLESS ..., 10-1-82 — HEAVY DUTY L.ttt 10-2-9

— PAN HEAD SPANNER STAINLESS ......\vieiieiinannnnss 10-1-82 TERMINAL & CONNECTOR

— ROUND HEAD ONE WAY STAINLESS .....ovvivrinnnnnss 10-1-81 — BATTERY LUGS AND SPLICES HEAVY DUTY ............... 10-2-6
TAMPER RESISTANT TAPPING SCREWS (SMS) — BATTERY LUGS AND SPLICES HEAVY DUTY ............... 10-2-6

— BUTTON HEAD HEX PIN IN STAINLESS ... ... 10-1-82 COPPER. ..ttt 10-2-5

— BUTTON HEAD TORX PIN IN STAINLESS. ......ovvvvennnn. 10-1-83 — CRIMP &SHRINK. ...\ttt 10-2-3

— FLAT HEAD TORX PIN IN STAINLESS ......0vivvinnnnnss 10-1-83 — CRIMP SOLDERSEAL ...\ovivviiieeiiiaieieieieeeaes 10-2-4

— PAN HEAD SPANNER STAINLESS .........uvvinrinnnns. 10-1-83 — DEUTSCH-=DTM ...ttt

— ROUND HEAD ONE WAY STAINLESS .......vvvnrninnnnnns. 10-1-83 — HEAT SEAL CRIMP
TAP BOLTS — INSULATED........

— HEX FLANGE & LOCKING FLANGE NUT GR8 1/4-1/2........ 10-1-23 — METRIFPACK 280, ...\t ieiei e

— HEXTAP GRS ZINC 1/4-1/2. ... 10-1-23 — NONINSULATED BRAZED BARREL (1/0-4/0) .............. 10-2-6
TAPPING SCREWS (SMS) STAINLESS — NYLON INSULATED TERMINALS ....ovvivriinnennnnss 10-2-2

— PHILLIPS OVAL #8-T/4. ..o e eieeieieeieeeeieean 10-1-80 OPTI-SEAL ..ttt 10-2-3

Copyright © 2023

Page 4



TABLE OF CONTENTS

— SOLDERSHRINK ... 10-2-3 7 FLUID POWER
— SOLDERLESSHEAT SHRINK ... .oiiiiei e 10-2-2 BRASS FITTING
— SOLDERLESS NYLON INSULATED BLUE (14-16 GA.)......... 10-2-1 — BARB BRASS ..t 10-7-1
— SOLDERLESS NYLON INSULATED RED (18-22 GA)).......... 10-2-1 — BRASS BARB-TITE 1/4-5/16 .. ..o v i 10-7-1
— SOLDERLESS NYLON INSULATED W/TOOLS .............. 10-2-2 — BRASSBARB-TITE3/8-1/2 ... 10-7-1
— SOLDERLESS NYLON INSULATED YELLOW (12-10 GA)) ....10-2-1 —BRASS NPT (1/8-3/8) ..\ vvieeieeeeeeeeeaaans 10-7-1
— ULTRA TUFF W/MULTI-STUDRING. ... 10-2-1 — BRASS PIPE COUPLINGS & ADAPTERS. ......evvivinnans 10-7-2
— WEATHER-PACK ..... .ot 10-2-5 — BRASS PIPE VALVES & ADAPTERS ......cviniiiiiniannn 10-7-2
— WIRE CONNECTORS (WIRENUTS)....ovvvviiiiiiiiiiiien 10-2-4 — BRASS PLUG, ELBOW, BUSHING, COUPLING ......cvvenn.s 10-7-2
TOOLS — ELECTRICALTOOLS. ..o 10-2-11 BRASS NICKEL PLATED
WIRE MANAGEMENT —PUSH-ON ..o
— GROMMETS RUBBER(INCH) .......oovvviiiiiin 10-2-10 — UNIVERSAL THREAD 1/2" NICKEL PLATED BRASS
WIRE MANAGEMENT — UNIVERSAL THREAD 1/4” NICKEL PLATED BRASS
— GROMMETS RUBBER (METRIC). ... oveveieiieieiennns 10-2-10 — UNIVERSAL THREAD 1/4”, 3/8", 1/2" NICKEL PLATED BRASS. .10-7-3
—WIRETIES -BLACK.....ouiiiiiiiiiiiiiiiie s 10-2-10 — UNIVERSAL THREAD 3/8” NICKEL PLATED BRASS ......... 10-7-3
— WIRETIES 7" FLUORESCENT COLORS .........ooiiiiiiit, 10-2-10 — UNIVERSAL THREAD M10 NICKEL PLATED BRASS........... 10-7-4
— WIRETIES TY-RAPS® - BLACK. ..o 10-2-9 — UNIVERSAL THREAD M12 NICKEL PLATED BRASS............ 10-7-4
— UNIVERSAL THREAD M6 NICKEL PLATED BRASS............ 10-7-4
4 SHOP-SUPPLIES CAPS & PLUGS
HAND TOOLS — HYDRAULICFITTINGS .. 10-7-10
—HEXBITS/DRIVERS. ... 10-4-1 — HYDRAULIC SERVICEPLUGS ...t eeeiieeeiiiie e 10-7-11
— HEX KEY WRENCHES - IMPORT (METRIC) ................. 10-4-1 — THREADED CAPS &PLUGS ....iviiiiiiiiiiiiiiiiinannnns 10-7-10
—POWERBITS ...ttt 10-4-1 D.O.T.FITTING
— TAMPER RESISTANT INSERT BITS........oooviiiiiiiint 10-4-2 — D.O.T. PLASTIC PUSH-TO-CONNECT ......ccoveeiiiiinnn.n 10-7-5
HAND TOOLS USA — HEX KEY WRENCHES...................... 10-4-1 — D.O.T.PUSH-ONBRASS ...\ttt 10-7-5
5 ABRASIVES — D.OT.PUSH-ON BRASSTO 1/2" ... 10-7-5
FLAP DISC FITTINGS — MEGACRIMP MALEPIPE ........cooviiiiiiiniinnnn 10-7-7
—TYPE27SHOPPRO .. ..ottt 10-5-1 FLUID POWER — HYDRAULIC HOSE PROTECTOR ............... 10-7-11
—TYPE29SHOPPRO ...t 10-5-1 O-RINGS
T TYPE 27 o 10-5-2 — BUNA ‘N’ LARGE (METRIC) .. vvvvvviiiiiiieiiieeeeeaanans 10-7-9
QUICK CHANGE — SURFACE CONDITIONING CLEAN & STRIP ...10-5-2 —BUNATZO(1/16) . ettt et
—BUNA 70 (1/8) ettt et e
6 CUTTING-TOOLS —BUNA70(3/32) ...........
DRILL BITS — BUNA 70 (GENERAL)
— MECHANICS LENGTH SHOPPRO 1/16-9/32 ............... 10-6-3 —BUNA 9O (3/32) 'ttt e
— MECHANICS LENGTH SHOPPRO 19/64-1/2 ................ 10-6-4 — HYDRAULIC ..
FILES — BLACKMAXI-SHARP. ... 10-6-4 VITON (178) v
HOLE SAWS —VITON (3/32) 1 ettt
—BI-METAL (3/4-1-1/4) ..o 10-6-3 — VITON (GENERAL) ..ottt
—BI-METAL (3/4-3) ..o 10-6-3 PUSH TO CONNECT FITTING —METRIC......oovviiiiiaenienns 10-7-5
— HOLE SAWS CT7 (5/8 - 1-1/2) « e e e e 10-6-3 STEEL & MALLEABLE
RECIPROCATING BLADES — BOSSAND FLATFACE. . ...iiiiiiiii i 10-7-6
— ALLPURPOSESET ...t 10-6-2 — CAPS&PLUGS (JIQ) ettt e 10-7-6
— DEMOLITIONSET ...ttt 10-6-2 — FLAT FACE O-RING CAPS &PLUGS .....ovvviiiiiiiiiinnnn 10-7-6
—FIRE+RESCUESET. ... 10-6-2 — HYDRAULIC CAPS &PLUGS ...\ 10-7-6
—METALCUTTING SET ... 10-6-2 — JICTOMALEPIPEELBOW ....vviiiiiiiiiieiiieeeieeaenans 10-7-7
— RECIPROCATING BLADES ..ottt 10-6-1 — MALEJICTOMALEPIPE. ...0intiiieie e 10-7-7
— RECIPROCATING BLADES SHOP PRO GENERAL MAINTAINANCE 10-6-1 — STEEL PIPE ADAPTERS ...\ttt 10-7-7
— WOOD CUTTING SET .t eiteieeeie et eeeeee e 10-6-1
WOOD BORINGBITS — 1/4=1-1/2 et 10-6-4
Copyright © 2023

Page 5




TABLE OF CONTENTS

8 AUTOMOTIVE HOSE CLAMPS
AC SERVICE & REPAIR — STEPLESS EAR ..ottt et et et e 10-8-7
— GREEN O-RINGS FOR R-134 REFIGERANT SYSTEMS HOSE CLAMPS — VINYL COATED CLAMPS . .....oiviiiiieeiane 10-8-8
— SERVICE KIT FORD AND GENERAL APPLICATIONS IMPORT AUTO SPECIALTY
AUTO HOSE & TUBING — STARTER / ALTERNATOR PARTS ASIAN .......vvvieinnaen 10-8-11
INYLON ettt 10-8-13 SEALING WASHERS
— VACUUM & FLUID CONNECTORS. ...\ 10-8-13
BODY HARDWARE
— BODY BOLTS - (METRIC) .. vveiiieieieeieaeeeieenen 10-8-6
— BODY CLIPS -DOMESTIC ..\t 10-8-1
—BODY CLIPS = FORD......uiviiieieieieieieieiaeeieienan 10-8-1 STUDS
— BODY CLIPS -FORD F150 TRUCKS. ...\ eeeeiieeeieenas 10-8-1 — DINANDJIS (METRIC) ..o 10-8-13
— BODY CLIPS-FORD F-150 TRUCKS . .......vvinieianenna 10-8-1 —ENGINE. ... 10-8-12
— BODY CLIPS - GM 2-PIECE DOOR/TRIM PANEL RETAINERS 10-8-2 — WHEELINCH (METRIC). ...ttt 10-8-13
— BODY CLIPS-GM TRUCKS ...\ttiieiiiieeeeiiieee e 10-8-2 WHEEL & TIRE
—BODY CLIPS-HONDA. ...ttt 10-8-2 — TIREREPAIRDRAWER. .....ooiiiiiiii i 10-8-12
— BODY CLIPS-JAPANESE .. ...ttt 10-8-3 —TPMSKITS Lo 10-8-12
— BODY CLIPS - LATE MODEL HONDA. ... ...vvannn... 10-8-2 —WHEELNUTS ..ot 10-8-12
— BODY CLIPS - PUSHRETAINERS ..., 10-8-4
—BODY CLIPS = SUBARU ........uoveeieiieiaeiaea 10-8-3 9 SECURITY
— BODY CLIPS - TOYOTA ‘B’ .t eittiiee e eeiiieee e 10-8-3 KEYS — KEY BLANKS - GENERAL DOMESTIC .............ccoe 10-9-1
— BODY CLIPS - TUFLOK RETAINERS ...\t 10-8-3
— HOLE PLUGS - NYLON 10 ORGANIZATIONAL
— NUTS - GROMMET ......... AEROSOL / UTILITY CABINET .....0ovtitieieeeieeiieeeea 10-10-5
— NUTS - SPEED & PUSH AEROSOL CADDY ...utititeteteeetetet et 10-10-5
— NUTS-U&JTYPE(METRIC)....ovvvieeeiiiiiieeeeiinnns 10-8-7 AEROSOL STORAGE CABINET ......ovuiiiiiiiiiiiiiias 10-10-5
— NUTS-U&JTYPENUTS ...ttt 10-8-7 BINBASES. ...
— NUTS (METRIC) .\ttt e et 10-8-4 FASTSERV STORAGE BINS
— RIVETS - AUTOMOTIVEFORD ...t 10-8-4 GRAVITY FEED DISPENSER
— RIVETS - AUTOMOTIVEGM .......oviiniiaianaiannn 10-8-4 HEAVY-DUTY LARGE STORAGE DRAWERS
—RIVETS-NYLON ...t 10-8-5 HINGED DOORSET....oiiiiiiiiiiii e
— RIVETS AND TOOLS - NYLON ... 10-8-5 HYDRAULIC BRAKE LINE STORAGE RACKS ........vvvnininnnn 10-10-7
— RUBBER BUMPERS - AUTOMOTIVE. ... 10-8-6 KEY STOCKRACK. ....oviiiiii e 10-10-6
CLAMPS — POWERGRIP ...ttt 10-8-8 LARGE SLIDE RACKS. .....viiiiiiiii e 10-10-1
DOMESTIC AUTO SPECIALTY LEGS ONLY Lttt ettt ettt ettt 10-10-4
— BULBS MINIATURE AUTOMOTIVE ... 10-8-11 MOBILE CART48BIN ...ttt 10-10-2
— CONNECTORS - VACUUM TEE'S&CAPS ....veeeeiiiann 10-8-10 MOBILE CART CABINET/BIN/DRAWER. ..., 10-10-2
— DRAIN PLUGS & COPPER WASHERS ... . .evvvnennnn... 10-8-10 THREADED ROD RACK ...ttt 10-10-6
— DRAIN PLUGS & COPPER WASHERS (METRIC) ............. 10-8-10 VALVE SHIM STORAGE BOX. .. cuv vttt 10-10-7
— PIGTAILS FORD HARNESS REPAIR...... ..., 10-8-10 WALL MOUNT LIGHTING CABINET ... 10-10-6
— PIGTAILS UNIVERSAL LIGHTING ........ovviviianinennn, 10-8-11 WELDING ROD RACK ...ttt 10-10-5
— SHIMS - ALIGNMENT ZINC PLATED ... 10-8-11 WIRE AND HOSE SPOOL RACKS .......ovviiiiiiiiiiiiiinne 10-10-6
FUEL LINE CONNECTORS ...\ 'ttt 10-8-13 WIRE CADDY & TERMINAL STORAGE ... 10-10-6
GREASE FITTINGS
T UNCH) c e 10-8-14
METRIC) vttt ittt 10-8-15
—INCH&METRIC . ..ttt et 10-8-14
— STAINLESS STEEL (INCH). ... eee et 10-8-15
— STAINLESS STEEL (METRIC) ..\t 10-8-16
Copyright © 2023

Page 6



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 5 USA

Moo

&

I s e

—

716141 (25) 716:14x1-1/2" (20) 7614x2"(15) 716:14x3"(12)
F16922 F1763 F17306 F15845
1/213x1"(20) 12-13x14/2°(12) 1213x2"(12) 1213x3"(10)
F12766 F119702 F118698 FI1331
7/1614(50) 1/213(30) 7/16"(60) 1/230)
F118126 F112342 F13663 F17900
7/16"(60) 1/2"(35)
F15121 F116881

F03269
HEX HEAD CAP SCREW GRADE 5 USA — COARSE
7/16-1/2
W/ METAL DRAWER
391 Pieces MADE IN
XY
USA
Drawer (Empty)
F0143
F03705
HEXHEAD CAP SCREW GRADE 5 USA — COARSE
1/4-5/8
W/2 METAL BINS
2222 pcs MADE R
Contains: Zinc Plated Nuts, US‘A‘

©
[

[
[
[
]

Hex Cap Screws, Flat Washers
& Split Lock Washers

Size Range: 1/4-20, 5/16-18, 3/8-16,
7/16-14,1/2-13,9/16-12 & 5/8-11

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

1/4-20 (100) /4 00} /4 (100) 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-20x1-1/2 (50) 1/4-20x2 (50)
F16299 F17196 F117909 F110366 F19727 F19764 F112785 F112362
/1 100) 5/16 (100) 5/16 (100) 5/16-18x3/4 (50) 516181 (50) 5/16-18x1-1/4 (50) 5/16-18x11/2 (25) 5/16-18x2 (25)
F1271 F19322 F117156 F119802 F112809 F110451 F116365 F112573
Aps Q | fww | fom | fom | fo | Fo
3/816 (100) 38 (100) 3/8 (100) 3/816x3/4 (25) 3/816x1 (25) 3/816x1-1/4 (25) 3/816x1-1/2 (25) 3/816x2 (25)
F117892 F114148 F117001 F116770 F114349 F118164 F13237 F114891
7164 (50) 7716 50 716 (50) 7161431 (12) 7N6:14x14/2 (12) 7N6-14x2 (12) 716-14x2/2 (12) 76143 (12)
F118126 F15121 F16922 F1763 F17306 F113765 F15845

©|3

~
&

©
[

1/2 (50) /213 (12)
F116881 F12766

[
[
[
I

1/213x1/2 (12)
F119702

12132 (12)
F118698

121321/ (12)
F16669

12133 (12)
FI11331

91612 (50)
F113376

®
[
I
I
[
[

96 (50) 96124 (12)
F112247 F113437

96121412 (12)
F12069

9N6-12x2 (12)
F17028

916:122-1/2 (10)
F110163

9/1612x3 (10)
F113154

LN
‘@‘
Y
ng
2%
‘@ sS@

®
I
[
[
[
I

(25) 5/8 (25) 5/8 (25) 5/8-11x1 (10) 5/8-11x1-1/2 (10) 5/8-11x2 (10) 5/8-11x2-1/2 (8) 5/8-113 (8)
F1434 F1713 F13365 F119309 F17364 F112830 F114459 F114234
Copyright © 2023

1011




ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS GRADE 5 USA (CONT.)

F05058 __
HEX HEAD CAP SCREW GRADE 5 USA — COARSE .@é«. @M @m\m @M @M
1/4-3/4 _
1/4-20GR5 (100) /4 (100) 1/4 (100) 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-20x1-1/2 (50) 1/4-20x2 (50)
wl 2 METAL BI Ns F16299 F17196 F117909 F110366 F19727 F19764 F112785 F112362
2337 pcs MADE IN
ins: i USA
Contains: Zinc Plated Nuts, LX)
Hex Cap Screws, Flat Washers 51618 (100) 516 (100) 5/16 (100) 5/1618x3/4 (50) 5/168x1 (50) 5/16-18x1-1/4 (50) 5/16-18x1-1/2 (25) 5/16-18x2 (25)
& Split Lock Washers F1271 F19322 F117156 F119802 F112809 F110451 F116365 F112573
Size Range: 1/4-20,5/16-18,3/8-16, ﬂmm ﬂm&m ﬂmm ﬂw ﬂm
7/16-14,1/2-13,9/16-12,5/8-11 &3/4-10 —
3/8-16 (100) 3/8 (100) 3/8 (100) 3/8-16x3/4 (25) 3/8-16x1 (25) 3/8-16x1-1/4 (25) 3/8-16x1-1/2 (25) 3/8-16x2 (25)
Bin Dimensions: F117892 F114148 F117001 F116770 F114349 F118164 F13237 F114891
Uses (2) 40 Compartment Bins, —
each 33-3/4"Wx 23-7/8"Hx 12'D s @W @m\m @M @W @m\\w
Bin PartNo.F01112 _
711614 (50) 7116 (50) 716 (50) 7N6-14x1 (12) 716-14x1-1/2 (12) 716-14x2 (12) 716-14x2-1/2 (12) 7161433 (12)
F118126 F116903 F15121 F16922 F1763 F17306 F113765 F15845
- Q | fom | fum | foo | oo | Fo
1/213 (50) 12 50 1/2 (50) 121341 (12 1/213x141/2 (12) 1/213X2 (12) 1/213x21/2 (12) 12133 (12)
F112342 F13603 F116881 F12766 F119702 F118698 F16669 F1m331
9/16-12 (50) 9/1 D 9/16 (50) 916-12x1 (12) 9/16-12x1-1/2 (12) 9/16-12x2 (12) 9/16-12x2-1/2 (10) 9/16-12x3 (10)
F113376 F16910 F112247 F113437 F12069 F17028 F110163 F113154
| © | © | fum | fon | (oo | foo | foo
5/811 (25) 5/8 (25) 5/8 (25) 5/8-11x1 (10) 5/811x1-1/2 (10) 5/811x2 (10) 5/811x21/2 (8) 5/8113 (8)
F1434 F1713 F13365 F119309 F17364 F112830 F114459 F114234
3/410 (25) 3/4 (25) 3/4 (25) 3/4-10x11/2 (10) 3/4-10x2 (10) 3/410x2-1/2 (10) 3/410x3 (5) 3/4-10x4 (5)
F14864 F18336 F19574 F14926 F19411 F110008 F114985 F110751
F03704
HEX HEAD CAP SCREW GRADE 5 USA — FINE ﬂmm ﬂmm ﬂmm ﬂmm
1/4-5/8 1/4-28 (100) 14 (1) /4 (100) 1/4-28x3/4 (50) 1/4-28x1 (50) 1/4-28x1-1/4 (50) 1/4-28x11/2 (50) 1/4-28x2 (50)
wl 2 METAL BI NS F14731 F13803 F117909 F1883 F111693 F15568 F13253 F115951
2212 pcs MADE IN
ins: 2 Ush | &=
Contains: Zinc Plated Nuts, . ’
Hex Cap Screws, Flat Washers 51624 (100) 5716 (100 5/16 (100) 5/16:24x3/4 (50) 516200 (50) 5/1621-1/4 (50) 516200172 (25) 5162002 (25)
& Split Lock Washers F19578 F117432 F117156 F115844 11945 F112931 F119076 F15481

Size Range: 1/4-28, 5/16-24, 3/8-24,
7/16-20, 1/2-20,9/16-18, & 5/8-18

©
I
[
[
]

3/824 (100) 3/8:24x1 (25) 3/8-24x1-1/4 (25) 3/8-24x11/2 (25) 3/824x2 (25)

F113464 F117839 F17260 F110041 F12992

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D

378 (100
F112672 F19605

ol
I
[
[
[
I

Bin PartNo.F01112 —
7/16-20 (50) 7116 (50) 716 (50) 716-20x1 (12) 716-20x1-1/2 (12) 716-20x2 (12) 71620x2-1/2 (12) 716203 (12)
F117203 F13663 F15121 F117405 F14939 F14481 F116421 F115275
METAL __
\me Q | fwm | fon | (oo | (oo | o
1/2-20 (50) VZSDJ 172 (50) 1/2:20x1 (12) 1722001172 (12) 122002 (12) 1/2:20x2-1/2 (12) 1/2203 (12)
F110855 F17900 F116881 F117392 F116893 F11519 F16722 F117789

©
©
I
[
[
[

91618 (50) 916 60 916 (50) 916-18x1 (12) 96181172 (12) 916-18x2 (12) 916183 (10)
F12944 F1928 F112247 F11041 F117449 F13433 F18833

©®
©
I
[
[
I

5/818 (25) 5/8 (25) 5/8 (25) 5/818x1 (10) 5/818x2 (10) 5/818x2-1/2 (8) 5/8183 (8)
F116506 F1612 F13365 F114005 F113876 F111832 F17796 F13980

Copyright © 2023
10-1-2



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 5 USA (CONT.)

F03721
HEX HEAD CAP SCREW GRADE 5 USA — COARSE ﬁ @
1/4-1/2 — —
1/4-20 (100) 5/16-18 (100) 3/8-16 (50) 7/16-14 (50) /213 (50) /4 (100) 5/16 (100) 3/8(100)
WIMETAL BIN F16299 F1271 F117892 F118126 F112342 F17196 F19322 F114148
1946 pcs
o MADE IN
Contains: Bright Zinc Plated Nuts, usp
Hex Cap Screws, Flat Washers, X\ 716 (50) 172 (100) 1/4(100) 5/16 (100) 3/8 (100) 76 (50) 112/50) 114204172 (50)
& Split lock Washers F116903 F13603 F117909 F117156 F117001 F15121 F116881 F117753
SizeRange: 1/1-20,5/16-18,3/8-16, Comws | Cosss | Cooss | oo (oo | oo | oo
7/16-14 & 1/2-13
1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-20x1-1/2 (50) 1/4-20%2 (25) 5/16-18x1/2 (50) 5/16-18x3/4 (50) 5/16-18x1 (50)
Bin Dimensions' F110366 F19727 F19764 F112785 F112362 F117066 F119802 F112809
33-3/4"Wx23-7/8"Hx 12"D
Bin Part No. F01112 Mo | Fowes | foow | Qoo | Qoo | Goos | Do | Do
5/16-18x1-1/4 (50) 5/16-18x1-1/2 (25) 5/16-18x2 (25) 3/8-16x3/4 (25) 3/8-16x1 (25) 3/8-16x1-1/4 (25) 3/8-16x1-1/2 (25) 3/8-16x2 (25)
F110451 F116365 F112573 F116770 F114349 F118164 F13237 F114891
METAL @ @ @ @ @ @ @ @
716-14x1 (12) 716-14x1-1/2 (12) 716-14x2 (12) 7161433 (12) 1/2-13x1 (12) 1/2113x1-1/2 (12) 1/2-13X2 (12) 1/2-13x3 (12)
F16922 F1763 F17306 F15845 F12766 F119702 F118698 F111331
F05020
HEX HEAD CAP SCREW GRADE 5 USA — COARSE
1/4-3/8 e (e s Comme | (m— [
W/ METAL DRAWER MADE IN 1A"X1/2"(20) 1/4"X3/4"(20) 1V4"x1"(20) VA"X1-1/4" 20) 1V47x1-1/2"(20) 5/16"x1/2"(20)
F19764 F112785 F117066

640 Pieces U s A F117753 F110366 F19727
Qs G | Py | Pmpwwess | (Do [ o]

Drawer (Empty) 5/16'x3/4"(20) 516'x1"(20) 516114 (15) 5/16'x1-1/2°(15) 38X (20) 38'1"(15)
F0142 F119802 F112809 F110451 F116365 F116770 F114349
METAL : g
3/8"x1-1/4"(10) 3/8"x1-1/2"(10) 3/8"x2"(10) 1/4(50) 5/16"(50) (30
Fi18164 F13237 F114891 F1719% F19322 F114148
O O o O O
1/47(50) 5/16/(50) 38'(30) 1/420°(50) 516187 (50) 3/816'(25)
F117909 F7156 F117001 F16299 F1271 F117892

FASTENERS — HEX HEAD CAP SCREWS GRADE 5

F03275
HEX HEAD CAP SCREW GRADE 5 — COARSE =
Va3)s fam [  — P | — s
wi/ MFTAL DRAWER 1412 20) 14'x3/4(20) 11 Q0) 1A' VA 20) 1AX12'20) 5/16'x1/2'(20)
640 Pieces F13930 F19047 F115965 F114620 F12181 F18197
Drawer (Empty) 5/16"x34"(20) 516x1"(20) 516711/ (15) SNEx11/2(15) 3/8'x34°(20) 38'x1'(15)
14. F16053 F12343 F15684 F115252 F18498 F119494
| e e Q| Q| O
METAL
381/ (10) 38'X12°(10) 8% 2'(10) 1/47(50) 5/16"(50) 3830)
F117078 F119631 F12569 F17196 F19322 F114148
1/4(50) 5/16(50) 3830) 14"20(50) 5/1618(50) 3/8"16(25)
F117909 F117156 F117001 F16299 F1271 F117892
F03274 i R
HEXHEAD CAP SCREW GRADE 5 — COARSE M m M m
7/16-1/2
w/ M_ETAL DRAWER 76'x1°(25) 71612 20) 6'x2'(15) E'x3(12)
391 Pieces F112509 F112697 F115507 F16789
Drawer (Empty) 12%1(20) 12'x14/2'02) 12'x2'(12) 12'x3(10)
F0143 F12555 F116425 F114644 F115192
METAL 7/16"14(50) 1/2"1330) 7/16'(60) 1/2"(30)
F118126 F112342 F116903 F13603
7/16'(60) 1/2'(35)
Fi5121 F116881
Copyright © 2023

10-1-3



ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS GRADE 5 (CONT.)

Fo3711

HEX HEAD CAP SCREW GRADE 5 — COARSE
1/4-1/2

W/METAL BIN

1896 pcs

Contains: Zinc Plated Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers

Size Range: 1/4-20, 5/16-18,
3/8-16,7/16-14,81/2-13

Bin Dimensions:
33-3/4"Wx23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

This assortment also available
without the bin under part no.
F03768

F012021

HEX HEAD CAP SCREW GRADE 5 — COARSE
1/4-1/2

W/2 METAL BINS

3107 pcs

Contains: Bright Zinc Plated Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers

Size Range: 1/4-20, 5/16-18, 3/8-16,
7/16-14&1/2-13

Bin Dimensions:
Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"H x 12"D
Bin PartNo.F01112
METAL

10114

.@.
g7

]

[
[
]

1/4-20 (100) /4 00) /4 (100) 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x11/4 (50) 1/4-20x11/2 (50) 1/4-20x2 (50)
F16299 F17196 F117909 F19047 F115965 F114620 F12181 F13988
5/16-18 (100) 5/16 (100) 5/16 (100) 5/16-18x1/2 (50) 5/16-18x3/4 (50) 5/16-18x1 (50) 5/16-18x1-1/4 (50) 5/16-18x1-1/2 (25)
F1271 F19322 F117156 F18197 F16053 F12343 F15684 F115252
™| © | Q| fwo | fom | fom | foo | foo
3/816 (150) 3/8 (100) 3/8 (100) 5/16-18x2 (25) 3/8-16x3/4 (25) 3/8-16x1 (25) 3/8-16x1-1/4 (25) 3/8-16x1-1/2 (25)
F117892 F114148 F117001 F1i8221 F18498 F119494 F117078 F119631
Ay @ | (o | fmm | fom | (oo | fo
71614 (50) 7/‘6(50] 716 (50) 3/816x2 (25) 7Nh614x1 (12) 7N614x11/2 (12) 7N614x2 (12) 7161433 (12)
F118126 F116903 F15121 F12569 F112509 F112697 F115507 F16789
1/2113 (50) 1/2 (100) 12 (50) 1/213x1 (12) 1/213x141/2 (12) 1/213x2 (12) 12133 (12)
F112342 F13603 F116881 F12555 F116425 F114644 F115192
. 4’ .» = .V = .» 4’ ‘\\_’ ~ =) “\_l’
1/4-20 (100) 5/16-18 (100) 3/816 (100) 7/16-14 (100) /2413 (50) 1/4-20 (100) 5/16-18 (100) 3/816 (50)
F16299 F1271 F117892 F118126 Fn2342 F13197 F1313 F18115
=
& | © ©
7614 25) 121305 V4 00) 5116 200) 3800 716 50) 260 V4 100
F13994 F11682 F17196 F19322 F14148 F116903 F13603 F117909
5/16 (100) 3/8 (100) 716 (50) 1/2.(50) 1/4-20x1/2 (50) 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50)
F117156 F117001 F116881 F117753 F19727 F19764

1/4-20x1/2 (50)
F112785

]

1/4-20x1-3/4 (50)

7
[]
[

1/4-20x2 (50)
F112362

1/4-20x2-1/2 (50)
F17901

/4203 (25)
F114242

[
[

5/16-18x1/2(50)

5/16-18x3/4 (50)
F119802

5/16-18x1 (50)
F112809

[}

5/16-18x1-1/4 (50)
F110451

0l
]
]
]

5/16-18x1-1/2 (50)
F116365

5/16-18x1-3/4 (25)
F115531

5/16-18x2 (50)
F112573

5/16-18x2-1/2 (25)

Nl
[
[

5/16-18x3 (25)

3/8-16x3/4 (25)
F116770

3/816x1 (50)
F114349

[l
]
I
I
[l

3/8-16x1-1/4 (25)
F118164

3/816x1-1/2 (25)
F13237

3/8-16x1-3/4 (25)
F17731

3/8-16x2 (25)
F114891

3/8-16x2-1/4 (25)
F19199

Bl
]
[

3/8-16x2-1/2 (25)
F17267

3/816x3 (25)
F19773

TN16-14x3/4(25)
F18550

]
]
]
]
]
]
]
I

7N16-14x1 (50)
F16922

7N16-14x1-1/4 (12)
F13063

7N6:14x11/2 (12)

7N16-14x2 (12)

716-14x2/2 (12)

716143 (12)
5845

121341 (12)

1/213X1-1/4 (1)
F18638

[}
]
]
]

1/213x14/2 (12) 1/213X2 (12) 1/213x2-1/2 (12) 1/213x3 (12)
F119702 F118698 F16669 Fmsa
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 5 (CONT.)

F03726

HEXHEAD CAP SCREW GRADE 5 — COARSE
&FINE 1/4-1/2

W/2 METAL BINS

3570 pcs

Contains: Coarse and Fine Thread
Bright Zinc Plated Nuts, Hex Cap Screws,
Flat Washers & Split Lock Washers

Size Range: 1/4-20, 5/16-18, 3/8-16,
7/16-14,1/2-13, 1/4-28, 5/16-24,
3/8-24,7/16-20 & 1/2-20

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"H x 12"D
Bin PartNo.F01112

METAL

F03709

HEXHEAD CAP SCREW GRADE 5 — COARSE
1/4-3/4

W/2 METAL BINS

2024 pcs

Contains: Zinc Plated Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers

Size Range: 1/4-20,5/16-18, 3/8-16,
7/16-14,1/2-13,5/8-11 & 3/4-10

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin Part No.F0112

METAL

| | & © || O
1/4-20 (100) 5/16-18 (100) 3/816 (100) 1/220 (50) 1/4(100) 5/16 (100) 3/8(100)
F16299 Fi271 F117892 F110855 F17196 F19322 F114148
7/|50) /2 (50) 1/4 (100) 5/16 (100) 3/8 (100) 7/16 (50 1/2(50) 1/4-20x1/2 (50)
F116903 F13603 F117909 F117156 F117001 F15121 F116881 F117753

1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-20x14/2 (50) /4202 (50) 5/16-18x1/2 (50) 5/16-18x3/4 (50) 5/16-18x1 (50)
F110366 F19727 F19764 F112785 F112362 F117066 F112809

]
]
I
[l
]
]

5/16-18x1-1/4 (50)
F110451

5/16-18x1-1/2 (50)
F116365

5/16-18x2 (25)
F112573

3/8-16x3/4 (50)
F116770

3/8-16x1 (50)
F114349

3/8-16x1-1/2 (25)
F13237

il
i

F114891

7/16-14x1 (25)
F16922

]
]
I
I
]
]
[

7/16-14x1-1/2 (25) 7/16-14x2 (12) 716-14x3 (12) 1/2413x1 (25) 1/213x141/2 (12) 1/213X2 (12) 1/2413x3 (12) 1/4-28 (100)
F17306 F15845 F12766 F119702 F118698 FIm331 F14731
Al Al o &

5/16-24 (100) 3/8-24 (100) 7/16-20 (50) 1/2413 (50) l/ ﬂ) 5/16 (100) 3/8 (100) 7/1 50)
F19578 F112672 F117203 F112342 F13803 F117432 F19605 F13663
'\/250) 1/4-28x1/2 (50) 1/4-28x3/4 (50) 1/4-28x1 (50) 1/4-28x1-1/4 (50) 1/4-28x1-1/2 (50) 1/4-28x2 (50) 5/16-24x1/2 (50)
F17900 F110642 F F111693 F13253 F115951 F14098

5/16-24x3/4 (50) 5/16-24x1 (50) 5/16-24x1-1/4 (25) 5/16-24x1-1/2 (25) 5/16-24x2 (25) 3/8-24x3/4 (25) 3/8-24x1 (25) 3/8-24x1-1/2 (25)
F115844 F111945 F112931 F15481 F113464 F117839 F110041
3/8-24x2 (25) 7/16-20x1 (25) 7/16-20x1-1/2 (12) 7/16-20x2 (12) 1/2:20x1 (12) 1/2220x1-1/2 (12) 1/2:220x2 (12)
F12992 F117405 F14939 F117392 F116893 F11519

&
&

&
&

1420 (100) 5716418 (100) 38796 (60) 7614 (50) 1213 40 811 20) 3410 20)
F15071 Fi1631 F112498 17514 F112039 F117309 Fi17634
14 (100 5716 (100) 38 (100) 7716 (50) 172 (40) 578 (20) 34 0)
F115285 3161 Fi12581 Fi11698 F14340 F118341 F14494
/4 (100) 5/16 (100) 3/8 (100) 7/16 (50) /2 (40) 5/8 (20) 3/4 (20)
F12965 F118314 F118627 F16680 F16277 Fi11898 F11664

14204172 (40) /161834 40) IB1634 20) 64401 (10) 12134 (10) S/1IX112(5) 4102 @)
F13930 F16053 F18498 F112509 F12555 F19217 F14339

f
[
[
f
f
[
[

1/4-20x3/4 (40) 5/16-18x1 (40) 38164 (20) 716:14-1/2 (10) 121314172 (10) 58112 (5) 34102412 (4)
F19047 F12343 F119494 F112697 F116425 F111896 F114814

/42041 (40) 5/16-18x1-1/2 (40) 3/816x1-1/4 (20) 7N16-14x2 (10) 1/213x2 (10) 58112112 (5) 34103 ()
F115065 F115252 F117078 F115507 F114644 F11795 F11089

i
[
]
I
i
[
]

1/4-20x1-1/4 (40)
F114620

516-18x2 (40)
F1g221

3/816x1-1/2 (20)
F119631

716-14x2-1/2 (10)
F18985

1/213x2-1/2 (10)
F15778

5/811x3 (5)
F113158

3/410:3-1/2 (4)
F113399

i
[
]
[
i
[
]

1/4-20x2 (40) 5/16-18x2-1/2 (40) 3/8-16x2 (20) 716143 (10) 1/213x3 (10) 5/8-11x4 (5) 3/410x4 (4)
F13988 F19740 F12569 F16789 F115192 F114232 F12058
1/4-20x2-1/2 (40) 5/16-18x3 (40) 3/8-16x2-1/2 (20) 7/16-14x4 (10) 1/213x4 (10) 5/8-11x5 (5) 3/410x5 (4)
F118561 F16602 F11037 F114026 F14579 F111655 F1840
Copyright © 2023

10-1-5




ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS GRADE 5 (CONT.)

F03722
HEX HEAD CAP SCREW GRADE 5 — COARSE ﬁ @ @
9/1 6-3I4 9/16-12 (50) 5/8-11 (25) 3/410 (25) 9/1(50i 3/425) 916 (50) 5/8 (25)
WI METAL BINS F113376 F1434 F14864 F16910 F18336 F112247 F13365
450 pcs
Contains: Bright Zinc Plated Nuts,
Hex Cap Screws, Flat Washers, 3/4(25) 916124 (12) 916-12x1/2 (12) 916-12x2 (12) 91612212 (12) 916-12x3 (12) 5/8-11x1 (10) 5/811x1-1/2 (10)
& Spllt LOCk WaSherS F19574 F113437 F12069 F17028 F110163 F113154 F119309 F17364
Size Range: 9/16-12, 5/8-11,
& 3/4_1 0 5/8-11x2 (10) 5/8-11x2-1/2 (10) 5/8-11x3 (10) 3/4-10x1-1/2 (10) 3/4-10x2 (10) 3/4-10x2-1/2 (10) 3/410x3 (10)
F112830 F114459 F114234 F14926 F19411 F110008 F114985
Bin Dimensions:
33-3/4"Wx23-7/8"Hx 12"D
Bin PartNo.F01112
METAL
F03267
HEXHEAD CAP SCREW GRADE 5 — FINE
1/4-3/8 = oz == (== | = (]
wl METAL DRAWER 1/4"x1/2" (20) 1/4"x3/4" 20) 14"x1" (20 1/4"x1-1/4"(20) 1/4"x1-1/2"(20) 5/16"x1/2"(20)
640 Pieces F110642 Fi883 ) FIT1693 F15568 F13253 F14098
Drawer (Empty) S/16/x34(20) S/16'x1°(20) 56X 1A (1) S/16'x11/2°(15) 3834 20) Ix1(15)
F0142 F115844 F111945 F112931 F119076 F113464 F117839
e e = O O (o)
METAL
3/8"x1-1/4"(10) 3/8"x1-1/2"(10) 3/8"x2"(10) 1/4"(50) 5/16"(50) 3/8"(30)
F17260 F110041 F12992 F13803 F117432 F19605
1/47(50) 5/16"(50) 3/8"(30) 1/4-28"(50) 5/16-24"(50) 3/8-24"(25)
F117909 F117156 F117001 F14731 F19578 F112672
F012022
HEX HEAD CAP SCREW GRADE 5 — FINE % @
1I4-1/2 1/4-28 (100) 5/16-24 (100) 3/8-24 (50) 7/16-20 (50) 1/2:20 (50) 1/400] 5/16 (100)
wl M ETA L B I N F14731 F19578 F112672 F117203 F110855 F13803 F117432
1896 pcs
Contains: Bright Zinc Plated Nuts, @ @
Hex Cap Screws, Flat Washers 716 (50) 112 (50) /4 (100) 5/16 (100) 3/8 (100) 7/16 (50) 172 (50) 1/4-28x1/2 (50)
& Spl |t LOCk Washers F13663 F17900 F117909 F117156 F117001 F15121 F116881 F110642
Size Range: 1/426,5/16.24, 31824, o | [ | [ o | o | [
7/ 16-20& 1/ 2-20 1/4-28x3/4 (50) 1/4-28x1 (50) 1/4-28x1-1/4 (50) 1/4-28x1-1/2 (50) 1/4-28x2 (25) 5/16-24x1/2 (50) 5/16-24x3/4 (50) 5/16-24x1 (50)
F1883 F111693 F15568 F13253 F115951 F14098 F115844 F111945
Bin Dimensions:
3334 W23 7/8'HX 12'D o | [ | [ | [ | [ | [y
Bin PartNo.F01112
5/16-24x11/4 (25) 5/16-24x11/2 (25) 5/16-24x2 (25) 3/8-24x3/4 (25) 3/8-24x1 (50) 3/8-24x1-1/4 (25) 3/8-24x1-1/2 (25) 3/8-24x2 (25)
M ETAL F112931 F119076 F15481 F113464 F117839 F17260 F110041 F12992
716-20x1 (12) 7/16-20x11/2 (12) 716202 (12) 7/16-20x3 (12) 1/220x1 (12) 1/22011/2 (12) /2202 (12) 12203 (12)
F117405 F14939 F14481 F115275 F117392 F116893 F11519 F117789
F03724
HEX HEAD CAP SCREW GRADE 5 — FINE ﬁ @ @
9ne-3/a 9716418 (50) 57818 25) 341609 916 60) 5805 3409 9716 60) 578.25)
WI METAL BIN F12944 F116506 F114150 F16910 F1713 F18336 F112247 F13365
440 pcs
Contains: Bright Zinc Plated Nuts, @m @mm @mm @m @W @mm
Hex Cap Screws, Flat Washers, 3/4(25) 916181 (12) 9/16-18x11/2 (12) 9/16-18x2 (12) 916:18x2-1/2 (12) 9/16-18x3 (12) 5/8-18x1 (10) 5/818x1-1/2 (10)
& Spllt LOCk WaSherS F19574 F11041 F117449 F13433 F11226 F18833 F114005 F113876
Size Range: 9/16-18, 5/8-18, @mmy @mm @mmw @mm
& 3/4_1 6 5/8-18x2 (10) 5/8-18x2-1/2 (10) 5/818x3 (10) 3/416x2 (10) 3/416x2-1/2 (10) 3/416x3 (10)
F1mss2 F17796 F13980 F110334 F13724 F11650
Bin Dimensions:
33-3/4"Wx23-7/8"Hx 12"D
Bin PartNo.F01112
METAL
Copyright © 2023

10-1-6



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 USA

F03272
HEXHEAD CAP SCREW GRADE 8 USA — COARSE
7/16-1/2 p !
W/METAL DRAWER 3 2 1
440 Pieces MADE IN 1;2115349070) Viwgsgs' F114039 mnslf)
USA —
Drawer (Empty) 76'x3°(10) NEX2'(15) N6X14/2"20) MEX
F0143 F115807 F18820 F13180 F1139
7N1614(50) 1/2"13(50) 7/16'(50) 1/2"(50)
F115807 F13368 F119778 F111004
716(50) 1/2'(50)
F114362 Fl4641

F03708
HEXHEAD CAP SCREW GRADE 8 USA — COARSE % @ @

i
[
]
[

1/4-5/8

/420 (100) /4 (100) /4 (100) 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-20x1-1/2 (50) 1/4-20x2 (50)
wl 2 METAL BINS F14042 F16794 F1mai3 F111941 F116251 F1544 F118694 F191
2222 Pcs MADE IN
Contains:vellow Zinc plaediuts, | SN O © Fomm | fomm | Cooo | Gos
Hex C'ap Screws, Flat Washers 5/16-18(100) 5/16 (100) 5116 (100) 5/1618X3/4 (50) 5/1618X1 (50) 5/16-18X1-1/4 (50) 5/16-18X1-1/2 (25) 5/16-18X2 (25)
& Split Lock Washers F116383 F15844 F18731 F17657 F15306 F12964 F114323 F18465
Size Range: 1/4-20, 5/16-18, 3/8-16, <=> @ @M @m @M @m
7/16-14,1/2-13,9/16-12 & 5/8-11 . ’

3816 (100) 38 (100) 38 (100) 3/816X3/4 (25) 3/816X1 (25) 3816X11/4 (25) 3816X11/2 (25) 3816X2 (25)
Bin Dimensions: Fl6734 F18587 F13460 F114012 F112421 F13036 F111261 F19888
Uses (2) 40 Compartment Bins,
Each 33-3/4"W X 23-7/8"HX 12'D % @ @mm @mm @mmw @mm @mmm
Bin PartNo.F01112

7/16-14 (50) 716 (50) 7/16 (50) 7/1614X1 (12) 7N614X11/2 (12) 7N614X2 (12) 7/16-14X21/2 (12) 71614X3 (12)

F115807 F119778 F114362 F11139 F13180 F18820 F17268 F117000

This assortment also available
without the bin under part no.
F03765

METAL

©
©
[
]
[
[
[

12 (50) 1/2 (50) 12134 (12) 12133172 (12) 12132 (12) 1232172 (12) 12133 (12)
F111004 F14641 F15643 F114039 F17353 F16765 F115497

&
©
®
I
I
[
[
I

9/16-12 (50) 9/16 (50) 9/16 (50) 9/16-12X1 (12) 9/16-12X11/2 (12) 9/16-12X2 (12) 9/16-12X2-1/2 (10) 9/16-12X3 (10)
F118914 F112513 F17661 F1422 F115504 F19356 F113554 F12526

©
[
]
[
[
I

5/8-11 (25) 5/8 (25) 5/8 (25) 5/8-11X1 (10) 5/8-11X1-1/2 (10) 5/8-11X2 (10) 5/8-11X21/2 (8) 5/8-11X3 (8)
F113200 F114781 F16837 F116244 F113749 F111541 F119777 F116936
Copyright © 2023

101-7



ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 USA (CONT.)

F122864

HEXHEAD CAP SCREW GRADE 8 USA — COARSE

1/4-3/4
W/2 METAL BINS
2008 pcs

Contains: Zinc Plated Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers

Size Range: 1/4-20, 5/16-18, 3/8-16,
7/16-14,1/2-13,5/8-11 & 3/4-10

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

F05059

MADE IN

USA

METAL

HEXHEAD CAP SCREW GRADE 8 USA — COARSE

1/4-3/4
W/2 METAL BINS
2337 pcs

Contains: Yellow Zinc Plated Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers

Size Range: 1/4-20,5/16-18,3/8-16,
7/16-14,1/2-13,9/16-12,5/8-11 &3/4-10

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

This assortment also available
without the bin under part no.
F05061

10-1-8

MADE IN

USA

METAL

=
1/4-20 (100) 5/16-18 (100) 3/816 (60) 71614 (50) /2113 (40) 5/8-11 (20)
F14042 F116383 F16734 F115807 F13368 F113200
14 (100) 5716 (100) 3 (100 716 60 2 @) 58 20) 3 00
F110868 F112074 F12571 F17742 F11401 F1632 F11460
/4 (100) 5/16 (100) 3/8 (100) 716 (50) 1/2 (50) 5/8 (20) 3/4 (20)
F1mai3 F18731 F13460 F114362 F14641 F16837 F17431

[
[
]
[
[
[

1/4-20x1/2 (20) 5/16-18X3/4 (40) 3/8-16X3/4 (20) 716-14X1 (10) 1/213x1 (10) 5/811X14/2 (5) 3/410x2 @)
F12210 F17657 F114012 F11139 F15643 F113749 F14677

1V4-20x3/4 (40) 5/16-18X1 (40) 3/816X1 (20) 71614X1-1/2 (10) 121314172 (10) 5811X2 (5) 3410x21/12 ()
F111941 F15306 F112421 F13180 F114039 F111541 F17587

1/42041 (40) 5/16-18X1-1/2 (40) 3/B6X1-1/4 20) 71614X2 (10) 1/213x2 (10) SBX2112 (5) 341033 (@)
F116251 F114323 F13036 F18820 F17353 F119777 F111962

[
[
[
]
[
[
[

1/4-20x1/2 (40)
F118694

5/16-18X2 (40)
F18465

3/8-16X1-1/2 (20)
F111261

716142172 (10)
F17268

1/21321/2 (10)
F16765

5/8-11X3 (5)
F116936

3/410:3-1/2 (4)
F17139

]

1/420x2 (40)
F191

F116963

[
[
f
I
[

3/8-16X2 (20)
F19888

7/16-14X3 (10)
F117000

12133 (10)
F115497

5/811%4 (5)
F113931

3/4-10x4 (4)
F115907

[
[
[
]
[
[
[

1/4-20x2-1/2 (40)
F117015

5/16-18X3 (40)
F13343

3/8-16X2-1/2 (20)
F115650

7/1614%4 (10)
F115875

1/2-13x4 (10)
F18624

5/811X5 (5)
F110870

3/410x5 (4)
F1396

/420 (100) /4 (100) /4 (100) 1/4-20x3/4 (50) 1/420x1 (50) 1/4-20x11/4 (50) 1/4-20x11/2 (50) 1/4-20x2 (50)
F14042 F16794 FImais Fimea F116251 F1544 F118694 F191
5/16-18 (100) 5/16!00) 5/16 (100) 5/16-18X3/4 (50) 5/16-18X1 (50) 5/16-18X1-1/4 (50) 5/16-18X1-1/2 (25) 5/16-18X2 (25)
F116383 F15844 F18731 F17657 F15306 F12964 F114323 F18465
3/8-16 (100) 3/800) 3/8 (100) 3/8-16X3/4 (25) 3/8-16X1 (25) 3/8-16X1-1/4 (25) 3/816X1-1/2 (25) 3/8-16X2 (25)
F16734 F18587 F13460 F114012 F11241 F13036 F111261 F19888
7/16-14 (50) 716 (50) 716 (50) 7/16-14X1 (12) 716-14X11/2 (12) 716-14X2 (12) 7/16-14X21/2 (12) 7/16-14X3 (12)
F115807 F119778 F114362 F11139 F13180 F18820 F17268 F117000
\ge oo | (oo | o | oo |
/2413 (50) VZSD) 172 (50) 1721331 (12) 1/213x1-1/2 (12) 1/213x2 (12) 1/213x2-1/2 (12) 12133 (12)
F13368 F111004 Fl4a641 F15643 F114039 F17353 F16765 F115497
9/16-12 (50) 9/16(50' 9/16 (50) 9/16-12X1 (12) 916-12X1-1/2 (12) 916-12X2 (12) 9/16-12X2-1/2 (10) 9/16-12X3 (10)
F118914 F112513 F17661 F1422 F115504 F19356 F113554 F12526
\me @ | Commw | P | oo | Do | G
5/8-11 (25) 5/8 (25) 5/8 (25) 5/8-11X1 (10) 5/8-11X1-1/2 (10) 5/8-11%X2 (10) 5/8-11%X2-1/2 (8) 5/8-11X3 (8)
F113200 F114781 F16837 F116244 F113749 F111541 F119777 F116936
3/410 (25) 3/475] 3/4 (25) 3/4-10x11/2 (10) 3/4-10x2 (10) 3/410x2-1/2 (10) 3/410x3 (5) 3/410x4 (5)
F13074 F18408 F17431 F11192 F14677 F17587 F111962 F115907
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 USA (CONT.)

1V4"x1/2"(20) 1/4"x3/4"(20) V4"x1"(20) 14" 1-1/4"(20) 1/4"x1-1/2"(20) 5/16"x1/2"(20)
F112686 F16994 F14278 F1319 F115913 F17434

5/16"x3/4" (20) 5/16"x1"(20) 5/16"x11/4°(15) 5/16'x1-1/2"(15) 3/8"X3/4"(20) 3/8"x1"(15)
F15172 F18699 F114357 F117559 F118860 F119918

3/8"X1-1/4"(10) 3/8"x11/2"(10) 3/8'x2"(10) 14" (50) 5/16'(50) 3/8"(30)
F114205 F17894 F118235 F115189 F114436 F1328
14" (50) 5/16'(50) 3/8"(30) 1/4-28(50) 5/16-24(50) 3/824(25)
FIT413 F18731 F13460 F112844 F113783 F112386

o

| b | b

P

O

E

F03271
HEXHEAD CAP SCREW GRADE 8 USA —FINE
1/4-3/8
W/METAL DRAWER MADE IN
640 Pieces u s A
Drawer (Empty)
F0142
METAL
F03270
HEXHEAD CAP SCREW GRADE 8 USA —FINE
\1AII7I\1/E2'I'AL DRAWER MaDE N
317 Pieces USA
Drawer (Empty)
F01137
METAL
F03741
HEX HEAD CAP SCREW GRADE 8 USA — FINE
1/4-1/2
W/METAL BIN MADE IN
1685 pcs USA

Contains: Yellow Zinc-Plated UNF
Gr. 8 Nuts, Hex Cap Screws,

SAE Flat Washers &

Split Lock Washers

Size Range: 1/4-28,5/16-24,
3/8-24,7/16-20,1/2-20

Bin Dimensions:
33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112
METAL

F03742
HEX HEAD CAP SCREW GRADE 8 USA —FINE
9/16-3/4
W/METAL BIN
450 pcs

MADE IN

USA

Contains: Yellow Zinc Gr. 8 Nuts,
Hex Cap Screws, SAE Flat Washers
& Split Lock Washers

Size Range: 9/16-18, 5/8-18,
&3/4-16

Bin Dimensions:
33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

1/4"-28(25) 1/4"x1/2"(25) 1/4"x3/4" (25) 1/4"x1"(25) 1/4"%1-1/2"(10) 1/4"x2"(5) 1/2'x2"(3) 5/8"X2-1/2"(2)
F112844 F112686 F16994 F14278 F115913 F111961 F19741 Fim7za3
5/16"24(25) 5/16"x3/4"(15) 5/16"x12"(15) 5/16"x1-1/2"(10) 5/16"x2"(5) 5/16"x2-1/2"(3) 1/2"x1-1/2"3) 5/8"X2"(2)
F113783 F15172 F18699 F117559 F12348 F17140 F17140 F119070
32405 X340 (0 20 W2 X212 X SEXI/2'0)
F112386 F118860 F119918 F17894 F118235 F16264 F16203 F1890
762005 eI E) mExIE) Mex12E) mexre) mex22E) V220100 5E-186)
F119675 F114297 F17775 F14708 F11476 F112926 F113462 F15794
1428 (100) 571624 (100) 382450 71620501 122005 4100 5716 (100 3860
Fi12844 F113783 F112386 F119675 F13462 Fimie7 F17068 F19581
7/1(50' 1/275] /4 (100) 5/16 (100) 3/8 (50) 716 (50) 1/2(25) 1/4-28x1/2 (50)
F15190 F15494 FIma13 F18731 F13460 F114362 F14641 F112686
1/4-28x3/4 (50) 1/4-28x1 (50) 1/4-28x1-1/2 (50) 1/4-28x2 (25) 5/16-24x3/4 (50) 5/16-24x1 (50) 5/16-24x1-1/4 (50) 5/16-24x11/2 (25)
F16994 F14278 F115913 F111961 F15172 F18699 F114357 F117559
16260 25) 382434 50) 38240 (25) 382411/4 (25) 382401172 25) 382402 25) 162041 (25) 620014 (12)
F12348 F118860 F119918 F114205 F17894 F118235 F17775
7/16-20x1-1/2 (12) 7/16-20x2 (12) 1/2-20x1-1/4 (50) 1/2201-1/2 (12) 1/220x2 (12)
F1476 F118228 F17140 F19741
9716418 (50) 5818 25) 3416 25) 916 60) 57825 3405 16(50) 5/B(25)
F118685 F15794 F114635 F12637 F11985 F117554 F17661 F16837
3/4 (25) 9/16-18x1 (12) 9/16-18x1-1/2 (12) 9/16-18x2 (12) 9/16-18x2-1/2 (12) 916-18x3 (12) 5/8-18x1 (10) 5/818x1-1/2 (10)
F17431 F15777 F116021 F117364 Fie2n F112164 F18325 F1890
S/818¢ (10) 5818212 (10 5761813 (10 3416614172 10 34162 (10 4160172 (10) 34163 (10)
F119070 FIm7za3 F19148 F117596 F117897 F118719 F1533
Copyright © 2023

10-1-9



ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 USA (CONT.)

F03707

HEXHEAD CAP SCREW GRADE 8 USA — FINE
1/4-5/8

W/2 METAL BINS MADE IN

2222 pes u s A

Contains: Yellow Zinc PLated Gr.8 Nuts,
Hex Cap Screws, Flat Washers & Split
Lock Washers

Size Range: 1/4-28,5/16-24,3/8-24,
7/16-20,1/2-20,9/16-18 & 5/8-18

Bin Dimensions:
Uses (2) 40 Compartment Bins,

each 33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

10110

°
1/4-28 (100) /4 (100) 1/4 (100) 1/4-28x3/4 (50) 1/4-28x1 (50) 1/4-28x1-1/4 (50) 1/4-28x1-1/2 (50) 1/4-28x2 (50)
F112844 F11187 FImai3 F16994 F114278 F1319 F115913 F111961
‘., 4" le) @W @M
5/16-24 (100) 5/16 (100) 5/16 (100) 5/16-24x3/4 (50) 5/16-24x1 (50) 5/16-24x1-1/4 (50) 5/16-24x1-1/2 (25) 5/16-24x2 (25)
F113783 F17068 F18731 F15172 F18699 F114357 F117559 F12348
@ @ @M @m @mm @W @M
3/824 (100) 38 (100) 3/8 (100) 3/8263/4 (25) 38241 (25) 3824114 (25) 3/824x1/2 (25) 3/824x2 (25)
F112386 F19581 F13460 F118860 F119918 F114205 F17894 F118235
@ @ ﬁm ﬂm ﬂmm ﬂmm ﬁﬁm
711620 (50) 716 (50) 716 (50) 7/1620x1 (12) 7/16-20x1-1/2 (12) 71620x2 (12) 7/16-20x21/2 (12) 71620x3 (12)
F119675 F15190 F114362 F17775 F14708 F11476 F112926 F18768
= © | Q| fun | fon | foo | (oo | Gos
1/2:20 (50) /2 (50) 12 (50) /220 (12) 1/220x1-1/2 (12) 1220x2 (12) 1/220x21/2 (12) 1/220:3 (12)
F113462 F15494 F14641 F16203 F17140 F19741 F112275 F18512
@ @ ﬁm ﬂm ﬂmm ﬂmm ﬁﬁm
9/16-18 (50) 916 (50) 916 (50) 916-18x1 (12) 9/16-18x1-1/2 (12) 916-18x2 (12) 9/16-18x2-1/2 (10) 9/1618x3 (10)
F118685 F12637 F17661 F15777 F116021 F117364 F1ie2n F112164
| © | © | | jos | joo | foo | Gos
5/818 (25) 5/8 (25) 5/8 (25) 5/8-18x1 (10) 5/8-18x1-1/2 (10) 5/8-18x2 (10) 5/8-18x2-1/2 (8) 5/818x3(10)
F15794 F11985 F16837 F18325 F1890 F119070 F1m723 F19148
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 USA (CONT.)

F03706
HEXHEAD CAP SCREW GRADE 8 USA — MASTER

BOLT SETUP MADE IN

z\g:OIV;EIAL BINS USA

\m#

A

\n#

©

Contains: Yellow Zinc Plated Gr. 8 Nuts, Hex Cap
Screws, Washers and Split Lock Washers

Size Range: UNC & UNF 1/4, 5/16, 3/8,
7/16,1/2&5/8

Bin Dimensions:

Uses (4) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin Part No.F01112

METAL

/4 5/16-18 (100) 3/816 (100) 7/16-14 (100) /213 (50) 5/811 (25) 1/4 (100) 5/16 (100)
F14042 F116383 F16734 F115807 F13368 F113200 F110868 F112074
378 (100) 716 (100) 172 (100) 50 144 (100) 5/16 (100) 38 (100) 7716 (100)
F12571 F17742 F114011 F1632 FImai3 F18731 F13460 F114362
112 (50) 5/8 (25) 1/4-20x1/2 (50) 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-20x1-1/2 (50) 1/4-20x1-3/4 (50)
F14641 F16837 F12210 F1mea F116251 F1544 F118694 F115460

]
]
]
]
]
]
]
]

1/4-20x2 (50)
F191

1/4-20x2-1/4 (50)
F114058

14-20x21/2 (50)
F117015

1/4-20x2-3/4. (50)
F114494

/42033 (50)
F116904

5/16-18X1/2 (50)
F11431

5/16-18X3/4 (50)
F17657

5/16-18X1 (50)
F15306

]
]
]
I
]
]
]
I

5/16-18X1-1/4 (50)
F12964

5/16-18X1-1/2 (50)
F114323

5/16-18X1-3/4 (50)
F112656

5/16-18X2 (50)
F18465

5/16-18X2-1/4 (50)
F114774

5/16-18X2-1/2 (50)
F116963

5/16-18X2:3/4 (25)
F115146

5/16-18X3 (25)
F13343

]
I
]
I
]
I
I
I

3/8-16X3/4 (50)
F114012

3/8-16X1 (50)
F112421

3/8-16X1-1/4 (S0)
F13036

3/816X1-1/2 (25)
F111261

3/8-16X1-3/4 (25)
F16453

3/8-16X2 (25)
F19888

3/8-16X2-1/4 (25)
F14471

3/816X2-1/2 (25)
F115650

]
]
]
]
]
]
]
]

3/816X2:3/4 (25)
F17717

3/816X3 (25)
F119268

7/16-14X3/4 (50)
F115563

7/16-14X1 (25)
F11139

7/16-14X1-1/4 (25)
F112538

7/16-14X1-1/2 (25)
F13180

7/16-14X1-3/4 (25)
F12781

7/1614X2 (25)
F18820

]
]
]
I
]
]
[
I

716-14X2-1/4 (25)
F17989

7N16-14X2-1/2 (25)
F17268

7/16-14X2-3/4 (25)
F110875

716-14X3 (25)
F117000

1/213x3/4 (25)
F18800

12134 (25)
F15643

121331/ (25)
F11082

1/213x14/2 (25)
F114039

]
I
I
I
]
I
]
I

1/213x1-3/4 (25)
F113677

12132 (25)
F17353

1/213x2-1/4 (25)
F111049

12132172 (25)
F16765

1/213x2:3/4 (25)
F114080

1/2133 (10)
F115497

5/811X1 (10)
F116244

5/811X1-1/4 (10)
F14206

]
]
]
I
]
]
]

5/8-11X1-1/2 (10) 5/8-11X1-3/4 (10) 5/811X2 (10) 5/8-11X2-1/4 (10) 5/8-11X2-1/2 (10) 5/8-11X2-3/4 (10) 5/8-11X3 (10)
F113749 F17213 F111541 F114065 F119777 F118701 F116936
= | F | ;| & & ©
1/4-28 (100) 5/16-24 (100) 3/8-24 (100) 7/16-20 (100) 1/2-20 (50) 5/8-18 (25) 1/4 (100) 5/16 (100)
F112844 F113783 F112386 F119675 F113462 F15794 F115189 F114436

8
E

©

7/16 (100)
F119254

©

1/2 (100)
F117357

XS
EE

@)
©
©
©

/4 (100)
F111413

5/16 (100)
F18731

3/8 (100)
F13460

716 (100)
F14724

©
|
|
]
|
|
|

B
3
38

F14641

5/8 (25)
F16837

1/4-28¢1/2 (50)
F112686

1/4-28x3/4 (50)
F16994

1/4-28x1 (50)
F114278

1/4-28x1-1/4 (50)
F1319

1/4-28x11/2 (50)
F115913

1/4-28x1-3/4 (50)
F14724

]
]
I
I
]
]
]
I

1/4-28x2 (50)
F111961

1/4-28x2-1/4 (50)
F113473

14282112 (50)
F19205

14283 (50)
F117496

5/16-24x1/2 (50)
F17434

5/16-24x3/4 (50)
F15172

5/16:24x1 (50)
F18699

5/16-24x1-1/4 (50)
F114357

]
]
]
]
]
]
]

5/16-24x11/2 (50)
F117559

5/16-24x1-3/4 (50)
F115785

5/1624x2 (50)
F12348

5/16-24x2-1/4 (50)
F1538

5/16-24x2-1/2 (50)
F118898

5/1624x2-3/4 (25)
F114407

5/162433 (25)
F19954

]
]
]
I
]
]
]
I

3/8-24x3/4 (50)
F118860

3/8-24x1 (50)
F119918

3/8-24x1-1/4(50)
F114205

3/8-24x1-1/2 (25)
F17894

3/824x1-3/4 (25)
F116927

3/824x2 (25)
F118235

3/8-24x2-1/4 (25)
F18223

3/824x21/2 (25)
F16264

]
I
]
I
]
I
I
I

3/8:24x2:3/4 (25)
F15179

716-20x2-1/2 (25)
F112926

7/16-20x3/4(50)
F114297

7/16-20x1 (25)
F17775

7/16-20x1-1/4(25)

7/16-20x11/2 (25)

7N6-20x1-3/4 (25)
F19009

7/16:20x2 (25)
F11476

]
]
]
]
]
]
]
]

716-20x2-1/4 (25)
F117631

716-20x2-1/2 (25)
F112926

7/1620x2-3/4 (25)
F14381

7162033 (25)
F18768

1/2:20:3/4 (25)
F114482

1/220x1 (25)
F16203

1/2:20x11/4 (25)
F118228

1/2:2014/2 (25)
F17140

]
]
]
I
]
]
]
I

1/2:20x1-3/4 (25)
F118559

12:20x2 (25)
F19741

1/2:20x2-1/4 (25)
F18249

1/2:20x21/2 (25)
F112275

1/2:20x2-3/4 (25)
F19685

1/2:20x3 (10)
F18512

5/8-18x1 (10)
F18325

5/8-18x1-1/4 (10)
F1976

]
I
I
I
]
I
]

5/8-18x1-1/2 (10) 5/8-18x1-3/4 (10) 5/818x2 (10) 5/8-18x2-1/4 (10) 5/818x2-1/2 (10) 5/8-18x2-3/4 (10) 5/818x3 (10)
F1890 F1770 F119070 F18174 F111723 F12786 F19148
Copyright © 2023




ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS GRADE 8

F03276
HEXHEAD CAP SCREW GRADE 8 — COARSE ;
Va3s - prmm— [[r— [ Pp— [ F—— [ ™
w/ MFTAL DRAWER 14'x1/2"(20) 1/4"x3/4"(20) 14X 1" 20) VA"X 14" (20) 14X 1172 20) 5/16"x1/2"(20)
640 Pieces F115089 F18722 F1948 F5785 F16703 F115452
Drawer (Empty) 5/16"x3/4"(20) 5/16"x1"(20) 5/16"x1-1/4"(15) 5/16"x1-1/2"(15) 3/8"x3/4" (20) 3/8"x1"(15)
F0142 F119698 F115092 F116488 F113825 F115014 F18967
METAL I E :
3/8"x1-1/4"(10) 3/8"x1-1/2"(10) 3/8"x2"(10) 1/4"(50) 5/16"(50) 3/8"(30)
F17972 F15022 F18524 F16794 F15844 F18587
1/4"(50) 5/16"(50) 3/8" 1/4"20(30) 5/16™18(50) 3/8™16/(25)
FImai3 F18731 F13460 F14042 F116383 F16734
F012594 N
HEX HEAD CAP SCREW GRADE 8 — COARSE .@‘3’ ) @ @]m @mmﬂ @mm
1/4-1/2
/420 (100) /4 (100) /4 (100) 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-20x1-1/2 (50) 1/4-20x2 (50)
1W9I4Mo ETAL BI N F117754 F110868 F117735 F18722 F1948 F15785 F16703 F13752
pcs
Contains: Yellow Zinc Plated G5 ° © | oy | oy | oo | Do | S
Nuts, Hex Cap Screws, Flat Washers 51618 (100) 5/16 (100) 5/16 (100) S/1618x3/4 (25) 5161801 (25) S/16-18¢1-14 25) /16186112 25) S/1618¢2 (25)
& Split Lock Washers F11595 F112074 F112387 F119698 F115092 F116488 F113825 F15704
Size Range: 1/4-20, 5/16-18, 3/8-16, = o
7-16/14 & 1/2-13 . ’
3/8-16 (100) 3/8 (100) 3/8 (100) 3/8-16x1 (25) 3/8-16x1-1/4 (25) 3/8-16x1-1/2 (25) 3/8-16x2 (25) 3/8-16x2-1/2 (25)
Bin Dimensions' F18263 F12571 F14998 F18967 F17972 F15022 F18524 F117716
33-3/4"Wx 23-7/8"Hx9"D PR
Bin Part No. FOTI11 = | ( @ | Doy | oo | ooy | oo | Choso
METAL 71614 (50) 7/16 (50) 716 (50) 7116141 (25) 7N16-14x1-1/2 (15) 7/16-14x2 (15) 7/16-14x2-1/2 (10) 7161433 (10)
F114239 F17742 F110085 F116785 Fn F116644 F17642 F110974
e | © | Commm | o | o | S
1/2-13 (50) 1/2 (50) /2 (50) 1/213x1 (15) 1/213x11/2 (15) 1/213x2 (15) 1/213x2-1/2 (10) 1/213x3 (10)
F1801 F11aom F11101 F111953 F15161 F114520 F116408 F1381
F03727 ___ _ ___ _ _
HEX HEAD CAP SCREW GRADE 8 — COARSE .»@?’ .»@@1 .»Cé? .»@?’ @ @
1/4-1/2 ,
1/4-20 (100) 5/16-18 (100) 3/8-16 (50) 71614(50) 1213 (25) 1/4(100) 5/16 (100) 3/8 (100)
W/ M ETAL BIN F14042 F116383 F16734 F115807 F13368 F16794 F15844 F18587
1810 pcs
Contains: Yellow Zinc Plated Gr. 8 Nuts, @ @ @ @
Hex Cap Screws, Flat Washers 716 (50) 12(50) 1/4(100) 5/16.(100) 38 (50) 7716 (50) 172 (50) 14200172 (50)
& Spllt LOCk Washers F19778 F111004 Fimais F18731 F13460 F114362 F14641 F12210
Size Range: 1/4-20, 5/16-18, 3/8-16, O | P | Coos | Soow P | o
7/1 6-14 & 1/2-1 3 1/4-20x3/4 (50) 1/4-20x1 (50) 1/4-20x1-1/4 (50) 1/4-201-1/2 (50) 1/4-20x2 (25) 5/16-18X3/4 (50) 5/16-18X1 (50) 5/16-18X1-1/4 (50)
Fimoa F116251 F1544 F118694 F191 F17657 F15306 F12964
Bin Dimensions:
33-3/4"Wx 23 7/8"Hx 1D Commy | Coow | oo | Goow | Coew | Joew | Doow | Do
BinPartNo.F01112
METAL /16181172 (25) 5/16-18X2 (25) 3/816X3/4 (50) 3/816X1 (25) 3/816X1-1/4 (25) 3/816X11/2 (25) 3/816X2 25) 3/816X2-1/2 (25)
F114323 F18465 F114012 F112421 F13036 F111261 F19888 F115650
This assortment also available
without the bin under part no. Com | Foww | Poww | Goww | Do | oo
F03784
716-14X1 (12) 7/16-14X1-1/4 (12) 7/16-14X1-1/2 (12) 7/16-14X2GR8 (12) 1/243x1-1/2 (12) 1/213x2 (12)
F1m39 F112538 F13180 F18820 F114039 F17353

Copyright © 2023
10112



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 (CONT.)

F03730

HEX HEAD CAP SCREW GRADE 8 — COARSE
1/4-1"

W/2 METAL BINS

2665 pcs

Contains: Yellow Zinc Plated Gr. 8 Nuts
Hex Cap Screws, Flat Washers & Split
Lock Washers

Size Range: 1/4-20, 5/16-18, 3/8-16,
7/16-14,1/2-13,9/16-12, 5/8-11,
3/4-107/8-9&1-8

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin Part No.F01112

METAL

F03729

HEXHEAD CAP SCREW GRADE 8 — COARSE
9/16-3/4

W/METAL BIN

450 pcs

Contains: Yellow Zinc Gr. 8 Nuts,
Hex Cap Screws, USS Flat Washers
& Split Lock Washers

Size Range: 9/16-12, 5/8-11
&3/4-10

Bin Dimensions:
33-3/4"Wx 23-7/8"Hx 12"D

Bin Part No.F01112
METAL

F03728

HEXHEAD CAP SCREW GRADE 8 — COARSE
9/16-3/4

W/METALBIN

450 pcs

Contains: Yellow Zinc Plated Gr. 8 Nuts,
Hex Cap Screws, SAE Flat Washers
& Split Lock Washers

Size Range: 9/16-12, 5/8-11,
&3/4-10

Bin Dimensions:
33-3/4"Wx23-7/8"Hx 12"D
Bin Part No.F01112
METAL

g

[
[
]
[

[

1/4 (100) 1/4 (100) 1/4-20x1/2 (100) 1/4-20x3/4 (100) 1/4-20¢1 (50) 1/4-20x1-1/4 (50) 1/420x1/2 (50)
F16794 F111413 F12210 F111941 F116251 F1544 F118694
5/1 (00) 5/16(100) 5/16-18X3/4 (50) 5/16-18X1 (50) 5/16-18X1-1/4 (S0) 5/16-18X1-1/2 (25) 5/16-18X2 (25)
F15844 F18731 F17657 F15306 F12964 F114323 F18465
3/800] 3/8 (100) 3/816X3/4 (S0) 3/816X1 (25) 3/8-16X1-1/4 (25) 3/8-16X1-1/2 (25) 3/816X2 (15)
F18587 F13460 F114012 F112421 F13036 F111261 F19888
716 (50) 7/16 (100) 716141 (25) 716-14X11/2 (25) 7/16-14X2GR8 (20) 716-14X2-1/2 (15) 7/16-14X3 GRS (15)
F119778 F114362 F11139 F13180 F18820 F117000
/213 (50) 1/2 (50) 1/2(100) 1/2:13x1-1/2 (15) 1/2-13x2 (15) 1/2-13x2-1/2 (10) 1/213x3 (10) 1/2:13x4 (10)
F13368 F111004 F14641 F114039 F17353 F16765 F115497 F18624
91612 (25) 9/‘25) 916 (25) 9N16-12X1-1/2 (10) 916-12X2 (10) 916-12X21/2 (10) 9N16:12X3 (5) 9/16-12X4 (5)
F118914 F112513 F17661 F115504 F19356 F113554 F12526 F19196
5/8-11 (25) 5/8(25) 5/8(25) 5/8-11X1-1/2 (10) 5/8-11X2 (10) 5/8-11X2-1/2 (50) 5/811X3 (5) 5/8-11X4 (5)
F113200 F114781 F16837 F113749 F111541 F119777 F116936 F113931
3/4-10 (25 3/49 3/425) 3/4-10x1-1/2 (10) 3/4-10x2 (10) 3/4-10x2-1/2 (5) 3/410:3 (5) 3/410%4 (5)
F13074 F18408 F17431 FI1192 F14677 F17587 F111962 F115907
7/89 (15) 7/525) 7/8 (25) 7/8-9X2 (5) 7/8-9X21/2 (5) 7/8-9%3 (5) 7/8-9%4 (5) 7/8-9X5 (5)
F116837 F116580 F115948 F11646 F13467 F120042 F117139 F12873
1815 105 182 5) 18212 5) 1843 (5) 1-8¢4 (5) 1845 (5)
F112716 F1668 F1157 F15876 F17998 F115029 F16420 F110796

©

©

@)
©

9716412 (50) 5/8-11 (25) 3410 25) 9/16 (50) 5/8 (25) 30405 9716 (50) 5/8.25)
F118914 F113200 F13074 F112513 F114781 F18408 F17661 Fl6837
3425 9/16-12X1 (12) 9/16-12X1-1/2 (12) 9/1612X2 (12) 9/16-12X2-1/2 (12) 9716123 (12) S/8-11X1 (10) 5/841X1-1/2 (10)
F17431 F1422 F115504 F19356 F113554 F12526 F116244 F113749
5/811X2 (10) 5/811X21/2 (10) 5/811X3GR8 (10) 344104112 (10) 3410x2 (10) 3/4-10x2/2 (10) 34106 (10)
Fi11541 F119777 F116936 Fi1192 Fl4677 F17587 F111962
9/16-12 (50) 3/410 (25) 9/16 (50) 5/8 (25) 3/4(25) 9/16 (50) 5/8(25)
F118914 F113200 F13074 F12637 F11985 F117554 F17661 F16837
3425 9/16-12X1 (12) 9/16-12X11/2 (12) 9/1612X2 (12) 9/16-12X2-1/2 (12) 9716123 (12) S/8-11X1 (10) 5/811X1-1/2 (10)
F17431 F1422 F115504 F19356 F113554 F12526 F116244 F113749
5/811X2 (10) 5/8-1X2:/2 (10) SBX3(10) 341041172 (10) 34410%2 (10) 3/410x2:/2 (10) 341063 (10)
F111541 F119777 F116936 Fi1192 F14677 F17587 F111962
Copyright © 2023

10113




ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 (CONT.)

F03712
HEX HEAD CAP SCREW GRADE 8 — COARSE @
9n6-3/a 9/16-12 (50) 5811 (25) 3/410 (25) 916 ) 5/8 (25) 3/4 (25) 9/16 (50) 5/8 (25)
4w'sloMETAL BIN F119880 F110666 F13459 F13617 F11705 F15465 F11473 F1218
pcs
Contains: Zinc Yellow Plated Gr. 8 Nuts, (s | (oo | Oowe | Ooow | oo | Oooo | Soo
Hex Cap Screws, SAE Flat Washers 34 (25 916724 (1) 961241172 (12) 9N6-12:2 (12) 91612212 (12 961243 (12) 58111 (10) 581172 (10)
& Split Lock Washers F12039 F114981 F16871 F116583 F18913 F1731 F15340 F113500
Size Range: 9/16-12, 5/8-11 & 3/4-10 @m @mm @mm @M @m @W
Bin Dimensions: 5/8-11x2 (10) 5/8-11x2-1/2 (10) 5/8-11x3 (10) 3/410x11/2 (10) 3/410x2 (10) 3/410x2-1/2 (10) 3/410x3 (10)
33_3/4"W X 23‘7/8”H X 12”D F115599 F15658 F114990 F11353 F16189 F11me3 F112049
Bin PartNo.F01112
METAL
F03713 .
HEXHEAD CAP SCREW GRADE 8 — COARSE .Eﬁ?
Via-3/a 1420 (100) 571618 (100) 3816 (60) 71614 (50) 1213 (40) 5811 20) 3410 20)
%/424METAL BINS F117754 F11595 F18263 F114239 F1801 F110666 F13459
pcs
Contains: Yellow Zinc Plated Nuts, @ @
Hex Cap Screws, Flat Washers, 14 (100 5/16 (100) 38 (100) 7716 (60) 172 (40) 578 20) 34 20)
& Split Lock Washers F115189 F114436 F1328 F119254 F117357 F117081 F116773

Size Range: 1/4-20, 5/16-18, 3/8-16,
7/16-14,1/2-13,5/8-11 & 3/4-10

©
©
©
©
©

/4 (100)
F117735

&
g
g
g

716 (50) /2 (50) 5/8 (20)
F110085 F11101 F12118

¥
8

3
s
B
8
g
3
8
8
3
z
5
8
K]

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

[}
]
]
]
]
]
]

1/4-20x1/2 (40) 5/16-18x3/4 (40) 3/8-16x3/4 (20) 7116141 (10) 172131 (10) S/8-1X1-1/2 (5) 3/410x2 (4)
F115089 F119698 F115014 F116785 F111953 F113500 F16189

This assortment also available

without the bin under part no. METAL
F0377° 1/4-20x3/4 (40) 5/16-18x1 (40) 3/8-16x1 (20) 7N6-14x11/2 (10) 1/213x141/2 (10) 5/8-11x2 (5) 3/410x2-1/2 (4)
F18722 F18967 Fn F15161 F115599 F11me3

[l
]
I
I
[l
]
I

]
]
il
]
]
]

14201 (40) 5/16-18x1-1/2 (40) 3/8-16x1-1/4 (20) 7N16-14x2 (10) 12132 (10) /8112112 (5) 3/410x3 @)
F1948 F113825 F17972 F116644 F114520 F15658 F112049

[}
]
]
]
]
]
]

1/4-20x11/2 (40) 5/16-18x2 (40) 3/816x1-1/2 (20) 7N16:14x21/2 (10) 1/213x2-1/2 (10) 5/811x3 (5) 3/410x3-1/2 (@)
F16703 F15704 F15022 F17642 F116408 F114990 F11608

[l
]
[l
I
[l
]
[

1/420x2 (40) 5/16-18x2-1/2 (40) 3/816x2 (20) 716-14x3 (10) 12133 (10) 5/811x4 (5) 3/410x4 (4)
F13752 F112120 F18524 F110974 F1381 F13203 F18087

]
]
]
I
]
I
I

1/4-20x2-1/2 (40) 5/16-18x3 (40) 3/8-16x2-1/2 (20) 7N6-14x4 (10) 1/213x4 (10) 5/8-11%5 (5) 3/410x5 (@)
F114260 F11040 F117716 F113520 F19033 F16440 F17806
Copyright © 2023

10114



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS GRADE 8 (CONT.)

F03732 ___ ___ _ _ __
S arscrewomnoo o = OREREC
&FINE 1/4-1/2 1/4-20 (100) 5/16-18 (100) 3/8-16 (50) 711614 (50) 1213 (25) 1/4(100) 5/16 (100) 3/8(50)
W/2 METAL BINS F14042 F116383 F16734 F115807 F13368 F16794 F15844 F18587
3185 pcs
Contains: Yellow Zinc Plated UNC @ . @ @ @ @ @
and UNF Gr.8 Nuts, Hex Cap Screws, 716 (50) 12 25) 1/4 (100) 5/16 (100) 3/8 (50) 7/16 (50) 12(25) 1/4-20x1/2 (50)
Flat Washers & Split Lock Wash F119778 F111004 F111413 F18731 F13460 F114362 F14641 F12210
Size Range: 1/4-20, /4-26,5/16-15, oo | oo | (oo | (o [
5/16-24,3/8-16, 3/8-24, 7/16-14, 1/4-20x3/4 (50) 1/4-20x1 (50) 1/¢20x1 -1/4 (50) 1/4-20x1-1/2 (50) 1/4-20x2 (50) 5/16-18X1/2 (50) 5/16-18X3/4 (50) 5/16-18X1 (50)
7/16-20,1/2-13 & 1/2-20 F111941 F116251 F118694 F191 F11431 F17657 F15306
Bin Dimansions: o | o | [ | o | o | |
Uses (2) 40 Compartment Bins, 5/16-18X1-1/4 (50) 5/16-18X11/2 (50) s/s sxzso 3/B16X3/4 (50) 3/816X1 (50) 3/B6X1-1/4 25) 3BABXI2 (25) 3B16X2 (25)
16-18X1-1/4 18X1-1; 16-1: U /4 -16X1 -16X1-1; 5) -16X1-1; 5) -1 5)
ei’Ch 33-3/4"Wx 23-7/8"Hx 12"D F12964 F114323 F114012 F112421 F13036 FI11261 F19888
Bin Part No.F01112
METAL @W @W @m @m @W @W @W
3/816X21/2 (25) 7/16-14X1 (25) 7/'\614)(! 1/4 (25) 7/1614)('\ 1/2 @5 716-14X2 (12) 12133172 (12) 1/213x2 (12) 1/4-28 (100)
F115650 F1139 F18820 F114039 F17353 F112844
=> =
© ©
5/16-24 (100) 7/1620 (50) 1220 (25) 1/4(100) 5/16 (100) 3/8(50) 7/16 (50)
F113783 F119675 F113462 Fi1187 F17068 F19581 F15190
112 25) /428172 (50) 1/4—28)(3/4 50) 1/42841 (50) /428414172 (50) 1/4-28x2 (50) 5/16:2413/4 (50) 5/1624x1 (50)
F15494 F112686 F114278 F115913 FI11961 F15172
571624x1-1/2 (50) 5/16 24x2 (SOD 3/8243/4 25) 38244 (25) 382401172 25) 38242 25) 716201 (25) 7162042 (25)
F117559 F118860 F119918 F17894 F118235 F17775 F11476
112201 (25) 12201472 (1 122002 (12)
F16203 F17140 F19741
F03344

SOCKET PRODUCTS USA — SOCKET

CAP COARSE #6-#10 - B I L . e

MADE IN
w/ M_ETAL DRAWER #1024x1(10) #1024x11/4(10) #1024x122(10) #1024x13/4(10) #1024x2(10) #1024x212(10)
280 Pieces Usp Fi11449 F113667 F18084 F1512 F15076 F13233
Drawer (Empty) #1024x1/4(15) #1024x3/8(15) #1024x1/2(15) #1024x5/8(15) #1024x3/4(15) #1024x7/8(10)
F0142 F113890 F18700 FIN1252 F19497 F119324. F114540
#8:32x3/8(15) #832x12(15) #832x3/4(15)
F120088 F113438 F9212
#6-32x1/4(15) #6:32x3/8(20) #6:32x1/2(20) #6:32X5/8(20) #6:32x3/4(5)
Fa182 F120016 F7734 F115910 F15728
F03345

SOCKET PRODUCTS USA — SOCKET
CAP COARSE 1/4-3/8
W/METAL DRAWER MADE IN

184 Pieces Us A

Drawer (Empty) 38x1(10) 38X 114 (10) 3/8x11/2(10) 38x13/4(7) 38x2(7)
F0142 F11640 F116139 F14254 F117105 F115320
METAL 5/16x3/4(15) 5/16x1(15) 5/16x1-1/4(10) 5/16x1-1/2(10)
F15042 Fld685 F114247 Fl19741
1/4x1/2(20) 1/4x3/4(15) 1/4x1(15) VAXTI/A(S) 14x112015) 1/4x2(10)
FII31m F13191 F12773 F17066 F112463 F112458
Copyright © 2023

101145



ASSORTMENTS

1 Fasteners

FASTENERS — SOCKET PRODUCTS USA (CONT.)

F03346
SOCKET PRODUCTS USA — SOCKET CAP
FINE #6-#10 b . R [ | e | S

w/ M,ETAL DRAWER #1032x1(10) #10:32x11/4(10) #1032x11/2(10) #10-32x1:3/4(10) #10:32x2(10)(10) #1032x21/2(10)
260 Pieces MADE IN F116602 F117970 F18132 F18229 F11843 Fi7611
Drawer (Empty) #1032x1/4(15) #1032x3/8(15) #10-32x12(15) #1032x5/8(15) #1032x3/4(15) #10-32x7/8(10)
F0142 F11690 F113143 F115677 F17551 F18480 F113108
METAL #8-36x3/8(15) #836x1/2(15) #8-36X3/4(15)
F117183 F1899 F18780
[ | — | B | T
#6-40x1/4(15) #6-40x3/8(20) #6-40x5/8(20) #6-40x3/4(15)
F110336 F116498 Fi2155 F13501
F03347

SOCKET PRODUCTS USA — SOCKET CAP
FINE 1/4-3/8
W/METAL DRAWER MADE IN

184 Pieces USA

| O | R | | SR

DraW:(;_l(Ezm pty) 3/824x1(10) 3/824X11/4(10) 3/824x11/2(10) 3824x1:3/4(7) 3824x207)

F110611 F15677 F11600 F115046 F114595

METAL e (s ||

5/16-24x3/4(15) 5/16-24x1(15) 5/16-24x1-1/4(10) 5/1624x1-1/2(10)
F114776 F11242 F116044 F16132

[= ) LR | | SRR | SRR | (e b

1/4-28x1/2(20) 1/4-283/4(15) 1/4-28x1(15) 1/4%2811/4(15) 1/4-28x11/2(15) 1/4-28x2(10)
F115322 F110108 F18544 F118976 F114729 F119701

F03731

SOCKET PRODUCTS USA — SOCKET CAP (T |7 oo | oo |0 Toms | oy | [ o [ o | (]

COARSE 1/4-1/2

W/ METAL BIN 1/4-20X3/8 (50) 1/420X1/2 (50) 1/4-20X3/4 (50) 1/4-20X1 (50) 420X 14172 (50) 1/420X2(50) 1/4-20X2/2 (50) 1/4-20X3 (50)
MADE IN F16809 F113m F13191 F12773 F112463 F112458 F1741 F114409

1096 pcs

Contains: Black Oxide Plated

Socket Head Cap Screws, 5/16-18X1/2 (50) 5/16-18X3/4 (50) 5/16-18X1 (50) 5/16-18X 1-1/2(50) 5/16-18X2 (50) 5/16-18X2-1/2 (50) 5/16-18X3 (50) 5/16-18X3-1/2 (50)

Alloy Steel, Made in USA F13586 F15042 F14685 F119741 F119396 F115272 F119265 F12075

)
Size Range: 1/4-20,5/16-15, Comow | Cooow | (oo | Cooes | oo | oo | (oo | /omm
3/8-16&1/2-13 3/816X3/4 (25) 3/816X1 (25) 3/816X1-1/2 (25) 3/816X2 (25) 3/816X2-1/2 (25) 3/8-16X3 (25) 3/816X3-1/2 (25) 3/8-16X4 (25)
F118317 F11640 F14254 F115320 F18998 F119175 F13622 F13541

Bin Dimensions:

33-3/4"W x 237/8"H x 12'D {2 o o v A

BinPartNo.F01112
METAL 1/213X1(12) 1/213X11/2 (12) 1/213X2(12) 1/213X2:/2 (12) 1/213X3(12) 1/213X3-1/2(12) 1/213X4(12) 1/213X41/2 (12)
F110698 F13621 F118862 F110708 F14520 F11504 F11341 F115150

F03350
SOCKET PRODUCTS USA—BUTTONHD
SOCKET CAP COARSE #4-3/8

|

W/METAL DRAWER Vaxza0)
340 Pieces MADE IN F12465
Drawer (Empty) #6x5/820) VaxsBE0) 5716%100) 38x100)
F0142 F118638 F116956 F114403 F116227
METAL | I
#4x1/2(20) #6x3/8(20) #10x1(0) 1/4%1/2(20) 5/16x3/4(20) 3/8x3/4(20)
F16682 F111560 F12577 Fl7151 F17257 F116872
#4x1/420) #6x1/420) #10x1/2(20) 1/4x3/8(20) 5/16x1/2(20) 38x1/2(20)
F15389 F12261 F17245 F118442 F16049 F17825
Copyright © 2023

10116



ASSORTMENTS

Fasteners 1

FASTENERS — SOCKET PRODUCTS USA (CONT.)

F03351
SOCKET PRODUCTS USA —BUTTON HEAD
SOCKET CAP FINE #6-3/8

e

-

" i

N

b

W/METAL DRAWER
240 Pieces MADE IN
Drawer (Empty)
F0142
METAL
F03348

SOCKET PRODUCTS USA — FLATHEAD
SOCKET CAP COARSE #6-1/2

5/16x1/2(10) 5/16x5/8(10) 5/16x3/4(10) 5/16x1(10) 38x1/2 (10) 3/8x1(10)
F114827 F112792 FI11376 F17174 F117061 F114446
1/4x3/8(15) 14x172(15) 1/4x5/8(15) 1V4x3/4(15) 1/4x1(15)
F114379 F17450 F118991 F17297 F15247
#10x7/8(15) #10x1(15)
F18464 F14697

-

#10x1/4(15)
F117378

-

#10x3/8(15)
F116476

-~

#10x1/2(15)
F110466

1 i

#10x5/8(15)
F17333

o i

#10x3/4(15)
F11531

.

.

-

o

o o

W/METAL DRAWER
200 Pieces MADE IN
usA
Drawer (Empty)
F0142
METAL
F03349

SOCKET PRODUCTS USA — FLAT HEAD
SOCKET CAP FINE #6-1/2

W/METAL DRAWER
220 Pieces MADE R
USA
Drawer (Empty)
F0142
METAL
F03352

SOCKET PRODUCTS USA — SOCKET SET
CUP POINT COARSE #6-3/8

#6-32x1/4"(10) #6-32x3/8"(10) #8:32x3/8"(10) #8:32x1/2'(10) #1024x1/2'(10) #1024x34"(10)
F118588 F113395 F13142 F115963
#1024x17(10) 1/4-20x1/2°(10) 1/4-20x1(10) 5/16-18x1/2(10) 5/16-18x3/4"(10) 5/16-18x1"(30)
F117282 F115795 F120351 F11517 F17519 F114103
5/16-18x1-1/4"(5) 5/16-18x11/2"(5) 3/8-16x3/4" (10) 3/8-16x1"(5) 3/816x1-1/4"(5) 3/816x1-1/2"(5)
Fl4722 Fla611 F115325 F110190 F117618 F14221
3B16x2'(5) 3/B16x21/2"(5) 1273x1(5) 1213x11/2"(5) 1213x2'(5)
F16354 F119235 F19731 F19372 F119787
1/220x1(10) 1/2:20x1-1/2(10)
F117247 F110934
5/1624x3/4(10) 5/1624x1(10) 3/8:24x1(10) 3/824x11/2(10)
F17095 F18005 F112002 F115725
#10-32x11/2(20) 1/428x1/2(10) 1/4-28x3/4(10)
F13055 FrI8564 Fi7193
#10-32x3/8(20) #1032x1/2(20) #10-32x5/8(20) #1032x3/4(20) #10-32x1(0) #10-32x1-1/4(20)
F110636 F113010 F14840 F115511 F118289 F117418

W/ METAL DRAWER
400 Pieces MA§ IN
Drawer (Empty)
F0142

METAL

5/16x3/8(20) 5/16x1/2(20) 5/16x3/4(20) 3/8X3/8(20) 3/8X3/4(20)
F117402 F116529 F112979 F113171
1/4x1/4(20) 1/4x3/8(20) 1/4x3/4(20) 5/16x1/4(20) 5/16x5/16(20)
F114715 F19583 F14738 F110905 F116042

#10x1/4(20) #10x3/8(20) #10x1/2(20) #10x3/4(20)
F116057 F119322 F16690 F114923
g R L) ] [ S
#6X1/4(20) #6x1/2(20) #3x3/16(20) #3x5/16(20) #8x3/8(20) #8x5/8(20)
F14829 F112851 F19597 F16393 F13164 F115595
Copyright © 2023

10117



ASSORTMENTS

1 Fasteners

FASTENERS — SOCKET PRODUCTS USA (CONT.)

F03353
SOCKET PRODUCTS USA — SOCKET SET

SCREW CUP POINT FINE #10-3/8 ~ ‘ ” ~ “
W/METAL DRAWER

" 5/16x3/8(15) 5/16x5/16(15) 516x1/2(15) 38x12(5) 3/Bx3/4(15)
365 Pieces MADE IN F13808 FI5579 F118464 F114487 F116381
Drawer (Empty) ) Vax1205) Vax1(5) Vax1409)
F0142 F118785 F15066 F1922 F112217
g i S
METAL #10x5/8"(25) #10x34°25) #10x1"(25)
Fi2216 Fiss12 Fis321
L] [ Sy i B
#10x316°25) #0X1/4°25) #10X5/16'(25) #10x3/8"(25) #ox1209)
F17770 F112516 Fr1s88 Fl9797 Fi11027
F03354
SOCKET PRODUCTS USA — SOCKET SET
SCREW KNURLED POINT COARSE #6-3/8
W/METAL DRAWER MADE IN 3Bx38(20) 3/8x1/2(20)

405 Pieces USA F12032 F14968

Drawer (Empty) 5/16x1/4(20) 5/16x5/16(20) 5/16x3/8(20) 5/16x1/2(20)
F°1 42 F114368 F119293 F119496 F17641
METAL @ g L L S R
1/4x3/16/(25) 1/4x1/4(25) 1/4x5/16(25) 1/4x3/8(20) 1/4x1/2(20) 1/4x3/4(20)
F14asn F110495 F16845 F14208 F119997 F11237

#6x1825) #x14°(25) BxV8(25) #8x1/47(25) #10x3/16°(25) #0x14(25)
F118760 F13867 F12733 F18528 F1a251 F15271
F03355
SOCKET PRODUCTS USA —
SHOULDERSCREW 114172 TIS A e
W/METAL DRAWER y N
pee USA B S =
Drawer (Empty) 38x126) 38x16) 38x1146) IBx134() 3Bx214() 38x30)
F0142 F1680 F111613 F116824 F12200 F12940 F115286
METAL
5/16x3/8(4) 5/16x5/8(4)
F112399 F13629
14x3/8(4) axS/8() Vax114@)
F117803 F113425 F19552
F03141
SOCKET PRODUCTS — SOCKET CAP
COARSE #6-#10
W/SMALL PLASTICBOX
300 Pieces
s i o - e B
Drawer (Empty) 632x3/8'(25) 632x1/2'(25) 632x3/4(25) 832x3/8'(25) 832x1/2'(25) 832x34(25)
F012112 F18536 F1913 F13964 F17202 F17991 F12808

PLASTIC

T S | Dowws | Goses Swoes | Qoo

10-24x1/2"(25) 10-24x3/4"(25) 10-24x1"(25) 10-32x1/2"(25) 10-32x3/4"(25) 10-32x1"(25)
F119397 F14327 F18364 F19066 F115515 F110780
Copyright © 2023

10118




ASSORTMENTS

Fasteners 1

F03140
SOCKET PRODUCTS — SOCKET CAP
COARSE 1/4-3/8

FASTENERS — SOCKET PRODUCTS (CONT.)

W/SMALL PLASTICBOX
120 Pieces
Drawer (Empty) |
F012112 ﬁ
(5 TR
PLASTIC
F03279

SOCKET PRODUCTS — SOCKET CAP
COARSE #6-#10

W/METAL DRAWER

380 Pieces

Drawer (Empty)
F0142

METAL

F03280

SOCKET PRODUCTS — SOCKET CAP
COARSE 1/4-3/8

W/METAL DRAWER

225 Pieces

Drawer (Empty)
F0142

METAL

F03716

SOCKET PRODUCTS — SOCKET CAP
COARSE 1/4-1/2

W/METAL BIN

1096 pcs

Contains: Black Oxide Plated
Socket Head Cap Screws,
Alloy Steel & Import

Size Range: 1/4-20, 5/16-18,
3/8-16&1/2-13

Bin Dimensions:
33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

1/4"20x1/2"(10)
F119888

T

VA"20x3/4"(10)
F19790

T w;

5/16-18x3/4"(10)
F112423

5

5/16™18x1"(10)
F13149

3/8-16x3/4" (10)
F112086

S

3/8-16x1"(10)
F119624

-

T

P

U

R

b

1/420x1"(10) /420X 1-/4"(10) 5/16™18x1-1/4"(10) 5/16™18x1-1/2"(10) 3/8"16x 114" (10) 3/816x11/2"(10)
F114036 F110332 F16169 F19782 F115748 F17507
T T o e T T
6-32x1/4(25) 6-32x3/8(25) 6-32x1/2(25) 6-32x5/8(25) 6-32x3/4(15) 6-32x1(15)
7 F18536 F1913 F14087 F13964 F1783
pa Tmme e T T T
832x1/4(25) 832x3/8(25) 832x12(25) 832x5/8(25) 832x3/4(15) 832x1(15)
F13370 F17202 F17991 F118429 F12808 F18738
1024x3/8 1024x172 1024x5/8 10-24x3/4 1024x1(15) 1024 1-1/4(15)
F114823 F119397 F111257 F114327 F18364 F115536

T

1024x1-1/2(15)
F16823

10-24%2(15)
F15207

i

1/4x1/2(20)
F119888

p

1/4x3/4(15)
F19790

s

14x1(15)
F114036

o

1/4x1-1/4(15)
F110332

s

14x11/2(15)
F14379

|

1/4x2(10)
F117166

!
|
I
J

5/16x1/2(15) 5/16x3/4(15) 5/16x1(15) 5/16x1-1/4(10) 5/16x1-1/2(10) 5/16x2(10)
F16651 F112423 F13149 F16169 F19782 F17374

3/8x1/2(10) 3/8x34(10) 3/8x1(10) 3/8x1-1/4(10) 3/8x11/2(10) 3/8x1-3/4(5)
F12543 F112086 F119624 F115748 F17507 F16689

l

3/8x2(5)
F18987

1/4-20X3/8 (50) 1/4-20X1/2 (50) 1/4-20X3/4 (50) 1/4-20X1 (50) 1/4-20X1-1/2 (50) 1/4-20X2 (50) 1/4-20X2-1/2 (50) 1/4-20X3 (50)
F113252 F119888 F19790 F114036 F14379 F117166 F12655 F16028
5/16-18X1/2 (50) 5/16-18X3/4 (50) 5/16-18X1 (50) 5/1618X1-1/2 (50) 5/16-18X2 (50) 5/1618X2-1/2 (50) 5/16-18X3 (50) 5/1618X3-1/2 (50)
F16651 F112423 F13149 F19782 F17374 F16535 F115273 F16353
3/8-16X3/4 (25) 3/8-16X1 (25) 3/8-16X1-1/2 (25) 3/8-16X2 (25) 3/8-16X2-1/2 (25) 3/816X3 (25) 3/8-16X3-1/2 (25) 3/8-16X4 (25)
F112086 F119624 F17507 F18987 F118690 F110805 F16213 F112622
1/243X1 (12) 1/243X11/2 (12) 1/213X2 (12) 1/213X21/2 (12) 1/213X3 (12) 1/213X31/2(12) 1/213X4 (12) 1/213X44/2 (12)
F18961 F12395 F17830 F11391 F15727 F115783 F119281 F116739
Copyright © 2023

101119




ASSORTMENTS

1 Fasteners

FASTENERS — SOCKET PRODUCTS (CONT.)

F03290
SOCKET PRODUCTS — SOCKET CAP
FINE #6-#10 P D * e e ! em—
w/ M,E TAL DRAWER 640x1/4(25) 6-40x3/8(25) 640x1/2(25) 6-40x5/8(25) 6-40x3/4(15) 6-40x1(15)
355 Pieces F13138 F11259 F16272 F18571 F15057 F17521
[ s ! T o
Drawer (Empty) 836x3/8(25) 836x12(25) 836x5/8(25) 836x3/4(15) 836x1(15)
F0142 F116715 F16740 F113914 F110733 F1251
Dum M g 7 —
METAL
1032x3/8(15) 1032x1/2(15) 1032x5/8(15) 1032x3/4(15) 1032x1(15) 1032x11/4(15)
F112949 F19066 Fi1324 Fl15515 F110780 F110075
S
10-32x14/2(15) 1032x2(15)
15954 FI11368
F03291
SOCKET PRODUCTS — SOCKET CAP
FINE 1/4-3/8 [P Zl o o T ———— T
w/ MFTAL DRAWER 1/4x1/2(20) 1/ax3/4(15) 1/4x1(15) 14x17/4(15) 1ax11/2015) 1/4x2(10)
225 Pieces F17391 F112658 F17909 F119399 F14612 F15424
Drawer (Empty) 516x1/2(15) 5/16x3/4(15) 5/16x1(15) 5/16x11/4(10) S/16x11/2(10) 5/16x2(10)
F0142 F1732 F16698 F118291 F13076 F119974 F16801
METAL
3/8x1/2(10) 3/8x3/4(10) 3/8x1(10) 38X 11/4(10) 38x112(10) 38x13/4(5)
F15761 F116786 F119980 F114221 FI11877 F12223
38x2(5)
F15299
F03298
SOCKET PRODUCTS —BUTTON HEAD
SOCKET CAP #4-5/16 o o [ ™ [ L
w/ MFTAL DRAWER 4-40x1/4(25) 4-40x3/8(25) 4-40x1/2(25) 632x1/4(25) 632x3/8(25) 632x1205)
370 Pieces F12691 F115302 F110305 F110458 F116266 F113624
Drawer (Empty) 832x1/4(25) 832x3/8(25) 832x1205 832x3/4(25) 1024x3/8(15) 1024x172(15)
F0142 F14954 F112737 F110250 F13727 F118541 F111071
METAL I '
1024x3/4(15) 1024x1(15) 1/420x1/2(10) 1/420x3/4(10) 1/420x1(10) 5/1618x1/2(10)
F18707 F110m18 F119456 F119050 Fli64 F112473
5/16-18x3/4(10) 5/16-18x1(10)
F18470 F118389
F03340
SOCKET PRODUCTS — FLAT HEAD i
SOCKET CAP COARSE #6-1/2
w/ MFTAL DRAWER 1/213x2°(10) 1213x14/2°(10) 12-13x77(10) 3/8"16x11/2°(10) /816X 1 (10) IBI6X 34" (20)
770 Pieces F116572 F12057 F18217 F14636 F13771 F1269
Drawer (Empty) 5/16118x1"(25) 5/16418x 34" (25) 5/16118x1/2"(25) 1420%1"25) 1V420x3/4 (25) 14"20%1/2°(25)
F0142 F110563 F16889 F12960 F14837 F111861 F118347
METAL l ' ) ) b b
1024x11/4°(25) 1024x1"(25) 1024x3/4(50) 1024172 (50) 832x71°(50) 832x3/47(50)
F16286 F14010 F110971 F117251 F110972 F18121
_ h s o oy [
832x1/2(50) 832x3/8"(50) 632x3/4'(50) 632x1/2(50) 632x3/8"(50) 632x1/4'(50)
F1716 F12382 F7161 F19828 F11256 FIN513
Copyright © 2023

10-1-20



ASSORTMENTS

Fasteners 1

F03341

SOCKET PRODUCTS — FLATHD
SOCKET CAP SCREWS FINE #10-1/2
W/METAL DRAWER

280 Pieces

Drawer (Empty)
F0142

F03146

SOCKET PRODUCTS — SOCKET SET
SCREWS CUP POINT #4-1/4
W/SMALL PLASTIC BOX

450 Pieces

Drawer (Empty)
F012113

F03342

SOCKET PRODUCTS — SOCKET SET
SCREWS CUP POINT COARSE #4-3/8
W/METAL DRAWER

390 Pieces

Drawer (Empty)
F0142

F03343

SOCKET PRODUCTS — SOCKET SET
SCREWS CUP POINT FINE #10-3/8
W/METAL DRAWER

750 Pieces

Drawer (Empty)
F0142

METAL

PLASTIC

METAL

METAL

FASTENERS — SOCKET PRODUCTS (CONT.)

10-32x3/8(20) 10-32x1/2(20) 10-32x5/8(20) 10-32x3/4(20) 1032x1(0) 10-32x1-1/4(20)
F110979 F14835 F119453 F19045 F19563
1032x11/2(20) 1/428x1/2(10) 1/428x3/4(10) 1/4-28x1(10) 1/4-28x 1-/4(10) 5/16:24x1/2(10)
F110057 F12215 F18739 F12039 F112731 F13912
5/1624x3/4(10) 5/1624x1(10) 5/16:24x11/4(10) 3/8:24x3/4(10) 3/8:24x1(10) 3/8-24x1-1/4(10)
F14843 F120053 F118046 F119779 F15895 F114872
1/2:20x1(10) 1/2:20x 11/4(10) 1/220x11/2(10)
F118405 F19247 F118952
. ) s L] Ry e
4-40x1/4" (25) 4-40x3/8"(25) 4-40x1/2"(25) 632x1/4"(25) 6:32x3/8"(25) 632x1/2"(25)
F15110 F119909 F111217 F111646 F119034 F114399
my S s [ ] iy R
832x1/4°(25) 832x3/8"(25) 832x1/2'(25) 1024x1/4"(25) 10-24x3/8"(25) 1024x1/2'25)
F13025 F116427 F110679 F118321 F110601 F13113
- ity ™ L] o L
1032x1/4"(25) 10-32x3/8"(25) 10-32x1/2"(25) V420X 1/4"(25) 1/4"20x3/8"(25) 1/420x1/2"(25)
F15651 F13163 F118365 F112059 F16891
- - Ed » L o
440x1/8(25) 4-40x1/4(25) 4-40x3/8(25) 632x1/8(25) 632x3/8(25) 632x1205)
F17463 FI5110 F119909 F112834 F119034 F114399
s o e - g Ll
832x1/4(25) 832x3/8(25) 832x12025) 10-24x1/4(25) 10-24x3/8(25) 10-24x1/225)
F13025 F116427 F110679 F118321 F110601 FI3113
» ] P o L Ly
1/420x1/4(10) 1/420x3/8(10) 1/420x1/2(10) 5/16-18x1/2(10) 5/16-18x3/4(10) 5/16-18x1(10)
F112059 F13709 16891 F18286 F112649 F110350
3/816x3/8(10) 3816x1/2(10) 3/8-16X3/4(10)
F112055 Fizn F116813
" w Ly [ LU g T
10x3/16"(50) 10X 1/4"(50) 10x3/8"(50) 10x1/2"(50) 10x3/4"(50) 10x17(50)
F113323 F15651 F13163 F118365 F118846 F12426
[ J e e L [
14X 14 (50) 1/4"x3/8"(50) 1/4"x1/2"(50) 1A' X3/4' (50) 14'x1"(50)
F19908 F113131 F119834 F116519 FI7112

5/16"x5/16"(25)
F18040

5/16"x3/8"(25)
F113717

5/16"x1/2"(25)
F119942

5/16"x3/4"(25)
F13213

5/16"x1"(25)
F115752

3/8"x3/8"(15) 3/8"x1/2"(15) 3/8"x3/4"(15) 3/8"x1"(15) 3/8"x1-1/2"(15)
F113592 F117331 F113237 F12099 F13462
Copyright © 2023

10-1-21




ASSORTMENTS

1 Fasteners

FASTENERS — SOCKET PRODUCTS (CONT.)

F03356

SOCKET PRODUCTS — SQUARE HEAD
SET SCREW 1/4-1/2

W/METAL DRAWER

254 Pieces

Drawer (Empty)
F01135

METAL

F03339

LAG SCREWS —
1/4-3/8

W/METAL DRAWER
305 Pieces

Drawer (Empty)
F0143

METAL

F03362

CARRIAGE BOLTS — CARRIAGE GRADE 2 ZINC
1/4-5/16

W/METAL DRAWER

445 Pieces

Drawer (Empty)
F01135

METAL

F03740

CARRIAGE BOLTS — GRADE 2 ZINC
1/4-1/2

W/METAL BIN

1925 pcs

Contains: Bright Zinc Plated Nuts,
Carriage Bolts, Flat Washers
& Split Lock Washers

Size Range: 1/4-20, 5/16-18,
3/8-16,7/16-14 & 1/2-13

Bin Dimensions:
33-3/4"Wx23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

This assortment also available

without the bin under part no.
F03798

10-1-22

1/2'x3"3) 1/2"'x24/2"(3) 12'x2"3) 1/2'x1"(5) 3/8"x3"(5)
F118978 F13685 F118450 F118423 Fromz
3/8"x2'(10) 3/8"x1"(10) 3/8"x3/4"(10) 5/16'x3"(10) 5/16'x2"(10)
F113528 F16762 F119354 F17473 F117905

5/16"x1-1/2"(25)
F111181

5/16"x1"(25)
F19886

5/16"X3/4" (25)

F112787

1/4'x3"(10)
F14553

S

14'X2(25)
F14266

14'x1"(25)

F116206

1/4"x3/4" (25)
F17757

14'x1/2"(25)

F119845

FASTENERS — LAG SCREWS

3/8"x4"(10) 3/8"x3"(10) 3/8"x2-1/2"(10) 3/8"x2"(20)
F13148 F116548 F111405 F112981
38'x1-1/2"(20) 5/16'x3"(25) 5/16'x2"(25) 5/16x11/2"(25)
F15193 F11378 F120037 F16263
5/16"x1"(25) 1/4"x3"(25) 1/47x2-1/2"(25) 1/47x2"(25)
F113803 F11658 F12553 F15054
1A'X11/2(25) 174X 1"(25)
F16665 F17538
5/16-18x3(10) 5/16-18x21/2(15) 5/16-18x2(15) 5/16-18x1-3/4(25) 5/16-18x 1-1/2(25)
F15253 F113156 F12203 F12511 F115904
5/16-18x1-1/4(25) 5/16-18x1(30) 5/16-18x3/4(30) 1/420%2:3/4(20) 1420%21/2(25)
F12338 F110916 F14876 F115381
1/420x21/4(25) 1/420%2(25) 1/4-20X1-3/4(25) 1/4-20x11/2(30) 1/4-20x 1-/4(30)
F112617 Fi1a161 F117980 F16374 F11384
1/420x1(30) 1/420x3/4(30) 1/4-20x1/2(30)
F113034 F113621 F114793
1/420 (100) 1/4 (100) 1/4 (100) 14201 (50) 1/420X1-1/2 (50) 1/4-20X2 (50) 1/4-20X2-1/2 (50) 1/4203 (50)
F16299 F1719% F117909 F113034 F16374 Fi1a161 F115381 F11607
At
5/16-18 (100) 5716 (100 5/16 (100) 5/16-18X1 (50) 5/1618X1-1/2 (50) 5/16-18X2 (50) 5/16-18X2-1/2 (50) 5/16-18X3 (50)
F1271 F19322 F117156 F12663 F115004 F12203 F113156 F15253
30816 (50) 318 50) 3850 386X (25) 3BI6X11/2 25) 3B16X2 25) 3/B6X21/2 25) 3/B16X3 25)
F117892 F114148 F117001 F16879 F19350 F19338 F117792 F115019
771614 (50) 7716 60) 7716 (50) 7716-14X1 (25) 7/16-14X1-1/2 (25) 7/16-14X2 25) 7/16-14X2/2 (25) 7/16-14X3 (25)
F118126 F116903 F15121 F19971 F19208 F114615 F16381 F110256
At
11213 (50) 1/2 (50) 112 (50) 1/213X1 (25) 1213X172 25) 12413X2 25) 1/213X21/2 (25) 1/213%3 (25)
F112342 F13603 F116881 F1456 F11336 F115841 F11545 F15636
Copyright © 2023



ASSORTMENTS

Fasteners 1

FASTENERS — CARRIAGE BOLTS (CONT.)

F03361
CARRIAGE BOLTS — CARRIAGE GRADE 5 f
ZINC 1/4-3/8 :
w/ METAL DRAWER 3/816x2(10) 3816x1-3/4(10) 3/816x112(10) IBI6x1-VA(15) 3816x1(15)
350 Pieces F14803 F11030 F17356 F18871 F118788
i ,E
Drawer (Empty) 5/1618x21/2(10) 51618x2(15) 51618x11/2(15) 5/1618x11/4(20) 5/1678x120)
F01135 F16545 F117064 F19396 F18273 F115990
METAL 1/420x3(10) 1420%21/2(20) 1420x2(20) 1420x11/2(20) 1420x11/420)
F1503 F110235 Fl442 F15632
1/4-20x1(40) 1/4-20x3/4(40) 1/4-20x1/2(40)
F11383 F117006 F115287
F012449
TAP BOLTS —HEX FLANGE & LOCKING
FLANGE NUT GR 8 1/4-1/2
w/ M'ETAL DRAWER 12x26) 12x2126) 12x36) 1213010
260 Pieces Fi3664 F115204 Fi114s F11451
Drawer (Empty) I8x11/2(10) 38x2(10) 38x3(10) 3/816(25)
F0143 F18811 F119574 F15959 F111286
METAL S16x11/2(15) 5/16x2(15) 5/16x212(15) 516-1805)
F116039 Fiizm2 F17995 F116220
1ax1 20) 14x2 20) 14x21/2(20) 1/420(50)
F1952 F11271 F16537 F118385
F03268
TAP BOLTS — HEXTAPGR5 6 - o
ZINC 1/4-1/2 F—— o G
X172 25) x2'25) "wes) 429 1225
‘;;/OnglEeIgl- DRAWER Fima2 F119612 F15071 Frooes Fioras
&, £
s | T o o o
516x11/2'(25) 16'x2'(29) 516'(05) 516'(25) 5/16'(25)
Drawer (Empty) Flas18 F13880 F11631 F118314 F15844
F01135
— | (= o o O
MeraL G £ s e e
12'x14/2°(10) 12'x2°(10) 172/(10) 1200 17210
F1116 F18635 F112039 F16277 F111004
ALLTHREAD ROD — GRADE 2 ALLTHREAD ROD —B7
ZINC 1/4-3/4X 3’ YELLOW ZINC 1/4-1" X 3’
F03756 (includes rack) F03755 (includes rack)
Size Qty Part No. Size Qty Part No.
1/4x36 3 F1793 1/4x36 2 F111026
5/16x36 3 F15216 5/16x36 2 F14394
3/8x36 3 F114956 3/8x36 2 F16588
1/2x36 3 F15841 1/2x36 2 F119491
5/8x36 1 F113184 5/8x36 1 F11822
3/4x36 1 F12662 3/4x36 1 F117192 RodRack (Empty)
1x36 1 F14957 F01095
Copyright © 2023

10-1-23



ASSORTMENTS

1 Fasteners

FASTENERS — MACHINE SCREWS

F03233
MACHINE SCREWS — PHILLIPS
PAN ZINC #4-#10 o o Q de = [ G [
v v ¢ ¢ v
wr METAL DRAWER 1032(50) #10(50) #10(50) 1032x3/8'(25) 1032x1/2'25) 1032x34°(25) 1032x1°25) 1032x11/2(25)
1100 Pieces F112903 F111782 F18977 F113178 F118651 F113077 F116914 F115078
Drawer (Empty) 832(50) #8(50) #8(50) 832x38°05) 832x1/2'25) 832x3/4"(25) 832x1°025) 83211205
FO1137 F116917 F115930 F16812 F114756 F110980 F11368 F112087 F116748
METAL 632(50) #6(50) #6/50) 632x3/8'(25) 632x1/2'(25) 632x3/4°(25) 632x1°(25) 632x11/2'25)
F112282 8175 F15347 F18893 F111989 F116466 Fi11344 F119595
[e] (o] [+ [ [ - [, [e— [ o—
440650 #4(50) #4(50) 4-40x14°(25) 4-40x3/825) 4-40x1/2°(25) 4-40x34"(25) 440x1°(25)
F17614 F19274 Fi19742 F19837 F119897 F113834 F114333 F113030
F013761
MACHINE SCREWS — PHILLIPS PAN HEAD
W/METAL DRAWER ™ s [— [— [— [rm— o s
1475 Pieces 632x14°(50) 632x3/8"(50) 6:32x1/2'(50) 632x5/8"(50) 632x34°(50) 632x1"(50) 832X14"(50) 832x3/8"(50)
F16141 F18893 F111989 F116676 116466 F111344 F12391 F114756
832x12(50) 832x5/8"(50) 832x3/4°(50) 832x1"(50) 1024x3/87(50) 1024x1/2'(50) 1024x3/47(50) 1024x1°(50)
F110980 F14807 F11368 F112087 F15719 F15802 F14440 F115640
Drawer (Empty)
F01137
METAL )
1024114 25) 1024x1/2°25) 10.32x1/4(50) 1032x1/2'(50) 1032x3/4(50) 10:32x1°(50) 1032x1/2°25) 1224x3/8"(50)
F113728 F12650 F17277 F118651 F113077 F116914 F115078 F127909
1224x172°(50) 1224x34(50) 1224x7(50) 1224x11/2'(25) 1/a20x1/2'(50) 1420x3/4(50) 1/420x7(50) 1/420x11/2'(25)
F16439 FI11894 F110087 F18167 F17997 Fimes7 F11842 F129m
F03234
MACHINE SCREWS — PHILLIPS PAN
ZINC #6-#10 s s e [ [ Ay o
w/ ME_TAL DRAWER 1032x11/2°(50) 10-32x 114"(50) 1032x1°(50) 103234 (50) 1032x1/2'(50) 103238 (50)
1200 Pieces F115078 F116669 F116914 F113077 F118651 F113178
Drawer (Empty) 8:32x11/2'(50) 832x1"(50) 832x3/4"(50) 832x1/2(50) 832x3/8"(50) 83214 (50)
14. F116748 F112087 F11368 F110980 F114756 F112391
a &
METAL #: # Homssse S s [
632x11/2°50) 632x1°(50) 632x3/4(50) 632x12(50) 632x3/8"(50) 632x1/47(50)
F119595 FT1344 F116466 F111989 F18893 F16141
10-32(100) 832(100) 632(100)
F112903 F116917 F112282
F05015
MACHINE SCREWS — PHILLIPS PAN
ZINC #6-1/4 [ == [ [ = [
wr METAL DRAWER 632x3/8(50) 632x1/2'(50) 632x3/4(50) 632x7"(50) 832x3/8'(50) 832x1/2'(50)
1000 Pieces F18893 F11989 F116466 FI11344 F114756 F110980
Drawer (Empty) 832x3/4°(50) 832x1°(50) 1024x1/2°(50) 102434 (50) 10:24x1°(50) 1032x1/2(50)
F0142 F11368 F112087 F15802 F14440 F115640 F118651
METAL h b M m o o
103234 (50) 1032x1°(50) 1420x1/2°(25) 1/420x1"(25) 632(50) 832(50)
F113077 F116914 F17997 F1842 F112282 Fl16917
o o o
1024(50) 1032(50) 1/420(50)
F19938 F112903 F119416
Copyright © 2023

10-1-24



ASSORTMENTS

Fasteners 1

FASTENERS — MACHINE SCREWS (CONT.)

F011908

MACHINE SCREWS — PHILLIPS PAN -
ZINC #6-1/4 (] ¢ ¢ 6 m
w/ ME_TAL DRAWER 6-32x3/8"(50) 6-32x1/2"(50) 6-32x3/4" (50) 6-32x1"(50) 6-32x1-1/2"(50) 8-32x3/8"(50)
1025 Pieces F18893 F111989 F116466 FI11344 F119595 F114756

[ ¢ | G | (e e Qo

Drawer (Empty) 832x1/2'(50) 832x3/4°(50) 832x1"(50) 832x11/2(50) 1024x3/8(50) 1024x1/27(50)
F0142 F110980 F11368 F112087 F116748 FI5719 F15802

METAL (i A A

10-24x5/8"(50) 10-24x3/4" (50) 10-24x1"(50) 1024x11/2"(25) 1/420x1/2"(25) 1/4-20x11/2" 25)
F114688 F14440 F115640 F12650 F17997 F112911

o o o o

632(50) 832(50) 1024(50) 1/4:20(50)
F112282 F116917 F19938 F119416
F03232
MACHINE SCREWS — PHILLIPS PAN
ZINC#10-1/4 b & ¢ -
w/ M_ETAI- DRAWER 1024x2(10) 1024x21/2(10) 1024x37(10) 1420x21/2'(10) 1420x3(10)
715 Pieces F113587 F119861 F117691 F18189 F110414
o (o) O = o | (| G
Drawer (Empty) 42005) 4(50) 4(50) Va20x1/2°0) 1420x34015) Va20x1°(15) 1420x12°05) 1420x2°10)
F01137 F119416 F117552 F117909 F17997 F111857 F11842 F1129m FM21s
s | e
METAL o (o) C e e ‘ b= ¢
122425) #12(50) #12(50) 22317225 1224x34°(15) 220x7°(15) 22x11/2'015) 1224x2°(10)
F13241 F120003 F17537 F16439 FI11894 F110087 FI6713
1024(50) #10(50) #10(50) 1024x3/8°(25) 1024x1/2°25) 1024x3/4(25) 1024x7"(25) 1024x1/2(15)
F19938 Fi11782 F18977 F15719 F1582 F14440 F115640 F12650
F03230
MACHINE SCREWS — PHILLIPS ROUND
ZINC /NUTS #6-1/4 s - ()
w/ M,ETAL DRAWER x4 (25) HOXx38'25) #ox12(25) #6x3/4°25) #6x1°(025) 632(50)
650 Pieces F114497 F115938 F117287 F118459 F112933 F112282
Drawer (Empty) #8x3/8'(25) #8x1/2'(25) #8X3/4"(25) #8x1"(25) #8x11/2'(25) 832(50)
14 F15355 F113436 F12704 F116299 F19012 F116917
METAL W ‘E:u::m “mm W C\
#10x1/2'29) #10x3/4(25) #0x1'(25) #0x19/2°25) 10.24(50)
Fi11958 F115876 F116497 F1103 F19938
&m oy ‘qhw,m...mm»s T D
J ‘,m ‘, Wm )
V12" 25) Va3 25) X1 25) 172" 25) 1/420(50)
F18337 F112392 12798 F13843 F119416
F05017
MACHINE SCREWS — PHILLIPS OVAL
ZINC #6-1/4 S = e [0
w/ MFTAL DRAWER 1420 1-1/4(25) 1420x1(25) 1420x3/4(25) 14-20x1/2(20) 1224x1(20) 12:24x1/2(20)
475 Pieces FI11258 F19263 F1558 F117642 F119039 F14871
Drawer (Empty) 102411200 1024x1-14(20) 1024x1(25) 1024x3/4(25) 1024x1/25) 832x11200)
F0142 F13071 F119703 F18781 F19321 F115404 F110951
METAL P m [ [ mmmmm— >
832x1025) 832x3/4(25) 832x1/2(20) 832x3/8(25) 632x117220) 632x100)
F118520 F114577 F112715 F18493 F110138 F112692
632x3/4(25) 632x1205) 632x3/820)
F14686 F118136 F18676
Copyright © 2023

10-1-25



ASSORTMENTS

1 Fasteners

F011909

MACHINE SCREWS — PHILLIPS FLAT
ZINC #6-5/16

W/METAL DRAWER

1155 Pieces

Drawer (Empty)

METAL

F03228

MACHINE SCREWS — COMBO
ROUND ZINC #6-1/4

W/ METAL DRAWER

1335 Pieces

Drawer (Empty)
F0142

METAL

F03139

MACHINE SCREWS — SLOTTED
ROUND ZINC W/NUTS #6-1/4
W/SMALL PLASTIC BOX

500 Pieces

Drawer (Empty)
F012112

\:===—.
=

PLASTIC

F011907

MACHINE SCREWS — SLOTTED
ROUND ZINC #6-1/4

W/METAL DRAWER

1310 Pieces

Drawer (Empty)
F0142

METAL

10-1-26

FASTENERS — MACHINE SCREWS (CONT.)

P

S

Bt

P

P

-

5/16-18x2" (20) 1/420x2"25) 1/4-20%11/2"(40) 1/4-20%11/4"(50) 1/420%1"(50) 1/4-20x3/4" (50)
F13005 Fl6653 F13319 F15228 F13339 F117702
1/4-20x1/2"(50) 12:24x3/4" (50) 12:24x1/2"(50) 10-24x1"(50) 1024x3/4" (70) 1024x1/2"(75)
F13840 F116085 F11629 F16107 F17502 F117457
832x1'(75) 832x34'(75) 832x1/2'75) 832x3/8'(75) 832X14"(50) 632x1(50)
F115331 F11149 Fi516 F118604 F114639 F19604

6-32x3/4"(50) 6-32x1/2"(50) 632x3/8"(75)
F110461 F16991 F114507

14-20x2"(15) 1/420x1-1/2" (20) 1/420x 114" (25) 1/420x1"(50) 1/420x3/4"(50) 1/420x1/2"(50)
F110923 F110987 F13378 F11228 F16207 F12083

Commm—

frmmm—

[

[ ]

p—

Crommmmmm—

1024x2"(25) 10.24x1-1/2"(50) 10-24x1"(50) 10-24x3/4"(100) 10-24x1/2"(100) 8-32x2"(50)
F13553 F120022 FIm3s F1m434 F110976 F110212
. a o - .
¢ ¢ o R o ¢
8-32x1-1/2"(50) 8-32x1-1/4"(50) 8-32x1"(100) 832x3/4"(100) 632x2"(50) 632x1-1/2"(50)
F118621 F15203 F111042 F16214 F11695 F116955
¢ [ [ [ =]
6-32x1-1/4"(50) 6-32x1"(100) 6-32x3/4"(100) 6-32x1/2"(100)
F118181 F119879 F11905 F116036
6-32x1/2(50) 6-32x1(50) 6-32Nut (50) 8-32x1/2(50) 8-32x1"(50) 8-32Nut(50)
F116268 F18593 F112282 F17529 F16542 F116917
&
10-24x1/2(25) 10-24x1(25) 10-24Nut (50) 1/4-20x3/4(25) 1/4-20x1-1/4(25) 1/4-20Nut (50)
F119714 F16935 F19938 F18420 F114382 F119416
1/4-20x1-1/2(40) 1/4-20x1(40) 1/4-20x1/2(60) 1224x1(40) 1224x3/4(60) 12-24x1/2(40)
F113505 F116933 F115443 F13510 F112582 F112504

[

[,

[

Gy

S

S

10-24x1-1/2(60) 10-24x1(80) 10-24x3/4(80) 10-24x1/2(80) 8-32x1-1/2(50) 832x1(70)
F15776 F16935 F14360 F19714 F17858 F116542
" " "
(e ¢ & &
8-32x3/4(70) 8-32x1/2(80) 8-32x1/4(70) 6-32x1-1/2(50) 6-32x1(50) 6-32x3/4(70)
F19645 F117529 F112220 F117868 F18593 F14378

[,

Fo

[

6-32x1/2(80) 6-32x1/4(80) 4-40x1/2(60)
F116268 F19927 F117046
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — MACHINE SCREWS (CONT.)

F03229
MACHINE SCREWS — SLOTTED
ROUND ZINC #6-1/4 &= B = S [ S &= F-
w/ METAL DRAWER 632x1/4"(50) 6-32x3/8"(50) 6-32x1/2"(50) 6-32x5/8"(50) 6-32x3/4"(50) 632x1"(50) 832x1/4"(50) 832x3/8"(50)
1475 Pieces F19927 F196 F116268 F15762 F14378 F18593 F112220 F112723
Drawer (Empty) !
Pty 832x1/2'(50) 832X5/87(50) 832x3/4°(50) 832x1"(50) 1024x3/8"(50) 1024x1/2°(50) 1024x3/47(50) 1024x1"(50)
F01137 F117529 F18980 F19645 F116542 F115942 F119714 F14360 Fl6935
METAL | S h‘ m Fe o | Gmm— h
1024x1-/4°(25) 1024x11/2°(25) 1032x1/4°(50) 1032x1/2°(50) 1032x3/47(50) 1032x1"(50) 1032x1/2'(25) 1224x3/8(50)
F114727 FI5776 F114464 F115592 F15049 F16769 F115543 F1590
12241/2'(50) 1224x34°(50) 1224x17(50) 1224x11/2°25) 1/420x1/2"(50) 1/420%3/4 (50) 1/420x1"(50) 1/420x11/2'(25)
F112504 F112582 F13510 F12160 F115443 F18420 F116933 F113505
F03238
MACHINE SCREWS — SLOTTED
TRUSS ZINC #6-1/4 (= {ormm: E
W/M ,ETA L DRAWER 632x172/50) 6:32x3/4"(50) 832x1/2'(50) 832x3/47(50) 832x1"(50)
600 Pieces F8171 FI13119 F1930 F19756 F111306
Drawer (Empty) 1024x1/2'(50) 102434 (50) 1024x1"(50) 1/420x1/2"(25) 1/420x3/8" (25)
FO1135 F16445 F117429 F18441 F110798 Fim21
METAL W
1/420x3/4"(25) 1/420x1"(25) 1/4-20x11/4"(25) 1/420x11/2"(25) 1/4-20x2"(25)
F1653 Fl6685 F112984 F15484 FI11148

F03231

MACHINE SCREWS — SLOTTED

PAN ZINC #6-1/4 . [ [ & S

W/METAL DRAWER

" 6-32x1/4"(100) 832x3/8"(100) 1024x1/2"(50) 10-32x1/2"(50) VA"20x3/4"(25)
1200 Pieces Fin272 F17023 F118327 F119647 F1207
Drawer (Empty) 632x3/8'(100) 832x1/2'(100) 102434 (50) 1032x3/4(50) 1420x1"(25)
F0142 F13303 F19174 F13505 F117356 F15713
METAL B f— P S m
632x1/2°(100) 832x34°(100) 1024x1°(50) 1032x1"(50) 1a20x1/2°25)
F111790 F14804 F16288 F14719 F114438
632x34(100) 832x1°(50) 1024x11/2°(25) 1032x11/2'25) 1420x2°25)
F16550 F11445 F115898 F118538 F110797
F03235

MACHINE SCREWS — SLOTTED
FLAT ZINC #6-1/4 Jm—— |

wi ME,TAL DRAWER 1a20x2'25) A20x1:/2°(40) VA"20X /4 (50) /420X 1"(50) 1a"20x3/8(50)
1135 Pieces F16081 F12953 F18144 F114625 F16460

o fr— - -

Drawer (Empty) 1420x1/2'(50) 1224x3/4(50) 1224x1/2'(50) 1024x1"(50) 1024x3/4(70) 1024x1/2(75)
F0142 F115610 Fl4198 F115042 F15507 F112945 F116231

METAL i | s b fam J= s

832x1"(75) 832x3/4"(75) 832x1/2"(75) 832x3/8'(75) 832x1/4"(50) 632x1"(50)
F602 F111348 F119100 F118993 F119872 F16150
632x3/4"(50) 632x1/2'(50) 632x3/8'(75)
F110754 F19543 F116274
Copyright © 2023

101-27



ASSORTMENTS

1 Fasteners

F03226
MACHINE SCREWS — SLOTTED
INDENTED HEX WASHER ZINC #8-#10

FASTENERS — MACHINE SCREWS (CONT.)

=

]

==

w/ MFTAL DRAWER JRS— 832x34°(50) 1024x1/2(50)
450 Pieces F12456 FI11590
Drawer (Empty) 1024x3/4(50) 1024x1°(50) 1032x3/8"(50)
F01134 F113973 F117399 F112377
METAL
10:32x1/2'650) 1032x3/4'(50) 10:32x1°(50)
F112539 F16672 F112324
F03227
MACHINE SCREWS — UNSLOTTED HEX
ZINC #6-1/4 P e [ 2 [
w/ M,ETAL DRAWER 632x1/2/50) 632x34°(50) 632x1°(50) 632x114°(50) 632x1/2/50) 1420x1/2°(25)
975 Pieces F14848 F114550 F112743 F112064 F15927 F112152
[ ] == [ Brammmm—— e
Drawer (Empty) 832x1/2'(50) 832x3/4"(50) 832x1(50) 832x11/4(50) 832x14/2/(50) 1/4-20%3/425)
F0142 F17732 F113291 F110551 F1845 F12636 F14664
METAL V,m W W""—-—"‘ m (v m
1024x1/2°(50) 102434 (50) 10:24x1°(50) 1024 1/4(25) 1024x1/2°25) 1/420x1°(25)
F119527 F12036 FIs511 3271 F117094 FI17124
1032x1/2'(50) 1032x3/4(50) 1032x1°(50) 1032x194°(25) 1032x1/2°25)
FI6136 Fi589 F114452 F15272 F115977
F03357
SELF TAPPING SCREW (SMS) — PHILLIPS OVAL
BLACKAUTOMOTIVE TRIM APPLICATION [, fmmmene
W/METAL DRAWER M35x12 M35x19 Ma2x13 Ma2x19 Ma2x25 Magxi6
600 Pieces PanHead (50) PanHead 50) PanHead (25) PanHead (25) PanHead 25) PanHead (25)
F110941 F12981 F119606 F17384 F14659 F1935
Drawer (Empty) M48x19 M48x25 M35x16 M35x19 M42x19
F0142 PanHead (25) PanHead (25) OvalHead (50) OvalHead (50) OvalHead (25)
784571 F113764 F84854 F82076 F82855
[T Neemmmn Opussggpgesee.
METAL #8x34 Ma2x25 #8x1 Ma2x32 #8114 Magx19
OvalHead (25) OvalHead (25) Oval #6Head (25) OvalHead (25) Oval#6Head (25) OvalHead (25)
F85116 F83736 F84315 F84882 F82633 F8130
#ox3/a M48x25 #ox1
OvalHead (25) OvalHead (25) Oval#8Head (25)
F81925 F83560 F8162
F03358
SELF TAPPING SCREW (SMS) — BLACK
AUTOMOTIVE TRIM APPLICATIONS ‘ ‘ ‘ ‘ ‘
W/METAL DRAWER HexHead Screw PanHead Screw HexHead Screw #6x1/2 Washer #6x3/4" Washer
650 Pieces GMHexHead (25) withWasher(25) withWasher (25) withWasher(25) Head Trim Screw (50) Head Trim Screw (50)
F83251 F83735 F84122 F81830 F84564 F81249
Drawer (Empty) #6x1"Washer #8x1/2"Washer #8x5/8"Washer #8x3/4" Washer #8X1"Washer 48X 114" Washer
F0142 Head Trim Screw (25) Head Trim Screw (50) Head Trim Screw (50) Head Trim Screw (50) Head Trim'Screw (25) Head Trim Screw (25)
F81421 F81731 F84388 F83637 F81891 F81051
METAL #10x3/4" Washer #10x1"Washer #8x3/4"DrillPoint #8x1"DrillPoint
Head Trim Screw (25) Head Trim Screw (25) inishi 25) i
F8859 F84222 784488 F8875
[¢ ¢ ¢ BlackWheel
withWasher 25) withWasher(25) withWasher(25) Mouiding Screw (50)
F84443 F84751 F84258 784381
Copyright © 2023

10-1-28




ASSORTMENTS

Fasteners 1

FASTENERS — SELF TAPPING SCREWS (SMS) (CONT.)

F03359

SELF TAPPING SCREW (SMS) — CHROME
&ZINC-PLATED AUTOMOTIVE TRIM
APPLICATIONS

W/METAL DRAWER

475 Pieces

Drawer (Empty)
F0142

METAL

F05024

SELF TAPPING SCREW (SMS) — PHILLIPS
PAN ZINC #6-1/4

W/METAL DRAWER

1000 Pieces

Drawer (Empty)
F0142

METAL

F03306

SELF TAPPING SCREW (SMS) — PHILLIPS
PAN ZINC #6-1/4

W/METAL DRAWER

580 Pieces

Drawer (Empty)
F01137

METAL

F03143

SELF TAPPING SCREW (SMS) — PHILLIPS
PAN ZINC #8-1/4

w/SMALL PLASTICBOX

315 Pieces

Drawer (Empty)
F012112

LA

PLASTIC

#6x12 HEX3/4" #8x3/4" #8x3/4' Chrome #10x3/4" Chrome #10x1"Chrome
Chrome Oval Screw (50) Chrome Oval Screw (50) Chrome O O O jal Scr
F84681 F84128 F8749 F83307 F82159
#8x5/8" Drill Point #8x3/4" Drill Point #8x1" Drill Point
Finishing Screw (25) Finishir (25) Finishi (25
F8779 F83138
M42x20 M42x30 WheelMoulding Drill Point Wheel
TorxOval Screw (25) TorxOval Screw (25) Screw (50) Moulding Screw (50)
F8576 F8478 F8703 F84619
#6x3/8M3.5x9.5(50) #6x1/2M3.5x13(50) #6x5/8M3.5x16(50) #6x3/4AM3.5%19(50) #8x3/8M4.2x95(50) #8x1/2MA4.2x13(50)
F113009 F113646 F19026 117955

[

#8x5/8MA42x16(50)

F19812

(s

#8x3/4M4.2x19(50)
F119582

[[ 2o

#8X7/8M4.2x22(50)
F1216

#8x1M42x25(50)
F12496

(=

#10x1/2M48x13(50)

[1 =

#10x5/8M4.8x16(50)

[y

[

(12

[,

. g

#10x34MABX19(50) #10x7/BMA8x22(50) #10x1Ma8x25(50) #12X5/BMSS5X16(50) #12x3/AMS55X19(50) 12X TM55x25(50)
F113216 F1a531 F117381 F16359 F17725
4xS/BM63x16(50) VAxFAM63x19(50)
F116989 F14538
#6x3/8'25) #x12'(25) #ox3425) #ox1"(25) Bxy8'25) #8x1/2'(25) B 25) #8x125)
F113009 F113646 F113142 F110828 F19026 F117955 F119582 F12496
M Ve e ([ [ [, “ [
v ¢
BX129) wBXIV2S) | H0x3ERS) #10x1/2'25) #10x3/4(25) #0x1°(25) #10x194°(15) #0x19/2°(15)
F117966 F116747 F14237 F110632 FI13216 F1a531 F110204 F12830
Py G o
L v Vo
‘ (i [N v ¢
#10x2'(10) A2172°09) n2x3/25) #12x7°05) #2194 10) #12x1972°00) n2x26) n2x212°6)
Fil6645 F17559 F16359 F17725 F112095 F118855 F13624 F117625
ﬁlw O o MA W i,m %ﬁﬁW
ax12'25) I 25) #ax1(15) #4x194°(10) #4x1/2°(10) N4x212'6)
F113396 Fl4538 F19826 F113093 F117906 Finz2 F110288
#8x12(50) #8X3/4(50) #8x1(50) #10x1205) #10x34(5) #10x105)
F117955 F119582 F12496 F110632 F113216 Fas31
#12x34(0) #12x100) 211200 Vax3/4(10) 4x1(10) Wx11/200)
F16359 F17725 F1188s5 F14538 F19826 F117906
Copyright © 2023

10-1-29




ASSORTMENTS

1 Fasteners

FASTENERS — SELF TAPPING SCREWS (SMS) (CONT.)

F03308
SELF TAPPING SCREW (SMS) — PHILLIPS %W "
OVALZINC #4-#12 e B | D SmEme—
W/ METAL DRAWER #14x3/4(30) #14x1(30) #14x1-1/4(25) #14x1-1/2(25) #14x2(25)
840 Pieces F14538 F7826 F113093 F117906 Finz2
Drawer (Empty) #12x3/430) #12x1030) #12X11/430) #12x11/260)
F°142 F115574 F18940 117.55.32 117.55.38
METAL #10x1/2(50) #10x5/8(40) #10x3/4(40) #10x1(40) #10x1-1/4(40) #10x2(30)
F15639 F114466 F12373 F17582 F119737 F16206
(= B B [, [T
#8x1/2(40) #8x5/8(40) #8x3/4(40) #3x1(40) #8x1-1/4(40)
F118939 F19811 F114799 F12615 F12715
F03310
SELF TAPPING SCREW (SMS) — PHILLIPS
OVAL CHROME #4-#10 P [— P Posssms. P P
W/ M,ETAL DRAWER #4x1/2"(50) #4x3/4" (50) #6x1/2"(50) #6x3/4"(50) #6x1"(50) #8x1/2"(50)
800 Pieces F83034 F84061 F84681 F84128 F84266 F81780
Drawer (Empty) #6Head #8x1/2'(50) #8x34(50) #6Head #8x 34 (50) #8x17650) #6Head #8x1°(50) #BX1VA50)
F0142 F85025 F8749 F83307 F82241 F81430 F116607
I - Grwwmes | Do
METAL #6Head #8x1-1/4°(50) #6Head #8x11/225) #6Head #8x2"(25) (50) es) 172'e5)
F82220 F8560 F8s1 F82159 F82399 F82696
F03331
SELF TAPPING SCREW (SMS) — PHILLIPS
OVAL BLACK STANDARD & METRIC [ o (e, Dpaeeneeeses
W/METAL DRAWER
600Peces s ooy s e
D (Empty)
ravvFe0r14r2np y M42x19(50) M4.2x25(50) M42x32(25) M4.8x19(50) M4.8x25(25) #6Head#8x3/4" (50)
F82855 F83736 F84882 F8130 F83560 F85116
METAL g [ [l [ | [
#6Head #8x1"025) #6Head#BX114"25) #6Head #8x112'(25) 5) '25) 114°25)
F84315 F82633 F8a412 F81925 F8162 F83244
F03142
SELF TAPPING SCREW (SMS) — PHILLIPS
FLAT ZINC #8-1/4
W/SMALL PLASTICBOX
315 Pieces
¥ I ¥ I g
Drawer (Empty) i F #8x1/2(50) #8x3/4(50) #8x1(50) #10x1/2(25) #10x3/405) m;m @5
Fo‘l 2112 F12251 F13077 F13419 F110520 F117653 F118304
[ SR
PLASTIC &
g £
#12x3/4(20) #12x1(20) #12x1-1/2(20) 1/4)(13/4110) 1/4x1(10) 1/4x11/2(10)
F112130 F119514 F18685 F112482 F19138
Copyright © 2023

10-1-30



ASSORTMENTS

Fasteners 1

FASTENERS — SELF TAPPING SCREWS (SMS) (CONT.)

F03304

SELF TAPPING SCREW (SMS) — PHILLIPS
FLAT ZINC #4-#12

W/METAL DRAWER

1480 Pieces

Drawer (Empty)
F0142

METAL

F05014
SELF TAPPING SCREW (SMS) — COMBO
PAN ZINC #8-1/4

W/ SMALL PLASTIC BOX
315 Pieces
Drawer (Empty) : F
F012112
PLASTIC
F03330

SELF TAPPING SCREW (SMS) — PHILLIPS ROUND
WASHERZINC M3.9-M4.8

W/METAL DRAWER

400 Pieces

Drawer (Empty)
F0142

METAL

F03305

SELF TAPPING SCREW (SMS) — COMBO
PAN ZINC #6-1/4

W/METAL DRAWER

1000 Pieces

Drawer (Empty)
F0142

METAL

P

Prespagptc

R

St

P

12x11/2(25) 12x1(50) 12x3/4(70) 10x2-1/2(25) 10x2(25) 10x1-1/2(35)
F18685 F119514 F112130 F13132 F114733 F117947
10x1-1/4(50) 10x3/4(100) 10x1/2(100) 8X11/4(50) 8x1(75) 8X3/4(100)
F1969 F117653 F110520 F113427 F13419 F13077
8x5/8(100) 8x1/2(100) 6x1-1/2(50) 6x1-1/4(50) 6x1(75) 6x3/4(100)
F113867 F12251 Figs11 F117350 F11615 F17036
6x5/8(100) 6x1/2(100) 4x3/8(100)
F17841 F12368 F114326
#8x1/2(50) #8X3/4(50) #8x1(50) #10x1/2(25) #10X3/4(25) #10x1(25)
F110059 F110993 F17058 F118546 F13354 F116070
#12x3/40) #12x120) #12x1/2(20) 1/4x3/4(10) 1/4x1(10) 1/4x14/2(10)
F17318 F15593 F11290 F116338 F15039 F11047

-

[

M3.9x12(BMWOE) (50) M39x13(50) M39x16(50) M39x38(25)
F85003 F8254 F84159 F81961
M42x16(50) M42x19(50) M42x38(25)
F8717 F81937 F82829
M48x16(25) M48x19(25) M48x25(25) M4.8x38(25)
F83930 F8303 F83763 F8345

(o

e

Qs

g

¢

s

14x2"(25) 14x1/2"(25) 14x1"(25) 14x3/4"(25) 14x1/2"(25) 12x2"(25)
F110920 F11047 F15039 F116338 F113372 F112501
[ P [ €= ¢ [/
¢ i
12x1-1/2"(25) 12x1"(25) 12x3/4"(25) 12x1/2°(25) 10x2"(50) 10x1-1/2"(50)
F11290 F15593 F17318 Fla4 F18091 F119967

[y

10x1"(50)

[[L

10x3/4"(50)

-

Crmmmmerrrerereres

(e

[ 22N

10x1/2"(50) 8x1-1/2"(50) 8x1"(50) 8x3/4"(50)
F116070 F13354 F118546 F114394 F17058 F110993
" N
G ; ¢ [ s
8x1/2"(50) 6x1-1/2"(50) 6x1"(50) 6x3/4"(100) 6x1/2"(100)
F110059 F12952 FIm37o F13496 F112970
Copyright © 2023

10-1-31




ASSORTMENTS

1 Fasteners

FASTENERS — SELF TAPPING SCREWS (SMS) (CONT.)

F03301
SELF TAPPING SCREW (SMS) — SLOTTED
PAN ZINC #4-1/4 [, [e— [, . RS o S &
w/ METAL DRAWER A0 1x38°50) 6x1/2(50) 6x3/8"(50) 6x1/2'(50) 6x34"(50) 6x1(50) 8x1/4°(50)
1350 Pieces F116492 F14959 Fi5862 F16507 Fi574 F115082 F18129 F115038
Drawer (Empty) 8x3/8'(50) 8x1/2°(50) 8x3/4'(50) 8x17(50) 8x114°(25) 10X3/87(50) 10x1/2'(50) 10x34°(50)
F01137 F14001 F113391 F11190 F112960 F116615 F116160 Fl6554 F117592
METAL g L m M @""‘ M
10x7/8"(50) 10x1(50) 10x11/225) 12x1/2°(50) 12x3/4°(50) 12x1°(50) 12x194°(25) 12x1/2°25)
F193a F1106 F18963 F113961 F13173 F11021 F19849 Fl4767
14X5/8"(50) X34 (50) 14X78(50) 14x1°(50) X194 (25) Ux12'e5)
F115700 F15463 F17810 F16921 7781 F115268
F05022
SELF TAPPING SCREW (SMS) — SLOTTED
PAN ZINC #4-1/4 = o [ — S foa- s
w/ ME,TAL DRAWER 4x1/8(100) 6x3/8(100) 8x1/2'(50) 10x1/2'(50) 12x1/225) XA 25)
1275 Pieces F116492 F16507 F113391 F16554 F113961 F15463
Drawer (E = o - b L oz
rawer (Empty) 438100 6x1/2/(100 Bx3'50) 10x3450) 2x35) T es)
F0142 F14959 Fi574 FI11190 F117592 F113173 F16921
METAL ¥ § L a ’ S
4x1/2/(100) 6x3/4°(100) 8x1"(50) 10x1°25) 12x1°(25) 1ax11/2'(25)
F115788 F115082 F112960 F1106 F11021 F115268
. f
Yo b $ L L
4x3/8(100) 6x1(50) 8x11/2'25) 10x11/2'25) 12x14/2'(25) X2’ (25)
F113222 F18129 F110175 F18963 Fl4767 F113279
F03299

SELF TAPPING SCREW (SMS) — SLOTTED

TRUSS ZINC #6-1/4 (2 (e

W/METAL DRAWER

N 6x1/2"(50) 6x3/4"(50) 8x3/4"(50)

450 Pieces F112599 F119804 F12668
Drawer (Empty) Bx1'50) T0x1/2'50) 10x34'50)

F01134 F13157 F115609 F115040

METAL 1 l a

10x7°(50) 12x3/4(50) 14x1/2(50)

17143 F119419 F110738

F05023

SELF TAPPING SCREW (SMS) — SLOTED
FLAT ZINC #4-1/4 | ’mm Mg P | Bum—m— B
W/METAL DRAWER “ ., . ., ) .

. x2'025) 1Ux12/25) 14x17(5) 2x2'25) 2x12°25) 2x1705)
1050 Pieces F1123 F13119 F119856 F11015 F11488 F16405

| - (- »
x » > Do D, Do
Drawer (Empty) 10x250) 10x1/27(50) 10x1°(50) 8x11/2'(50) 8x1°(100) 8x34(100)
F0142 F116087 F114858 F119483 F110140 F113979 F15879
METAL L L ; )
6x1°(100) 6x1/2'(100) 4x172/(100) 4x3/8(100)
Fi10413 F119261 F19001 F116295
Copyright © 2023

10-1-32



ASSORTMENTS

Fasteners 1

FASTENERS — SELF TAPPING SCREWS (SMS) (CONT.)

F03302
SELF TAPPING SCREW (SMS) — SLOTTED
HEX WASHER ZINC #6-1/4 & o G T S M
wr MFTAL DRAWER H6X3/B(50) #6x12(50) #6x7°(50) 81250 #8X5/8(50) Bx325)
700 Pieces F18652 F16504 F119290 F114585 F11272 F12700
Drawer (Empty) #8x1"25) #10x1/2°(25) #10x34"(25) #10x1"25) #10x11/2'25) #12x1/2'25)
F0142 F11496 F117395 F118552 F13955 F1421 F112332
12x3/4°25) n2x1705) X172 05) VX8 25) Va3 5) xTE5)
F18349 F117084 F12306 F117366 FIT979 F119960
1A/ 25) X1/2'(25) 5/16'x1/2(25) 16X (25) 516'%1"(25)
F120066 F113782 F12104 F113743 Fi1713
F03300
SELF TAPPING SCREW (SMS) — SQUARE
PAN ZINC #6-#10 Ou Oeees [T [ [
w/ MFTAL DRAWER 6x3/8'(50) &x12'650 6'x3/4°(50) 6x1°(50) 6/x11/4(50)
800 Pieces F113564 FiIs117 F116078 F16886 F1823

Drawer (Empty) Cumsns. i (roecee M W

6x11/2/50) &x1/2'650) 8'x34"(50) 8'x1"650) &'x114°(50)
F01135 F1941 Fla01 F112655 FI9178 F13302

NMETAL [ (eeemeeemsermsesssenss [ (s Qe

8'x11/2"(50) 8'x2"(50) 10°x1/2" (50) 10"x3/4" (50) 10°x1(50)
F17387 F13831 F19227 F16738 F116930
10x1-1/2" (50)
F12191

FASTENERS — SELF DRILLING SCREWS (TEK) USA

F012745
SELF DRILLING SCREW (TEK) USA —HEX HEAD
CRIMPTITE ZINC #8-1/4 (= = === R
W/METAL DRAWER MADE IN 818x1/2"(25) 10-16x 1/2"(25) 121/4x5/8"(25) 1/414x5/8"(25)
400 Pieces F128714 F128710 F129351 F129352
UsSA
(- e [T P
Drawer (Empty) 818x5/8(25) 1016x5/8(25) 1214x3/4(25) 1414x3/4(25)
F0143 F129353 F129349 F128712 F128709
METAL 8-18x3/4(25) 10-16x3/4(25) 1214x1"(25) 1/414x1"(25)
F128715 F128711 F128716 F128713
818x1"(25) 10-16x1"(25) 12:14x1-1/2"(25) 1/414x11/2"(25)
F128717 FW209951 F129350 F128708
F03315
SELF DRILLING SCREW (TEK) USA — HEXHEAD
ZINC #8-1/4 s B ez
Maomiaces D ER MADE N barss aren e
USA
Drawer (Empty) 10x1/2'(50) 10x5/8"(50) 10x3/4(50)
F01134 F19422 F115237 F1626
METAL
10x1"(50) 12x3/4"(25) 12x1"(25)
F113005 F11590 F17135
14x3425) 14x725)
F111651 F17064
Copyright © 2023

10-1-33



ASSORTMENTS

1 Fasteners

FASTENERS — SELF DRILLING SCREWS (TEK)

F05028

SELF DRILLING SCREW (TEK) — PHILLIPS
PAN ZINC & BLACK #6-#10

W/METAL DRAWER

830 Pieces

Drawer (Empty)
F0142

METAL

F03312

SELF DRILLING SCREW (TEK) — PHILLIPS
FLAT ZINC #6-1/4

W/METAL DRAWER

500 Pieces

Drawer (Empty)
F0142

METAL

F012933

SELF DRILLING SCREW (TEK) — PHILLIPS
MODIFIED TRUSS ZINC #8-$10

W/ METAL DRAWER

1000 Pieces

Drawer (Empty)
F01134

METAL

F03144

SELF DRILLING SCREW (TEK) — SELF-HEX
HEAD ZINC #6-1/4

W/SMALL PLASTICBOX

300 Pieces

Drawer (Empty)
F012112

PLASTIC

10-1-34

B

G

#8x11/2Zinc(40) #8x1-1/2Black (40)
F113398 F117014
[ — s | (e e
#6x1Zinc(40) #8x1Zinc(40) #10x1Zinc(40) #8x 1 Black (40) #10x1Black (40)
F114391 F14052 F15641 F114304 F1278
#6x3/4Zinc (50) #8x3/4Zinc (50) #10x3/4Zinc (50) #8x3/4Black (50) #10x3/4Black (50)
F114199 F11955 F110704 F11760 F116217
(S frss B o e G
fvee = e
#6x1/2Zinc (50) #8x1/2Zinc (50) #10x1/2Zinc (50) #6X1/2Black (50) #8X1/2Black (50) #10x1/2Black(50)
F110866 F119045 F15458 F112813 F110009 F12452
B P o b = P
#6x3/8"(25) #6x1/2'25) #6X5/8"(25) #6x3/4"25) #8x3/8"(25) #8x1/2'25)
F11845 F111707 F110849 F111980 F111002 F1500
#8X5/8"(25) 48x34"(25) #8x125) #8x11/4°(25) #10x1/2°25) #10x5/8"(25)
F114144 Fl9855 F111606 F115880 F19302 FT7m
b .
b= P * b w w
#10x3/4"(25) #10x125) #10x11/4"25) #10x11/2'05) #14x3425) #4x11/4(25)
F1273 F13206 Fi11871 F19675 F14533 F11370

Lo

#14x11/2"(25)
F112319

e

#14x2"(25)
F17980

e

f—

[—

8x1/2(100) 8x3/4(100) 8x1(100)

F1483 F117533 F121210
s 0—-— %‘
ax120100) 8x3/4(100) 8x1(100)
119614 Fi17654 F110528

Joe=

8x1-1/4(100)
F111236

W

8x1-5/8(100)
F16257

e ——

8x17/8(50)
F110552

W

W

Jprsss

8x2/2(50) 8x3(50) 10x3/4(50)
F13813 F121209 F118193
#6x1/2"(25) #3x1/2'(25) #3x3/4"(25) #8x1"(25) #10x1/2"(25) #10x3/4"(25)
F118471 F119913 F19679 Fi12741 Fl455 F16355
#10x1"(25) #12X3/4"25) #12x1"(25) #14x3405) #14x1"(25) #14x11/2'05)
F13222 F113797 F15364 F118981 Fi1921 F13208
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — SELF DRILLING SCREWS (TEK) (CONT.)

F03319

SELF DRILLING SCREW (TEK) — HEX
HEAD ZINC #6-1/4

W/METAL DRAWER

600 Pieces

Drawer (Empty)
F0142

METAL

F03314

SELF DRILLING SCREW (TEK) — HEX
HEAD ZINC #8-1/4 /BITS

W/METAL DRAWER

648 Pieces

Drawer (Empty)
F0142

METAL

F03317

SELF DRILLING SCREW (TEK) — HEX
&PHILLIPS PAN ZINC #6-1/4
W/METAL DRAWER

875 Pieces

Drawer (Empty)
F0142

METAL

F03318

SELF DRILLING SCREW (TEK) — HEX
&PHILLIPS PAN ZINC #6-1/4 /BITS
W/METAL DRAWER

680 Pieces

Drawer (Empty)
F01137

METAL

#6x1/2"(50) #6x1"(50) #8x1/2"(50) #8x3/4"(50) #8x1"(50) #10x1/2"(50)
F118471 F11774 F119913 F19679 Fi12741 F1455
#10x5/8(50) #10X3/4(50) #10x1"(50) #12X3/4"(25) #12x1"(25) #2x11/4"(25)
F15444 F16355 F13222 F113797 F15364 F13728
1VA'X 34" (25) 14X 05) A1/ (25)
F118981 Fi11921 F116469
[ ([ [ s & L2
#8x1/2'(50) #8X3/4"(50) #8x1"(50) #8X11/4"(25) #8x11/2'025) #8x2'(25)
F119913 F19679 F112741 F112071 F11994 F114554
P . <
&= Qe [ L) L L,
#10x1/2"(50) #10X3/4"(50) #10x1"(50) #10x11/2"(25) #10x2"(15) #10x3'(15)
F1455 F16355 F13222 F19204 F118242 F115802
MagneticHexBits(1 i
Fagga
B | Fem [ Qoo &
<
% #12x1/2'25) #12x3/4"(25) #12x1"(25) #12x11/2"(25) #12x2"(15)
F114674 F113797 F15364 F11981 F12493
F4879
=
#14x3/4"(25) #14x1"(25) #14x11/2'(15) #14x2°(15) #14x21/2'(10) #14x3"(10)
F118981 Fi11921 F13208 F119019 F118098 FI11797

Qe

Grosvmmees

[ 22

Qe

Qs | =

#6x1/2"(50) #6x1"(50) #3x1/2"(50) #3x3/4"(50) #8x1"(50) #10x1/2"(50)
F118471 F11774 F119913 F19679 F112741 F1455
#10X3/4"(50) #10x1"(25) #12X3/4"(50) #12x1"(25) #12X114°(25) 1A'X3/4 (25)
F16355 F13222 F113797 F15364 F13728 F118981
14"x1"(25) VA'X 114" (25) #6x1/2"(50) #6X3/4"(50) #8x1/2"(50) #8x3/4" (50)
Fi11921 F116469 F110866 F114199 F119045 F111955

#8x1"(50) #10X3/4"(50) #10x1"(25)
F14052 F110704 F15641
PhilipsHead Bits
Ho —
Fa728 (s w em W
20 #8x11/2'25) #10x1-1/2"(25) HAX3/4"25) #4x125) #14x11/2'(15) #14x2°(10) #14x24/2°(10)
Fas81 F113398 F117688 F118981 Fi11921 F13208 F119019 F118098
MagneticHexBits(1 ea)
Fagsa e
-~ [ — [ sl | @on oo | @ :
Fa1ass Sl
#6X3/4"(25) #8x1"(25) #10x1"(25) F4879 ﬂ #12x3/4"(25) #12x1(25) #12x14/2"(15) #12x2"(10)
F114199 F14052 Fi5641 F113797 Fi5364 F11981 F12493
#6x1/2'(25) #8x34"5) #10x3/4"(25) #10x1/2'(25) #10x3/4"(25) #10x1"(25) #10x11/2"(25) #10x2(15)
F110866 F11955 F110704 F1455 F16355 F13222 F19204 F118242
e | feee—
#6x3/8"(25) #8x1/2'25) #10x1/2"(25) #8x12'25) #8X3/4"Q5) #8x1"(25) #8X1-14"(25) #8x11/2'25)
F12167 F119045 F15458 F119913 F19679 112781 F112071 F11994
Copyright © 2023

10-1-35



ASSORTMENTS

1 Fasteners

F03336

WOOD SCREWS — PHILLIPS
FLAT ZINC #6-#12

W/METAL DRAWER

1115 of Pieces

Drawer (Empty)
F0142

METAL

F03338

WOOD SCREWS — SLOTTED
FLATHEAD

W/METAL DRAWER

775 Pieces

Drawer (Empty)
F0142

METAL

F03334

WOOD SCREWS — SLOTTED
FLAT ZINC #4-#12

W/METAL DRAWER

500 Pieces

Drawer (Empty)
F01134

METAL

F03337

WOOD SCREWS — SLOTTED
FLAT BRASS #6-#12
W/METAL DRAWER

435 Pieces

Drawer (Empty)
F0142

METAL

10-1-36

FASTENERS — WOOD SCREWS

— -

Pemcoesase | P

e .

12x21/230) 12x2(40) 12x11/2(60) 12x11/4(60) 12x1(60) 10x2-1/2(45)
F17787 FI7735 F15851 F18259 F11666 F118970
[ —
10x2(50) 10x1-3/4(50) 10x11/2(60) 10x1-1/4(60) 10x1(60) 8x2(60)
F113362 F119183 F116204 F118738 F118251
» e Baia
P D= P M M P
8x1-1/2(60) 8x11/4(60) 8x1(60) 8x3/4(60) 8x112(60) 6x11/2(60)
F120082 F112365 F1667 Fl9974 F114183 F16509
6x1(60) 6x1/2(60)
F18308 F18363
L [ —_ [— [
4x172(50) 5x3/4(50) 5x1(50) 5x11/4(50) 6x11/4(50) 8x3/4(50)
F112541 F19747 F14410 F111637 F115860 F12083
o= »

YRz Y= ’ [ Yomceersessssssese |
8x1(50) 8x1-1/4(50) 8x11/2(50) 8x2(50) 10x1(25) 10x1-1/4(25)
F12134 F14700 F110503 F114447 F118147 F113658

Y Yo P P [ 2 |~
10x1-1/2(25) 10x1-3/4(25) 10x2(25) 12x105) 12x1/4025) 12x11/2(25)
F18169 F11304 18311 F111043 F113650 F12201

P | PRESRSSHRIS

12x1-3/4(25) 12x2(25)
F11404 F12984

P

12x21/2(25)
FI7175

e

8x1(100)
F1im38

Bt

8x1-1/4(100)
F118632

Pz

8x1-1/2(100)
F12642

P

e

Bemmmrtyttatysee

8x1-5/8(50) 8x2(50) 8x2-1/2(50)
F113293 F113808 F17301
8x3(50)
F18415
P Feme P [ 8 [ [
6x1/2(25) 6x3/4(25) 6x1(25) 8x1/2(25) 8x3/4(25) 8x1(25)
F1166 F110021 F115895 F115414 F119210 Fl1222
P " s | 2 [ [ =8
8x11/4(25) 8x11/2(25) 8x2(25) 10x1/2(25) 10x3/4(25) 10x105)
F114642 FI11555 F119927 Fl3811 F14252 F113699

e I

MW

10x1-1/4(25) 10x1-1/2(25) 10x2(25) 12x3/4(15) 12x1(15) 12x1-1/4(15)
F12975 Fnoi1 F18395 F110193 F15642 F14622
12x11/2(15)
F118356
Copyright © 2023



ASSORTMENTS

Fasteners 1

FASTENERS — MAX GRIP PLUS

F013791
MAXGRIP PLUS — UNIVERSAL
W/METAL DRAWER g g o LA S
355 Pieces 6x1/2°(25) 8x1-1/4(25) 9x112'25) 10x1-6/8"(25)
F133350 F133353 F133356 F133361
> P2 P — | A S
DIy (EmptY) 6x5/8"(25) 8x11/2"(25) 9x2"(25) 10x2-1/4"(25)
x X1 X X2
F0143 F133351 F133354 F133358 F133362
=3 = = |t e e
METAL
6x11/2(25) 8x2'(25) 9x21/2°25) 10x2:3/4°(25)
F133352 F133355 F133359 F133364
MaxGrip Plus Torx Bits
T15x1(1)
T2
e ] oy (3 e e—— et
rass MaxGripPlusBitHolder (25) 9x3-1/8"(25) 10x3-1/8'(25)
Ty - F45146 F133360 F133365
F013794
MAXGRIP PLUS — CABINET CAP SCREWS = ¥ ¥ F 3
W/METAL DRAWER
178 Pieces = m F F F E
= 8x1-1/47(25) = = = E
F133370
Drawer (Empty) 8x2'(25) 8x2-3/4"(25) MaxGrip Plus BitHolder (1)
FO1133 L F133373 F133375 Fa5146
M MaxGrip Plus TorxBits
8x11/2"(25)
METAL F133371 L + 4
x1(
i h&w L fﬁ“w L fﬁ"'w L e .
-3/4" (25) -1/2'(25) -1/8"(25)
“risssr2 Thisssre “ersssre iy e
F013797
MAXGRIP PLUS — CONSTRUCTION
W/ METAL DRAWER m m m
202 Pieces 10x1-1/2"(25) 10x3-1/8"(10) 14x3-1/8"(10)
F133377 F133381 F133386
Drawer (Empty) l l I
x2'(25) X11/2'25) X33/8"(10)
Fo1134 B s oty
METAL ‘ l ‘
10x21/2°(25) 14x2'(25) 516x21/2'(5)
F133379 F133383 F133388
w-:m:;a:w—m ’}‘_:r
s —
Taan ————
10x2:3/4°(25) 14x21/2'(10) T s
F133380 F133384 o i —
F013814
MAXGRIP PLUS —TRIM SCREWS
W/METAL DRAWER r r T b
109 Pieces —
o o TI0x10) T 3
m F45147
8x2'(025) = = ES E
F133399
= = e ES E
Drawer (Empty) TI0x2)
FO1133 = e 5
8x21/2'(25) ——
METAL F133400 = TI5x1Q) ES E
F45150
S = L e = E
8x31/87(25) 9x38'(25) TI5x20) MaxGripPlusBit Holder (1
F13340 F133402 F45151 F45146
Copyright © 2023

101-37



ASSORTMENTS

1 Fasteners

FASTENERS — DRYWALL SCREWS

F03333
DRYWALL SCREWS — DRYWALL
COARSE BLACK [ P, [N,
WIMFTAL DRAWER 6x1(100) 6x11/8(50) 6x11/4(50)
500 Pieces F12146 F11917 F113549
Drawer (Empty) y g
Fo1134 “hrasse =y o
METAL
6x21/4(50) 8x2/2(50) 8x3(50)
F11788 F13814 F117586
F03335
DRYWALL SCREWS — PARTICLE
BOARD > » P ¥ e
w/ MFTAL DRAWER 10%2'(25) 9x3'(25) 9x234'(25) 9x21/2'25) 9x2'(25)
650 Pieces F117788 F117884 F16876 F113976 F116801

N » N »

» | = P P —

Drawer (Empty) 9x134(25) 9x11/2°(25) Ox 14" (25) 8x2'25) 8x1347(25)
F01135 F18126 F113141 F115378 F19291 FI11326

METAL
8x11/2'(50) 8x11/47(50) 8x17(50) 8x34"(50) 6x17(100)
F15503 F1a651 Fi11981 F17799 F119492
) s
6x3/4"(100)
F11599
F03395
NUTS —HEXNUTS GR 5 COARSE
&FINE ZINC 1/4-3/4 ;o @ @
w/ MFTAL DRAWER 1/420(100) 571618100 3/816(100) 716-14(100)
640 Pieces F16299 Fi271 F117892 F118126
A
Drawer (Empty) 121315) 916:12(10) 5/811(10) 3410(10)
F0143 F112342 F113376 F1434 F14864
METAL @ @ Q
11428(100) 5/1624(100) 3824(50) 7162005)
F14731 F19578 F112672 F117203
1122005) 9/1618(10) 51800 3416(10)
F110855 F120a4 F116506 F114150
F03394
NUTS —HEXNUTS COARSE
& WASHERS ZINC #4-1/4 o L) Q O O o
W/METAL DRAWER 4-40(100) 632(100) 832(100) 10:24(100) 1224(50) 1/420(50)
1875 Pieces F17614 F112282 F116917 F19938 F13241 F16299

o ° o (o] o

Drawer (Empty) 10-32(100) #4(100) #6(100) #8(100) #10(100) 1/4(100)
F0142 F112903 F119742 F15347 F16812 F18977 F117909
o o o o O )
METAL 0
#4(100) #6(100) #8(100) #10(100) 1/4"(50) 'x1"!
F19274 F118175 F115930 F111782 F117552
#6(100) #8(50) #10(50) #12(50) 1/4"(25)
F113536 F15426 F18895 F13853 F13507
Copyright © 2023

10-1-38



ASSORTMENTS

Fasteners 1

FASTENERS — NUTS (CONT.)

F03409
NUTS —HEXNUTS, KEP NUTS, FW, LW @
WASHERS ZINC #6-1/4 @. a @ Q; )
wl M ETAL DRAWE R 6-32(100) 8-32(100) 10-24(100) 10-32(100) 12:24(50) T/iZD}EO'
1900 Pieces F16318 F14732 F17817 Fl672 F114355 F117201
o o o © O
Drawer (Empty) #6(100) #8(100) #10(100) #12(50) 1/4(50)
F0142 F15347 F16812 F18977 F17537 F117909
METAL © o @ O @ Q
#6(100) #8100 #0100 #10(100 #12(50) 14°(50)
F118175 F115930 FInzs2 F113719 F13415 F13803
e & © e (= o
6-32(100) 832(100) 10-24(100) 10-32(100) 1224(50) 1/4"(50)
F112282 F116917 F19938 F112903 F13241 F119416
F03398
NUTS —HEX SLOTTED COARSE & FINE ZINC . 7%
1/4-3/4 o o & L&
wl M ETA L DRAWE R 1/4-28(50) 5/16-24(50) 3/824(25) 71620(25)
370 Pieces F15261 Fl10411 F11850 F15017
o o o | O
Drawer (Empty) 122005) 9/1618(10) 5/818(5) 3/416(5)
F0143 F13280 F18062 F13915 F15152
e o ) o &
1/420(50) 5/16-18(50) 3/8-16(25) 7614 (25)
F110027 F116969 F119520 F12824
Q Q & O
1/213(15) 9/16-12(10) 5/‘8';; ©® 3/410(5)
F113597 F113865 F114825 F12539
F03393
NUTS — HEX JAM COARSE ZINC o o o
1/4-1" 1/420(100) 5/16-18(100) 3/816(100)
W/METAL DRAWER Freeon Fio202 F1esss
385 Pieces - ’
o O
7/16-14(25) 1/213(25) 9/16-12(10)
F118002 F18031 F117953
Drawer (Empty)
F01134
0
5/811(10) 34106)
METAL Frizor s
//\ .
N { ) 3]
1-8(5)
F1m410
F03392 Y =\
NUTS —HEXJAMFINE ZINC @ @ O
1/4-1" 1/428(100) 5/1624(100) 3/8:24(100)
W/ METAL DRAWER e o s
385 Pieces @ @
711620(25) 1220025 9/16-18(10)
F17602 F116565 F115169
Drawer (Empty)
F01134 2
METAL Frioss? Firees Fraoss

Copyright © 2023
10-1-39



ASSORTMENTS

1 Fasteners

F03388

NUTS —HEX FLANGE LOCK COARSE PLAIN
1/4-3/4

W/METAL DRAWER

135 Pieces

Drawer (Empty)
F01134

METAL

F03401

NUTS — FLEXLOCK
COARSE PLAIN #10-1/2
W/METAL DRAWER
134 Pieces

Drawer (Empty)
F0143

METAL

F03410

NUTS — KEP COARSE ZINC
#4-3/8

W/METAL DRAWER

450 Pieces

Drawer (Empty)
F01134

METAL

F03404

NUTS — NYLON INSERT LOCKING GR 8
COARSE &FINEYZ 1/4-1"

W/METAL DRAWER

100 Pieces

Drawer (Empty)
F0142

METAL

10-1-40

FASTENERS — NUTS (CONT.)

1/420(25) 5/16-18(25) 3/816(25)
F118385 F116220 F111286
1/213(10) 5/811(10) 3/4-10(10)
F11451 F118680 F114475
1/220(10) 5/8-18(10) 3/416(10)
F14753 F11461 Fl2115

O O

o

o

1213(5) 716-14(5) 3/816(5) 5/1618(5)
F17606 F119198 F11904 F19095
1/4°20(10) 1024(12) 832025) 63205)
F111803 F112682 F16508 F111267
1/220(5) 716'20(5) 3/8"24(5) 5/1624(5)
F112156 F19204 F12079 F116403

o o

1/4"28(10) 1032(12)
F1218 F118686
3/816(50) 5/1618(50) 1/420(50)
F15743 F13056 F117291
1224(50) 10-32(50) 10-24(50)
F114355 F1672 F17817
832(50) 632(50) 4-40(50)
Fl4732 F16318 F14442

Q

o

o

©

@

1-8(1) 7/8-9(1) 3/410(2) 5/81102) 916-12(2) 121302
F19161 F18888 F110540 F11508 F119764 F111806
716-14(6) 3/8-16(10) 5/16-18(10) 1/4-20(10)

F182 F15519 F111078 F115271

1-14(1) 7/8-14(1) 3/416(1) 5/8-18(2) 916-18(2) 1/220(6)
F119186 F114881 F147 F17702 F114681 F14248
716-20(6) 3/8-24(10) 5/16-24(10) 1/4-28(10)

F13695 F14493 F12846 F115294

Copyright © 2023




ASSORTMENTS

Fasteners 1

F03405

NUTS — NYLON INSERT LOCKING
COARSE & FINE ZINC #10-3/4
W/METAL DRAWER

455 Pieces

Drawer (Empty)
F0142

METAL

F03411

NUTS — PREVAILING TORQUE GR 8
COARSE & FINE CADMIUM 1/4-1"
W/METAL DRAWER

255 Pieces

Drawer (Empty)
F0142

METAL

F03402

NUTS — CAP NICKEL PLATED
#6-3/8

W/ METAL DRAWER

250 Pieces

Drawer (Empty)
F01134

F03391

NUTS — COUPLING ZINC
#10-1"

W/METAL DRAWER

37 Pieces

Drawer (Empty)
F01134

METAL

FASTENERS — NUTS (CONT.)

- ~
= Y =
Lo - d. Sl 4 RELD
3/824(0) 5/818(10) 3/416(10) 71614(15) 3/40(15)
F19880 F1569 F119745 F13994 F18183
@ ‘ =
= T = ey ¥
Tl [T — Ay < g
5/1624(20) 9/1618(10) #1024(30) 3/816(50) 5/811(15)
F112642 F18562 F114860 F18115 F112327
= B Z
-31_ = = = &
- g SIS g .
1/4-2820) 1220(15) #832030) 5/16-18(50) 9/16-12(15)
F15354 F115104 F117055 F11313 F11992
5 e @ LA ey
103200 7/16:20(10) #6-32(30) 1/420(50) 1213(20)
F118331 F13883 F116468 F13197 F11682
1'NFQ) TR'NFQ) 34'NFQ) 5/8"NF (15) 9/16'NF(15) /2N (15)
F112349 F19261 F14401 F12125 F120058 F119282
7/16"NF(15) 3/8"NF 5/16"NF(20) 1/4”NF (20)
F12458 F112023 F16199 F118793
T'NCE) 78'NCE) 34'NCE) 5/8"NC(15) 916'NC(15) 12'NC(15)
F17738 F14154 F1964 F1159 F118870 F13794
7N16'NC(15) 3/8"NC(20) 5/16"NC(20) 1/4"NC(20)
F12149 F1986 F113182 F12778
3/8-16(25) 5/16-18(25) 1/420(50)
F110660 FI11502 F114329
10-24(50) 832(50) 632(50)
F119276 FiT1681 F18942
18x2120) 789%2112(2) 3410x21/4Q)
F111986 F13767 F111864
5811x21802) 1213x13/4(5) 716-14x13/4(4)
F16915 F17204 F119654
3/816x13/4(6) 5/16-18x1-3/4(4) 14-20x7/8(6)
Fl4146 F12224 F17813
1024x3/4(4)
F115530
Copyright © 2023

101141




ASSORTMENTS

1 Fasteners

F03397

NUTS — WING NUTS ZINC
W/METAL DRAWER

170 Pieces

Drawer (Empty)
F01134

METAL

F03407

NUTS — TEE #6-3/8
W/METAL DRAWER
200 Pieces

Drawer (Empty)
F01134

METAL

F03420

WASHERS — FLAT USS
ZINC#10-1”

W/METAL DRAWER
605 Pieces

Drawer (Empty)
F01134

METAL

F03421

WASHERS — FLAT SAE ZINC
#10-1"

W/ METAL DRAWER

605 Pieces

Drawer (Empty)
F01134

METAL

10-1-42

FASTENERS — NUTS (CONT.)

4

\ 4

W’

1/213(5) 7/16-14(5) 3/816(10)

F1292 F119893 F112432
5/16-18(25) 1/420(25) 10-24(25)
F110093 F117218 F12755
83205 632(50)

F13054 F17656

=3

o

.

632x1/4'(25) 832x1/4"(25) 10-24x5/16" (25)
F19571 F17918 Fi161
L & A
1032x5/16"(25) 1/4-20%5/167(25) 1/420x7/16"(25)
F119902 F19708 F116224

A, s,
5/16-18x3/8"(25) 3/816x7/16" (25)
F13062 F12089
y
1(15) 78"(15) 34(25)
F16039 F111287 F18336
5/8"(25) 9/16"(25) 1/2"(50)
Fi713 F16910 F13603
o\ c
7/16"(50) 3/8"(50) 5/16"(100)
F116903 F114148 F19322
1/4"(100) #10(316)
F17196 F17540
(15) 78'(15) 3/4"(25)
F1392 F12347 F115376
5/8'25) 9/16'(25) 11250
F1612 F1928 F17900
716 (50) 3/8"(100) 5/16(100)
Fi3663 F19605 F117432
1/4"(100) #10(316) (100)
F13803 F113719
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — WASHERS (CONT.)

F012765

WASHERS — UNIFIT YELLOW ZINC

1/4-3/4

W/ METAL DRAWER

450 Pieces pall G

Drawer (Empty)
Fo1134 Faoron rasrae
METAL o

3/8(100) 3/4(25)
F129790 F129789
7/16(50)
F129793

F03426
WASHERS — FLAT “AN” TYPE STAINLESS
#6-1"
W/METAL DRAWER
635 Pieces
1(5) 3/4"(10) 5/8"(10)
F11750 F19564 F116069
Drawer (Empty) o O o
F0143
9/16"(10) 1/2"(50) 7/16'(50) 3/8"(50)
Fi1146 FIT1553 F117297 F114299
METAL O (o) o) o)
5/16(50) 14(100) #10(100) #8(100)
F19390 F113826 FI11256 F14805
#6(100)
F110722
F03419 3
WASHERS — LOCK, FLAT USS & SAE ZINC \ \
#10-1/2 0 o o o O 0
W/METAL DRAWER #10SAE(100) 1/4"SAE(100) 5/16"SAE(100) 3/8SAE(100) N6'SAE(100) 1/2"SAE(50)
1650 Pieces F113719 F13803 F117432 F19605 F13663 F17900
& 3 X 4
O o o )
Drawer (Empty) #10USS(100) 1/4"USS(100) 5/16"USS (100) 3/8USS(100) 716"085(100) 17270550
F0142 F17540 F1719 F19322 F114148 F116903 F13603
o O O
METAL Q 0
#10(100) 1/4(100) 5/167(100) 387(100) 716'(100) 1/2'(50)
F18977 F117909 F117156 F117001 F15121 F116881
F03430
WASHERS — TOOTH INTERNAL & EXTERNAL ZINC
#6-1/2 o (%) S O o
W/METAL DRAWER #6(50) #8(50) #10(50) #12(50) 1450
800 Pieces FI1165 F15284 F110019 F118455 F14043
Drawer (Empty) 5167(50) 387(50) 716'25) 172'05)
F01135 F112904 F19149 Fla218 F119719
METAL & o Q‘ Q : :
#6(50) #8(50) #10(50) #12(50) 1/4"(50)
F113536 F15426 F18895 F13853 F13507
5/16"(50) 387(50) 716'25) 172'05)
F112248 F110948 F112159 F18452
Copyright © 2023

10-1-43



ASSORTMENTS

1 Fasteners

F03147

WASHERS — FENDER ZINC
3/16-3/8

W/SMALL PLASTIC BOX

150 Pieces

Drawer (Empty)
F012111

PLASTIC

F03423

WASHERS — FENDER ZINC
3/16-1/2

W/METAL DRAWER

320 Pieces

Drawer (Empty)
F01134

METAL

F03424

WASHERS — FENDER ZINC
3/16-1/2

W/METAL DRAWER

245 Pieces

Drawer (Empty)
F0142

METAL

F03417

WASHERS — CASE HARDENED BLACK
3/16-1"

W/METAL DRAWER

60 Pieces

Drawer (Empty)
F01134

METAL

1041-44

FASTENERS — WASHERS (CONT.)

3/16'x1"(25) VA'X1"(25) VA"X1/4"(25) 5/16x11/2"(25) 3/8'X1-1/4"(25) 3/8'x1-1/2" 25)
F18726 F119621 F116605 F19315 F12046 F117178
1/2'x2"(15) 3/8"x2"(15) 3/8"x1-1/2" 30)
F113124 F112082 F117178
A O
38"X1-1/4"(30) 5/16"x1-1/2"30) 5/16'x 1-1/4"(30)
F12046 F19315 F114598
14'x1/2" 30) V4'X1-1/4" 30) 14'x1"(30)
F13140 F116605 F119621
3/16'x1"(30) 3/16"x3/4" (50)
F18726 F13689
38" 11/4"stdthk(10) Wx!-!ﬂ"s{!thkﬂoi ys"xrs!thk@ 1/2'x11/2" st thk(5) 1/2“x2"xtratll(5)
F12046 F117178 F112082 F13969 F1551
5/16"x 114" stdlthk(10) 5/16"x1-1/2"stdthk(10) 5/16'x2"stdthk (10) 3/8"x1-1/4" xtrathk 3/8"x1-3/4" xtrathk(10)
F114508 F19315 F11693 F111463 F11888
147X 1"stdthk 25) AT/ sl thk(15) 14X 1172 stdlthk (15) S/16x 114 xrathk(10) 5/16'x 1-3/4"xna!l(|0)
F119621 F116605 F13140 F115329 F110821
3/16"x3/4"stdthk 25) 3/16'x 1" stdlthk(25) 316X 114" stdthk(15) 14X 1" xtrathk (10) 141172’ xtrathk (10)
F18726 F12380 F119130 F119383
106) 78"6) 34°6)
F113209 F118503 F15525
58'3) 112'8) 76'®)
F113145 F110375 F19871
38'(8) 5/16'(8) 1/4°(8)
F115939 F15255 F118969
3/16"(8)
F18006
Copyright © 2023




ASSORTMENTS

Fasteners 1

F03153

PINS — BRIDGE

W/ SMALL PLASTIC BOX
120 Pieces

Drawer (Empty)
F012111

PLASTIC

F03472

PINS —BRIDGE
W/METAL DRAWER
115 Pieces

Drawer (Empty)
F01134

METAL

F03152

PINS — COTTER HAMMERLOCK ZINC
1/16-5/32

W/SMALL PLASTIC BOX

450 Pieces

Drawer (Empty)
F012112

PLASTIC

F03467

PINS — COTTERHAMMERLOCK ZINC
1/16-5/32

W/METAL DRAWER

1000 Pieces

Drawer (Empty)
F01134

METAL

FASTENERS — PINS

042x3/64x3/16" (25) 062X 1/4"x1/2"(25)
F12427 F13616

093X 1/4"X1/2"(25) 125x7/16"x3/4" 25)
F16308

A77x5/8"x1"(10)
F111308

148x5/8"x1"(10)
F17658

Qe

042x3/64"x3/16"(20)

Ce

062X 1/4"x1/2"(20)

C—x

093x1/4"x1/2" 20)

F12427 F13616 F16308
125x7/16"x3/4" (10) .148x5/8"x1"(10) 162x3/16"x7/8"(10)
F11662 F17658 F114169

N
A77x5/8"x1"(5) 177x7/8"x1-1/4" (5) 243x3/4"x1"(5)
F111308 F16198 F116990

243X T/A"X1-1/2"(5)
F117854

CQ~

310x7/8"x1"(5)
F115517

o— o— [ o
116"x3/4" (50) 1/16"x1"(50) 116'x11/2"(50) 3/32"x1"(50) 3/32'x11/2" (50) 3/32'x2"(50)
F131810 F131804 F131805 F131850 F131851 F131855

o |G

[ = —

1/8"x1"(25) 1/8"x1-1/2"(25) 1/8"x2"(25) 5/32'x1"(25) 5/32'x11/2"(25) 5/32'x2"(25)
F131828 F131829 F131833 F131876 F131877 F131880
o Com— e
1/16"x3/4"(100) 116" 1"(100) 116" 1-1/2°(100)
F131810 F131804 F131805
[« TN e O
3/32'x1"(100) 3/32'x1-1/2"(100) 3/32'x2"(100)
F131850 F131851 F131855
1/8"X /4" (100) 1/8"x11/2/(100) 1/8"%2"(100)
F131830 F131820 F131833

Ca

Co

5/32"x1-1/2"(50) 5/32"x2"(50)
F131877 F131880
Copyright © 2023

10-1-45




ASSORTMENTS

1 Fasteners

F05041

PINS — COTTERHAMMERLOCK ZINC
1/16-3/16

W/ METAL DRAWER

825 Pieces

Drawer (Empty)
F0142

METAL

F03466

PINS — COTTER HAMMERLOCK
ZINC 3/16-3/8

W/METAL DRAWER

355 Pieces

Drawer (Empty)
F01133

METAL

F03465

PINS — COTTERHAMMERLOCK ZINC
7/64-1/8

W/SMALL PLASTICBOX

865 Pieces

Drawer (Empty)
F0142

\ a5

PLASTIC

F05043

PINS — ALLOY STEEL DOWEL
1/8-3/8

W/METAL DRAWER

280 Pieces

Drawer (Empty)
F0142

METAL

10-1-48

FASTENERS — PINS (CONT.)

O O
116'x3/4"(50) 116X 114" (50) 116'x1-1/2"(50) 1/16'x1-3/4"(50) 116'%2"(50) 3/32'X3/4"(50)
F131810 F131806 F131805 F131808 F131809 F131857
— [ [ o (= —
3/32'x1"(50) 3/32"x 114" (50) 3/32'x1-1/2"(50) 3/32'x2"(50) 1/8"x1"(50) 1/8"x1-1/4" (25)
F131850 F131852 F131851 F131855 F131828 F131830
Cs O Cs c e [
1/8"x1:/2°(25) 1/8'x1-3/4"(25) 1/8'x2"(25) 1/8"x21/2"(25) 3/16'x1"(25) 3/16'x2"(25)
F131820 F131832 F131833 F131834 F131839 F131843
O S | o [
532'x1"25) 532'x11/2'25) 5/32'x134" (25) 532'x2'25)
F131876 F131877 F131879 F131880
316'x1"(25) 14'X14/2'25) 5/16'x3"(15)
F131839 F131817 F131871
316'x11/2(25) 142" (25)
F131840 F131820
3/16'x2"(25) V4'x21/2"(25) 3/8"x3"(10) 5/16"x4"(15)

F131843 F131821 F131861 F131873

3/16'x21/2"(25) 1/4'x3"(25)

F131844 Fi31822

3/16'x3"(25) 5/16'x2"(15)

F131846 F131869

14'x1"(25) 5/16"x2-1/2"(15) 14"x4"(25) 3/8"x4"(10)

F131816 F131870 F131824 F131863
[ [ c O
7/64°X1"(50) 7164X11/2"(50) 7/64°x2"(50) XA/ (15) 14°x2"(15) 14°x3"(15)

F131899 F131900 F131903 F131817 F131820 F131822
.
e o Coiuni (o u— e
3/32'x1"(50) 3/32'x11/2" (50) 3/32'x2"(50) 3/16"x14/2"(15) 3/16'x2"(15) 3/16"x3"(15)
F131850 F131851 F131855 F131840 F131843 F131846
@

o c Co —_— C— = | C .
5/64"x1"(50) 5/64"X 134" (50) 5/32'x1"(50) 5/32'x11/2"(25) 532'%x2'(25) 5/32'x3"(25)
F131886 F131889 F131876 F131877 F131880 F131883

C . N fo ~ ~ = —

1/16'x1"(50) 1/16"x1-1/2" (50) 1/8"x1"(50) 1/8"x1-1/2"(50) 1/8'x2"(25) 1/8'x3"(25)
F131804 F131805 F131828 F131829 F131833 F131836
3/8x2(10) 38x1-1/2(10) 3/8x1(10) 5/16x2(10) 5/16x11/2(10) 5/16x1(10)
F18898 F110576 F16875 F116095 F119413 F113491

S — E— — — == =]
1/4x2(10) 4x1/2(10) 14X 11/4(10) 14x1(10) 1/Ax3/4(15) 14x172(15)
F116018 Fi1123 F18682 F13881 F18483 F118823
jammemne ] == — —

316x1/2(10) 3/16x1(20) 3/16x3/40) 1/8x2(10) 1/8x1/4(10) 1/8x1(20)
F11074 F114698 F115427 F114939 F15037 F18419
— 1 —

1/8x3/4(20) 1/8x1/2(20) 1/8x3/8(20)
F118052 Fl4128 F114977

Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — PINS (CONT.)

F03155
PINS — SPLIT ZINC
1/16-1/8
W/SMALL PLASTIC BOX
450 Pieces
— — —— E——
Drawer (Empty)
116/x1/2'(50) 1/16/x3/4"(50) 116x1°(50) S647x1/27(50) S/64"x3/4(50) /64X 1"(50)
F012112 F112199 F12884 F13787 F11067 F117852 F110985
\am
PLASTIC
E— CE— EE——
332'x34°(25) 337X105) X 1B'x34 BT 18'x172"
F1909 F1960 F115508 F17581 F112640 F112380
F03154
PINS — SPLIT ZINC
5/32-1/4
W/SMALL PLASTICBOX
210 Pieces
_— | e | s =
Drawer (Empty)
FO12112 5/32%1"(25) S32'X11/2025) 5/32'%2"(25) 3/16'x1"(25) 316'x11/2'(25) IEx2"(25)
F116729 F19011 F14952 F18679 F117923 F18487
\\ = I (S
PLASTIC
R
732'x1(10) 7B2X1/2'(10) 732'x2"(10) 14'X1"(10) 1AX1/2/(10) 147x2"(10)
F16399 F14300 Fi7a11 F112081 F117324 F115667
F03477
PINS — SPLIT ZINC
1/16-1/4 — — — — —_— -
w/ MFTAL DRAWER 1/16/x1/2'(50) 116'x5/8"(50) 116'x3/4"(50) 332X5B7(50) 3/32X3M"(50) 332'%1"(50)
725 Pieces F112199 F18315 F12884 F19884 F1909 F1960
— — ———— —
Drawer (Empty) 18'x1/2"25) 18'X5/8" (25) 1B'X3/4"(25) BX1'(25) B'X11/2'(25) 532'x1/2'25)
F0142 F1m83 F113608 F17581 F112640 F112380 F14501
— —_— e —— = = —
METAL
532/ X34 25) 5/32%1"(25) 532'x1/2°(25) 36x1225) 316'x5/8(25) 31634 (25)
FI6718 F116729 F19011 F18803 F110746 F115166
— ——— =
3/16"x1"(25) 3/16'x11/2"(25) 14'X1"(25) 1/4"X1-1/2"(25) 14'x2"(25)
F18679 F117923 F112081 F117324 F115667
F03476
PINS — SPLIT PLAIN ZINC
116-1/2 — — = _— —_— — —_—
w/ M_ETAL DRAWER 116'x3/8'25) 116'x1/2'(25) 116/x1"(25) /64X 3/8"(25) S/64'x1/2"(25) S/64'x1"(25) I32'x1/2'25) 332'x1°(15)
381 Pieces F118709 F112199 F13787 F19512 F11067 F110985 F12942 F1960
Drawer (Empty) 332X1/2/(10) 1B'X3/4(25) 18'x1"(25) 5/32'x304°(10) 5/32'%1"(10) 532X12/(10) 316x34"(10)
F01137 F115508 F17581 F112640 F16718 F116729 F19011 F115166
METAL — —) —_— — )| e ———
3/16'x1"(10) 3/16'x14/2"(5) 3/16'x2'(5) 732'x1"(10) 732'x11/2'(5) 732'x2'(5) 14°x1"(10) VX112 (5)
F18679 F17923 F18487 F16399 F14300 FI7411 F112081 F117324
— | — e | o | (———
Wa'x2'6) 51611/2'8) 516'%2') X126 3820 7Ex2Q)
F115667 Fl448 F19077 F117932 F110186 F17032 F19309
Copyright © 2023

10-1-47



ASSORTMENTS

1 Fasteners

F03474

PINS — SPLIT PLAIN
1/16-1/4

W/METAL DRAWER
725 Pieces

Drawer (Empty)
F0142

F03478

PINS — COILED
3/32-3/4

W/METAL DRAWER
360 Pieces

Drawer (Empty)
F0142

F03471

PINS — CLEVIS STANDARD ZINC

3/16-1/2
W/METAL DRAWER
100 Pieces

Drawer (Empty)
F0143

F03469

PINS — CLEVIS ADJUSTABLE PLAIN

1/4-5/8
W/ METAL DRAWER
52 Pieces

Drawer (Empty)
F01134

10-1-48

METAL

METAL

METAL

METAL

FASTENERS — PI

NS (CONT.)

— —— — —_ [E— —
1/16"x1/2"(50) 1/16"x5/8" (50) 1/16"x3/4"(50) 3/32"x5/8"(50) 3/32"x3/4"(50) 3/32'x1"(50)
F14183 F17590 F14862 F12891 F18458 F110999
== — —— — | ————3 —_—
1/8"x1/2"(25) 1/8"x5/8"(25) 1/8"x3/4"(25) 1/8"x1"(25) 1/8"x1-1/2"(25) 5/32"x1/2"(25)

F13793 F117477 F114244 F16987 F15055
—_— — _— = — =
5/32"x3/4"(25) 5/32"x1"(25) 5/32"x1-1/2"(25) 3/16"x1/2"(25) 3/16"x5/8"(25) 3/16"x3/4"(25)
F112846 F11475 F110676 F110668 F11657 F15557
e s = _ E——
3/16"x1"(25) 3/16"x1-1/2"(25) 1/4"x1"(25) 1/4"x1-1/2"(25) 1/4"x2"(25)
F116232 F11938 F114800 F114218 F118532
- —— — f———]
3/32"x3/4"(30) 1/8"x1-1/2"(30) 3/16"x1/2"(20) 7/32"x3/4"(20) 1/4"x11/2"(5)
F112849 F18973 F111897 Fi2rn F17283
—_— == ] = o
3/32"x1"(30) 5/32"x1/2"(20) 3/16"x3/4" (20) 7/32"x1"(20) 1/4"x2"(5)
F19525 F18501 F11038 F1isTn F12528
= — — = e
1/8"x1/2"(30) 5/32"x3/4"(20) 3/16"x1"(20) 1/4"x3/4" (5) 1/4"x21/2"(5)
F13860 F114831 F1579 F113577 F118294
m— ] — _— e
1/8"x1"(30) 5/32"x1-1/2"(20) 3/16"x1-1/2"(20) 1/4"x1"(5) 1/4"x3"(5)
F19440 F18388 F112800 F113301 F15099
[ :
s sy |
r— —_— —
5/16x3/4(10) 3/8x1(5) 1/2x1172(5) 5/8x1-1/2(5)
F111067 F117588 F114423 F116581
o2 ]
1/4x1(10) 5/16x1-3/4(5) 716x1-1/4(5) 5/8x2(5)
F11825 F18397 F1512 F1a6a
| P ceisssimeaistated
1/4x3/4(10) 516X 1-1/4(5) 3/8x2(5) 1/2x1-3/4(5)
F11490 F18294 F14167 F113918
mﬂ — — B
—— —
3/16x3/4(10) 5/16x1(5) 3/8x11/2(5) 1/2x11/4(5)
F117005 F14408 F13837 F110042
5/8x3(2) 1/2x3(5) 1/2x2(5)
F19777 F17820 F11328
7/16x3(5) 716x2(5) 3/8x2(5)
F14900 F119063 F113307
5/16x2(5) 1/4x2(10) 1/4x1(10)
F15307 F117537 F19414
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — PINS (CONT.)

F03468
PINS — CLEVIS ADJUSTABLE & STANDARD ZINC .
3/16-5/8 s A R T e—— = FEee—
|
w/ M_ETAL DRAWER 12x26) 716x36) 716x2(5) 38x265) 516%2(5) 14x26) ax15) 5/8x2(5)
160 Pieces Fi1328 F14900 F119063 F113307 F15307 F117537 F19414 F14641
. e | m 5 | & 5 | & 3 [#3 ] "3 =] @ =3
Drawer (Empty) 12x3(5) 12x2172(5) 12x26) 12x13/4(5) 12x1926) 12x11/45) M6X117265) M6X11/4(5)
F01137 FI11270 F114460 F117815 F113918 F114423 F110042 F116163 F1512
[—l ] — == & = | & 5 | & =73 [ _»]
METAL <
8x26) I8x11205) IBX1I/AG) 38x16) 516x2(5) 516x134(5) 516x114(5) 516x16)
F1a167 F13837 Fi11838 F117588 F117877 F18397 F18294 F14408
'=%] © 3 (A—m_ z [ — [— L ——-] —_— (S5
516x3/4(5) 20 1ax172(5) 14x16) Yax3/4(5) 316x1120) 316x1(5) 3/16x3/4(5)
F111067 F114353 F115736 F1182s F11490 F13819 F119449 F117005
F03483
PINS — TAPER
#0-#8 —— = s ee—— —
w/ MFTAL DRAWER %200 4x2912065) x30) 8x205) 8x3(5) 8x4(5)
160 Pieces F14842 F114723 F117185 F14232 F118288 F112231
—— o — e | e —
Drawer (Empty) 3x11/2(10) 3x2(10) 3x24/2(10) 7%2(5) 7x36) 7x4(5)
F0142 F116098 F119674 F19453 F119645 F118047 F115833
e — ——— ————
METAL
119200 2x14(10) 6x2(5) 6x21205) 6x312(5)
F14150 F12593 F14097 F112026 Fi11438
o e} = — e R ——
0x3/4(10) 0x11/2(10) 1x3/4(10) 5%2(5) 5x21/2(5) 5x34/2(5)
F11907 F13584 F11863 F17285 F116140 F13361
F03149
RETAINERS — RETAINING RINGS
INTERNAL 1/4-15/16 Q ( ) ( > < ) ( ,
W/SMALL PLASTIC BOX
245 Pieces 1/475) 5/16'(25) 3825) 71625 172'05) 916'25)
F116373 F115424 F14357 F13500 F110417 F117137
Drawer (Empty)
F012113
SR 587(10) 1/16°(10) 34°(10) 1316°(10) 78°(10) 1516°(10)
o inel F19561 Fi11714 F11322 F114779 F15517 F17860
PLASTIC Q O O O
1(10) 11/16'(5) R 13/16'(5) 146 1516'6)
Fimos2 F13959 F112500 F11039 Fi11129 F16519
F05033
RETAINERS — RETAINING RINGS
INTERNAL 7/16-1 3/4 ( ) 1F-|a"(s) 1F-s/s"(s) Fz"<SJ
19771 17520 119173
w/ MFTAL DRAWER Qs 1/16(15) (10)
276 Pieces F13500 Fi11714 F111952
O ( ’ ‘ , 138°0)
Fi7215
Drawer (Empty) 38°(25) 5/87(20) 15/16°(10)
F0142 F14357 F19561 F17860
O ‘ } 11/4"(7) 1916'(5) 17/8"(5)
METAL : : FiIm2e FI7334 Fam
516'25) 916 20) 7/8'(10)
F115424 F117137 F15517
( ) ‘ ' 13/16'07) 134°(5)
Q F11039 Fi611
1s) 112'05) 34(15)
F116373 Fiom7 1322

Copyright © 2023
10-1-49



ASSORTMENTS

1 Fasteners

F03148

RETAINERS — RETAINING RINGS
EXTERNAL 1/8-1"

W/SMALL PLASTIC BOX

330 Pieces

Drawer (Empty)
F012113

PLASTIC

F03431

RETAINERS — RETAINING RINGS
EXTERNAL 1/4-2"

W/METAL DRAWER

259 Pieces

Drawer (Empty)
F0142

METAL

F03157

RETAINERS — RETAINING RINGS
E-STYLE 1/8-1"

W/METAL DRAWER

300 Pieces

Drawer (Empty)
F012113

METAL

F05044

RETAINERS — RETAINING RINGS
E-STYLE 3/32-1"

W/METAL DRAWER

625 Pieces

Drawer (Empty)
F01135

METAL

10-1-50

FASTENERS — RETAINERS (CONT.)

Q

1/8(25) 532'25) 3/16'25) 1/4°(25) 932'25) 5/16'(25)
F112128 F13051 F119803 F12875 F15222 F13364
38"(25) 76'05) 11225 9/16'(25) 5/8"(10) 11/16'(10)
F116736 F13254 F17883 F115355 F12756 F16396
34 (10) 25/32'(10) 13/16'(10) 758(10) 15/16'(10) 1°(10)
F11804 F14466 F114545 F19209 FI5112 F13581
19/16'(5) 15/87(5) 134(5) 17/8"5) 26
F119215 F118922 F116516 F13885 F115823
< > Q) 12°6)
F12078
7/8'(10) 1(10) 15/16'(7) 13/8'0)
F19209 F13581 F119677 F12353
9/16"(20) 5/8"(20) 1/16"(15) 3/4°(15)
F115355 F12756 F16396 F11804
1/4°(25) 5/16'(25) 3/8"(25) 716'25) 1/2'25)
F12875 F13364 F116736 F13254 F17883
o o o o ) o
33205 1/8"(25) 9064 (25) 532'25) 3/16'(25) 73225
F117417 F19807 F13397 F17248 F115451 F14961
1/4"(25) 5/16"(25) 3/8"(25) 716"(25) 1/2"(10) 5/8"(10)
F19625 F14372 F112595 F119439 F13223 F19180
3/4(10) 7/8'(10) 1(10)
F115214 F119415 F11406
o 4] %) %) 1)
3/32'x187(50) 1/8"%.230(50) 9/64"x.270(25) 5/32%.282(50) 3/16%.335(50)
F117417 F19807 F13397 F17248 F115451
7/32'x.437(50) 1/4'x.527(50) 5/16"x.500(50) 3/8"x.660(50) 7/16"%.687 (50)
F14961 F19625 Fl4372 F112505 F119439
1/2"x.800(50) 5/8"x.940(25) 3/4'x1120(25) 7/8'x1312(25) 1"x1.500(25)
F13223 F19180 F115214 F119415 F11406
Copyright © 2023




ASSORTMENTS

Fasteners 1

F03432

RETAINERS — RETAINING RINGS INT,
EXT &E-STYLE 3/16-17/8

W/METAL DRAWER

650 Pieces

Drawer (Empty)
F01137

METAL

F03433

RETAINERS — RETAINING RINGS INTERNAL
&EXTERNAL 1/4-1

W/METAL DRAWER

410 Pieces

Drawer (Empty)
F0142

METAL

F03473

RETAINERS — HITCH, BRIDGE
&E-CLIPS

W/METAL DRAWER

875 Pieces

Drawer (Empty)
F0142

F011962

RETAINERS — RETAINING
CRIMP STYLE 5/32-3/4
W/METAL DRAWER

105 Pieces

Drawer (Empty)
F01134

METAL

FASTENERS — RETAINERS (CONT.)

1-3/8"(10)
FI7215
316'(25) 76'25) 304°(25) 76'25) 116'(25) 1/8'(25) 516'25)
F119803 F13254 F11804 F13500 F111714 F19807 F14372
1/4"(25) 1/2'(25) 17(10) 1/2'(25) 3/4"(25) 5/32'(25) 3/8"(10)
F12875 F17883 F13581 F110417 F11322 F17248 F112505
1916'(10)
F17334
5/16"(25) 5/8"(25) 1/4°(10) 9/16"(25) 1(25) 3/16"(25) 7/16(10)
F13364 F12756 F117269 F117137 F111952 F15451 F119439
11/2°(10) 17/8"(10)
Q) F12078 Fam
38"25) 1/16'25) 5/8"(25) 13/16'(25) 1/4°(25) 1/2/(10)
F116736 F16396 F19561 F110396 F19625 F13223
1A' 25) 5/16'(25) 3/8"(25) 76'05) 1/2'25) 9/16'(25)
F12875 F13364 F116736 F13254 F17883 F115355
EZS
F11804
5/8"(25) 7/8'(10) 1(10)
F12756 F19200 F13581
1/4"(25) 5/16(25) 38'025) 716'(25) 1/225) 91625
F116373 F115424 F14357 F13500 F110417 F117137
5/8"(25) 3/4"(10) 7/8'(10) 1(10)
F19561 F11322 F15517 F11952
o o Qe Ce o< ==
HitchPin HitchPin HitchPin HitchPin HitchPin HitchPin
035X 7/64"x9/64(50) 028.x1/32"X /8" (50) 042x3/64"x3/16"(50) 062x 14"x1/2"(50) 028x1/2(50) 032x3/32GRV (50)
F15982 F110426 F12427 F13616 F13250 F14817
HitchPin HitchPin EClip Eip Elip ip
04778 (25) 116x1"Q5) 3/32'x5/64'(50) 1/8'%3/32"(50) 5/32 x7/64'(50) 3/16"x9/64"(50)
F17197 F115856 F117417 F19807 F17248 F115451
Elip Edlip EClip Edip Elip EClip
732'X3/16'(50) 1/4X13/64(50) 5/16X1/4(50) 3/8"X19/64"(50) 716'x11/32"(50) 12'X13/32°(50)
F14961 F19625 F14372 F112595 F119439 F13223
Eip
5/8'x31/64" (25)
F19180
5/32'(10) 3/16°(15) 14°(10)
F112639 F17251 F19502
5/16'(15) 38"(15) 76'65)
F13362 F117613 F116877
1/2'(10) 9/16"(5) 5/8"(10)
F110674 F13155 F113547
11/16(5) 34°(5)
F119458 F116988
Copyright © 2023

10-1-51




ASSORTMENTS

1 Fasteners

F03488

SHAFT COLLARS — STAINLESS

1/4-2"
W/METAL DRAWER
28 Pieces

Drawer (Empty)
F0143

F03489

METAL

MACHINERY BUSHINGS — NARROW

W/METAL DRAWER
150 Pieces

Drawer (Empty)
F01133

F03490

MACHINERY BUSHINGS — WIDE

W/METAL DRAWER
90 Pieces

Drawer (Empty)
F01133

F03624

METAL

METAL

THREAD REPAIR — KEENSERT THICKWALL

1/4-1/2
W/METAL DRAWER
47 Pieces

Drawer (Empty)
F0143

10-1-52

METAL

FASTENERS — SHAFT COLLARS

20 134" (1) /2 (1) 11/4°(1)
F117184 F116252 Fi5116 F15392
@) c 7/8"(3) 3/4"3) 5/8"3)
F17697 F16157 F13872 F12796
c 716'2) 38"
F15173 F119017 F19020 F13093

c 916'Q)

516"(2)
F118929

a 12'Q)

42
F114449

FASTENERS — MACHINERY BUSHINGS

10ga.2-1/2x1-3/4(10)

10ga.2-1/4x1-1/2(10)
F13067

10ga. 1-7/8x 1-1/4(10)

10ga.1-1/2x1(10)
F1861

14ga.2-1/2x1-3/4(10)
F13394

14ga.2-1/4x1-1/2(10)
F112027

14ga.17/8x11/4

000

14ga.3x2(10)
F114782

o 000

O F118576
14ga.11/2x1(10) 14ga. 11/4x3/4(10) 14ga.1x5/8(10) 0 14ga.78x1/2(10)
F17624 F111040 F116695 F13044
18ga. 1-/4x3/4(10) O 18ga.1x5/8(10) 18ga.78x1/2(10)
F15555 F11969 F12014
O 14ga.37/8x2/2(10) o 14ga.31/2x2(10) o 14ga.3-/4x1-3/4(10) o 14ga.3x11/2(10)
F110669 F112198 F11967 F111602
: 14ga.21/4x11/4(10) O 14ga.21/8x11/8(10) : 142.2x1(10) : 14ga. 1-3/4x7/8(10)
F15339 F19489 F114713 F118787
14ga.1-1/2x3/4(10)
F112663
1/4-20(5) 5/16-18(5) 3/816(5) 716143)
F13434 F117805 F1727 FI11565
14 (1) 5/16'(1) 3/8'(1) 76" (1)
F11527 F118202 F12411 F13929
1428(5) 5/16:24(5) 3824(5) 716203)
F110561 F14386 F12066 F115633
1213) 1720) 12200)
F119562 F114096 F117318
Copyright © 2023




ASSORTMENTS

Fasteners 1
FASTENERS — THREAD REPAIR (CONT.)
F03623
THREAD REPAIR — KEENSERT
METRIC THINWALL M6-M12 :. 3 i i
W/METAL DRAWER M6x100) MBx1250) MI0x15(2) MI2x175()
21 Pieces F19448 F118355 F112899 F118857
Drawer (Empty) M6() ) Mio() Mi2(1)
F0143 F116753 F15165 F119263 F11288
METAL *
M8x10(3) M10x125(2) MI2x125(2)
Fnaa F1384 F11219
F05042
KEYSTOCK — SQUARE ZINC V2XI2X12'Q)
1/8-1/2 e
W/METAL DRAWER
21 Pieces IEXIBX12'Q)
F118182
Drawer (Empty) 5/16”;151/1;;;2”(2’
F01130
VA'X1/A'X12"(5)
F116149
METAL
3/16'x3/16"x12"(5)
F113403
1/8'x1/8"x12"(5)
F120099
F03479
KEYSTOCK — SQUARE ZINC XIX12'Q)
1/2-1” F112234
W/METAL DRAWER
12 Pieces
7/8'x7/8'x12" )
F116685
Drawer (Empty) XX
F01130 Fe7s7
SEXSE'X12'(2)
F18123
METAL
9/16'x9/16'x12'(2)
F1227
12'x5/8"x12"(2)
F115801
FASTENERS — SPRINGS
F03487
SPRINGS — COMPRESSION SPRING
W/METAL DRAWER
19 Pieces
Drawer (Empty)
F01133
METAL %
844x12(2) 640x12(2) .500%12(3) 432x12(2) .380x12(3) 328x12(2) 278x12(3) 254x12(2)
F1345 F17843 F17655 Fmz F114685 F114789 F110709 F113020
Copyright © 2023

10-1-53



ASSORTMENTS

1 Fasteners

FASTENERS — SPRINGS (CONT.)

F03486
SPRINGS — EXTENSION SPRING
W/METAL DRAWER o mm— | - — C—
44 Pieces (023)7/16x4(2) (023)716x31202) (0237/16x32) (0237/16x222) (035)3/8x3B)
F12730 F115588 F116892 F13022 F116361
Drawer (Empty) (035)3/8x21/20) (035)3/8x2(39) (035)3/8x11/2(9) (028)5/16x21203) (028)5/16x2(3)
F01135 F16754 F118912 F118609 Fl4516 F110436
O ) | <= R CEEERC | Cmwmmmmwmmmm=O
METAL (028)5/16x11/2(3) (028)1/4x21/2(3) (028)1/4x2(3) (028)1/4x11/23) (023)3/16x21/2(2)
F113672 F1139 F111780 F111437 1238
[ mimmmmmmmmmerid [l
(023)3/16x2) (023)3/16x112(2)
F17525 F12900
F05029
WOODRUFF KEYS — WOODRUFF KEY
3/8-1.1/4 ~ - - E_ AR
w/ METAL DRAWER 3/8'x1/8"(5) 1/2'x1/16'(5) 12'x1/8"(5) 5/8"x3-1/6"(5) 5/8"x3/32"(5)
115 Pieces F114308 F118257 F117807 F16696 F119384
Drawer (Empty) iy -~ .
Pty, X 1B'6) S/8'x5/32'(5) 3WX36(5) 3U'xs32'6) X366 XA ()
F0142 F114285 F15922 F12308 F13248 F110871 F13159
METAL A - o =5 .,
TB'X316'(5) TXTB25) TBX V) 1%3/16'(5) XA (S) TX56'5)
F116631 F119452 F1821 F119935 F15336 F19439
X3B') 1B'X36'(5) 1B 6) 114X3016(5) 1A S) X516 (5)
F18054 F16314 F12737 F13789 F114704 F11202
F03374
WOODRUFF KEYS — WOODRUFF KEY
M2.5-M10 - Y F N
w/ MFTAL DRAWER M25x37mm(25) Maxsmm(20) MSx75mm(15)
240 Pieces F17769 F17189 F14629
D Empt: -
raven ( oD y) M3x37mm (25) M4x6.5mm (20) M5x9mm(15) M8xT1mm(5)
F0143 F15693 F15816 FI14223 F15707
METAL o fe N = oN
M3x5mm (25) M4x75mm (20) M6x9mm(10) M8x13mm(5)
F17194 2351 F19253 F18421
- a y Y
M3x65mm 25) MSx65mm(15) M6x10mm(10) MI0x13mm(5)
F112267 F15788 Fi2214 F119592
FASTENERS — HEX HEAD CAP SCREWS METRIC 8.8
F03250

HEXHEAD CAP SCREW METRIC8.8 —

M4-M6 ZINC o O = == ] ] | o

w/ MFTAL DRAWER M4(50) M4(50) MAX70X12(25) MA4X.70X16(25) M40X70X20(25) M4X70X25 (25) MAX70X30(15) M4X70X40(15)
870 Pieces F119522 F116125 F11062 F16159 F15484 F111519 F18145 F12221

C | O | = | = | = E

Drawer (Empty) M5(50) M5(50) M5X.80X12(25) MS5X.80X20(25) M5X.80X25(25) MS5X.80X30(15) M5X.80X40(10) MS5X.80X50(10)
F01137 F13471 F1769 F14768 F114116 F12924 F114097 F115668 F116731

METAL o (o] L = e e | e | e

M6(50) M6(50) M6X1.0X16(25) M6X1.0X20(15) MB6X1.0X25(15) M6X1.0X30(15) M6X1.0X35(10) M6X1.0X40(10)
F118896 F112958 F116158 F15219 F112430 F16076 F14173 F16743
M4X.70 (50) M4X.70(25) M5X.80(50) MS5X.80(25) M6X1.0(50) M6X1.0(25) M6X1.0X50(10) M6X1.0X60(5)
F15604 F15153 F17801 F110400 F12588 F116060 F114303 F114602
Copyright © 2023

10-1-54



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS METRIC 8.8 (CONT.)

F03253

HEXHEAD CAP SCREW METRIC 8.8 —
M5-M10 ZINC

W/ METAL DRAWER

725 Pieces

Drawer (Empty)
F0142

METAL

F03252

HEX HEAD CAP SCREWS METRIC 8.8 —
M6-M10 ZINC

W/ METAL DRAWER

540 Pieces

Drawer (Empty)
F0142

METAL

F03249

HEXHEAD CAP SCREWS METRIC 8.8 —
M7-M8 ZINC

W/METAL DRAWER

595 Pieces

Drawer (Empty)
F01137

METAL

F03264

HEX HEAD CAP SCREWS METRIC 8.8 — FINE
M8-M14 ZINC

W/METAL DRAWER

215 Pieces

Drawer (Empty)
F01135

METAL

M5x12(25) M5x16(25) M5x%20(25) M6x12(25) M6x16(25) M6x20(25)
F14768 F13854 F114116 F17488 F116158 F15219
M6x25(25) M8x20(15) M8x25(15) M8x30(15) M10x20(15) M10x30(15)
F112430 F15735 F119784 F114629 F19515 F17406
M5(50) M6(25) M8(25) M10(25) M5(50) M6(50)
F17801 F12588 F11276 F1326 F1769 F112958
M8(50) M10(25) M5(50) M6 (50) M8(50) M10(25)
F110580 F111548 F13471 F118896 F15487 F117961

M6x12(25) M6x16(25) M6x20(25) M6x25(25) M8x20(15) M8x25(15)
F17488 F116158 F15219 F112430 F15735 F119784
M8x30(15) M8x40(10) M8x50(10) M10x20(15) M10x30(15) M10x40(10)

F114629 F16950 F116937 F19515 F17406 7972
M10x50(10) M6(25) M8 (25) M10(25) M6(50) M8 (50)
F15492 F12588 F11276 F1326 F112958 F110580
MI0(25) M6 (25) M8(25) MI0(25)
F111548 F118896 F15487 F117961
M7(50) M7X1.0X12(15) M7X1.0X20(15) M7X1.0X25(15) M7X1.0X30(15) M7X1.0X35(10) M7X1.0X40(5) M7X1.0X50(5)
Faa F114693 F1 F15824 F118106 F110656 F117540
M7(50) MB8X1.0X16(15) MB8X1.0X20(15) MBX1.0X25(15) M8X1.0X30(15) M8X1.0X35(10) MB8X1.0X40(5) M8X1.0X50(5)
F14487 F113087 F115728 F17722 F114629 F1950 F17333 F14735
@ iz e | e | lmmee | e b
M8(50) M8X1.25X16/(15) M8X1.25X20(15) M8X1.25X25(15) MB8X1.25X30(15) M8X1.25X35(10) M8X1.25X40(5) M8X1.25X45 (5)
F110580 F12203 F15735 F119784 F110553 F11982 F16950 F115873
M8(50) M7X10(25) M7X1.0(25) M8X1.25(25) M8X1.25(25) M8X1.0(25) M8X1.0(25) M8X1.25X50(5)
F15487 F14490 F18472 F1276 F116664 F118491 F16861 F116937
MB8x1.00x16(25) M10x1.25x20(20) M12x1.50x25(10) M14x1.50x30(10)
F113087 F113333 F17698 F111480
M8x1.00x20(25) M10x1.25x25(20) M12x1.50x30(10) M14x1.50x40(5)
F115728 F14607 112952 F113445
M8x1.00x25(25) M10x1.25x30(20) M12x1.50x40(5) M14x1.50x50(5)
F17722 Fm7z7io F11189 F16779
M8x1.00x35(15) M10x1.25x40(10) M12x1.50x50(5) M14x1.50x60(5)
F1950 F18615 F1178 F119722
Copyright © 2023

10-1-55



ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS METRIC 8.8 (CONT.)

F03733

HEAD CAP SCREW METRIC 8.8 —
M5-M10 ZINC)

W/METAL BIN

2237 pcs

Contains: Bright Zinc Plated Nuts,
Lock Nuts, Hex Cap Screws,

Flat Washers, Split Lock Washers

& Wave Washers

Size Range: M5 x.80, M6 x 1.0,
M8x1.25&M10x 1.5

Bin Dimensions:
33-3/4"Wx 23-7/8"Hx 12"D

Bin PartNo.F01112

METAL
F03719
HEX HEAD CAP SCREWS METRIC 8.8 — ANSI
M5-M10 ZINC
W/METAL BIN
1725 pcs
Contains: Zinc Plated Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers
Size Range: M5 x .80, M6 x 1.0, M8 x 1.25,
M10x 1.5
Bin Dimensions:
33-3/4"Wx23-7/8"Hx 12D
Bin PartNo.F01112

METAL
F03734
HEXHEAD CAP SCREWS METRIC 8.8 —
M5-M12 ZINC
W/2 METAL BINS
3020 pcs
Contains: Bright Zinc Plated Nuts,
Lock Nuts, Hex Cap Screws,
Flat Washers, Split Lock Washers,
Wave Washers & Fender Washers
Size Range: M5 x .80, M6 x 1.0,
M8x1.25,M10x 1.5 &M12x 1.75
Bin Dimensions:
Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"H x 12"D
Bin PartNo.F01112

METAL

10-1-56

@

M5X80 (100) M6X1.00 (100) MBX1.25 (100) M10X1.50 (50) M5X80 (50) M6X1.00 (50) M8X1.25 (50) M10X1.50(25)
F17801 F12588 F11276 F1326 F110400 F116060 F116664 F119472
M5 00) MEOO) M8 (100) M10 (100) M5 (100) M6 (100) M8 (100) M10 (100)
F1769 F112958 F110580 F111548 F13471 F118896 F15487 F117961
Mé (100) M8 (100) M10 (50) M5X.8X12 (50) MSX.8X16 (50) M5X.8X20 (50) M5X.8X25 (50) M6X1.0X12 (50)
F113900 F116501 F13456 F14768 F13854 F114116 F12924 F17488
MEX10X16 (50) M6X1.0X20 (50) MEX1.0X25 (25) M6X1.0X30 (25) M8X1.25X12 (25) MBX1.25X16 (25) MBX1.25X20 (25) MBX1.25X25 (25)
F116158 F15219 F112430 F16076 F11583 F12203 F15735 F119784
M8X1.25X30 (25) MB8X1.25X35 (25) M8X1.25X40 (25) IM10X1.5X20 (25) M10X1.5X25 (25) M10X1.5X30 (25) M10X1.5X40 (12)
F114629 F11982 F16950 F19515 F113065 F17406 17972
M5X80 (100) M6X100 (100) MBX1.25 (100) M10X1.50 (50) Ms (100) M (100) M8 (100) M0 (100)
F17801 F12588 F11276 F1326 F1769 F112958 F110580 F11548
M5 (100) M6 (100) M8 (100) M10 (100) M5X.8X12 (50) MS5X8X16 (50) M5X.8X20 (50) MS5X.8X25 (50)
F13471 F18896 F15487 F117961 F14768 F13854 F114116 F12924

M6X1OX16 (50) M6X1.0X20 (50) M6X10K25 (25) M6X1.0X40 (25) M8X125X16 (25) M8X1.25%20 (25) M8X1.25X25 (25) M8X125%30 (25)
F115244 F115334 F1188 F117285 F110100 F114484 F19874 F112s21
IM8X1.25X35 (25) M8X1.25X40 (25) IM8X1.25X50 (25) IM10X1.5X30 (25) M10X1.5X40 (25)
F18198 F164 F18402 F17845 F17700
M5X0 (100) M6X100 (100) M8X1.25 (100) MIOX150 (50) MI2X175 25) M6X1.00 (50) M8X125 (50) MIOX1.50 (25)
F17801 F12588 F11276 F1326 F113442 F116060 F116664 F119472
M (100) M6 (100 M (100 M0 (100) 12 (50 M (100) M (100) M8 (100)
F1769 F112958 F110580 F111548 F118584 F13471 F118896 F15487
@ ooy | o | o | °© @
M10 (100) M12 (50) M5 (100) M6 (100) M8(100) M10 (50) M5X15 (100) M6X20 (50)
F117961 F13971 F117424 F113900 F116501 F13456 F115893 F116830
@ @ @ @ @ @m @mm @mm
MEX25 (50) M8X20 (50) MEX30 (50) MI0X30 (50) MI2X37 (50) MSXEX10 (50) MSXEX12 (50) MSX8X16 (50)
F19687 F13920 F17684 F13035 F117004 F15980 F14768 F13854
MS5X.8X20 (50) M5X.8X25 (50) MS5X.8X30 (50) M6X1.0X10 (50) M6X1.0X12 (25) M6X1.0X16 (25) M6X1.0X20 (25) M6X1.0X25 (25)
F1ane F12924 F114097 F111893 F17488 F116158 F15219 F112430

[
[
[
I
[
[
[
I

MBX1.0X30 (25)
F16076

MEX1.0X35 (25)
F14173

M6X1.0X40 (25)
F16743

MBX1.25X12 (25)
F11583

M8X1.25X16 (25)
F12203

M8X1.25X20 (25)
F15735

MBX1.25X25 (25)
F119784

M8X1.25X30 (25)
F114629

[
[
[
]
[
[
[
]

MB8X1.25X35 (25) M8X1.25X40 (25) MB8X1.25X45 (12) MB8X1.25X50 (12) M10X1.5X20 (25) M10X1.5X25 (25) M10X1.5X30 (12) M10X1.5X35 (12)
F11982 F16950 F115873 F116937 F19515 F113065 F11885
M10X1.5X40 (12) M10X1.5X50 (12) M12X1.75X20 (12) M12X1.75X25 (12) M12X1.75X30 (12) M12X1.75X40 (12)
F117972 F15492 FImsass F114153 F116392 F12129
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS METRIC 8.8 (CONT.)

F03718
HEXHEAD CAP SCREWS METRIC 8.8 — ANSI

©
M5-M12 ZINC

W/2 METAL BINS M5X80 (100) M6X1.00 (100) M8X1.25 (100) IM10X1.50(50) M12X175 (25) M5 (100) M6 (100) M8 (100)

F17801 F12588 F11276 F18874 F113442 F1769 F112958 F110580

2056 pcs
Contains: Zinc Plated Nuts, @ @ @ @ @ @W
Hex Cap Screws, Flat Washers M0 (100) M2 (50) MS (100) M6(100) M8 (100) M10 (100) M2 (50) MSX8XIO (50)
& Split Lock Washers F111548 F118584 F13471 F118896 F15487 F117961 F13971 F15980
Size Range: M> x 80, Mo x 1.0, Comww | Cowew | Coosw | Cooss | Do E—
M8x1.25,M10x 1.5, M12x 1.75

M5X.8X12 (50) MS5X.8X16 (50) M5X.8X20 (50) MS5X.8X25 (50) M5X.8X30 (50) M6X1.0X16 (25) M6X1.0X20 (25) M6X1.0X25 (25)
Bil‘l DimensionS' F14768 F13854 F114116 F12924 F114097 F115244 F115334 F1188

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

M6X1.0X40 (25) MB8X1.25X16 (25) M8X1.25X20 (25) M8X1.25X25 (25) M8X1.25X30 (25)

MBX1.25X45 (25) MEX1.25X50 (25)
METAL F117285 F110100 F114484 F19874 F112521

F18097 F18402

This assortment also available

without the bin under part no.
F03775 MB8X1.25X60 (25) M10X1.5X30 (12) M10X1.5X40 (12) M10X1.5X50 (12) M12X1.75X20 (10) M12X1.75X25 (10) M12X1.75X35 (10) M12X1.75X40 (10)

F1210 F17845 F17700 F19187 F17699 F116726 F116310 F11726

MI2X1.75X60 (10)
F19462

F03288

HEX HEAD CAP SCREW METRIC 8.8 — . .
ANSI M6-M10 [ f== e i [~ |
W/ METAL DRAWER

. Mox16(25) M6x2025) Mox25(25) MBx20(15) MBx25(15) M8x30(15)
500 Pieces F115244 F115334 F1188 F14484 F19874 12521
. >
Drawer (Empty) M8x40(10) M8x50(10) MI0x30(15) M10x40(10) MI0x50(10)
F0142 Fi64 F18402 F17845 F17700 F19187

® (] @ o (@ O

M6(25) M8(25) M10(25) M6(50) M8(50) M10(25)
F12588 F11276 F1326 F112958 F110580 F111548

METAL

o Q (@

@
M6 (50) M8(50) M10(25)
F118896 F15487 F117961

F05018
HEX HEAD CAP SCREW METRIC 8.8 —
M5-M10 YELLOW ZINC (oo | (e oo [ e

W/METAL DRAWER

£ MSx12(25) M5x16(25) M5x20(25) M6x12(25) M6x16(25) M6x20(25)

725 Pieces F1945 F19981 F112270 F118484 F112294 F19986
Drawer (Empty) Mox2505) MBx20(15) Mex25(5) M8x30(15) MI0x20(15) MI0x30(5)

F0142 F118597 F110681 F13614 F112316 EN7155 F116954

o o o O o o

METAL

M5 (50) M6(25) M8(25) MI0@5) M5(50) M6(50)

F113659 F14355 F116182 F17862 F18475 F17062

M8(50) MI025) M5(50) M6(50) M8(50) MI05)

F114267 F117062 F13224 F118974 F17410 F15142

Copyright © 2023
10-1-57



ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREWS METRIC 8.8 (CONT.)

F03251
HEXHEAD CAP SCREW METRIC8.8 — " g w h
M6-M10 YELLOW ZINC [ e e e
W/ METAL DRAWER M6x12(25) M6x16(25) M6x20(25) M6x25(25) M8x20(15) M8x25(15)
540 Pieces F118484 F112294 F19986 F118597 F110681 F13614
Drawer (Empty) MBx30(15) M8x40(10) M8x50(10) MI0x20(15) MI0X30(15) MI0x40(10)
F0142 F112316 F13923 F119917 F117155 F116954 32
MeL SRR o O o O
M10x50(10) M6(25) M8(25) MI025) M6(50) M8(50)
F15644 F14355 F116182 F17862 F17062 F114267
MI0(5) M6(50) M8(50) MI0R5)
F117062 F118974 F17410 F15142
F03736 ___ ___ __ __
et o scnnu s mlolaleeleee
MS-M1 o YELLOW ZI Nc M5X .80 (100) M6X1.0 (100) M8X1.25 (100) M10X1.5 (50) M5X .80 (100) M6X1.00 (50) M8X1.25 (50) M10X 1.5 (25)
szlngTAL BIN F113659 F14355 F116182 F17862 F16077 F14536 F117250 F115997
pcs
Contains: Yellow Zinc Plated Hex Nuts, @ @
Lock Nuts, Hex Cap Screws, MS (100) M6 (100) M8 (100) M10 (100) M5 (100) M6 (100) M8 (100) M10 (100)
Flat WaSherS, Spllt LOCk Washers F18475 F17062 F14267 F117062 F13224 F118974 F17410 F15142
&Wave Washers
. e o | e | [ | e | Fwew | Do | Do
Size Range: M5 x .80, M6 x 1.0, M6 (100) M8 (100) M0 (50) MSX8X12 (50) MSX8X16 (50) M5X.8X20 (50) M5X.8X25 (50) MSX.8X30 (50)
M8x1.25&M10x 1.5 F13369 F117960 F112067 F1945 F19981 F112270 F14757 F16756
Bin Dimensions: @W @mm @W @mm
33-3/4"W x 23-7/8"Hx12'D M6X1.0XI2 (25) MGXL.0X16 (25) M6X1.0%20 (25) MGX1.0X25 (25) M6X1.0X30 (25) MBX1.25X16 (25) MBX1.25%20 (25) M8X1.25X25 (25)
Bln Par' No' F°1 1 12 METAL F1'i8484 F1:I2294 F19986 F1"I8597 F114592 é1891 Fi10681 F13614
M8X1.25X30 (25) M8X1.25X35 (25) M8X1.25X40 (25) M10X1.5X20 (25) M10X1.5X25 (25) M10X1.5X30 (25) M10X1.5X40 (12)
F112316 F116530 F13923 F117155 F1570 F116954 F113122
F03735 o~ ey —
HEX HEAD CAP SCREW METRIC 8.8 — ﬁ ﬁ \S) = =
M5-M12 YELLOW ZINC M5X 80 (100) MBX1.25 (100) MIOXLS (50) MI2X175 (25) M6X100 (50) MBX125SW13 (50) MI0X15 (25)
2W5/7%)METAL BINS F113659 F||v5‘|82 F'Im F'I‘BW F'I4.536 F17250 F||5§97
pcs
Contains: Zinc Yellow Plated Nuts, @ @ @ @
Lock Nuts, Hex Cap Screws, M5 (100) M (100) M8 (100) M0 (100) M2 (50) M (100) M6 (100) M8 (100)
Flat WaSherS Spllt LOCk WaSheI’S F18475 F17062 F114267 F117062 F19378 F13224 F118974 F17410
& Fender Washers
o o o (o
Size Range: M5 x.80, M6 x 1.0, M10 (100) M2 50) M5X20 (100) M6XI6 (50) M6X20 (50) MEX24 (50) MI0X30 (50) MSX8XI0 (50)
M8x1.25,M10x 1.5 &M12x 1.75 F15142 F115385 F110450 F11034 F110647 F113610 F15482 F116573

Bin Dimensions:
Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D

]
[
[
[
]
[
[
[

M5X.8X12 (50) MSX.8X16 (50) M5X.8X20 (50) MSX.8X25 (50) M5X.8X30 (50) MBX1.0X10 (50) MEX1.0X12 (25) MBX1.0X16 (25)
F1945 F112270 F14757 F16756 F113734 F118484 F112294

Bin PartNo.F01112

]
il
[
I
]
[
[

METAL
MEX1.0X20 (25) MBX1.0X25 (25) MEX1.0X30 (25) M6X1.0X35 (25) MEX1.0X40 (25) MBX1.25X12 (25) M8X1.25X16 (25) MBX1.25X20 (25)
F19986 F118597 F114592 F12050 F13038 FI11779 F1891 F110681
MBX1.25X25 (25) MBX1.25%30 (25) MBX1.25X35 (25) MBX1.25%40 (25) MBX1.25%45 (12) MBX1.25X50 (12) M10X1.5X20 (25) IM10X1.5X25 (25)
F13614 F112316 F116530 F13923 F13421 F119917 F117155 F1570

]
[
[
[
[
[

M10X1.5X30 (12) M10X1.5X35 (12) M10X1.5X40 (12) M10X1.5X50 (12) M12X1.75X20 (12) MI12X1.75X25 (12) M12X1.75X30 (12) MI2X1.75X40 (12)
F116954 F118083 F113122 F15644 F116666 F113718 F110995 F1201
Copyright © 2023

10-1-58



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREW METRIC 10.9 USA

F03701
HEX HEAD CAP SCREW METRIC 10.9 USA — \m# \m#! \m#! \m# \m#!
M6-M16 ANSI MADE IN
MBx1.25 (50) MI0K15 (50) 12475 (50) MI6:20 (50) M20x25 (10)
W/2 METAL BINS F119875 F117757 F110322 F14051 F111851
975 pcs X
Contains: Domestic Yellow-Zinc Plated Class 10.9 Hex @
Head Cap Screw, Zinc Plated Hex Nuts, Zinc Plated Thru M8 50) M0 (50) M2 50) MI6 50) M20 (10)
Hard Washers, Zinc Plated Lock Washers F11703 F118485 F1213 F120101 F12951
Size Range: 8-12, 16, 20MM @ @ @ @ @
M8 (50) M10 (50) M2 (50) M16 (50) M20 (10)
Bin Dimensions: F15487 F117961 F13971 F119179 F13704
33-3/4"Wx 23-7/8"Hx 12"D
Bin Part No.F01112
METAL @ @ @ @ @ @ @
M8x1.25¢16 (25) M8x1.25:20 (25) MBx1.2525 (25) M8x1.25:30 (25) MBX1.2535 (25) M8x1.2540 (20) MBX1.25x50 (15)
F117047 F117469 F18312 F114130 F15638 F111493 F110492
MI0x1.5x20 (15) MI0.5x25 (15) MI0x1.5%30 (15) MI0x1.5335 (15) MI0x1.5%40 (15) MI0X1.5%50 (15) MIOX15¢60 (15)
F71 Fl6a4 14498 F119437 F16138 F116332 F113471
MI275:20 (10) MI2A755 (10) MI2475:30 (10) MI247535 (10) MI2:.75:40 (10) MI2x175%50 (10) MI2X175%60 (10)
F116944 F112486 F13262 F114202 F113930 F116997 F116027
MI620:40 (10) Mi6:2.0x45 (10) MI620x50 (10) MI6:2.0x60 (10) MIB2OX70 (10)
F162 F11450 F117016 F115425 F117301
M20x25%50 (5) M20x2.5¢60 (5) M20:25:70 (5) M20x2.5¢80 (5)
F117578 F112101 F1967 F14228
FASTENERS — HEX HEAD CAP SCREW METRIC 10.9
F05019 _
HEXHEAD CAP SCREW METRIC10.9 — f B w w S
M6-M10 ZINC m
W/ METAL DRAWER M6x16(25) M6x20(25) M6x25(25) M6x30(25) M6x35(25) M8x16(20)
450 Pieces F119306 F15883 F113519 F119509 F16230 F12339
Drawer (Empty) MBx20(20) MBx25(20) MBx30(20) MBx35(20) MB8x40(20) MI0x20(20)
F0142 F15442 F117058 F16534 FI5150 F13521 F118318
R = @ ° o
METAL
MI0x25(20) M10x35(20) M10x40(20) M6x1.0HexNut (20) M8x1.25HexNut(15) MI0x1.5HexNut (15)
F11743 F11946 F113923 F1747 F119875 F117757
M6D-125Washer (25) M8D-125Washer (25) M10D-125Washer (25)
F110997 F11703 F118485
F03263
HEXHEAD CAP SCREW METRIC10.9 —
M6-M8 ZINC COARSE & FINE O e
w/ METAL DRAWER MBx100(15) MBx1.0x20(10) MBx10%25(10) MBX10x30(5) M8x10x35(5) MBx10x40(5) MBx1.0x45(5) M8x1.0x50(5)
475 Pieces F118491 F119792 F1737 F113818 F16503 F111609 F1180 F13426

Drawer (Empty) M6x10025) M6x10x16(15) M6x1.0x20(15) M6X10x25(15) M6x10x30(10) M6x10x35(10) M6x10x40(10) M6x1.0x50(10)
F01137 F1747 F119306 F115883 F113519 F119509 F16230 F110586 F116043
[{ [l ] !
METAL lo) e | s | less | b | s ||
M8x1.25015) M8X125x20010) | MBx125x25(10) | M8x1.25x30(10) M8x1.25x35(10) M8x1.25x40(5) M8x125x45(5) M8x125x50(5)
F119875 F15442 F117058 Fl6534 F13521 F13824 F1959

o| o0 |0 O | 06| o | 0 ==

M6 (50) M6(50) M8(50) M8 (50) M8x10(10) M6x1.00(10) M8x1.25(10) M8x1.25x60(5)
F118896 F110997 F15487 F11703 F15907 F111929 F1591 F119933
Copyright © 2023

10-1-59



ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREW METRIC 10.9 (CONT.)

F03259

HEX HEAD CAP SCREW METRIC 10.9 —
M12 COARSE & FINE

W/METAL DRAWER

174 Pieces

Drawer (Empty)
F0142

METAL

F03265

HEXHEAD CAP SCREW METRIC 10.9 —
M8-M10 ZINC FINE

W/METAL DRAWER

115 Pieces

Drawer (Empty)
F0142

METAL

F03258

HEXHEAD CAP SCREW METRIC 10.9 —
M12-M16

W/METAL DRAWER

119 Pieces

Drawer (Empty)

METAL

F03260

HEX HEAD CAP SCREW METRIC 10.9 —
M14 METRIC COARSE & FINE
W/METAL DRAWER

137 Pieces

Drawer (Empty)

METAL

10-1-60

M12X1.5X25(5) M12X1.5X50(5) MI12X1.75X25(5) M12X1.75X45 (5) M12X1.75X80(2)
F116065 F117133 F13326 F116285 F111860
M12X1.5X20(5) M12X1.5X40(5) M12X1.75X20(5) M12X1.75X40(5) M10X1.5X70(2)
F17222 F15311 F117348 F116679 F18970
MI2X1.5(10) M12X1.5X35(5) M12(25) M12X1.75(10) MI12X1.75X35(5) MI2X1.75X60(5)
F14024 FI11731 F115385 F116931 F12546 F12396
MI12X1.5(15) M12X1.5X30(5) M12(25) MI12X1.75(15) MI2X1.75X30(5) M12X1.75X50(5)
F117458 F12775 F172 F110322 F19438 F115614

b

P

e

I

M10x1.25x20(5) M10x1.25%25(5) M10x1.25x30(5) M10x1.25x35(5) M10x1.25x40(5)
F118359 F111969 F16657 F17256
M8x1.0x20(5) M8x1.0x25(5) MB8x10x30(5) M8x1.0x35(5) M8x1.0x40(5) MB8x10x50(5)
F119792 F1737 F113818 F16503 F111609 F13426
(e O 0 @{, o 0
M8x10(10) M8(10) M8(10) M10x1.25(10) M10(10) M10(10)
F19907 F13784 F17410 F17127 F112036 F117961
M12x20(5) M12x25(5) M12x30(5) M12x35(5) M12x40(5) M12x45(5)
F117348 F13326 F19438 F12546 F116679 F116285
M12x50(5) M14x30(3) M14x35(3) M14x40(3) M14x45(3) M14x50(3)
F115614 F118507 F15919 F13958 F17296 F111064
M16x30(3) M16x40(3) M16x45(3) M12HexNut(10) Mi4HexNut (10) M16HexNut(10)
F114031 F14512 F112985 F110322 F112703 F14051

@)

IM12D-125Washer (10)

O

M14D-125Washer (10)
F112829

O

M16D-125Washer (10)
F120101

=

e

T

M14X1.5X30(3) M14X1.5X50 3) M14X2.0X30(5)
F114277 F113324 F118507 F15669
M14X1.5X25 (3) M14X1.5X45 (3) M14X2.0X25 (5) M14X2.0X50(5)
F1522 F13977 F113615 F111064
> ,

( ‘» e
M14X1.5(5) M14X1.5X40 (3) M14(25) M14X2.0(10) M14X2.0X40 (5) M14X2.0X80(2)
F14585 F18276 F13098 F17408 F13958 F118704
M14X1.5 M14X1.5X35 (3) M14(25) M14X2.0(10) M14X2.0X35(5) M14X2.0X70(2)

F14581 F18380 F14539 F112703 F15919 F116567
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREW METRIC 10.9 (CONT.)

F03257

HEXHEAD CAP SCREW METRIC 10.9 —
M10 COARSE & FINE

W/ METAL DRAWER

185 Pieces

Drawer (Empty)
F0142

F03702

HEX HEAD CAP SCREW METRIC 10.9 —
M6-M10 ZINC

W/ METAL BIN

1261 pcs

Contains: Zinc Plated Hex Nuts, Zinc Plated Thru
Hard Washers, Zinc Plated Lock Washers,
10.9 Zinc Plated Hex Head Cap Screws

Size Range: M6 x 1.0, M8 x 1.25,
M10x 1.5&M12x 1.75

Bin Dimensions:
33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

F03700

HEX HEAD CAP SCREW METRIC 10.9 —
M12-M16 ZINC

W/2 METAL BINS

1756 pcs

Contains: Zinc Plated Hex Nuts,
Zinc Plated Thru Hard Washers,
Zinc Plated Lock Washers, 10.9 Zinc
Plated Hex Head Cap Screws

Size Range: M6 x 1.0, M8 1.25
M10x 1.25,M12x1.75, M14 x 2.0,
M16x2.0&M20x2.5

Bin Dimensions:

Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

B e—
M10X1.25X25(5) M10X1.5X20(5) M10X1.5X40(5) M10X1.5X80(5)
F111969 F118318 F113923 F14175
_— ’ .
M10X1.25X20(5) M10X1.25X40(5) M10X1.5X16(5) M10X1.5X35(5) M10X1.5X70(5)
F118359 F17256 FIn764 F11946 F11725
. V=N
@ ) W E
M10X1.25(15) M10X1.25X35(5) M10(25) M10X1.50(15) M10X1.5X30(5) M10X1.5X60(5)
F113104 F116025 F15142 F113378 F14197 F12589
b ___~ - L3
M‘IUX'I.25/1'|5) M10X1.25X30(5) M10(25) M10X1.5(15) M10X1.5X25(5) M10X1.5X50(5)
F17127 F16657 F112036 F117757 FIn743 F110613
| Apt © ©
MI12x1.75 (70) M10xL5 (70) M6x10 (50) Ml 70) MI0 (70) M8 (70)
F110322 7757 F1747 F1213 F118485 F11703
Mi2 (75) MI0 (75) M8 (75) M6 (50) MI12x1.75x60 (10) M12x1.75x50 (10) MI12x1.75x45 (10) M12x1.75x40 (10)
F13971 F117961 F15487 F118896 F12396 F115614 F116285 F116679
MI12x1.75x35 (10) M12x1.75x30 (10) MI12x1.75x25 (10) MI2x1.75x20 (10) MI10x1.5x60 (12) M10x1.5x50 (12) M10x1.5x45 (12) M10x1.5x40 (12)
F12546 F13326 F117348 F12589 F110613 F115216 F113923

I

MIOXL535 (12)
11946

N
(]
(]
]
]
(]
(]

MI0x1.5x30 (12)

MIOXLSX25 (12)
F14197 FIM743

MI0x1.5x20 (12)
F118318

MB8x1.25x50 (20)

MB8x1.2545 (20) M8x1.2540 (20) M8x1.25x35 (20)

F13521 F15150

[
[
[
[

MB8x1.25x30 (25)
F16534

M8x125x25 (25)
F117058

M8x1.25x20 (25)
F15442

M6x1.0x40 (25)
F110586

Bl

M6x1.0x30 (25)
F119509

bl
[]
[]

M6x1.0x25 (25)
F113519

M6x1.0x16 (30)

M6x1.0x20 (30)
F115883 F119306

&
&
&
A
&
&
&

M6x10 (50)
F1747

M8x1.25 (70)

MIOXLS (70)

F119875 F117757

MI2x175 (70)
F110322

M14x20 (50)
F112703

MI6x20 (50) M20x25 (20)
F14051 F111851

Mo (50)
F110997

©
©

Ms (70)
F11703

MI0 (70)
F118485

©

Mi2 (70)
F1213

Mi4 (50)
F112829

©
©

Mi6 (50) M20 (20)
F120101 F12951

©
©
©
©
©
©
O

M6 (50) M8 (75) MI0 (75) MI2 (75) M4 (50) Mi6 (50) M20 (20)

F118896 F15487 F117961 F13971 F112529 F119179 F13704
M6xL0x20 (30) M6x10x25 (25) M6xL0x30 (25) M6xL0x40 (25)

F115883 F113519 F119509 F110586

[

MB8x1.25x16 (25)
F12339

1

F117058

[
[
i
[

M8x1.25x30 (25)
F16534

MB8x1.25x35 (20)
F15150

MS8x1.25x40 (20) M8x1.25%50 (20)
F13521 F19590

[

MI0x15x16 (12)

LE
i
B

z
Z
g
&

[
[
f
i
[

(

MI0x15x25 (12)

F118318 F111743

MI0x1.5x30 (12)
F14197

MI0x1535 (12)
F11926

MI0x1.5x40 (12)
F113923

MI0XL5x50 (12) MIOX15x60 (12)
F110613 F12589

[
i
[
[
[
i
[

MI2x1.75x20 (10)
F117348

Mi2x17525 (10)

MI2x1.75x30 (10)
F13326

MI2x1.75x35 (10)
F12546

MI2x1.7540 (10)
F116679

MI2x175x45 (10) MI2x1.75x50 (10) MI2x1.75x60 (10)
F116285 F115614 F12396

z
g

F118507

i
[
[

M14x2.0x35 (10)

MI14x2.0540 (10)

F15919 F13958

M14x2.0:45 (10)
F17296

F111064

[
[

M14x2.0x60 (10)
F15669

M14x2.0x70 (10)
F116567

[
I
[
[
[
I
[

MI6x2.0x30 (10)

F14512 (10) MI6x2.0%45 (10)

MI6x2.0x50 (10)

MI6x2.0x60 (10)

MI6x2.0x70 (5) MI6x2.0x80 (5)

F114031 F14512 F112985 F111358 F119074 F15333 F111334
M20x2.5x40 (5) M20x2.5x50 (5) M20x2.5x60 (5) M20x2.5x70 (5) M20x2.5x80 (5) M20x2.5x9 (5)
F118655 F1399 F117036 F13810 F116663 F18634
Copyright © 2023

10-1-61



ASSORTMENTS

1 Fasteners

FASTENERS — METRIC JIS HEX HEAD CAP SCREWS (CONT.)

F03261

HEX HEAD CAP SCREW METRIC 10.9 — ANSI
CLASS 10.9 M6-M10

W/METAL DRAWER

440 Pieces

Drawer (Empty)
F0142

METAL

F03262

HEXHEAD CAP SCREW METRIC 10.9 — ANSI
CLASS 10.9 M12-M14 METRIC

W/METAL DRAWER

170 Pieces

Drawer (Empty)
F0142

METAL

F03266

HEX HEAD CAP SCREW METRIC 10.9 —FINE
CLASS 10.9 M12-M14

W/METAL DRAWER

113 Pieces

Drawer (Empty)
F0142

METAL

10-1-62

M6x20(25) M6x25(25)
F113774 F115502
B i s Vs g
o - o
M8x16(20) M8x20(20) MB8x25(20) M8x30(20) M8x35(20) M8x40(20)
F117047 F117469 F18312 F114130 F15638 F111493
m @ mwﬁ W W L ] ¥ ««umu««m%
oy o w
M10x20(20) M10x25(20) M10x30(20) M10x35(20) M10x40(20) M10x50(20)
Fn F1644 F114498 F119437 F16138 F116332
o) o (o, o O (@)
M6x1.0(25) M8x1.25(25) M10x1.5(25) M6(25) M8(25) M10(25)
F1747 F119875 F117757 F110997 F11703 F118485
21
| s '
M12x20(10) M12x25(10) M12x30(10) M12x35(10) M12x40(10) M12x50(10)
F116944 F112486 F13262 F114292 F113930 F116997
L - t
¥, ‘
M14x25(5) M14x30(5) M14x35(5) M14x50(5) M14x60(5)
F113446 F120080 F15626 F12994 F14931
@ IHEMAAHS T i i
O il g
M16x25(5) M16x40(5) M16x45(5) M16x50(5) M16x60(5)
F16552 F162 F11450 F117016 F115425
M12(10) M14(10) M16(10) M12(10) M14(10) M16(10)
F110322 F112703 F14051 F1213 F112829 F120101
M14x15x25(5) ;V\MXWSXZG(SJ M14x1.5x35(5) M14x15x40(3) M14x15x45(3) M14x1.5x50(3)
F1522 Fna277 F18380 F18276 F13977 F113324
M12x15%20(5) M12x1.5x25(5) M12x1.5x30(5) M12x1.5x35(3) M12x1.5x40(3) M12x1.5x45(3)
F17222 F116065 F12775 Fmz F15311 F1283
[l
M12x1.5x50(5)
F117133

©

O

O

O

O

O

4
M12x1.5(10) M12(10) M12(10) M14x1.5(10) M14(10) M14(10)
F117458 F172 F115385 F14581 F14539 F13098
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — METRIC JIS HEX HEAD CAP SCREWS

F03256 125
P
METRICJISHEX HEAD CAP SCREWS — JIS LGS & Pitch
HEX FLANGE ZINC M6-M10 &
W/METAL DRAWER MI0x20(5) MI0x25(5) MI0X30(5) MI0x35(5) MI0X40(5) MiOFiangenut(15)
220 Pieces F15240 F119552 F19491 F117391 F111025
im\ - P% .W M Egm
Drawer (Empty) M8x20(10) MBx25(10) MBx30(10) MBx35(10) MBx40(10)
F0142 F115615 F117590 F1285 F119124 F116086
125
" Pitch
e | S ih 'h @/
METAL M6x25(10) M6x30(10) M6x40(10) M8x12(10) M8x16(10) M8Flangenut(15)
F118769 F18104 F13900 F118489 F16042 F117255
10
3 L\
Mox12(15) M6x16(15) M6x20(15) M6Flangenut 20)
F13590 F12358 F114898 F118382
F03254 @ ’ .
METRICJIS HEXHEAD CAP SCREWS — JIS 1 o
M8-M12 CLASS 8.8 ZINC d y
wl METAL DRAWER M12x40x1.25(6) M12x35x1.25(10) M12x30x1.25(10) M12x25x1.25(10) M12x20x1.25(10) M10x40x1.25(10)
461 Pieces F118547 F16469 F13658 F118684 F16000
Drawer (Empty) M10x30x1.25(10) M10x25x1.25(10) M10x20x1.25(10) M8x35x1.25(10) M8x30x1.25(10) MB8x25x1.25(20)
F0142 F19875 F119191 F112403 F117433 F13048 F19879
METAL
M8x20x1.25(20) M8x16x1.25(20) M12Flat Washer (25) M10Flat Washer (25) M8FlatWasher (50) M12LockWasher(25)
F1447 F13905 F118584 F111548 F110580 F13971
M10Lock Washer (25) M8 LockWasher (50) M12x1.25Hex Nut (20) M10x1.25HexNut (25) M8x1.25Hex Nut (50)
F117961 F15487 F116899 F12053 F18790
F03255
METRICJISHEXHEAD CAP SCREWS — JIS
M6-M10 CLASS 8.8 ZINC = L= s Ermemn g
w/ METAL DRAWER M6x10(20) M6x12020) M6x2020) M6x25(20) M6x30(20) M8x16(0)
595 Pieces F111893 F17488 F15219 F112430 F16076 F13905
Drawer (Empty) M8x20(20) M8x25(20) M8x30(10) M8x35(10) M10x20(10) M10x25(10)
F0142 F11447 F19879 F13048 F117433 F112403 F119191
fomm = g O O o
M10x30(10) M10x40(10) M6(50) M8(50) M10(25) M6(50)
F19875 F16000 F112958 F110580 F111548 F118896
M8(50) M10(25) Mé6(50) M8 (50) M10(25)
F15487 F117961 F12588 F18790 F12053
F03737
METRIC JIS HEX HEAD CAP SCREWS — JIS ﬁ O @
CLASS 8.8 W/BIN MSX50 (100) M6X100 (100) M8X125 (100) MIOX125 (50) MI2X125 (25) M5(100) M6 (100) M8 (100)
W/ METAL BIN F17801 F'I.ZSBS F18790 F12053 F'||5.399 F1769 F112958 F110580
2059 pcs
Contains: Bright Zinc Plated Nuts, ﬂm
Hex Cap Screws, Flat Washers M10(100) M2 50) M5 (100) M6(200) M8 (100) M10 (100) M12(50) MSX8X10 (50)
& Sp“t LOCk WaSherS F111548 F118584 F13471 F118896 F15487 F117961 F13971 F15980
Size Range: M5 x 80, M6 x 1.0, O | oo | oo [
M8x1.25 (12mmwr), M10x 1.25 MSXX12 (50) MSX8XI6 (50) M5X8X20 (50) MSX8X25 (50) M6X10X12 (50) M6XLOKIG (50) M6X10X20 (25) M6X1.025 (25)
(14mm wr.), M12x 1.25 (17mm wr.) F14768 F13854 F114116 F12924 F17488 F116158 F15219 F112430
Bin Dimensions: Commw | O | P | Josw | Sooe | Goss | Soos | Do
33-3/4"Wx 23-7/8"Hx 12"D VX10KG0 25 NEXIEK125 25 MBX0X125 (25) MBX25K1.25 (25) MBX30X1.25 (25) MBX35X1.25 (25) MBX40X1.25 (25) MI0X20X1.25 (25)
. (1.0X30 (25) 16X1.25 (25) 1.25 (25) 25X1.25 (25) 1.25 (25) 35X1.25 125 (25) 110X20X1.25 (25)
Bln Part No' F011 12 METAL F16076 F13905 F11447 F19879 F13048 F117433 F119016 F112403
M10X25X1.25 (12) MI10X30X1.25 (12) M10X35X1.25 (12) M10X40X1.25 (12) M12X25X1.25 (12) MI12X30X1.25 (12) MI2X40X1.25 (12)
F119191 F19875 F15028 F16000 F18453 F13658 F118547
Copyright © 2023

10183



ASSORTMENTS

1 Fasteners

FASTENERS — METRIC JIS HEX HEAD CAP SCREWS (CONT.)

F03739

METRICJISHEX HEAD CAP SCREWS —JIS
M5-M10 CLASS 8.8 & 10.9

W/2 METAL BINS

3041 pcs

Contains: Bright Zinc Plated DIN and
JIS Hex Nuts, Hex Cap Screws, Flat
Washers, Split Lock Washers, JIS
Flange Nuts & Flange Bolts

Size Range: M5 x.80, M6 x 1.0,
M8x 1.25, M8 x 1.25 (12mm wr.),
M10x 1.5, M10x 1.5 (14mm wr),
M12x1.75,M12 x 1.25 (17mm wr.)

Bin Dimensions:
Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"H x 12"D
Bin PartNo.F01112
METAL

F012023

METRICJISHEX HEAD CAP SCREWS — JIS
M5-M12 CLASS 8.8 & 10.9

W/2 METAL BINS

2792 pcs

Contains: Bright Zinc Plated Nuts,
JIS Hex Nuts, Flange Nuts, Hex Cap
Screws, Flange Bolts, Flat Washers

& Split Lock Washers

Size Range: M5 x .80, M6 x 1.0,
M8x1.25 (12mm wr.), M10 x 1.25
(14mmwr.), M12x 1.25 (17mm wr.)

Bin Dimensions:
Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"H x 12"D
Bin PartNo.F01112
METAL

10-1-64

M5X80 (100) M6X1.00 (100) M6X1.00 (100) M10X1.50 (50) M12X1.75 (25) M8X1.25 (100) M10X1.25 (50) MI12X1.25 (25)
F17801 F12588 F11276 F1326 F113442 F18790 F12053 F116899
M6X1.00 (50) M8X1.25 (50) M10X1.25 (50) M5 (100) MBOO) MB) M10 (100) Mi2 (100)
F118382 F117255 F110959 F1769 F112958 F110580 F111548 F118584
M5 (100) M6 (100) M8 (100) M10 (100) M2 (100) MS5X8X12 (50) MSX.8X16 (50) M5X.8X20 (50)
F13471 F118896 F15487 F117961 F13971 F14768 F13854 F114116
M5X.8X25 (50) MS5X.8X30 (50) MEX10X12 (50) M6X1.0X16 (50) MBX1.0X20 (25) M6X1.0X25 (25) M6X1.0X30 (25) MBX1.25X12 (25)
F12924 F114097 F17488 F116158 F15219 F112430 F16076 F11583
M8X1.25X16 (25) MBX1.25%20 (25) MBX1.25X25 (25) MBX1.25X30 (25) MBX1.25%35 (1) M8X1.25X40 (25) MIOX1.5X20 (12) MI0X1.5X30 (12)
F12203 F15735 F119784 F114629 F11982 F16950 F19515 F17406
M10X1.5X40 (12) MI2X1.75X20 (12) M12X1.75X30 (12) MI2X1.75X40 (12) MBX16X1.25 (25) M8X20X1.25 (25) M8X25X1.25 (25) MB8X30X1.25 (25)
F117972 FIT1835 F116392 F112129 F13905 F11447 F19879 F13048
MBX35X1.25 (25) MBX40X1.25 (25) MI0X20X1.25 (12) MI0X25X1.25 (12) MI0X30X1.25 (12) IM10X40X1.25 (12) M12X30X1.25 (12) MI12X40X1.25 (12)
F117433 F119016 F112403 F119191 F19875 Fl F13658 F118547
M6X12X1.00 (25) M6X16X1.00 (25) M6X20X1.00 (25) M6X25X1.00 (25) MBX16X1.25 (25) M8X20X1.25 (25) MBX25X1.25 (25) M8X30X1.25 (25)
F13590 F12358 F114898 F118769 F16042 F115615 F117590
MBX35X1.25 (12) M10X20X1.25 (12) M10X25X1.25 (12) MI0X30X1.25 (12) M10X40X1.25 (12)
F119124 F15240 F119552 F19491 F111025

&

\m#

e

£

[

M5X.80 (100) M6X1.00 (100) MB8X1.25 (100) M10X1.25 (100) M12X1.25 (50) M6X1.00 (50) M8X1.25 (50) M10X1.25 (50)
F17801 F12588 F18790 F12053 F116899 F118382 F117255 F110959
@ @ @ @ @

M (100) M6 (100 M8 (100) M0 (100) M2 100 M5X20 (50) M6X20 (50) MBX30 (50)
F1769 F112958 F110580 F111548 F118584 F115068 F116830 F17684
M10X30 (50) M5 (100) Mé (100) M8 (100) M10 (100) M12 (50) MSX.8X10 (50) M5X.8X12 (50)
F13035 F13471 F118896 F15487 F117961 F13971 F15980 F14768
M5X.8X16 (50) MS5X.8X20 (50) M5X.8X25 (50) M6X1.0X12 (50) M6X1.0X16 (50) M6X1.0X20 (25) MB6X1.0X25 (25) M6X1.0X30 (25)
F13854 F1ane F12924 F17488 F116158 F15219 F112430 F16076
MB8X16X1.25 (25) MB8X20X1.25 (25) MB8X25X1.25 (25) MBX30X1.25 (25) MB8X35X1.25 (25) MB8X40X1.25 (25) M10X20X1.25 (25) M10X25X1.25 (25)
F13905 F11447 F19879 F13048 F117433 F119016 F112403 F119191
M10X30X1.25 (12) M10X35X1.25 (12) M10X40X1.25 (12) M12X25X1.25 (12) M12X30X1.25 (12) M12X40X1.25 (12) M6X12X1.00 (25) M6X16X1.00 (25)
F19875 F15028 F16000 F13658 F118547 F13590 F12358
M6X20X1.00 (25) M6X25X1.00 (25) M6X30X1.00 (25) M6X35X1.00 (12) M6X40X1.00 (12) MBX16X1.25 (25) MB8X20X1.25(25) MBX25X1.25 (25)
F114898 F118769 F18104 F15331 F13900 F16042 F115615 F117590
MBX30X1.25 (25) M8X35X1.25(12) M8X40X1.25 (12) M10X16X1.25 (12) MI0X20X1.25 (12) M10X25X1.25 (12) MI0X30X1.25 (12) M10X35X1.25 (12)
F1285 o124 F116086 F115692 F15240 F119552 F19491 F73on

M10X40X1.25 (12)
F111025
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — SOCKET PRODUCTS METRIC

F03738

METRIC JIS HEX HEAD CAP SCREWS — JIS @ @ @

M6-M12 CLASS 8.8 M6X1.00 (100) M8X1.25 (100) M10X1.25 (100) M12X1.25 (50) M6X1.00 (50) M8X1.25 (50) M10X1.25 (50)

wl 2 METAL BINS F12588 nima F12053 F116899 F11.3352 F117255 F11(.7958

2370 pcs

Contains: Bright Zinc Plated Nuts, @ @ @ @ @

JIS Hex Nuts, Flange Nuts, Hex Cap M6 (100) M8(100) MI0(100) M2 (100) M6X20 (50) MB8X20 (50) MIOX30 (50)
F112958 F110580 FI11548 F118584 F116830 F13920 F13035

Screws, Flange Bolts, Flat Washers

& Split Lock Washers @ @ @ @

Size Range: M6 x 1.0, M8x 1.25 M6 (100) M (100 M0 (100) M2 (100 M6X10X12 (50) M6X10X16 (50) M6X10X20 (25) M6X10X25 (25)
(12mmwr.), M10 x 1.25 (14mm wr.), F118896 F15487 F117961 F13971 F17488 F116158 F15219 F112430
M12x1.25 (17mm wr.)

[
]
]

]
]
[
]
]

Bin Dimensions:
Uses (2) 40 Compartment Bins,
each 33-3/4"Wx 23-7/8"H x 12"D

MEX1.0X30 (25) M6X1.0X40 (20) M6X1.0X45 (20) M6X1.0X50 (20) M6X1.0X60 (20) MBX16X1.25 (25) MBX25X1.25 (25) MBX30X1.25 (25)
F16076 F16743 F117065 F114303 F117593 F13905 F19879 F13048

Bin PartNo.F01112
METAL
MBX35X125 (25) MBX40X1.25 (25) MBX45X1.25 (20) MBX50X1.25 (20) MBX60X1.25 (20) MI0X20X1.25 (25) MIOX25X1.25 (25) MIOX30X1.25 (12)
F117433 F119016 F13358 F114178 F113354 F112403 F119191 F19875
MIOX40X1.25 (12) MI0X45X1.25 (10) MI0XS0X1.25 (10) MIOX60K1.25 (10) MIOX75X1.25 (10) MI12X25X1.25 (12) MI2X30K1.25 (12) MI2X40X1.25 (12)
F16000 F11957 F13289 F113092 F110816 F18453 F13658 F118547
MI12X50X1.25 (10) M6XI2X1.00 25) MXI6X1.00 (25) MG6X20X1.00 (25) MEX25x1.00 25) MGX30X1.00 (25) MeX35x1.00 12)
F18503 F13590 F12358 F114898 F118769 F18104 F15331
M6X40X100 (12) MBXI6X1.25 (25) MEX20K1.25 (25) MBX30X1.25 (25) MEX35X1.25 (12) MBX40X1.25 (12) MIOXI6X1.25 (12) MI0X20X1.25 (12)
F13900 F16042 F115615 F1285 Fi19124 F116086 F115692 F15240
MIOX25X1.25 (12) MI0X30X1.25 (12) MIOX3SX125 (12) MI0X40X1.25 (12)
F119552 F19491 F117391 Fi11025
F03282
SOCKET PRODUCTS METRIC — SOCKET
CAP SCREWS CLASS 12.9 M4-M8 B B [ ] Fd S =
W/METAL DRAWER Max10650) Max16(50) M4x20(50) M5x10025) MSx12(50) M5x16(25)
650 Pieces F19859 F15296 Fi128 F116109 FI16613 F12782
Drawer (Empty) M5x20(50) M6x10025) M6x12(50) M6x16(25) M6x20(25) M6x25(25)
F0142 F112511 F15131 F116614 F15657 F12842 F120001
METAL
M6x30(25) M6x40(25) M8x12(25) MBx16(25) MBx20(25) M8x25(25)
F119161 F114504 F19796 F19998 FI11826 F116228
M8x30(20) M8x40(15) MBx45(15)
F110707 F120054 F14672
F03283
SOCKET PRODUCTS METRIC — SOCKET
CAP SCREWS CLASS 12.9 M4-M12
W/METAL DRAWER
215 Pieces
Drawer (Empty) M6x35(10) Me6x40(10) Mexa5(10) M6x50(10) Mox60(10)
F0142 F110062 F114504 F111220 F15140 FI11720
METAL . ' . - . “
M6x10(15) M6x16(15) M6x20(15) M6x25(15) M6x30(15)
F5131 F15657 F12842 F120001 F119161
Max40 Msx10(15) M5x16(15) M5x20(15) M5x25(15) M5x30(15)
F18344(15) F116109 F112782 Fr12sm F19481 F18832
Copyright © 2023

10-1-65



ASSORTMENTS

1 Fasteners

FASTENERS — SOCKET PRODUCTS METRIC (CONT.)

F03281
SOCKET PRODUCTS METRIC — SOCKET
CAP SCREWS CLASS 12.9 M8-M12 m
W/METAL DRAWER M12x20(5) M2X3065) Mi2x35(5)
200 Pieces F18173 F116756 F12410
Drawer (Empty) MI0x45(10) MI0x50(10) M10x55(10) MI0X60(10) MI0X70(10)
F0142 F117347 F12470 F18662 F17936 F111520
METAL ‘ % g H =
M8x45(10) M8x50(10) M10x20(10) M10x30(10) M10x40(10)
F14672 F110227 F11602 F112052 F17868
e R b G | D | em——"
MBX16(15) M8x20(15) M8x25(15) M8x30(15) M8x35(15) M8x40(10)
F19998 F111826 F116228 F110707 F110848 F120054
F03717
SOCKET PRODUCTS METRIC — SOCKET [T | oo | [ oo |0 o | Doy | [ o |0 o | (]
CAP SCREWS CLASS 12.9 M8-M12
W/ METAL BIN MAX7X10 (25) M4X.7X12 (25) M4X.7X16 (25) MAX7X20 (25) M4X7X25 (25) M4X.7X40 (25) M6X1.0X10 (25) M6X1.0X16 (25)
F19859 F16909 F15296 F1128 F117876 F18344 F15131 F15657
905 pcs
Contains: Black Oxide Plated [ v o v o s o i i
Socket Head Cap Screws & M6X1.0X20 (25) MEX1.0X25 (25) M6X1.0X30 (25) MX1.0X35 (25) M6X1.0X40 (25) M6X1.0X45 (25) MEX10X50 (25) MEX1.0X60 (25)
Alloy Steel F12842 F120001 F119161 F110062 F114504 F111220 F15140 F111720
SizeRange: M4, M5, M10 & M12 Oy | Oy | ooy |- (oo |- (oo |- (oo |+ (s (o
Bin Dimensions: M8X125X16 25) MEX1.25%20 25) M8X125X25 (25) MEX1.25%30 (25) M8X125%35 (25) MEX1.25%40 (25) MEX1.25%45 (20) MEX1:25X50 20)
33_3/4MW X 23'7/8”H X ]2"D F19998 F111826 F116228 F110707 F110848 F120054 F14672 F110227
Bin PartNo.F01112
METAL (I v A
MIOX15X20 (25) MIOX1.5X30 (20) MIOX15¥40 (20) MIOX1.5X45 (20) MIOXL5X50 (20) MIOX15X5 (20) MIOXL5X60 (20) MIOX1.5%70 (20)
F11602 F112052 F17868 F117347 F12470 F18662 F17936 F111520
M12X1.75X20 (20) M12X1.75X30 (20) M12X1.75X35 (20) M12X1.75X40 (20) M12X1.75X50 (20) M12X1.75X55 (20) M12X1.75X60 (15) M12X1.75X70 (15)
F18173 F116756 F12410 F115282 F14584 F15485 F13679 F114500
F03284
SOCKET PRODUCTS METRIC — SOCKET _
[ == — ([ —
CAP SCREWS CLASS 8.8 ZINC M3-M6 B . B S e S |Se—
w/ METAL DRAWER M6-10X8(10) M6-10X10(10) M6-10X12(10) M6-10X16(10) M6:10X20(10) M610X30(5) M610X40(5) M6-10X50(5)
315 Pieces F112866 F117605 F14385 F11003 F115106 F112506 F110684 F118798
e -— - e P — T e —
Drawer (Empty) Ms-8XB(15) Ms-8X10(15) Ms-8x12(15) Ms-8X16(15) M5-8X20(10) Ms-8X25(10) M5-8X30(10) M5-8X40(10)
F01137 F110408 F13244 F115041 F1819 F18090 F117363 F111918 Fi11126
e = - S e — P f—
METAL
Ma-76(15) M4-7X8(15) MA-7X10015) Ma-7X12(15) MA-7X16(15) M4-7X20(10) M4-7X25(10) M4-7X30(10)
F118513 F1601 F112959 F111509 F115912 F112900 F13427 F114025
L] — B
M3-5X6(15) M3-5X8(15) M3-5X10015)
F116131 F11092 F118852
F03285
SOCKET PRODUCTS METRIC — SOCKET
CAP SCREWS CLASS 8.8 ZINC M4-M8 == == = (B ] fEmm
W/MFTAL DRAWER Max10(50) Max16(50) Max20(50) M5x10(50) M5x12(50) M5x16(50)
694 Pieces F112959 F115912 F112900 F13244 F115041 F1819
Drawer (Empty) M5x20(50) M6x10(30) M6x12(30) M6x16(30) M6x20(30) M6x25 (30)
F0142 F18090 F117605 F14385 F11003 F115106 F119301
METAL
M6x3030) M6x40020) M8x12(25) M8x16(25) M8x2025) M8x25025)
F112506 F110684 F113673 F12107 F19772 F113423
M8x30(20) M8x40(12) M8x45(12)
F115799 F15414 F16122
Copyright © 2023

10-1-66



ASSORTMENTS

Fasteners 1

FASTENERS — SOCKET PRODUCTS METRIC (CONT.)

F03289

SOCKET PRODUCTS METRIC — FLATHD
SOCKET CAP SCREWS M4-M8

W/METAL DRAWER

380 Pieces

Drawer (Empty)
F0142

METAL

F03287

SOCKET PRODUCTS METRIC—BUTTON HD
SOCKET CAP SCREWS 10.9 M3-M8
W/METAL DRAWER

390 Pieces

Drawer (Empty)
F0142

METAL

F03286

SOCKET PRODUCTS METRIC — SOCKET
SET SCREWS CUP POINT M3-M10
W/METAL DRAWER

475 Pieces

Drawer (Empty)
F0142

METAL

F03242

MACHINE SCREW METRIC — PHILLIPS
PAN ZINC M4-M8

W/METAL DRAWER

650 Pieces

Drawer (Empty)
F0142

METAL

o

M4x10(25)
Fi11821

M4x16(25) M4x20(25) M5x12(25)
F14258 F113844 F114510

e

M5x20(25)
F115630

[

M5x16/(25)
F117532

!

M5x25(25)

ommm—

M5x30(25)

mm

M6x16(25)

e

M6x20(25)

Iy

M6x30(25)

|

M6x25(25)

F12446 F112542 F117609 F116460 F12156 F116755
M6x35(10) M6x40(10) MBx16(10) MB8x20(10) MBx25(10) MBx30(10)
F117993 F110994 F1480 F14521 F19492 F17489
M8x35(10) M8x40(10)

F118203 F115056

o [ o e Az e
M3x6(25) M3x8(25) M3x10025) M3x16(25) MAx8(25) MAx10(25)
F14231 F19817 F115985 F114330 F19117 F118391
Max12(25) Max16(25) M5x10025) M5x12(25) M5x16(25) M5x20(25)

F863 F15977 F113105 F114770 F113361 F116325
M6x10(10) M6x12(10) M6x16(10) M6x20(10) M6x25(10) MBx12(10)
F114220 F1253 F115052 F114618 F1371 F111011
MBx16(10) MBx20(10) MBx25(10)

F16587 F15601 F117089

T0MX20M (10) 8Mx20M(15) BMX12M(20) 8Mx10M(20) 6Mx20M(30) 6Mx16M(30)
F18746 F119502 F114857 F116981 F12757 F1148
6Mx12M(35) 6Mx10M(35) 6Mx8M(35) 5Mx25M (25) 5Mx16M (25) 5Mx10M (20)
F11880 F12303 F12026 F16163 F13121 F112322

[ [y Loy L L] —
5Mx6M(20) AMX20M(15) 4MXTOM(20) 4MX8M(20) AMX6M(20) 3Mx12M(20)
F17926 Fl6244 F113040 F12094 F112606 F16626

L Lo L
3Mx10M (20) 3Mx8M(20) 3Mx6M(20)
F117279 F13897 111186

FASTENERS — MACHINE SCREW METRIC

M4x10(50) M4x12(50) M4x16(50) M4x20(50) M5x10(50)
F118649 F110166 F110705 F17599 F13902
M5x16(50) M5x20(50) M5x25(50) M6x10(50) M6x12(50)
F14249 17126 F17457 F14815 F11479
M6X16(25) M6x18(25) M6x20(25) M6x25(25) M6x30(25)
FIm227 F115168 F119357 F12209 F113351

M8x16(25)
F118o21
Copyright © 2023

101-67



ASSORTMENTS

1 Fasteners

FASTENERS — MACHINE SCREW METRIC (CONT.)

F03243

MACHINE SCREWS METRIC — JIS PHILLIPS
PAN ZINC M3-M6

W/ METAL DRAWER

1050 Pieces

Drawer (Empty)
F0142

METAL

F03245

MACHINE SCREW METRIC — PHILLIPS
OVAL ZINC M3-M8

W/METAL DRAWER

565 Pieces

Drawer (Empty)
F0142

METAL

F03244

MACHINE SCREW METRIC — PHILLIPS
FLAT ZINC M3-M8

W/METAL DRAWER

505 Pieces

Drawer (Empty)
F0142

METAL

F03408

NUT METRIC — METRICNUTS, FW,
LW & EXT TOOTH LOCKS M6-M12
W/METAL DRAWER

1025 Pieces

Drawer (Empty)
F0142

METAL

10-1-68

[ ] [ —— Srm—
M3x10(50) M3x16(50) M3x30(50)
F113720 F15232 F118749

G

M4x8(50)
F112762

==

M4x10(50)
F112404

(e

M4x12(50)
F112637

Qv | Qe | feesessee

M4x16(50) M4x20(50) Max25(50)
F12950 F16266 F17203

M5x8(50)
F114810

T

M5x10(50)
F114022

oz

M5x12(50)
F18889

(- B - ]

M5x16(50) M5x20(50) M5x25(50)
F12751 F119240 F11033

iz

M6x10(50)
F118534

o

M6x12(50)
F14688

fzmm:

M6x14(50)
F116680

Gomme | G [ Qe

M6x16/(50) M6x20(25) M6x25(25)
F113570 F118845 F110850

G

M6x30(25)
F110144

Qo

M6x35(25)
F118601

(e = |

s

(e

e

M8x25x1.25(15) MBx16x1.25(20) M6x30x10(25) M6x25%10(25) M6x20x10/(25) M6x16x1.0(25)
F12151 F112075 F15449 F112550 F113940 F118245
M6x12x10(25) M6x10x1.0(25) M5x25x.80(25) M5x20x.80(25) M5x16x.80(25) M5x12x.80(25)
F12409 F117198 F11549 F17650 F110604

-

e

o

MS5x10x.80(30) M4x20x.70(35) M4x16x.70(35) M4x12x.70(35) M4x10x.80(35) M4x6x70(35)
F110736 F17231 F13884 F118014 F116564 F114358
M3x20x.50(25) M3x8x.50(25) M3x6x.50(25)
F18936 F16531 F1559

Mww

s

-

==

M8x20x1.25(15) M6x50x10(15) M6x25%10(25) M6x20x10(25) M6x16x10(25) M6x12x10(25)
F11444 Fli417 F13770 F119448 F15048 F18856
M6x10x1.0(25) M5x30x.80(25) M5x20x.80(25) M5x16x.80(25) M5x12x.80(25) M5x10x.80(25)
F12742 F17595 F16134 F19041 F119147 F114202

». (s prm—

[

e

o=

M5x8x.80(25) M4x20x.70(25) M4x16x.70(25) M4x12x.70(25) M4x10x.70(25) M4x8x.70(25)
F115031 F19717 F13234 F12948 F1138 F15920
[ e pm=
M3x20%.5005) M3x10x.5005) M3x8x.5025)
F16450 F118458 F11637

FASTENERS — NUT METRIC

- @ (o)

o

0

M6x1.00(25) M6x1.00(25) M6 (100) M6(100) M6(100)
F12588 F116060 F112958 F118896 F16940
M8x1.25(20) M8x1.25(15) M8(100) M8(100) M8(100)
F11276 F116664 F110580 F15487 F118437
M10x150(15) MI0x150 M10(50) M10(50) M10(50)
F1326 F119472 F11548 F117961 F15401
M12x175(10) MI2x175(5) M12(50) MI12(50) M12(50)
F113442 FI1155 F118584 F13971 F12335
Copyright © 2023




ASSORTMENTS

Fasteners 1

F03403

NUT METRIC —METRICNYLON
INSERT LOCKING M3-M18
W/METAL DRAWER

235 Pieces

Drawer (Empty)
F0143

F05031

NUT METRIC — METRIC NUTS, FW,
LW, FENDER WASHERS M2-M8
W/METALDRAWER

2100 Pieces

Drawer (Empty)
F01137

F03412

NUT METRIC — METRICHEX
FLANGE TENSILOCK & JIS M4-M10
W/METAL DRAWER

225 Pieces

Drawer (Empty)
F01134

F03422

WASHERS METRIC — FENDER ZINC
M4-M12

W/METAL DRAWER

375 Pieces

Drawer (Empty)
F01135

METAL

METAL

METAL

METAL

FASTENERS — NUT METRIC (CONT.)

O

O

O

MI8x2.50(10) MI6x2.00(10) M14x200(10) MI2x175(15)
F112143 F13901 F16090 FI1155
M10x1.50(25) M8x1.25(25) M7x1.00(25) M6x100(40)
F119472 F116664 F18472 F116060
M5x.80(25) M4x70(25) M3x.50(25)
F110400 F15153 F12250

M2 (50) M3x.50 (100) ‘M4x.70 (100) M5x.50(100) M6x1.00(100) M8x1.25(50) M4x12(50)
F116838 F118885 F15604 F17801 F12588 F11276 F1412
M2 (50) M3 (100) M4 (100) M5(100) M6 (100) M8(50) M5x30(50)
F11364 F19970 F116125 F1769 F112958 F110580 F111035
M2 (50) M3 (100) M4(100) M5(100) M6(100) M8(50) M8x30(50)
F12300 F14715 F119622 F13471 F118896 F15487 F17684
«7.3 c: Ap
M3 (100) M4(100) M5(100) M6 (100) M8(50)
F110572 F12029 F115312 F16940 F118437
- - L]
M4x 7 Tensilock (25) M5x 8Tensilock (25) M6x1.0Tensilock (25)
F12474 F13919 F16250

M8x1.25Tensilock (25)
F116185

M10x15Tensilock (25)

M12x175Tensilock (25)
F11830

&

M6x10JI5(25)
F118382

-}

M8x1.25J15(25)
F117255

M10x1.25JI5 (25)
F110959

FASTENERS — WASHERS METRIC

ID4MMOD 12MM (50
F11412

@
wd

IDSMMOD 15MM (50)
F115893

ID5SMMOD 20MM (30)

IDEMMOD 15MM (30)
F17623

ID6MMOD 18MM (30)
F110470

@

o

ID6MMOD 20MM (30) ID6MMOD 25MM (30) ID8MMOD 20MM (25) IDBMMDZSMM(Zs) ID8MMOD 30MM (25)
F116830 F19687 F18910 F17684
ID10MMOD 30MM (25) 1D 12MMOD37MM (25)
F13035 F117004
Copyright © 2023

10-1-868




ASSORTMENTS

1 Fasteners

FASTENERS — RETAINERS METRIC

F03436
RETAINERS METRIC — RETAINING RINGS
INTERNAL M8-M30 (9) ®) Q ( ) O C)
w/ M_ETAL DRAWER M8(50) MO(s0) MI0(50) M1 50) MI12(50) M13(25)
700 Pieces F113922 F14666 F17866 F15360 F14136 F114900
Drawer (Empty) M4@5) MI505) M16(25) M1705) mI8Es) MI9@5)
F0142 F17144 F17247 F11848 F110200 F13141 F118167
METAL Q C) O Q Q Q
M20(25) M2105) M2(5) M2305) M24(25) M25(25)
Fin622 F110498 F110804 F116965 F13678 F110107
M26(25) M27(25) M28(25) M2905) M30(25)
F18660 F116152 F119327 F11975 F18999
F03435
RETAINERS METRIC — RETAINING RINGS
EXTERNAL M3-M30 o o Q 0 o) @) Q @)
w/ MFTAL DRAWER M3(50) Ma(s0) M5(50) M6(50) M725) M8(25) Mo(25) MI0(25)
730 Pieces F19873 F17672 F13373 F1289 F1731 F18166 F110863 F18892
Drawer (Empty) i es) 2e5) M1303) aEs) ) Mi625) 1705) I8Es)
F01137 F113683 F12679 F16808 F15989 F116496 F119874 F15560 F112730
METAL Q Q Q Q)
M19(25) M2005) M21(25) M2(25) M2305) M24(15) M25(15) M26(15)
F117623 F12575 Fimez3 F1453 F7228 F19340 F18302 Fo221
M27(15) M28(15) M29(15) M30(15)
F116255 F117263 F115936 F16523

F03484
RETAINERS METRIC — RETAINING RINGS
E-STYLE M1.2-M24 o o P I} ')
W/METAL DRAWER M12(50) M550 MI9(50) M23(50) M32(50)
800 Pieces F116648 F19587 F18082 F116165 F16069
) O ) %) v
Drawer (Empty) Ma0(50) M5050) M60(0) M70(50) MB0(0)
FO1135 F113071 F11493 F15012 F116783 F17513
METAL M90(50) MI0(50) MI2(50) MI5(50) MI9(50)
F112008 Fll6842 F117920 F18461 F1688
M24(50)
F7462
F03463
PINS METRIC — COTTER ZINC
EXT.PRONG M1-M5 C—s [ — [ [ =
W/METAL DRAWER MIx25(50) M16x20(50) M16x25(50) M2x20(50) M2x25(50) M2x32(50)
925 Pieces F19556 F110575 F113343 F19377 F1784 F114870
C= o ¢ [
Drawer (Empty) M2x40(50) M25%25(50) M25x32(50) M25x40(50) M32x25(50) M32x32(50)
F0142 F18481 F113080 F111856 F116796 F115713 F17765
C== = = C== C—————
METAL &
M32x36(50) M32x40(50) M35x35(50) M35x50(50) MAx32025) Max36(25)
F14026 F112200 F13348 F1372 F16384 F117928
MAx40(25) MSx45(25) M5x56(25)
F114138 Fi7262 F12434
Copyright © 2023

10-1-70



ASSORTMENTS

Fasteners 1

FASTENERS — HEX HEAD CAP SCREWS STAINLESS

F05021

HEX HEAD CAP SCREWS STAINLESS —
18-8 SS COARSE 1/4-3/8

W/ METAL DRAWER

450 Pieces

Drawer (Empty)
F0142

METAL

F03715

HEXHEAD CAP SCREWS STAINLESS —
18-8SS SS COARSE 1/4-1/2

W/METAL BIN

960 pcs

Contains: 18-8 Stainless Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers

Size Range: 1/4-20, 5/16-18,
3/8-16,7/16-14&1/2-13

Bin Dimensions:
33-3/4"W x 23-7/8"Hx 12"D
Bin PartNo.F01112

METAL

This assortment also available
without the bin under part no.
F03772

F012340

HEXHEAD CAP SCREWS STAINLESS —
316 SS COARSE 1/4-3/8

W/METAL DRAWER

330 Pieces

Drawer (Empty)
F0142

METAL

F03703

HEXHEAD CAP SCREWS STAINLESS — 316 SS
COARSE 1/4-1/2

W/METAL BIN

960 pcs

Contains: 316 Stainless Nuts, Hex Cap Screws, Flat Washers
&Split Lock Washers

Size Range: 1/4-20, 5/16-18,
3/8-16,7/16-14 & 1/2-13

Bin Dimensions:
33-3/4"Wx 23-7/8"Hx 12"D
Bin Part No.F01112

METAL

14x1/2'(15) 1VAx3/4(15) 1/4x1"(15) 1/Ax114"(15) MAXT2(15) 5/16x1/2"(15)
F119350 F17051 F12505 F1616 F15610 F1334
5/16x3/4"(15) 516x1°(15) 5/16x114"(10) 5/16x11/2"(10) 3Bx3/4(15) 38x1"(15)
F15717 F15244 F11906 F115260 FI11552 F14203
3Bx1-1/47(10) 38x1/2°(10) 3/8x2'(10) AGAB) 30) 5/16/(SAE) 30) 3/8'(5AB) (20)
F117983 F117300 F18432 F11581 F19819 F16661
1/4°(30) 5/16(30) 3/8"(30) 1/42030) 5/16-18(30) 3/816(20)
F116108 F15450 F119368 F19684 F111288 F12772
© | © |Fum i | [
1/420 (50) 114 (50) 1/4 (50) 1/4-20X172 (20) 1/420X3/4 (20) 1/4-20X1 (20) 1/420X11/2 (20) 1/420X2 (20)
F19684 F11581 F116108 F119350 F17051 F12505 F15610 F1532
5/16-18 (50) 5/16 (50) 5/16 (50) 5/1618X1/2 (20) 5/16-18X3/4 (20) 5/16-18X1 (20) 5/16-18X1-1/2 (20) 5/16-18X2 (20)
F111288 F19819 F15450 F1334 Fi5717 F15244 F115260 F19029
3/816 (50) 3/8(7/80D) (50) 3/8 (50) 3/8-16X3/4 (20) 3/816X1 (20) 3/8-16X1-1/2 (20) 3/816X2 (10) 3/8-16X2-1/2 (10)
F112772 F16661 F119368 F111552 F14203 F117300 F18432 F1921
| © oy | oy | oo | o |
71614 (25) 716 (25) 716 25) 716-14X1 (10) 716-14X1-1/2 (10) 716:4X2 (10) 71614X2172 (5) 716-14X3 (5)
F12032 F16572 F12008 F14450 F15202 F17037 F116262 F18880
1213 (25) 112 (25) 12 25) 12931 (10) 1/213K141/2 (10) 12-13x2 (10) 1/2-13X21/2 5) 1/213%3 (5)
Fi618 F116825 F116120 F117974 F119837 F18907 F113339 F111689

1/4x1/2"(10) 1/4x3/4"(10) 1/4x1"(10) 1/4x1-1/4"(5) 1/4x11/2"(5) 5/16x1/2"(10)
F114937 F117194 F1989 F16670 F111110 F14801

5/16x3/4" (10) 5/16x1"(5) 5/16x1-1/4"(5) 5/16x1-1/2"(5) 3/8x3/4"(10) 3/8x1"(5)
F110346 F114319 F16369 F116547 F117674 F116586

3/8x11/4"(5) 3/8x1-1/2"(5) 3/8x2"(5) 1/4"(25) 5/16"(25) 3/8"(25)
F15736 F112793 070.38.2 F116462 F11673 F1804
1/4"(25) 5/16"(25) 3/8"(25) 1/4"20(25) 5/16™18(25) 3/8"16(25)
F11585 F111404 F19593 F18196 F16340 F116623

®
[
[
[
[
[

1/4-20 (50) 1/4 (50) 1/4 (50) 1/4-20x1/2 (20) 1/4-20x3/4 (20) 1/4-20x1 (20) 1/4-20x1-1/2 (20) 1/4-20x2 (20)
F18196 F116462 F11585 F114937 F117194 F1989 F111110 F15147
5/16-18 (50) 5/16 (50) 5/16 (50) 5/16-18x1/2 (20) 5/16-18x3/4 (20) 5/16-18x1 (20) 5/16-18x1-1/2 (20) 5/16-18x2 (20)
F16340 F11673 F111404 F14801 F110346 F114319 F116547 F14690
3/8-16 (50) 3/8 (50) 3/8 (50) 3/8-16x3/4 (20) 3/8-16x1 (20) 3/8-16x1-1/2 (20) 3/8-16x2 (10) 3/8-16x2-1/2 (10)
F116623 F1804 F19593 F117674 F116586 F112793 F11019 F17009
7/16-14 (25) 716 (25) 716 (25) 7/16-14x1 (10) 7/16-14x1-1/2 (10) 7/16-14x2 (10) 7/16-14x2-1/2 (5) 7/16-14x3 (5)

F112604 F16711 F110079 F110718 F14004 F13156
| © | O | (un | fom | foo | fon | Goo
1/2-13 (25) 12 (25) 12 (25) 1/2-13x1 (10) 1/2-13x1-1/2 (10) 1/2-13x2 (10) 1/2-13x2-1/2 (5) 1/2-13x3 (5)
F1549 F12181 F14290 F15849 F16043 F114370 F1584 F1a127
Copyright © 2023

10171




ASSORTMENTS

1 Fasteners

F03277

HEX HEAD CAP SCREW BRASS —
COARSE 1/4-3/8

W/ METAL DRAWER

210 Pieces

Drawer (Empty)
F01135

METAL

F03222

SOCKET PRODUCTS STAINLESS — SOCKET
CAP SCREWS COARSE #4-#10

W/ METAL DRAWER

900 Pieces

Drawer (Empty)
F0142

METAL

F03223

SOCKET PRODUCTS STAINLESS — SOCKET
CAP SCREWS 18-8SS COARSE 1/4-1/2
W/METAL DRAWER

255 Pieces

Drawer (Empty)
F0142

METAL

F011906

SOCKET PRODUCTS STAINLESS — SOCKET
CAP SCREWS 18-85S COARSE #6-1/2
W/METAL DRAWER

260 Pieces

Drawer (Empty)
F0142

METAL

10-1-72

FASTENERS — HEX HEAD CAP SCREWS BRASS

ooy | oz

B

 mm

e

3/816x1-1/2"(10) 3/816x1-1/4"(10) 3/816x1"(15) 3/8-16x3/4(15) 3/816x1/2"(15)
F13297 F113870 F16334 F111699 F1776

5/16-18x1-1/2"(10) 5/16-18x1-1/4"(10) 5/16-18x1"(15) 5/16-18x3/4"(15) 5/16-18x1/2"(15)
F17919 F13763 F11807 F17755 F11014

1/4-20x2"(10) 1/4-20x1-1/2"(10) 1420 1-1/4"(15) 1/4-20x1"(15) 1/4-20x3/4"(15)
F110381 F19693 F119349 F110464

=

1/4-20x1/2"(15)
F16210

FASTENERS — SOCKET PRODUCTS STAINLESS

[

1024x11/2"(25)
F112468

(B

1024x1-1/4° (25)
F111087

I

1024x1"(25)
F118671

[T

1024x7/8"(25)
F112608

Froe

1024x3/4(25)
F18793

[T

1024x5/8"(25)
F113512

s B

[

m—

(m—

[FE—

1024x1/2"(25) 1024x3/8" (25) 8:32x1"(50) 8-32x7/8"(50) 8-32x3/4"(50) 8-32x5/8"(50)
F18986 F18431 F1734 F1931 F18788 F110232
(e [ =] [ [ [ [
832x1/2"(50) 832x3/8"(50) 632x3/4"(50) 632x5/8"(50) 632x1/2'(50) 632x3/8"(50)
F110881 F17063 F113386 F119743 F12724 F115617
== [Teccd s =
632x1/4(50) 4-40x1/2"(50) 4-40x3/8"(50) 4-40x1/4"(50)
F15212 Fl1a114 F110037 F119378
1213x2'(5) 123x19/2(5) 123X 14" (5) 123X 1(5) 1213x3/4°(5) 3/816x2'(10)
F14250 F11430 F114189 F18842 F115625

1
|
|
i

3/8-16x1-1/2(10)
F16917

3/816x1-1/4"(10)
F17188

3/8-16x1"(10)
F110514

3/816x3/4"(10)
F116841

=

3/8-16x1/2"(10)
F12805

T

5/16-18x2"(10)
F19791

l
I
I
T

5/16-18x1-1/2"(10)
F115838

5/16-18x1-1/4" (10)

5/16-18x1"(10)
Flinze

5/16-18x3/4" (10)
F15421

5/16-18x1/2"(10)
F1420

B "

1/4-20x2"(20)
F12671

|
i
I
7

1/420x1-1/2"(15)
F110354

V420X 1-1/4"(15)
F19373

1/4-20x1"(20)
F19891

1/4-20x3/4" (20)
FI11956

[

1/4-20%1/2" (20)
F16115

]

e

i

i m—

1213x11/2(5) 1213x1(5) 3816x11/2(10) 3/816x1(10) 3/816x3/4(10) 5/16-18x 1-3/4(10)
F11430 F18842 F16917 F110514 F116841
5/16-18x1/2(15) 5/16-18x1(15) 5/16-18x3/4(15) 1420%2(15) 1/4-20x1-3/4(15) 14-20x11/2(15)
F115838 FiIn76 F15421 F12671 F110354
1/420%1(15) 1/4-20x3/4(15) 1/4-20x1/2(15) 832x3/4(15) 832x1/2(15) 632x3/4(15)
F19891 F111956 Fi6115 F18788 F110881 F113386
632x1/2(15) 632x1/4(15)
F12724 F15212
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — SOCKET PRODUCTS STAINLESS (CONT.)

F03224

SOCKET PRODUCTS STAINLESS — SOCKET
CAP SCREWS 18-8SS #6-3/8

W/METAL DRAWER

595 Pieces

Drawer (Empty)
F0142

METAL

F03225

SOCKET PRODUCTS STAINLESS — SOCKET
CAP SCREWS 18-8SS FINE #10-1/2
W/METAL DRAWER

137 Pieces

Drawer (Empty)
F0142

METAL

F03322

SOCKET PRODUCTS STAINLESS — SOCKET
CAP SCREWS 18-8SS COARSE #6-1/2
W/METAL DRAWER

353 Pieces

Drawer (Empty)
F0142

METAL

F03321

SOCKET PRODUCTS STAINLESS — FLAT
HD SOCKET CAP FINE 18-8SS #10-3/8
W/METAL DRAWER

178 Pieces

Drawer (Empty)
F0142

METAL

B

3/8-16x2"(10)
F19606

W

3/816x11/2"(10)
F16917

3/816x1"(10)
F110514

B

5/16"18x2"(10)
F19791

3/816x3/4"(10)
F116841

3/8-16x1/2"(10)
F12805

[ e

5/16™18x1-1/2"(10)
F115838

i

5/16-18x1"(10)
F111176

s

5/16"-18x3/4"(10)

Bl mm—

14"20x11/2"(5)
F110354

Be | D

5/1618x1/2"(10) 1/4"20x2"(10)
F1429 F12671

s

frsm—

Lo

[

Eoommme: | @

1/4"20x1"(15) 1/4"20x3/4"(15) 1/4"-20x1/2"(15) 10-24x1"(50) 10-24x3/4"(50) 10-24x1/2" (50)
F19891 F111956 F16115 F118671 F18793 F18986
[ ] [ [FEE [Epm— e [
10-32x1"(25) 10-32x1/2"(50) 8-32x1"(50) 8-32x1/2"(50) 6-32x1"(50) 6-32x1/2"(50)
F1271 F110385 F1734 F110881 F114934

]

St——

=7

e o | o

1220x2' ) 1220x11/2'G) 1220x1"G) 3824x2'G) 3/8:24x11/2'(5) 3824x1"(5)
F15170 Fla51 F12600 F114093 F19128 F11878

3/8-24x3/4(5) 3/824x1/2'(5) 5/16-24x2"(5) 5/1624x1"(5) 5/16:24x3/4"(5) 5/16-24x1/2"(5)
F117697 FiTigs F113763 F112562 F117683 F19433

[ ey

1/4-28x2"(5)
F16116

W

1/4-28x11/2"(10)
F110776

[ g

1/4-28x1"(10)
F12772

—

10-32x2"(10)
F113073

[~

10-32x1"(10)
F12711

[

1/4-28x3/4" (10)
F119932

[

1032x3/4"(10)
F16976

=

10-32x1/2"(10)
F110385

=

10-32x1/4(10)
F15846

R

| Rz

-

| | e

1213x2(6) 1213x11/2(6) 1213x166) 3816x2(10) 3816x1(15) 51618x1-3/4(10)
F111204 Fl446 F111132 F118404 Fi9113 F117071
516-18x3/4(15) 1420x1(15) 1420%1/2(15) 1024x1(15) 10-24%3/4(20) 1024x1/2(20)
F111034 F16906 F115768 F113550 F18275 F117538
1024x3/8(20) 832x1(20) 8-32x3/4(20) 832x1/2(20) 8-32x3/8(20) 832x1/4(20)
F15838 F17514 F19745 F11677 F16268 F15029
632x3/4(20) 632x12(30) 632x1/4(30)
F17575 F16258 F13623

]

=

-

P

-

3/824x11/2(4) 3/824x1-1/4(4) 3/824x1(5) 3/824x3/4(5) 5/1624x1-1/2(10) 5/1624x1-1/4(10)
F115061 F115649 F118155 F111324 F13275 F112435

5/1624x1(10) 5/1624x3/4(10) 1/428x1/2(10) 1/4-28x11/4(10) 1/428x1(10) 1/4-28x3/4(10)
F112874 F19505 F119717 F11297 F13208 F11339

14-28x1/2(10) 1032x1-1/2(10) 1032x1-1/4(10) 1032x1(10) 10-32x3/4(10) 10-32x5/8(10)
F11801 F14225 F16912 F112447 F115928 F115332

-

e

10-32x1/2(10) 10-32x1/4(10)
F18822 F115559
Copyright © 2023

101-73




ASSORTMENTS

1 Fasteners

FASTENERS — SOCKET PRODUCTS STAINLESS (CONT.)

SOCKET CAP COARSE 18-8SS #6-1/2

F03323
SOCKET PRODUCTS STAINLESS — BUTTON m w M w W T

wi/ MFTAL DRAWER 1213x20) 1213x1120) 213x10) 3/816x2112(5) 3/816x2(5) 5/1618x2(10)
259 Pieces F119936 F18235 F11536 F117689 F113730 F19683
Drawer/(Empty) 51618x7/8(10) 1420x21/2(5) 1/420x2(10) 1420x78(15) 1024x1(15) 1024x3/4(15)F13972
F0142 F19947 F114646 F111880 F119009 F16897

[ e . —_— -

10-24x1/2(15) 10-24x3/8(15) 10-24x1/4(15) 8-32x1-1/2(15) 8-32x3/4(20) 832x1/2(20)
F115208 F17427 F115179 F14435 F16805 F19664

METAL

= i (s

832x3/16(20) 6-32x3/4(20) 632x1/2(20)
F13504 F117940 F13502

F03326
SOCKET PRODUCTS STAINLESS — SOCKET
SET SCREWS CUP POINT 18-8SS #6-3/8 ” “ ” e - F

wr MFTAL DRAWER IBI6XIA(25) II6x1/2'(25) BB 25) 571641834 (25) 516418x 12 (25) 5/16418x3/8°(25)
575 Pieces F16927 F120043 F16097 F110479 F11799 F113095
fo o] SRR feoad A L]
Drawer (Empty) 1420304 25) 1420x1/2'(25) 1024x1°(25) 1024x34(25) 1024x1/2°25) 102414 25)
F0142 FIN155 F115994 F12269 F16719 F119269 F118127
fod e = L i L]
METAL
1032x34°(25) 1032x1/2'25) 1032x3/8(25) 1032x1/425) 832x3/8'(25) 832x1/4°(25)
F13034 F110832 FI5714 F113286 F12878 FI75
[ L Lo e ®
832x3/16°(25) 832x18°(25) 63214 25) 632x3/16°25) 632x18°25)
F119104 F19534 F119673 F17400 F18241
F03324
SOCKET PRODUCTS STAINLESS — SOCKET SET
SCREWS CUP POINT COARSE 18-8SS 1/4-5/8 ] -] (-] ———
w/ MFTAL DRAWER 5811x346) SB11x126) 1213x166) 1213x3/4(6) 1213x38(6) 3816x3/4(10)
271 Pieces F15088 F12657 F115224 F113063 F12988 F16927

Drawer (Empty) 3/816x1/2(10) 3816x3/8(10) 3/816x1/4(10) 5/1618x1(15) 5/16-18x3/4(15) 5/16-18x1/2(15)
F0142 F120043 F16097 F17783 F112824 F110479 F11799

METAL » " - - -

5/16-18x3/8(15) 516-18x5/16(10) 1/420x120) 1420x3/4(20) 1/420x12(20) 1/420x3/820)
F113095 F112299 F13387 FIIT1S5 F115994 F116340
= L] L]
1420X5/16(15) 1420x1/4(20) 1/420x3/16(20)
F19380 F12367
F03325
SOCKET PRODUCTS STAINLESS — SOCKET SET
SCREWS CUP POINT 18-85S FINE 1/4-3/8 S T = o
w/ METAL DRAWER 3824 114(8) 3824x1(®) 3/824x3/4(10) 3824x1/2(10) 3824x3/8(10)
311 Pieces F16303 Fi5221 F12962 F18256 F113807
Drawer (Empty) 3/824x1/4(10) 5/1624x1(20) 5/1624x3/4(20) 5/1624x1/2(20) 5/1624x3/8(20)
F01135 Fl4942 Fim2a F17910 F17575 F15997
METAL = » “ I “ I =
5/1624x5/16(25) /1624 1/4(25) 1428x3/4(25) 1428x1225) 1428x3825)
F13292 F118640 F112485 F13912 F110028
1428X1/4(25) 1/428x31605)
F15358 Fi358
Copyright © 2023

10-1-74



ASSORTMENTS

Fasteners 1

F013804

MACHINE SCREWS STAINLESS — PHILLIPS PAN
HEAD STAINLESS #4-1/4

W/METAL DRAWER

550 Pieces

Drawer (Empty)
F0142

METAL

F03219

MACHINE SCREWS STAINLESS — PHILLIPS
PAN STAINLESS #4-1/4

W/METAL DRAWER

550 Pieces

Drawer (Empty)
F0142

METAL

F03236

MACHINE SCREWS STAINLESS — PHILLIPS
ROUND 18-8SS STAINLESS #4-#10
W/METAL DRAWER

1075 Pieces

Drawer (Empty)
F0142

METAL

F03221

MACHINE SCREWS STAINLESS — PHILLIPS
OVAL 18-8SS STAINLESS #6-1/4

W/METAL DRAWER

675 Pieces

Drawer (Empty)
F0143

METAL

FASTENERS — MACHINE SCREWS STAINLESS

- b o

o

P

4-40x1/4" (100) 632x3/8" (100) 832x1/2" (100) 1024x1/2" (50) 1032x1/2"(50) 1/420x1/2"25)
F110700 F17941 F12145 F119501 F19904 F1755

4-40x3/8" (100) 632x1/2"(100) 832x3/4" (100) 1024x3/4" (50) 1032x34" (50) V420x3/4" (25)
F17349 F117744. F119901 F14263 F11340 F13386

e e ———

L —

4-40x1/2" (100) 6:32x3/4" (100) 832x1"(50) 10-24x1"(25) 10-32x1" 25) 14"20x1" 25)
F112405 F113760 F112138 F115129 F18246 F13046

4-40x3/4" (100) 632x1"(50) 832x11/4" (25) 1024x11/2" 25) 1032x1-1/2" 25) VA"20x11/2" (15)
F120045 F119414 F13705 F19774 Fla13 FI1234

o ) o

#4-40(25) 4‘6‘32(5] “8'52 25)
F112212 F18531 F19104

L)

#10-24(25)
F118624

Q )

#10-32(25) 1/4"20(25)
F18510 F19684

#10-32x3/8"(25) #1032x3/4"(25) #1032x1(25) 14-20X3/4"(25) 1/420x1"(25)
F13332 F11340 F18246 F13386 F13046

A 9 i g

832x1/2"(25) 8-32x3/4"(25) 832x1"(25) 10-24x1/2"(25) 1024x1"(25)
F12145 F119901 F112138 F119501 F115129

- P [

4-40x3/8"(25) 4-40x1/2"(25) 6-32x3/8"(25)
F17349 F112405 F17941

Smme

632x1/2°(25)
F117744

632x1"(25) 632x1-1/2"(25)
F119414 F12991

C— | (— Gem—

10-32x2"(25) 10-32x1-1/2"(25) 10-32x1"
F119336 F110525 F118460

[

10-32x3/4"(50)
F11555

e

10-32x1/2"(50)
F14513

Grmm— Gu—  Go—

[

=

10-24x2"(25) 10-24x11/2"(25) 10-24x1" 10-24x3/4"(50) 10-24x1/2"(50)
F18018 F19436 F110242 F14446 F115335
832x11/2"(25) 832x1"(50) 8-32x3/4" 8-32x1/2"(50) 6-32x1"(50) 6-32x3/4" (50)
F117401 F110316 F1709 F112208 F116929 F13600
6-32x1/2"(25) 6-32x1/4"(50) 4-40x3/4"(100) 4-40x1/2"(100) 4-40x1/4"(100)
F12531 F116854 F118887 F13081 F110010
o e m—
632x1/2°60) 632x34°(50) 632x1°(50) 832x1/2°60)
F11402 F113303 F11833 F1555
b — b A
832x3/4°(50) 832x1"(50) 10:24x3/4°(50) 1024x1"(50)
F1958 F14299 F112312 F15079
P Pz e " ——
10-24x11/2"(50) 10-32x3/4"(50) 10-32x1"(50) 10-32x1-1/2"(50)
F118335 F116733 F16483 F15155
e TR B
1/4-20x1"(50) 1/4-20x1-1/2" (50) 1/4-20x2" (50)
F18354 F18152 F1aa
Copyright © 2023

101-75



ASSORTMENTS

1 Fasteners

FASTENERS — MACHINE SCREWS STAINLESS (CONT.)

F03220
MACHINE SCREWS STAINLESS — PHILLIPS m
FLAT 18-8SS STAINLESS #6-1/4 | s e | e =
W/m ETAL DRAWER 1/4"20%2"(50) VA20x1/2/(50) 1/4"20%1"(50) 420304 (50) 1420x1/2'(50)
1000 Pieces F117582 F13949 F116339 F19816 F18630
Drawer (Empty) 1024x1/2°(50) 1024x1°(50) 1024x3/4°(50) 1024x1/2'(50) 1032x1/2(50)
F0142 F114235 F117382 F156 F12272 F119316
METAL 10-32x1"(50) 1032x3/4(50) 10-32x1/2"(50) 832x14/2"(50) 832x1"(50)
Fin222 F17274 F118086 F13188 F17835
832x3/4°(50) 832x1/2'(50) 632x1"(50) 632x3/4°(50) 632x1/2'(50)
F11300 F18265 F12828 F12540 F116541
F03218
MACHINE SCREWS STAINLESS — SLOTTED
PAN 18-85S STAINLESS #4-1/4 b - Lad el o G
w/ ME'TAL DRAWER 4-40X1/4"(100) 632x3/8°(100) 832x1/2°(100) 10:24x1/27(50) 1032x1/2°(50) 20172 (25)
1415 Pieces F112976 Fis11 F110518 F14427 F112091 F118985
P [r— [ f [ [
Drawer (Empty) 4-40x3/8"(100) 632x1/2'(100) 832x3/4(100) 102434 (50) 1032x3/4'(50) 14-20x3/2 25)
F0142 F112499 Fi10111 F115390 F14933 F16464 F114088
f fo— [ o | $ iz
METAL
4-40x1/2°(100) 632x3/47(100) 832x1"(50) 1024x1705) 1032x1"(25) 1420x1"(25)
F18597 F115690 F11010 F110269 F16851 F115400
PR fr— [— [pr— B D
4-40x3/4"(100) 632x1"(50) 832x1-1/4"(25) 10-24x11/2"(25) 10-32x1-1/2"(25) 1420 1-1/2"(15)
F15951 F110094 F117798 F11076 Fi11937 Frionz
F05016
MACHINE SCREWS STAINLESS — SLOTTED
ROUND 18-8SS STAINLESS #6-1/4 o e e R Oz o
w/ MFTAL DRAWER 632x3/8(50) 632x12(50) 632x3/4(50) 632x1(50) 832x12(25) 832x3/4(25)
610 Pieces F2115 F17382 F15318 F11569 F118129 Fl1698
Drawer (Empty) 832x105) 832x11/405) 10-24x1/2(25) 1024x3/4(25) 10-24x1(25) 1024x11225)
F0142 F14131 F17480 F14510 F18766 F13263 F16262
MIETAL o [ (o [ Gz P
1032x1/2(29) 1032x3/4(25) 1032x1(25) 1032x1/205) 224x1205) 22x3/4(025)
F17013 114341 F115578 F113366 F111840 F114701
1420x3/4(15) 1/420x1(15) 1420x14/2(15) 1/420x2(15)
F18715 F13927 F19872 F16570
F03237
MACHINE SCREWS STAINLESS — SLOTTED
FLAT 18-8SS STAINLESS #6-1/4 L | » o »
w/ MFTAL DRAWER 6:32x3/8"(50) 8:32x1/2"(50) 1024x1/2"(50) 1032x1/2"(50) V420X 3/4"(25)
810 Pieces F12073 F12532 F111075 F13356 F18247
5 — o ] Vo | s
rawer (Empty) 632x1/2'(50) 832x3/4(50) 1024x3/47(50) 1032x34(50) 1/420x7"(25)
F0142 F119586 F18271 F118206 F119082 F114354
METAL )
632x34°(50) 832x1°(50) 1024x1"(50) 1032x125) 1/420x11/2"(20)
F15423 Fin1aa F118466 F16573 F120009
» Jo— |
632x1°(50) 832x11/2/(50) 1024x11/2°(25) 1032x11/2°25) 1420x2°(15)
F110053 F120035 F18028 F1220 F110178
Copyright © 2023

10-1-76



ASSORTMENTS

Fasteners 1

F03396

NUT STAINLESS — HEX NUTS, FW, LW, EXT
TOOTH LW SS #6-1/4

W/METAL DRAWER

2100 Pieces

Drawer (Empty)
F01137

METAL

F03406

NUT STAINLESS — NYLON INSERT LOCKNUT
COARSE & FINE SS #10-3/4

W/METAL DRAWER

187 Pieces

Drawer (Empty)
F01135

METAL

F03400

NUT STAINLESS — COUPLING
STAINLESS 1/4-1

W/METAL DRAWER

31 Pieces

Drawer (Empty)
F01134

METAL

F03399

NUT STAINLESS — WING
STAINLESS #6-1/2
W/METAL DRAWER

170 Pieces

Drawer (Empty)
F01134

METAL

FASTENERS — NUT STAINLESS

4-40(100) 632(100) 832(100) 1024(100) 10-32(100) 12:24(50) 1/420(50) 1AXT(5)
Fl212 F18s31 F19104 F118626 F18510 F14713 F19684. F11804
o o o o o (o} o
#4(100) #6(100) #8(100) #10(100) #12(50) 1/4(50) 316'x1"(25)
F119243 F113815 F111329 F12986 F3111 F11581 F119546
#4(100) #6(100) #8(100) #10(100) #12(50) 1/4"(50)
F118756 F115242 F118931 F13023 F114992 F116108
e ¥ o
o] te] £ o D:
#4(100) #6(100) #(100) #10(100) 1/4(50)
F23a F16364 F13914 F115131 F12010
UNC34-1002) UNC5/811(2) UNC1213) UNC7/1614(10) UNC3/8-16(10)
F17681 F13898 F117746 F16780 F115881
UNC5/1618(12) UNC1/420(15) UNC1224(15) UNC1024(15) UNC832(25)
F118200 F15791 F114395 F17804 F14343
UNF12203) UNF7/16:20(15) UNF3/8:24(15) UNF5/1624(15) UNF 1/4-28(15)
F17890 F17048 F112520 F118901 F117236
UNF10-32(15)
F114152
1-8x3(2) 3/410x2:1/4Q2) 5/8-11x17/8(2)
F120100 F19987 F113655

7116-14x1-5/16(4)
F1822

1213x1172(5)
F111418

3/8-16x1-1/8(6)
F15323

5/16-18x15/16(4) 1/4-20x3/4(6)
F15842 F18625

63225 832029

Ao d

10-24(25)
F119732 F116401 F17994
10-32025) 1/420(15) 1/428(15)
F116406 F115872 F119107

5/16-18(15) 3/816(15) 1/213(10)
F115889 F17526 F18375

Copyright © 2023

10177




ASSORTMENTS

1 Fasteners

F03416

WASHERS STAINLESS — FLAT
316SS 1/4-1

W/ METAL DRAWER

200 Pieces

Drawer (Empty)
F01134

METAL

F03428

WASHERS STAINLESS — FENDER
18-8SS 1/4-1/2

W/METAL DRAWER

340 Pieces

Drawer (Empty)
F0143

METAL

F03437

WASHERS STAINLESS — LOCK
316SS 1/4-1

W/ METAL DRAWER

200 Pieces

Drawer (Empty)
F01134

METAL

F03429

WASHERS STAINLESS — TOOTH
INTERNAL & EXTERNAL 410SS #6-1/2
W/METAL DRAWER

700 Pieces

Drawer (Empty)
F01135

METAL

10-1-78

FASTENERS — WASHERS STAINLESS

1(10) 7/8"(10) 3/4°(10)
F111389 F18345 F118239
5/8"(20) 916'(20) 1/2(20)
F11988 F111934 F2181
76'0) 3/8"(30) 5/16'(30)
F16711 F1804 F11673
1/4"(30)
F116462
1/2'%2°(10) 1£2x11/2°(10) 3/8'x2'(10) 38'x 1172 25)
F112880 F115901 F116222 FI11532
38" /4" (25) 38'x1"(25) 5/16'x2"(25) 5/16'x1/2'(25)
F112873 F119971 F117316 F18423
5/16/x 114" (25) 1/4'x2"(10) VX172 (50) A4 (50)
F19506 F11470 F111685 F18933
14'x1"(50)
F111804
17(10) 7/8"(10) 3/4°(10)
F117774 F17405 F118766
5/8"(20) 916'(20) 11220)
F111429 F18209 F14290
716"20) 38'30) 5/16'(30)
F110079 F19503 F111404
1/4"(30)
F11585
#6(50) #8(50) #10(50)
F114115 Fl648 F110147
1/4"(50) 5/16'(50) 3/8(50) 1/2'(50) 5/8"(25)
F12889 F18729 F110742 F115384 F119225
#6(50) #3(50) #10(50)
F16364 F13914 F115131
1/4"(50) 5/16(50) 3/8(50) 1/2'(25)
F12010 F120039 F118890 F16305
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — SELF DRILLING SCREW (TEK) STAINLESS

F03320

SELF DRILLING SCREW (TEK) STAINLESS —
PHILLIPS PAN #6-1/4

W/METAL DRAWER

450 Pieces

Drawer (Empty)
F0142

METAL

F013311

SELF DRILLING SCREW (TEK) STAINLESS —
PHILLIPS FLAT #8-#14

W/METAL DRAWER

455 Pieces

Drawer (Empty)
F01135

METAL

F05027

SELF DRILLING SCREW (TEK) STAINLESS —
HEX & PHILLIPS PAN #6-1/4

W/METAL DRAWER

875 Pieces

Drawer (Empty)
F0142

METAL

F03316

SELF DRILLING SCREW (TEK) STAINLESS —
HEXHEAD #6-1/4

W/METAL DRAWER

410 Pieces

Drawer (Empty)
F0142

METAL

Qrorrmmm—s

Prommen

fe—

[ .

fresenccn,

(s

14x2"(15) 14x11/2"(15) 14x1"(15) 14x3/4"(15) 12x2°(15) 12x11/2"(25)
F116290 F13871 F15678 F11636 F12765 F111913
12x1°25) 12x34°(25) 10x1-1/2"(25) 10x1(25) 10x3/4"(25) 10x1/2'(25)
F119528 F111146 F111584 F117228 F118540 F119230
N F e
L ¢ (s [ =58 fmmmsems [—
8x11/2'(25) 8x1"(25) 8X3/47(25) 8x1/2'25) 6x1"(25) 6X3/4(25)
F113475 F117074 F114953 F115704 F117054 F18860
6x1/2"(25) 6x3/8"(25)
F17176 F11137
#8X3/4(25) #8x1025) #8x11/405) #8x11205) #8x2025)
F16506 F117278 F16406 F18643 F110847
#10x3/4(25) #10x1(5) #10x112025) #10x2025) #10x21/2(10)
F118336 F114136 F17756 F18077 F177
#10x3(10) #12x3/4025) #12x1025) #12x112025) #12x205)
F118622 F110047 F18435 F115178 F1714
#14x3/4025) #14x1(25) #14x112025) #14x205) #14x22(10)
F110254 F120005 F1207 F116350 F16597
#6x1/2"(50) #6x1"(50) #3x1/2"(50) #3x3/4"(50) #8x1"(50) #10x1/2"(50)
F119925 F111086 F16054 F117850 F119196 F115021
#10x34"(50) #10x1"(25) #12x34"(50) #12x1"(25) #12x1-1/4" 25) A3/ 25)
F113355 F117103 F19031 F118398 F115805 F117694
1'x1(25) AT/ 25) #6x1/2'(50) #6X3/4"(50) #8x1/2"(50) #8X3/4"(50)
F19958 F17176 F18860 F115704 F114953
#8x1"(50) #10x3/4"(50) #10x1"(25)
F117074 F118540 F117228

14x2"(10) 14x1-1/2"(10) 14x1"(10) 14x3/4"(10) 12x2"(15) 12x1-1/2"(15)
F16832 F118595 F19958 F117694 F19660 F114607
12x1"(15) 12x3/4"(15) 10x2"(20) 10x1-1/2"(20) 10x1"(20) 10x3/4"(20)
F118398 F19031 F14303 F12616 F117103 F113355
10x1/2"(20) 8x11/2"(30) 8x1"(30) 8x3/4"(30) 8x1/2"(30) 6x1"(30)
F115021 F119835 F119196 F117850 F16054 F111086
6x3/4"(30) 6x1/2"(30)
F117069 F119925
Copyright © 2023

10-1-78




ASSORTMENTS

1 Fasteners

FASTENERS — TAPPING SCREWS (SMS) STAINLESS

F05026

TAPPING SCREWS (SMS) STAINLESS —
PHILLIPS PAN #4-1/4

W/METAL DRAWER

660 Pieces

Drawer (Empty)
F0142

F05025

TAPPING SCREWS (SMS) STAINLESS —
PHILLIPS OVAL #8-1/4

W/METAL DRAWER

360 Pieces

Drawer (Empty)
F0142

METAL

F03303

TAPPING SCREWS (SMS) STAINLESS —
PHILLIPS TRUSS #6-1/4

W/ METAL DRAWER

850 Pieces

Drawer (Empty)
F0142

METAL

F03309

TAPPING SCREWS (SMS) STAINLESS —
SQUARE PAN #6-1/4

W/METAL DRAWER

575 Pieces

Drawer (Empty)
F0142

METAL

10-1-80

[

e | e

[

(o

[

1/4x11/4(20) 1/4x1(30) 1/4x3/435) 12x11/4(20) 12x1(30) 10x11/2(30)
F112021 F11201 F113688 F119473 F111574 F12155
[ { (=
[ [ e { {
10x1(40) 10x3/4(40) 10x5/8(40) 10x1/2(40) 8x1-1/2(30) 8x1-1/4(30)
F11535 F113484 F13605 F18905 F120008 F14329
6 &
(e (e [ [ { ¢
8x1(30) 8x3/4(30) 8x5/8(25) 8x1/2(35) 6x1-1/2(30) 6x1(30)
F15129 F17155 F15365 F19361 F116952 F118666
(e s i
6X3/4(30) 6x1205) 4x1260
F115436 F115238 F19353

|

1/4x3/4(15) 1/4x1(15)
F110123 F117749

| e

1/4x11/4(10)
F113695

1/4x1/2(10)
Fl6918

1/4x2(10)
F116650

B | D

| e

[

o

#12x3/4(15) #12x1(15) #12x1/4(15) #12x14/2(15) #12x2(15)
F14560 F17944 F15046 F117039 F18837
Busave (22N > [ [ e
v g la
#10x5/820) #10x3/420) #10x120) #10x11/4(15) #10x11/2(15) #10x2(15)
F112450 Fi149 F14045 F13432 F19366 F120052
e LEE s i e —
s 12 e
#8x5/820) 8x3/400) #8x100) #8x11400) #8x11/2(20) #8x2(0)
FI7172 F111482 Fl15624 F11507 F11429 F110957
14x2"(25) I 14x11/2"(25) 14x1"(25) 14x3/4(25) 12x2"(25) 12x1/2"(25)
F115200 F11944 F12438 FI11137 F118379 F114345
12x1°(25) 12x3/4°(25) 10%2'(50) 10x11/2"(50) 10x1(50) 10x3/47(50)
F119598 F13778 F115100 F1177 F112480 F18343
[N R N [ [ (=S
| v
10x1/2°(50) 8x2'(50) 8x11/2/(50) 8x1"(50) 8x3/4"(50) 8x12°(50)
F119352 F118587 7 F14307 F116432 F119770
6x1"(50) 6x3/4"(50) 6x1/2"(50)
F110340 FI13565 F12619
(=8 [ [ [ & e
#6x1/2'5) HEX3A"25) #6x1"(25) #6x114°25) #6x11225) Bx1/2'25)
F16494 F119025 F14858 Fi11394 F12685 F117523
B [ [ ki b ks
v v ¥
#8X5/8"(25) #8x3/4"(25) #8x1°(25) #Bx1405) #8x11/2'(25) Bx205)
F18451 F15343 F113275 F118227 F112022 F115288
& 8 &
G L b L, v ¢
#10x1/2'25) #10x5/8"(25) #10x3/4(25) #10x1"(25) #10x11/2'25) #10x2'(25)
F18232 F118072 Fi7484 F16544 F13964 F116370

[

lwe |

e

D

#14x3/4"(25) #14x1"(25) #14x1-1/4"(25) #14x1-1/2"(25) #14x2"(25)
F12479 F110661 F116622 F14479 F16176
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — TAPPING SCREWS (SMS) STAINLESS (CONT.)

F03307
TAPPING SCREWS (SMS) STAINLESS —
SQUARE OVAL #6-1/4 P P P S
w/ M_ETAL DRAWER X3 25) #6x7°(25) #Bx325) #8x1725)
325 Pieces F17937 F5612 Fiom Fs12
P o TR R B
Drawer (Empty) #x15) #x111205) ) HOXY405)
F0143 F119644 116114 F18055 F19785
METAL
#0x1"(25) #0x11/2°25) #10x2'(25) 4x11/2°25)
F118263 F16021 F11387 F114878
#14x2"(25)
Flaaa5
F012691
TAMPERRESISTANT MACHINE SCREWS — BUTTONHEAD 4 L
TORXPININSTAINLESS (s | g = i el
w/ M.E TAL DRAWER 632x1/2(20) 832x1/2(20) 10-24x1/2(20) 10-32x1/2(20) 1/4-20x1/2(20)
406 Pieces F129568 F129575 F130450 F129547 F129554 |—
Fa318
a
p | (h G ==
Drawer (Empty) 533800 83213800 A T20PININBIT()
x x Fa1216
F01136 F129570 F129579 F129541 F129549 F130451
=
a T25PININBIT())
L ) 69215525
METAL S o SR
632x1(20) 832x1(20) 1024x1(20) 1032x1(20) 1/4-20x1(20) ———
F129566 F130449 F120538 F129544 F130452 TZZPNINBIT()
F41007
632x117220) 832x11220) 1024x1/420) 1032x117220) 1420x1172020) Handle/Driver ()
F129567 F129573 F129540 F129545 F129552 F4577
F012699
TAMPERRESISTANT MACHINE SCREWS —BUTTONHEAD ==
HEXPININ STAINLESS Ciown (e (o (o T —
W/METAL DRAWER F42373
N 632x3/8(20) 832x1/2(20) 1024x1/2(20) 10-32x1/2(20)
383 Pieces F129593 F12959% F129583 F129586
Drav;gl:l gg? PY) 632x12(20) 832x3/4(20) 1024x3/4(20) 1032x3/4(20) 1/420x3/4(20) o]
F129591 F129597 F129584 F129587 F129589
5/32HexPininBit(1)
F4188
METAL i I
632x3/4(20) 832x1(20) 1024x1(20) 1032x1(20) 1/4-20x1(20)
F129592 F129594 F129582 F129585 F130495
632x1(20) 832x11/2(20) 10-24x1-1/2(20) 1032x11/2(20) 1/420x11/2(20) Handle/Driver (1)
F130492 F129595 F130493 F130494 F129588 F4856
F012702
TAMPERRESISTANT MACHINE SCREWS — [ 4
ROUND HEAD ONEWAY STAINLESS - L o 3- Q\m
W/METAL DRAWER 68RemoveTool()
N 632x1/220) 832x1/2(20) 10-24x1/2(20) 10-32x1/2(20) 1/4-20x1/2(20) F130446
383 Pieces F130401 F130404 F130485 F130414 F130486
I
Drawer (Empty) 632x3400) 832x3400) ) 1420x31420)
F01136 F130402 F130405 F130409 F130415 F130487 [ -
10:12RemoveTool (1)
METAL \lm
632x100) 832x100) 1024x1(20) 1032x1(20) 1/4-20x120)
F130403 F130406 F130410 F130416 F130488
832x11/2(20) 1024x11/2(20) 10-32x11/2(20) 1/4-20x11/2(20) 1/4(14)RemoveTool (1)
F130408 F130412 F130418 F130490 Fl30448
Copyright © 2023

10-1-81




ASSORTMENTS

1 Fasteners

FASTENERS — TAMPER RESISTANT MACHINE SCREWS (CONT.)

F012695

TAMPER RESISTANT MACHINE SCREWS — ?ﬂﬂl
PAN HEAD SPANNER STAINLESS o ] g L el
w/ M_ETAL DRAWER 632x1/2(20) 832x1/2(20) 1024x1/2(20) 1032x1/2(20) 1/4-20x1/2(20)
405 Pieces F130459 F130321 F130460 F130462 F130465
= o
3 w SPEBIT()
m h M g i Fa%0
Drawer (Empty) 632x3/400) 832x3/400) 1024x3/420) 1032x34020) 1/420x34020)
F01136 F130316 F130322 F130325 F130463 F130466
. SP10BIT(1)
s | N WSS | s -
METAL 632x120) 832x100) 1024x120) 1032x1020 1/420x120)
F130317 F129702 F130326 F130329 F130467 —l
SP14(1)
Fa2374
632x114020) 832x11200) 1024x11220) 1032x11/2020) 1/420x112220) Handle/Driver(1)
F130318 F120703 F130328 F130331 F130469 F4856
F012692
TAMPER RESISTANT MACHINE SCREWS — —
M
FLAT HEAD TORX PIN IN STAINLESS Do " D s i Toresn
W/METAL DRAWER 632x12020) 832x1200 1024x3/420) 1032x34020) 1/420x34(20)
406 Pieces F129642 F129649 F129618 F129625 F129637 |—
Fa318
Drawer (Empty) 632x34020) 832x3/4020) 1024x120) 1032x120) 1420x1020) e
F01136 F129644 F129652 F129614 F129621 F129630
T25PININBIT(1)
METAL [y ;mm ';m M !Dm Fat007
X120 xX1(20) X114(20) X11/4(20) /4:20X114(20)
Frzosi0 izoste " Frsoers " Frsoers oo =
Fa577 '
632x11/2(20) 832x1/4(20) 10-24x1-1/2(20) 10-32x1-1/2(20) 1/420x11/2(20) Handle/Driver(1)
F120641 F129648 F120615 F120622 F120631 F4856
F012696 &&=
TAMPER RESISTANT MACHINE SCREWS — SP6BIT()
FLAT HEAD SPANNER STAINLESS [ | | [ M Fa20
W/METAL DRAWER 632x1200 832x1200) 1024x17200) 1032x1200) 1420x172020)
405 Pieces F130332 F130338 F130344 F130471 F130473
SPEBIT()
[ e | o W o0
Drawer (Empty) 632x3400) 832x3400) 1024x34(20) 1032x3/4(20) 1/420x3/420)
FO1136 F130333 F130339 F130345 F130472 F130474 E=x
SP10BIT(1)
F4834
METAL c D w w w
x1(20) x1(20) x1(20) 'x1(20) 1/4-20x1(20)
Frousaa Fisosa0 o et " Frouars =
SP14(1)
Fa2374
632x11/2(20) 832x11/2(20) 10-24x11/2(20) 10-32x71-1/2(20) 14-20x1/2(20) Handle/Driver (1)
F130336 F130342 F130348 F130352 30477 F4856
F012700
TAMPER RESISTANT TAPPING SCREWS (SMS) — =
BUTTON HEAD HEX PIN IN STAINLESS (e (s s e
w/ METAL DRAWER sxan o220 oxtac0 F‘B_;r; )
243 Pieces F129607 F129611 F129601
Drawer (Empty) 61220 83A00) 103420 gl
F01136 F129605 F129612 F129603
5/32HexPininBit(1)
Fa188
MIETAL (s r— -
6x3/4(20) 8x1(20) 10x1(20)
F129606 F129608 F120598
S | SRR T =
6x1(20) 8x11/2(20) 10x11/2(20) Handle/Driver(1)
F129604 F129609 F129599 FA856
Copyright © 2023

10-1-82




ASSORTMENTS

Fasteners 1

FASTENERS — TAMPER RESISTANT TAPPING SCREWS (SMS) (CONT.)

F012693

TAMPER RESISTANT TAPPING SCREWS (SMS) —
BUTTON HEAD TORX PIN IN STAINLESS

W/ METAL DRAWER

286 Pieces

Drawer (Empty)
F01136

METAL

F012701

TAMPER RESISTANT TAPPING SCREWS (SMS) —
ROUND HEAD ONE WAY STAINLESS

W/ METAL DRAWER

323 Pieces

Drawer (Empty)
F01136

METAL

F012697

TAMPER RESISTANT TAPPING SCREWS (SMS) —
PAN HEAD SPANNER STAINLESS

W/METAL DRAWER

325 Pieces

Drawer (Empty)
F01136

F012694

TAMPER RESISTANT TAPPING SCREWS (SMS) —
FLATHEAD TORX PIN IN STAINLESS

W/METAL DRAWER

266 Pieces

Drawer (Empty)
FO01136

METAL

— =R~
pre w M M TIOPININBIT(1)
F43634
6x1/2(20) 8x1/2(20) 10x1/2(20) 14x1(20)
F129673 F129678 F129657 F129665 T
TISPININBIT(1)
F4318
[r—. jre— e
6x3/4(20) 8x3/4(20) 10x3/4(20) 14x11/420) T20PININBIT(1)
F120674 F130457 F129658 F129667 41216
] B st
[Ere— e (orreenne m T2SPININBIT()
F41007
6x1(20) 8x1(20) 10x1(20) 14x14/2(20)
F129671 F129675 F129655 F129666
—"
T27PININBIT(1)
F4577
P F
v v
8x11/4(20) 10x11/40) Handle/Driver 1
F129677 F130458 F4856
Doesesie M PUTTTS m
6-8RemoveTool (1)
6x1/2(20) 8x1/2(20) 10x1/2(20) 14x1/2(20) F130446
F130425 F130429 F130434 F130440
4
I s SRR
9
6x34(20) 8x34(20) 10x34(20) 14%3/4(20)
F130426 F130430 F130435 F130441 W
10-12RemoveTool (1)
6x1(20) 8x1(20) 10x1(20) 14x1(20)
F130427 F130431 F130436 F130442
6x1-1/4(20) 8x1/2(20) 10x14/2(20) 14x11/2(20) 1/4(14)RemoveTool (1)
F130428 F130433 F130438 F130444 F130448
) J &
( [ SPGBIT(T)
ﬁm M w w F4329
6x1/2(20) 8x1/2(20) 10x1/2(20) 14x1/2(20)
F130478 F130479 F130371 F130480
N f SP8BIT(1)
i [ Fa90
B \ \
6x3/4(20) 8x3/4(20) 10x3/4(20) 14x3/4(20)
F130362 F129706 F130372 F139705
q SP10BIT(1)
F4834.
' - o aan
PR \
6x100) 8x100) 10x1(20) 14x1(20)
F130363 F130367 F130373 F130481 [
SP14(1)
F42374
A RS 1 A m
\ \
6x1-1/2(20) 8x11/2(20) 10x11/2(20) 14x11/2(20) Handle/Driver(1)
F130365 F130369 F130375 F130483 F4856
) -
” M » | TIOPNINBIT(1)
Fa3634
6x1/2(20) 8x1/2(20) 10x3/4(20) 14x1(20)
F129691 F129697 F129683 F129685 ———
TISPININBIT(1)
F4318
. w —
6x3/4(20) 8x34(0) 10x1(20) 14x117200) T20PININBIT()
F120692 F120699 F129680 F130315 F41216
—
Do w T2SPNINBIT()
F41007
6x1(20) 8x1(20) 10x1-1/4(20)
F129689 F129694 F129681 ———
T27PININBIT(1)
Fas77
8x1-1/4(20) 10x11/2(20) Handle/Driver(1)
F129696 F124959 Fa856
Copyright © 2023

10-1-83




ASSORTMENTS

1 Fasteners

FASTENERS — TAMPER RESISTANT TAPPING SCREWS (SMS) (CONT.)

F012698

TAMPER RESISTANT TAPPING SCREWS (SMS) —

FLAT HEAD SPANNER STAINLESS
W/METAL DRAWER
325 Pieces

Drawer (Empty)
F01136

F03464

PINS STAINLESS — COTTER
EXTENDED PRONG
W/METAL DRAWER

410 Pieces

Drawer (Empty)
F0142

F03475

PINS STAINLESS —
SPLIT 1/16-1/4

W/ METAL DRAWER
725 Pieces

Drawer (Empty)
F0142

F03470

PINS STAINLESS — CLEVIS
3/16-3/8

W/METAL DRAWER

90 Pieces

Drawer (Empty)
F0143

10-1-84

METAL

METAL

METAL

METAL

[ ! SP6BIT(1)
g e |”‘ f Fa329
6x12020) 8x12(20) 10x120) 14x11220)
F130377 F130383 F130389 F130395
SPBBIT(1)
[ F490
|m |w qm [
6x3/4(20) 8x3/4(20) 10x3/4(20) 14x3/4(20)
F130378 F130384 F130390 F130396 &
SPI0BIT()
F4834
I’ " ’
|m W i f
6x1(20) 8x1(20) 10x1(20) 14x1(20) B
F130379 F130385 F130391 F130397 sl
SP14(1)
F42374
6x1-1/2(20) 8x11/2(20) 10x11/2(20) 14x11/2(20) Handle/Driver(1)
F130381 F130387 F130393 F130399 Fa856
== (o C= Co= Com— C
3/16'x3"(10) 316'x2:1/2°(10) 316'%2"(10) 3/16x11/2"(10) 3/16'x1°(10) 5/32'x2-1/2"(20)
F19616 F12144 F15985 F115462 F1630 F13543
= = C— (e (— =
532'x2'(20) 532'11/2"(20) 532'x1(20) 1/8"x2/2(20) 18'x2"(20) 18X 172" (20)
F117409 F110295 FI1175 F114633 F116235 F12030
C= = = C— C e
1/8"x1"(20) 3/32'x2'(25) 3/32'x1/2"(25) 3/32'x1"(25) 3/32'x3/4"(25) 116"x1-1/2" (25)
F117925 F15019 F114734 F113269 F112265 F17695
e o —
116" 1"(25) 16" 3/4"(25) 116" 1/2"(25)
F18564 F117522 F110476
—_— -_— e — E— —
116'x1/2"(50) 116'x5/8" (50) 1/16'x3/4" (50) 3/32'x5/8"(50) 3/32'x3/4(50) 332'x1"(50)
F115190 F15835 F11983 F111030 F19297 F112154
= —— —— —_— L] =
1/8'x1/2°(25) 8'X5/8"(25) 1/8"X3/4"(25) 18'X1"(25) 18X11/2"(25) 5/32'X1/2'(25)
F110437 F11265 F117244 F17594 F113331 F119530
—_— r:75 F——] = = -
5/32'X3/4"(25) 5/32'x1"(25) 5/32'x11/2'(25) 3/16"%1/2'(25) 3/16X5/8" (25) 3/16"x 34" (25)
F15380 F12120 F17302 F113168 F11186 F16495
316"X1"(25) 316X 11/2'(25) 14'X125) VAXIA/225) 14°x2'(25)
F11694 F19889 F14770 F112348 F110900
38'x1°(10) 38"x11/2°(10) 38"x2'(10)
F118016 F115435 F18020
5/16"%3/4"(5) 5/16'x1"(10) 5/16"x 1-1/4"(10) 5/16"x13/4"(5)
F7713 FI13117 Fi11644 F12408
1A' X3/4"(10) 1°x1"(10)
F115984 F116059
3/16'x3/4"(10)
F119362
Copyright © 2023




ASSORTMENTS

Fasteners 1

FASTENERS — PINS STAINLESS (CONT.)

F03482
PINS STAINLESS — DOWEL
1/16-1/4 = e o ]
w/ MFTAL DRAWER 116" 1/8"(15) 16'x1°(15) 332'x1(15) 1/8"x1"(15) 3/16'x1"(10) TX26)
265 Pieces F118407 Fl438 18311 F18400 F18212 F110770
Drawer (Empty) 116 x1/4"(15) 332'x 14 (15) V8" X 14" (15) 3/16"x 1/4"(10) 14X1/2(10)
F0142 F11503 F12935 F114389 F112001 F11196
METAL —_— = = == =
1N6'x1/2"(15) 332'x1/2'(15) 18X 12(15) 3/16'x1/2°(10) 14" x3/4(10)
F110223 F116832 F113692 F115800 F16400
116"x3/4"(15) 332'x34"(15) 1/8x3/4(15) 3/16/x3/4"(10) 1xT(5)
F113318 F118792 F13855 F1893

FASTENERS — RETAINERS STAINLESS

F03434

RETAINERS STAINLESS — RETAINING |

RINGS INTERNAL 1/4-2 0 O 1960 7@
W/ METAL DRAWER Fiia7s Fig0

1/47(10) 112'(5) 34'(5) 1316'0)
89 Pieces F118119 F113466 F113830 F17737
O P ) C ) i
Fi11843
Drawer (Empty) 516°(10) 916'65) 780 1)
F0142 F16455 F117013 F117562 F111638
® o | Q) 0D (s
18111
METAL 3/8"(10) 5/8"(5) 15/16'(2) 13/8"(2)
F114430 F116305 F113515 F118909
O ( ) ( ) 1722
Fi1104
716'(10) 116°(5) e
F116566 F11909 F19928
F05032
RETAINERS STAINLESS — RETAINING ] y
RINGS EXTERNAL 1/4-2 psie)
W/METAL DRAWER 1/4°(10) 12'6) 3/4"(5) 114" (2)
87 Pieces F119363 F116215 F110424 F110818

O

1342
Q F12164
Drawer (Empty) 5/16(10) 916'(5) 7.0 13/8"0)
F0142 F11093 F113036 F115349 F19558
17/8"'(2)
Q F119886
38(10) 5/8(5) 15/16'(2) H/2'Q)
F117220 F18621 F118614 F16438
1916°Q) b}
F114359 F117275
716" (10) 16'6) Q)
F113476 F16609 F17861

FASTENERS — HEX HEAD CAP SCREW METRIC STAINLESS

O

METAL

F03485
RETAINERS STAINLESS — RETAINING
E-STYLE 5/32-3/4 a 1] 4] o
w/ MFTAL DRAWER 332'(10) 18°(10) 964 (10) 5/32'(10)
130 Pieces F110641 F117140 F119982 F1476
) o 1
Drawer (Empty) 31600 73200 ) 5716010
F0143 F11001 F12906 F113495 F118115
METAL n ; ; i ; i i
3/8"(10) 716°(10) 1/2"(10) 5/8"(10)
F12484 F19612 F11653 Finsi7
3/4"(10)
F117003
Copyright © 2023

10-1-85



ASSORTMENTS

1 Fasteners

FASTENERS — HEX HEAD CAP SCREW METRIC STAINLESS (CONT.)

F03294
HEXHEAD CAP SCREW METRIC STAINLESS —
M6-M10 A2 STAINLESS #h h m m A h
w/ MFTAL DRAWER M6x12(10) M6x20(10) M6x25(5) M6X30(5) M6x40(5) M8x12(10)
320 Pieces F13653 F16710 F118796 F115719 F112072 F16260
Drawer (Empty) M8x20(5) M8x25(5) M8x30(5) M8x40(5) MI0x20(10) MI0x25(5)
F0142 F115520 F12150 F14168 F19076 F118262 F116064
METAL M10x40(5) M10x50(5) M6(25) M8 (25) M10(25)
F116337 F114753 F110539 F114069 013
M6(25) M8(25) MI0R5) M6x100(25) M8x125(25) MI0X150(25)
F19477 F115366 F13749 FI671 F13430 F12791
F03295
HEXHEAD CAP SCREW METRIC STAINLESS —
e i o=z e o O e | O
w/ MFTAL DRAWER M6x12(10) M6x20(10) M6x25(5) M6x30(5) M6x40(5) M8x12(10)
250 Pieces F13453 F119427 F112875 F14812 F118548 F11731
Drawer (Empty) M8x20(10) M8x25(5) M8x30(5) M8x40(5) M10x20(10) MI0x25(5)
F0142 F111284 F18784 F113335 F12793 F113297 F119209
‘. .
METAL M10x30(5) M10x40(5) M10x50(5)
F1669 F18654 FI5171
M6(25) M8(25) MI025) M6X100(25) M8x1.25(25) MI0x150025)
F116716 F12022 F13598 Fi17472 F1360 F115587
F03720

HEXHEAD CAP SCREWS STAINLESS —

M5-M12 A2 STAINLESS
W/ METAL BIN MSX8 (50) M (50) M5 (50) MSX80X12 (20) MSX80X20 20) MSX8X25 (20) MSX80X35 (20) MSX80X40 (20)

©
©
[]
[

F14963 F118973 F1675 F116066 F14860 F116038 F1325 F12648
960 pcs

Contains: A2 Stainless Hex Nuts,
Hex Cap Screws, Flat Washers
& Split Lock Washers

©
©
[
[
[
[

M6 (50) M6 (50) MEX1.00X12 (20) M6X1.00X20 (20) MEX1.00X25 (20) MEX1.00X35 (20) M6X1.00X40 (20)
F110539 F19477 F13653 F16710 F118796 F17359 F112972

Size Range: M5 x.80, M6 x 1.0, => @
M8x1.25,M10x 1.5 &M12x 1.75 . ’

f
I
[
I

M8X125 (50) M8 (50) M8 (50) M8X1.25X20 (20) MBX1.25X25 (20) M8X1.25X35 (20) M8X1.25X40 (10) MBX1.25X50 (10)
Bin Dimensions: F13430 F114069 F115366 F115520 F12150 F115154 F19076 F19125
33-3/4"Wx 23-7/8"Hx 12D
Bin Part No. F01112 O Momws | Cowew | Coosw | Dooss | Do
METAL MIOX1S (25) M0 (50) MIO (50) MI0X15%20 (10) MIOX1.5X25 (10) MI0X15X35 (10) MIOX1.5X40 (5) MIOX1.550 (5)
F112791 F11013 F13749 F118262 F116064 F117784 F116337 F114753
MI2X1.75(25) M2 (50) M2 50) MI2X1.75%20 (10) MI12X175%25 (10) MI2X1.75%35 (10) MI2X175X40 (5) MI2X1.75X50 ()
F111935 F112747 F18449 F19905 F114708 F13367 FI133 F18954
F03247
SOCKET PRODUCTS METRIC STAINLESS —
SOCKET CAP SCREWS A2 M2-M6 f==—— | G | [
w/ MFTAL DRAWER M6x40mm (25) M6x35mm (25) M6x30mm 25) M6x25mm (25) M6x20mm (25) M6x16mm(25)
525 Pieces F14383 F1629 F12370 F116275 FI1109 F114095

= | e | o e i e =5 ]

Drawer (Empty) MSx4smm (25) M5x30mm (25) M5x25mm 25) M5x20mm 25) MSx16mm 25) Msx10mm (25)
F0142 F118199 F12659 F118774 F113054 F111481 F16773

T £ [ == =

METAL
M4x25mm (25) M4x10mm (25) M3 x40mm (25) M3x25mm (25) M3x10mm (25) M25x12mm (25)
F116201 F114675 F116321 F117445 F13702 F115686
= = —
M25x8mm (25) M2x10mm (25) M2x5mm (25)
F1M435 Fns1 F14257
Copyright © 2023

10-1-86



ASSORTMENTS

Fasteners 1

FASTENERS — SOCKET PRODUCTS METRIC STAINLESS (CONT.)

F03246
SOCKET PRODUCTS METRIC STAINLESS —
SOCKET CAP SCREWS A2 M8-M24

i

i

W/ METAL DRAWER
97 Pieces M M ) 2 Mi6x20mm @)
F115303 F13554 F18039 F17967 F113929
| Ee (s (oo | §§—5
Drawer (Empty)
F0142 Mi2x40mm @) M12x20mm () Mi2x16mm(s) MI0x35mm(5)
F116308 F110842 F110713 F119848 F110655 F118672
| e | e | (oo | @oooe |G
METAL
M10x20mm(5) M8x50mm (5) M8x30mm (8) M8x25mm (8)
F11367 F13425 F117022 F110663 F118240 F16894
e (7hd =
M8x20mm (8) M8x16mm (8) M8x12mm (8)
F15586 F114656 F117760
F03293

SOCKET PRODUCTS METRIC STAINLESS —

FLAT HEAD SOCKET CAP SCREWS A2 M8-M16 bw tw bm M w w
W/METAL DRAWER ) 5) > M6x25mm (25) M6x20mm 25) M6x16mm (25)
705 Pieces Fi5552 F115023 F110998 F13786 F18919 F18509

Drawer (Empty) M6x10mm (25) o 2 M5x30mm (25) M5x20mm (30) MSx12mm 35)
F0142 F1188 F12048 F111957 F119238 F117505 F16972

MIETAL Prmm— | ey e e

M4x40mm (40) M4x30mm (40) M4x20mm (40) Mdx12mm (40) Max8mm (40)
F119678 F15859 F118724 F112850 F113786

P [ ] [ =

M3x25mm (40) M3x20mm(50) M3x12mm(50) M3x8mm (50)
Fl4152 Fin819 F119158 F1710
F03296
SOCKET PRODUCTS METRIC STAINLESS —
BUTTON HEAD SOCKET CAP SCREWS A2 M3-M8 = [ = e (] =
w/ M.ETAL DRAWER M3x6(25) M3x8(25) M3x10(25) M3x16(25) MA4x8(25) M4x10(25)
390 Pieces F1406 F116313 F13858 F18598 F119036 F118837
== (=] W= b= = (]
Drawer (Empty) Max12(25) M4x16(25) M5x10(25) M5x12(25) M5x16(25) M5x20(25)
F15497 F112041 F12208 F13903 Fi11265 F119067
M6x10(10) M6x12(10) M6x16(10) M6x20(10) M6x25(10) M8x12(10)
F17347 F13602 F117756 F18704 F120105 F17073
MBx16(10) MBx20(10) MBx25(10)
FI11327 F115450 FI11633
F03217
SOCKET PRODUCTS METRIC STAINLESS —
SOCKET SET SCREWS CUP POINT A2 M3-M10 - P i an (-] "
W/METAL DRAWER M3x4x.50(50) Max5x70(50) M5x6x80(50) M6x8x10(50) MBx10x125(25) MI0X12x150(15)
785 Pieces Fl4412 F11352 F11491 F13987 F115501 F15376
- e w L L] D
Drawer (Empty) M3x6x.50(50) Ma4x8x.70(50) M5x10x.80(50) M6x12x10(25) MBx16x125(25) M10x20x1.50(15)
F0142 F17867 F116001 F14519 F118586 F114014 F114348
METAL = e T o i .
M3x10x.50(50) Max12x70(50) MSX16x.80(25) M6x16x10(25) M8x20x125(25) MI0x25x1.50(15)
F112705 F12865 F110555 Fis164 F116104 F11501
- - e e i i
M3x12x.50(25) MAX16x70(25) M5x20x.80(25) M6x20x10(25) M8x25x125(25) M10x30x1.50(15)
F117655 F18951 F112361 F117219 F117423 F112325
Copyright © 2023

101-87



ASSORTMENTS

1 Fasteners

FASTENERS — MACHINE SCREW METRIC STAINLESS

F03297
MACHINE SCREW METRIC STAINLESS —
PHILLIPS PAN A2 STAINLESS M2-M8 - = == Pz e h
W/METAL DRAWER M2x4x.40(50) M3x6x.50(50) M4x8x.70(50) MS5x10x.80(25) M6x12x10(25) MBx16x1.25(15)
860 Pieces Fl18516 F15136 F110823 F112519 F118533 F119926
- - - = I -
Drawer (Empty) M2x6x40(50) M3x8x.50(50) Max10x.70(50) M5x12x80(25) M6X16x10(25) M8x20x125(15)
F0142 F19206 F111922 F14813 F116485 F16265 F110402
METAL = = - = i P
M2x8x40(50) M3x10x.50(50) M4x12x70(50) M5x16x.80(25) M6x20x10(25) M8x25x1.25(15)
F14306 F1781 F115103 F11195 F116800 F12386
p— P o— Sz o M
M2x10x 40(50) M3x12x.50(50) Max16x.70(50) M5x.20x.80(25) M6x25x10(25) MBx30x125(15)
F110406 F111688 F111477 F16015 F12262 F116620
F03248
MACHINE SCREW METRIC STAINLESS —
PHILLIPS PAN A2 STAINLESS M3-M6 D= e ] = = h
wi/ MFTAL DRAWER M3x8mm 25) M3x10mm (25) M3x12mm 25) Max8mm (25) Max10mm(25) Mdx12mm 25)
500 Pieces F18154 F12245 F17446 F17483 F115067 F112806
FE—— i Jrr— = = = -
2WE ( B Y) Max16mm (25) M4x20mm 25) M5x10mm (25) M5x12mm (25) M5x16mm (25) M5x20mm (25)
F0142 F12787 F19349 F112909 F114657 F12767 F113806
METAL ' ‘
M5x25mm (25) M6x 10mm (25) M6x 12mm (25) M6x16mm (25) M6x18mm (25) M6x20mm (25)
F117785 F16752 F117818 F19065 F18670 F1247
M6x25mm (25) M6x30mm (25)
F19615 F19976
F03480
KEYSTOCK METRIC STAINLESS — 12XV2'X12'Q)
18-8551/8-1/2 Fians
W/METAL DRAWER
21 Pieces
3/8"x3/8"x12"(2)
F118032
Drawer (Empty) 5/16'x5/16'x12" (2)
FO1130 Fiae
F12235
METAL
B ]
F110431
1/8"x1/8"x12"(5) = — — = =- ]
F118949
F03481
KEYSTOCK METRIC STAINLESS — BXTB'X12Q)
18-8559/16-7/8 Fi2362
W/METAL DRAWER
8 Pieces
34X T2 Q)
F13627
Drawer (Empty) S/8/X5/8"x 12" (2)
F01130 Flezss
9/16'x9/16"x12" (2)
F15409
METAL

Copyright © 2023
10-1-88



ASSORTMENTS

Fasteners 1

FASTENERS — WASHERS METRIC STAINLESS

F03418
RETAINERS STAINLESS — RETAINING
RINGS E-STYLE M3.2-M12
W/METAL DRAWER
507 Pieces
M33() M27(5) M24(10) M22(10) M20(12) MI8(12)
F114306 F116397 F11458 F17932 F119697 F118224
Drawer (Empty) o o
F0142
Mi6(12) MI4(12) M205) MI0Q5) MB8(30) M6(50)
F116759 F11336 F112747 F11013 F114069 F110539
o] o o o o o
M5 (50) M4(50) M35(50) M3(50) M2.5(50) M2(50)
F118973 F16957 F11369 F11656 F114405 F11095
F03156
RETAINERS STAINLESS — RETAINING
RINGS E-STYLE M3.2-M12
W/SMALL PLASTIC BOX
150 Pieces
Drawer (Empty) 1
F012111
\: TEEEE
\mmn e
PLASTIC
M3205) M6(25) M7(25) M8R5) MO25) M1205)
F12350 F110857 F119705 F119599 F118392 F1264
F05056
RIVETS USA — 1/8-3/16 .
W/ METAL DRAWER — — -~ — — ——
900 Pieces MADE IN Steel Rivet Steel Rivet Steel Rivet Steel Rivet Steel Rivet Steel Rivet
g A 1Bx1/8(50) 1/8X3/16(50) 18X1/4(50) 18x5/16(50) 1/8X3/8(50) 1/8x1/2(50)
F15008 F19141 F13822 F12322 F114328 F110633
Drawer (Empty) Steel Rivet Steel Rivet Steel Rivet Steel Rivet
F0142 3/16x1/8(50) 3/16x1/4(50) 3/16x3/8(50) 3/16x1/2(50)
F19662 F118114 F15245 F19862
METAL Stedl Rivet Steel Rivet Steel Rivet
5/32x1/4(50) 5/32x3/8(50) 5/32x1/2(50)
F118930 F14348 F15486
| sl ol —
| i | S | —y
Lg Flange Steel Rivet Lg Flange Steel Rivet Lg Flange Steel Rivet Lg Flange Steel Rivet Lg FlangeSteel Rivet
18X 1/8(50) UBX1/4(50) I16x1/4(50) 3/16x3/8(50) 316x1/2(50)
F12213 F11627 F113640 F15370 F112857
F03690
RIVETS USA — ALUMINUM - w— pom—" po— S— —
1/8-3/16 o o
W/ METAL DRAWER MADE IN Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet
850 Pi A 18X1/8 (50) 1/8x3/16(50) 1/8x1/4(50) 1/8x5/16(50) 18x3/8(50) 1/8x1/2(50)
leces T XY F118692 F110007 F13713 F114064 F12832 F19863
Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet
Drawer (Empty) 316x1/8(50) 36X 1/4(50) 16x3/8(50) 316x1/2(50)
F0142 F113779 F113384 F11309 F14187
) PR J—" Y
METAL
Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet
5/32x1/8(50) 5/32x1/4(50) 5/32x3/8(50) 5/32x1/2(50)
F115917 F111253 F15674 F115135
Y 4
|
Lg Flange Alum. Rivet Lg Flange Alum. Rivet Lg Flange Alum Rivet
1UBxX1/4(50) H16x3/8(50) 16x112(50)
F116588 F15899 F110486
Copyright © 2023

10-1-89



ASSORTMENTS

1 Fasteners

FASTENERS — RIVETS

F03689
RIVETS — ALUMINUM o cy p— p— m— pam—
1/8-3/16 o o
W/ METAL DRAWER Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet
850 Pieces 18X 1/8(50) 18x3/16(50) UBX1/4(50) 1/8x5/16(50) 1/8x3/8(50) 1/8x1/2(50)
F19262 F110036 F113845 F13527 F18507 F12592
Drawer (Em pty) Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet Aluminum Rivet
F0142 316x1/8(50) 316X 1/4(50) 3/16x3/8 (50) 316x1/2(50) 5/32x1/8(50)
F118730 F114508 F19102 F18426 F112936
pr—) Y Y
METAL Aluminum Rivet Aluminum Rivet Aluminum Rivet Lg Flange Alum. Rivet
5/32x1/4(50) 5/32x3/8(50) 5/32x1/2(50) 1BX1/4(50)
F19252 F118977 F118062 F114926
+ -
.
Lg Fl \! Rivet Lg Fla \! Rivet
316x3/8(50) 3/16x112(50)
F118746 F116737
F03691
RIVETS — ALUMINUM /STEEL . 4 ! . A )
1/8-1/4 U v T T Y
w/ METAL DRAWER Aluminum Rivet 1/8”x 147(50) | Aluminum Rivet 1/8”x1/2”(50) | Aluminum Rivet3/16”x3/8”(50) | Aluminum Rivet316"x 1/2”(50) | Aluminum Rivet 3/16”x34”(50) |~ Aluminum Rivet 1/4”x1/2” (50)
1000 Pieces F12502 F19102 F18426 F13261 F11489
D Ermot J / 4
rawer (Empty) Aluminum Rivet 316°x38°(50) | Aluminum Rivet3/16’x 12”(50) | Aluminum Rivet 316”34 (50) Aluminum Rivet 14”x 34" (50)
F0142 F118746 F116737 F118191
METAL
Steel Rivet 1/8”x 14" (50) Steel Rivet 1/8” 112" (50) Steel Rivet 3/167x3/8"(50) Steel Rivet 3/167x1/2"(50) Steel Rivet 3/16"x 34" (50) Steel Rivet 114" x1/2" (50)
F112757 F113591 F118972 F14447 F111070 F17322
Steel Rivet 3/16"x 38" (50) Steel Rivet 316”x 1/2 (50) Steel Rivet 316"x 34" (50) Steel Rivet 1/4”x3/4” (50)
F114987 F113069 F119331
F03692
RIVETS — STEEL 1/8-3/16 -
W/METAL DRAWER b . - o o — e
900 Pieces Steel Rivet Steel Rivet Steel Rivet Steel Rivet Steel Rivet Steel Rivet
18X1/8(50) 1/8x3/16(50) 1/8x1/4(50) 1/8x5/16(50) 1/8x3/8(50) 18x1/2(50)
F13684 F11252 F112757 F17075 F15107 F113591
Drawer (Empty) Steel Rivet Steel Rivet Steel Rivet Steel Rivet Steel Rivet
FO142 3/16x1/8(50) 316x1/4(50) 316x3/8(50) 3/16x12(50) 5/32x1/4(50)
F19531 F112993 F118972 F14447 F111363
ek i Il ) ol
METAL ‘ ‘ o ’
Steel Rivet Steel Rivet Lg Flange Steel Rivet Lg Flange Steel Rivet Lg Flange Steel Rivet
5/32x3/8(50) 5/32x1/2(50) 18x1/8(50) 1/8X1/4(50) 316x1/4(50)
F15716 F13181 F18996 F116526 F113440
# -
v
Lg Fl teel Rivet L
3/16x3/8(50) 316x1/2(50)
F114987 F113069
F03688
RIVETS — STAINLESS / STEEL
J—Y e | )
1/8-3/16 O =) = oo
w/ MFTAL DRAWER 1/8 Diameter (upto 1/8 Grip) (50) 1/8 Diameter (1/8-3/16 Grip) (50) 1/8 Diameter (3/16-1/4 Grip) (50) 1/8 Diameter (5/16-3/8 Grip) (50)
500 Pieces F11959 F16325 F19762 F1490
Drawer (Empty) 1/8 Diameter (3/8-1/2 Grip) (25) 5/32 Diameter (up to 1/8 Grip) (50) 5/32 Diameter (1/8-1/4Grip) (50) 5/32 Diameter (1/4-3/8 Grip) (50)
Drawer Number F117035 F119620 F119125 F7a74
METAL I i
316 Diameter (upto 1/8 Grip) (50) 3/16 Diameter (1/8-1/4 Grip) (25) 3/16 Diameter (1/4-3/8 Grip) (25) 3/16 Diameter (3/8-1/2 Grip) (25)
F13692 F119772

Copyright © 2023
10-1-90



ASSORTMENTS

Fasteners 1

FASTENERS — RIVETS (CONT.)

F05055
RIVETS — STAINLESS 1/8-3/16
W/ METAL DRAWER .:#—:=. S E— d_
650 Pieces 1/8 Diameter (3/16-1/4 Grip) (100) 1/8 Diameter (5/16-3/8 Grip) (50) 3/16 Diameter (1/16-1/8 Grip) (100)
qﬂ * “\
Drawer (Empty) 3/16 Diameter (1/8-1/4 Grip) (100) 3/16 Diameter (1/4-3/8 Grip) (100) 3/16 Diameter (3/8-1/2 Grip) (100)
F01134 F119066 F15094 F117390
3/16 Diameter (1/2-5/8 Grip) (100)
FI5013
F03694
NUTSERTS — #6-3/8 W/ MANDRELS m ﬁ
ANDTOOL - =
w/ METAL DRAWER 3/8-16 Alum Threadsert(§) 3/8-16 Mandrel (1)
75 Pieces F18421 F19007
—d =
Drawer (Empty) 1/4-20 NutSert 10) 1420 Mandrel () 5/16-18 Alum Threadsert () 5/16-18 Mandrel (1)
FO1136 F116449 F777 F111654
— e - -
>
#1024 NutSert (10) #10-24 Mandrel (1) #10-32 NutSert (10) #10-32 Mandrel (1)
F17547 F119934
#6-32 NutSert (10) #6-32 Mandrel (1) #832NutSert 10) 832 Mandrel (1) Installation Tool (1)
F13465 F1903 F15181 F113031 F116177
F03693
NUTSERTS — RIVET NUTS METRIC B H
w/ToOoL —»
M8 1.25 Steel Nutsert Large M8FItHd. Rivet
w/ METAL DRAWER Flange (10) NutAlum. (10) M8xMandrel (1)
95 Pieces F115036 F19265 F118410
M6x 1.0 Steel Nutsert M6FItHd. Rivet M6FlushRivet w
Large Flange (10) NutAlum. (10) NutAlum. (10) MéxMandrel 1)
Drawer (Empty) Fi274 F116769 F118280 F118143
F01136
METAL M5 80Steel NutsertLarge MSFit Hdl Rivet m
Flange (10) NutAlum. (10} M5 xMandrel (1)
F16386 F110683 F13675
Max7 SteelNutsert MAFHHd.Rivet -»
Large Flange(10) NutAlum. (10) MaxMandrel (1) Instalation Tool (1)
F123463 F112150 F115847 Fl15923
F03695 = - ‘-=—
NUTSERTS — RIVET NUTS INCH 6:32Mandrel (1) M4 Mandrel 1)
&METRICW/TOOL _ F117130 Fi7a47
w/ METAL DRAWER 651““;“‘;3;;‘“" 10) 632NosePiece(l) 8 M4 NosePiece(1)
52 Pieces F18668 F114052
— =-
8-32Mandrel (1) M5 Mandrel (1)
F16433 F17149
Drawer (Empty) Szl ead (10 832 NosePiece(1) | M5 NosePice (1)
F01136 F115794 J F119481
—_— o
1024 Mandrel (1)
’ F12207
METAL 1024 Alum. Flat Head (10) 10.24NesePiece (@) iﬁ,’
F114659 i
1032 Alum. Flat Head (10)
\:1“722 10 1032 Mandrel (1) Installation Tool (1)
Fus77 F16576
Copyright © 2023

10-1-91



ASSORTMENTS

1 Fasteners

FASTENERS — ANCHORS

F012774
ANCHORS — SECURITY PICTURE = =+ + + =
HANGERS
W/METAL DRAWER - =+ =+ + -
501 Pieces
- + + | + E
Drawer (Empty) Secure-T Screw (25) 12-16x 1-1/2 Nylon Flanged Anchor (50) Slide-in Mounting Bracket (50) 8-12x 1-1/4 Nylon Flanged Anchor (50)
F0143 = F130596 + F115852 + F130597 ES F115330 =
METAL =+ + 4 -
. aBds | - L e
Secure-T Screw Wrench (1) Security Slotted Bracket (75) 6x1/2 Phillips Slotted Metal Screw (200) 10x 1-1/4 Phillips Slotted Metal Screw (50)
F130599 F030598 F112970 F13672
F03174
ANCHORS —BANTAM PLUGS -
W/SMALL PLASTIC BOX s \
240 Pieces y 4 S
-
. | 8 | 8
Drawer (Empty) | #6-8x34'(25) #BI0x7/8"(25) #012x1725) N416x11/2°25) 3/8"1/2"Panel (10) 5/8"3/4" Panel (10)
F012112 ! F18038 F13654 F116855 F119838 F15687 F18365
-
PLASTIC
#6x1"(25) #8x1"(25) #10x1"(25) #14x11/2'25) #8x1-1/2"(10) #10x14/2"(10)
F110828 F12496 F14531 F117906 F116747 F12830
F03176
ANCHORS — PLASTICPLUGS
W/SMALL PLASTIC BOX
110 Pieces
= = |
Drawer (Empty) | 1/8"X 1" Yellow (25) 3/16"x 1" White (25) 15/64"x 1"Red 25) 14°X11/2" Green (10) 5/16"x2"Blue(10) 3/8"x2"Orange(10)
F012112 | F115109 F113012 F15258 F11482 F118918 F17902
\ = 1
PLASTIC
#2x1/2"(25) #6x1"(25) #8x1"(25) #10x1-1/2"(10) #14x2"(10) 5/16x2"(10)
F15322 F110828 F12496 F12830 Fin72 F120037
F03180
ANCHORS — PLASTICRIBBED
CONICAL W/SCREWS
W/SMALL PLASTIC BOX
250 Pieces
Drawer (Empty)
F012111
\a o 5
PLASTIC
Yellow Hox1" Blue #ox14° Green #ax12
46-8x7/8"(50) CombostyleSarew(s0) 810-12x11/4°(50) CombosStyleScrew(50) 121416x11/2°(25) CombostyleScrew(25)
F111106 F11370 F115330 F13672 Flis8s2 F11047
Copyright © 2023

10-1-92



ASSORTMENTS

Fasteners 1

FASTENERS — ANCHORS (CONT.)

F03682
ANCHORS — PLASTICPLUG &
CONICAL = ===
W/ METAL DRAWER I8x205) 5/16x2(50) 14x11/2(50)
475 Pieces F17902 F118918 F11482
= - J Em—
Drawer (Empty) 15/64x1(50) 316x1(50) 1/8x1(50)
F0143 F15258 F113012 F115109
METAL 1416x11/2(50) 10-12x150) 810x7/8(50) 6:8x314(50)
F119838 Fi16855 F13654 F18038

F03680
ANCHORS —MUNGO %
W/METAL DRAWER
700 Pieces 3/8”x2-3/8” (50) 5/16"x2" (100) 1/4"x1-3/47 (100)
F14028 F11261 F18882
Drawer (Empty) 5/16"x1-1/2” (50) 1/47x1-3/8”(100) 1/47x1-3/16” (100)
F01134 F15417 F14575 F111559
METAL 3/16"x17(100) 5/32"x3/4” (100)
F115558 F19866
F012793
ANCHORS —TOGGLERS = ES E S + =
W/METAL DRAWER
300 Pieces I= =+ ES ES =
| 1 1 | 1 |
- + T 4 T o E
|
= 3/16(10-24) T 3/16(10-24) T 1420 T 1420 =
Drawer (Empty) Toggler Anchor(25) Toggler Anchor(25) Toggler Anchor (25) Toggler Anchor(25)
F0143 - F117942 4 F117942 4 F118350 1 F118350 |
METAL - + =+ + E
¢ () fu m—
B 10-24x3" T 10-24x4” T 1/420x3" T 1/420x4" N
Round Combination Machine Screw (50) Round Combination Machine Screw (50) Round Combination Machine Screw (50) Round Combination Machine Screw (50)
F123263 F123264 F11651 F123267
F03183
ANCHORS —HAMMER SCREW
W/SMALL PLASTIC BOX
110 Pieces
Drawer (Empty) |
F012111 -
PLASTIC o
i |
14" x3/4" (25) 1/4"x1" (25) 1/4"x1-1/4" (25) 1/4"x11/2" (25) 1/4"x2" (10)
F15679 F13080 F19064 F118092 F15298
Copyright © 2023

10-1-93



ASSORTMENTS

1 Fasteners

FASTENERS — ANCHORS (CONT.)

F03683
ANCHORS — NAILINSTYLE
W/ METAL DRAWER s ] ]
1 30 Pleces 1/4”x 3/4” Nylon Nail (10) 1/4”x1” Zinc Nail (10) 1/4”x 1" Hammer Screw (10) 1/4” x3/4” Plastic Pin (10)
F15053 F112764 F13080 F118005
Drawer (Empty) 1/47x 1" Nylon Nail (10) 147X 1-14 Zine Nail 10) 1/47x1-1/4” Hammer Screw (10)
F01135 F19064
w—— e | et e —d—
1/4”x1-1/2" Nylon Nail (10) 1/4"x1-1/2" Zinc Nail (10) 1/4”x1-1/2" Hammer Screw (10)
F14568
1/4”x2" Nylon Nail (10) 1/4”x2" Zinc Nail (10) 1/4”x2” Hammer Screw (10)
F114156 F118882 F152¢
F03177
ANCHORS —TOGGLE BOLT
W/SMALL PLASTIC BOX
50 Pieces
Drawer (Empty)
F012111
PLASTIC
1/8"x3"(10) 1/8"x4"(10) 3/16"x3"(10) 3/16"x4"(10) 1/4"x3"(5) 1/4"x4"(5)
F110714 F114453 F13251 F119441 F14748 F113428
F03679
ANCHORS — TOGGLE BOLT
W/METAL DRAWER
120 Pieces 1/8"x3" Round Head (10)
Drawer (Empty) 1/8”x4” Round Head (10)
F01134 F114453
METAL
1/8”x3” Mushroom Head (10)
F18019
3/16”x4” Mushroom Head (10) 1/4”x4” Mushroom Head (10)
F110325 F17125
F03167
ANCHORS — WALL HANGERS
W/SMALL PLASTIC BOX
100 Pieces
Drawer (Empty) |
F012111
PLASTIC
E
10LBS(25) 20LBS(25) 30LBS(25) 50LBS(25)
F12305 F118942 F115589 F13668
Copyright © 2023

10-1-94



ASSORTMENTS

Fasteners 1

F03168

ANCHORS — WALL-DOG™ SCREW

W/SMALL PLASTIC BOX
101 Pieces

Drawer (Empty)
F012111

F03673

ANCHORS — WALLBOARD
W/METAL DRAWER

505 Pieces

Drawer (Empty)
F0143

F012811

ANCHORS — WALLBOARD &

SCREWS
W/METAL DRAWER
432 Pieces

Drawer (Empty)
F0143

F03678

ANCHORS — HOLLOW WALL

W/METAL DRAWER
110 Pieces

Drawer (Empty)
F01134

PLASTIC

METAL

METAL

METAL

FASTENERS — ANCHORS (CONT.)

PanHead Chrome (25)

Pan Head White (25)

FI11516 F119811

OvalHead Chrome (25)

OvalHead White (25)

5/32"x4-1/2"
Masonry Drill Bit (1)
F61398

(e

(e

#6x1"(50) #6x 114" (50) #8x114"(50) #8x11/2"(50)
F110828 Fi361 F117966 F116747
‘WallDriver Nylon (25) ‘WallDriver . Nylon (25) ‘WallDriver Zine (25) ‘WallDriver r. Zinc (25)
Fla47 F119860 F11160 F115336

4-6-8x7/8" Super Plastic Plug (50)

TS

8-10-12x 1-1/4” Super Plastic Plug (50)
115330

(FEDON0p

12-14-16x1-1/2” Super Plastic Plug (50)

F115852

T

Legs Hollow Wall 25)
F15464

>
8

Plastic Toggle Plastic Toggle Plastic Toggle
07-1/4” Panel Thickness (10) 3/87-1/2” Panel Thickness (10) J 5/8”-3/4” Panel Thickness (10)
F112004 F18365
| it | Qs
ass Do
Zipit Anchor-Nylon (15) 3/8-1/2PlasticToggle 15) 12-14x1-1/2 Nylon Super Anchor (20) 8x1Phillps Pan Sheet Metal Screw (50)
F129884 F15687 115852

Superfast Mini Anchor- Plastic (25)

5/8.3/4PlasticToggle(12)

=4
»

pmais

Wall Dog Chrome PanHead (35)

F111516

[\

10x1 Phillips Pan Sheet Metal Screw (50)

Zipit Anchor (15)
F129886

6-8x1Nylon Super Anchor (40)

F111106

sttt

Wall Dog Chrome OvalHead (35)

F13989

Voo

10x1-1/2 Phillips Pan Sheet Metal Screw (30)
F128;

v

1EDD

o

[

Superfast Mini Anchor - Zinc (25) 810x1 “Anchor (30) 14x. 14x1-1/2 Phillips Pan Sheet Metal Screw (20)
F115330 F1m172
1/8” Short Drive Pin Type 1/8”S-Long Drive Pin Type
1/8”t01/2” Wall Thickness (10) 1/8”013/16” Wall Thickness (10)
F17760
1/8"X-Short 1/8”Short 1/8"Long.
1/16” to 1/4” Wall Thickness (10) 1/8”t0 1/2” Wall Thickness (10) 5/8”to7/8” Wall Thickness (10)
- N ) iE
1/8”S-Long 1/8”X-Long Short
1/8”t013/16” Wall Thickness (10) 1-1/4” to 1-1/2” Wall Thickness (10) 1/8”t05/8” Wall Thickness (10)
F19015 F16377 F11349
3/16” Long 1/4” Short 1/4” Long
5/8” 0 1-3/16” Wall Thickness (10) 1/8”t0 5/8” Wall Thickness (10) 5/8”to 1-3/16” Wall Thickness (10)
F17234
Copyright © 2023

10-1-95




ASSORTMENTS

1 Fasteners

F03170

ANCHORS — MACHINE SCREWS
W/ SMALL PLASTIC BOX

78 Pieces

Drawer (Empty) |
F012111 !

PLASTIC

F03681

ANCHORS — DROP-IN
W/METAL DRAWER
75 Pieces

Drawer (Empty)
F01131

METAL

F03184

ANCHORS — EXPANSION SHIELDS
W/ SMALL PLASTIC BOX

60 Pieces

Drawer (Empty) |
F012111 |

;..,};;.::.;
PLASTIC

F03674

ANCHORS — EXPANSION & LAG SHIELDS
W/METAL DRAWER

90 Pieces

Drawer (Empty)
F01134

METAL

10-1-96

FASTENERS — ANCHORS (CONT.)

&
1-2005) 144 InstallationTool () 516-18025) 516/ InstalationTool ) 3816025 3/8" Installation Tool (1)
F19107 F13558 F15869 F14729
' ol
14°(25) 38°(5) 12°6) 5/8°6) 3G
F14147 F115827 F16376 F116732 F16344
U Installtion Tool (1) 3/8” Installation Tool (1) 112’ Installation Tool 1) | 5/8” Installation Tool (1) 34” Installation Tool (1)
F18666 F1346
4Single(10) 5/16'Single (10) 3/8Single(10) 14 Double(10) 5/16'Double(10) 3/8"Double(10)
F120581 F120583 F120582 F120569 F120573 F120571

1/4” Single Expansion (10)

5/16" Single Expansion (10)
F120583

3/8” Single Expansion (10)
F120582

14" Double Expansion (10)
F120569

5/16" Double Expansion (10)
F120573

3/8” Double Expansion (10)

1/4x1-1/2" Lag Shield (10)

5/16”x1-3/4” Lag Shield (10)
F1463

3/8”x2-1/2” Lag Shield (10)
F113812

Copyright © 2023




ASSORTMENTS

Fasteners 1

F03186

ANCHORS — CONCRETE SCREWS
SLOTTED HEX WASHER

W/ METAL DRAWER

150 Pieces

Drawer (Empty)
F012111

METAL

F03686

ANCHORS — CONCRETE SCREWS
SLOTTED HEX WASHER
W/METAL DRAWER

151 Pieces

Drawer (Empty)
F01133

METAL

F03684

ANCHORS — CONCRETE SCREWS
SLOTTED HEX WASHER
W/METAL DRAWER

202 Pieces

Drawer (Empty)
F01134

METAL

F012802

ANCHORS — CONCRETE SCREWS SLOTTED
HEX WASHER & FLAT PHIL W/BITS
W/METAL DRAWER

353 Pieces

Drawer (Empty)
F01133

METAL

FASTENERS — ANCHORS (CONT.)

3N16"x 114" (25)
F120553

3/16"x1-3/4" (25)
F120555

3/16"x2-1/4"(25)
F120557

VA" X1V4"(25)
F120535

VA" X2/4"(25)

1/4"x1-3/4" (25)
F120537 F120539

N

3167 x1-14”(25)
F120553

[N

311613047 25)
F120555

Ul RN

3/16"x2-14” (25)
F120557

e

Fr e

e

X114 (25) 14X1304° (25) 14 x2-1/4° 25) Concrete Screw Installation Tool Kit (1)
F120535 F120537 F120539 12290
316'x1-1/4° 25) 3/16'x1-3/4" (25) 3/16"x2-14” (25)
F120553 F120555 F120557
m ST ATETIT

3/16x2-3/4" (25)
F120559

5/32"x4-1/2"(1)
F61398

VA" X1/4"(25)
F120535

14X 134" 25)
F120537

14" x2-1/4” (25)
F120539

Tt

[ e o e

L e =+

1/4"x2-3/4"(25) 3/16”x4-1/2" (1)
F120541 F61494
- 4 4 4 .
5/32"x3-1/2"
- [ + Femomiiies L » + Cabice Tpped il (1) E
F6869

3/16"x1-1/4” 1/4x1-3/4" 147x1-1/4”
= Slotted Hex Washer Screws (50) E= Slotted Hex Washer Screws (50) =+ Phillips Flat Head Screws (25) = =

F120553 F120537 F120503
e —a———

316°x31/2
Carbide Tipped Drill (1)
E F61101 =

W F e et

3/16"x1-34” 14" x2-14” 147X 134" 36" x4-112"
- Slotted Hex Washer Screws (50) Slotted Hex Washer Screws (25) + Phillips Flat Head Screws (25) + Carbide Tipped Drill (1) -
F120555 F120539 F120505 F61494
X1 X230 X2 X234
Slotted Hex Washer Screws 50) Slotted Hex Washer Screws (25) Phillips Flat Head Screws 25) Phillps Flat Head Screws (25)
F120535 F120541 F120507 F120509
Copyright © 2023

10-1-97




ASSORTMENTS

1 Fasteners

FASTENERS — ANCHORS (CONT.)

F013771
ANCHORS — CONCRETE SCREWS TITEN TURBO | iR 1 1 |
HEXWASHERHD B T T T 1
W/METALDRAWER | 1 1 1 |
141 Pieces B T T T 1
L £ L £ a £ n ]
B AX11/4(20) T 1/4x13/4(20) T 1VAx2/4(20) T 1/4x2:3/420) ]
Drawer (Empty) L F132559 1 F132560 s F132561 N F132562 _
F01133
METAL = = = = ﬁ & =
B 3/16x1-1/4(20) T 3/16x1-3/420) T 3/16x2-1/4(20) T 1) 7
F132553 F132554 F132555 F132552
F013770
ANCHORS — CONCRETE SCREWS TITEN TURBO
FLAT TORX&HEXHD | s | s * :
w/ M,ETAL DRAWER 1/Ax1-1/4(20) 1/4x1:3/420) 1/4x2/4(20) 1/4%2:3/4(20)
281 Pieces F132574 F132575 F132576 F132577
3/16x1-1/4(20) 3/16x1-3/4(20) 3/16x2-1/4(20) a an)l I l
Drawer (Empty) F132568 F132569 F132570 F132552
F0143
METAL 1/4x1-1/4(20) 1/4x1:3/420) 1/4x2/4(20) 1/4%2:3/4(20)
F132559 F132560 F132561 F132562
3/16x11/4(20) 3/16x1-3/4(20) 3/16x2-1/4(20)
F132553 F132554 F132555
F013772
ANCHORS — CONCRETE SCREWS TITEN TURBO | 1 1 iR _
FLATTORX B T T T N
W/METALDRAWER | 1 1 1 |
141 Pieces = = = £ _
L Pprrreisstises 1 Perrrrreriies L P i ‘ﬁ i
1/4x11/4(20) 1/4x13/420) 1/4X2/4(20) 1/4x23/420)
Drawer (Empty) L F132574 . F132575 1 F132576 1 F132577 i
F01133
METAL = = o= = ﬁ =
S =+ = =+
3/16x1-1/4(20) 3/16x1-3/4(20) 3/16x2-1/4(20) (1)
F132568 F132569 F132570 F132552
Copyright © 2023

10-1-98



ASSORTMENTS

Fasteners 1

FASTENERS — ANCHORS (CONT.)

F03185
ANCHORS — CONCRETE SCREWS
PHILLIPS FLAT
W/SMALL PLASTIC BOX
150 Pieces
Drawer (Empty)
Fo012111
\am [
PLASTIC
3/16"x1-1/4" (25) 3/16"x1-3/4" (25) 3/16"x2-1/4"(25) 14" X1-1/4"(25) VAX1-3/4" (25) VA"X2-1/4" 25)
F120521 F120523 F120525 F120503 F120505 F120507
F03685
ANCHORS — CONCRETE SCREWS
PHILLIPS FLAT
W/METAL DRAWER
151 Pieces | I '
Dram;%“lig]pty) 6X1L10S) s )
METAL
XL (25) X137 (25) X214 25) Concrete Screw Installation Tool Kit (1)
F120503 F120505 F120507
F03687
ANCHORS — CONCRETE SCREWS
PHILLIPS FLAT m m m
W/METAL DRAWER H16™x 1-14° (25) 3161347 (25) 316"x 214" (25)
202 Pieces F120521 F120523 F120525
Drawer (Empty) 16" X234 (25) 532" xA-12° ()
FO1134 F120527 F61398
METAL X117 (25) X1 (5) X2 (25)
F120503 F120505 F120507
1/4"x2-3/4”(25) ‘3/16")(471/2"(1)
F120509 F61494
F03672
ANCHORS — WEDGE
W/ METAL DRAWER e sy g s L
130 Pieces 147X 1347 (25) X214 (25) VX314 (25)
F122744 F122746 F122748
m@m e IO 4%r-mmurvé!)mmummu
Drawer (Empty) - -
Fo1134 “rioss. “Friooss
T Vkumum
METAL .
12" xd-14"(5) 12"x5-1/2°(5)
F15595 F112923
5/87x3-1/2"(5) a 5/8"x4-1/2"(5)
F1398 F112225
Copyright © 2023

10-1-99




ASSORTMENTS

1 Fasteners

F03570

CHAIN & CABLE — CHAIN LINKS

W/METAL DRAWER
30 Pieces

Drawer (Empty)
F01134

F03569

CHAIN & CABLE — ROLLER CHAIN

REPAIRLINKS
W/ METAL DRAWER
40 Pieces

Drawer (Empty)
F01134

10-1-100

METAL

METAL

FASTENERS — CHAIN & CABLE

ColdShuts 1/2"(2) Cold Shuts 7/16"(2) Cold Shuts3/8"(3)
F14884 F113780 F116230
Cold Shuts 5/16" (3) Cold Shuts 1/4”(3) Cold Shuts 3/16"3)
F1209 F16219 F112775
RepairLinks 1/2"(2) RepairLinks 3/8" (3) RepairLinks 516" (3)
F110202 F111335 F116536
RepairLinks 1/4" (3) RepairLinks3/16"(3)
F119185 F114980
1-800ffsetLink 3/4-60OffsetLink 5/8-500ffsetLink
F110901 F112483 F16459
1/2-40Offset Link 3/8-350ffsetLink
F13886 F18351
1-80Connecting Link 3/4-60 Connecting Link 5/8-50 Connecting Link
F110638 F114251 F113955
1/2-40ConnectingLink 3/8-35 Connecting Link
F112756 F116483
Copyright © 2023




ASSORTMENTS
Electrical 2

ELECTRICAL — TERMINAL & CONNECTOR

F03543
TERMINAL & CONNECTOR — SOLDERLESS NYLON

INSULATED RED (18-22 GA.) O=e= OC== C== C) = Q b= Q E="

W/METAL DRAWER Ring Terminal Ring Terminal Ring Terminal Ring Terminal Ring Terminal Ring Terminal
490 Pieces Red #6(25) Red #8(25) Red#10(25) Red 1/4(25) Red5/16(25) Red3/8(25)
F22466 F21688 F22014 F21839 F21374 F23078
- " —
Tomm ] - —
Drawer (Empty) SnapSpade SnapSpade SnapSpade WirePin
Fo142 Red#5-6(50) Red#8(50) Red#10(50) Red.37x.08(10)
F2764 F23429 F21394 F23091
== | ——— ———
METAL FemaleBullet MaleBulet Female Bullet MaleBullet
Red 180(10) Red.180(10) Red.156(10) Red 156(10)
F23500 F2391 F2413 F22050

== == (& _ * S

Fullinsl Male Quick FullinslFemale Quick MultiStud Butt Connector
DisconnectRed 1/4(20) DisconnectRed 1/4(20) Red #6-8-10(50) Red 1822Ga.(50)
F22555 F22844 F22546
F03544
TERMINAL & CONNECTOR — SOLDERLESS NYLON ¢ fmra] =] a feio] oS =x (’/\ &
INSULATED BLUE (14-16 GA.) \ = @ _ L, : P
W/METAL DRAWER Ring Terminal Ring Terminal Ring Terminal Ring Terminal Ring Terminal Ring Terminal
510 Pi Blue#6(25) Blue#8(25) Blue#10(25) Blue 1/4"(25) Blues/16"(25) Blue3/8"(25)
leces F21395 F21505 F23337 F2571 F21275 F21859
Drawer (Empty) Snap Spade SnapSpade SnapSpade WirePin
Blue#S-6(50) Blue#B(50) Bluei10(s0) Blue.37x.08(10)
F0142 Fn21 F22041 F2334 F22888
e == —p— e
METAL FemaleBullet MaleBulet FemaleBullet MaleBullet
Blue157(20) Blue.157(10) Blue.176(10) Blue 176(10)
F2173 F2811 F23814 F2956
== == e__ ™ p— s
Fullins|Female Quick FulllnsiMale Quick MultiStudRing StepDownButt Butt Connector
Disconnect Blue 1/4"(20) Disconnect Blue 1/4" (20) Blue#6-8-10(50) Blue/Red-PVC (10) Blue 14-16 Ga. (50)
F22605 F22545 F23306 F23207 F22375
F03545
TERMINAL & CONNECTOR — SOLDERLESS NYLON a o.' > @ /) K ) 3
INSULATED YELLOW (12-10 GA.) . — K\\ &
W/METAL DRAWER Ring Terminal Ring Terminal Ring Terminal Ring Terminal Ring Terminal Ring Terminal
370 Pieces Yellow #6(20) Yellow#8(20) Yellow#1020) Yellow 1/4(20) Yellow5/16(20) Yellow3/8(20)
F22512 F21694 F2509 F23880 F2471 F23433
I = hga = < > ]
Drawer (Empty) SnapSpade SnapSpade SnapSpade " RingTemninal
FO142 Yellow#5-640) Yellow#8(40) Yellow#10(40) Yellow1/2(20)
F21982 F21165 F21989 F21462
—
METAL WirePin
Yellow 4612 (10)
2224
— - (@3 | T oo
FulInsl Female Quick Fulllnsl Male Quick MultiStud StepDownButt Butt Connector
Disconnect Yellow 14(10) Disconnect Yellow 1/4(10) Yellow #6-810(40) Yellow/Blue-PVC(10) Yellow10-12Ga. (30)
F23249 E2m3 21556 F21800 21808
F03552

TERMINAL & CONNECTOR — ULTRA f - f ( ) O‘,w
TUFF W/MULTI-STUD RING D= = L o

W/METAL DRAWER QuickDisconnect

QuickDisconnect QuickDisconnect QuickDisconnect Ring Terminal RingTerminal
485 Pieces 2218, 14" Female 25) 2218ga. /4" Male (25) 16-14ga. 1/4" Female (25) 16-14ga. 1/4" Male (25) 16-14ga. 38" Stud (20) 1210ga.1/2"Stud(5)
F23515 F22481 F22569 F23145 F23693 F21653
- W n
o “Sam o) ] O om Q
Drawer (Empty) SnapSpade SnapSpade SnapSpade SnapSpade Ring Terminal Ring Terminal
F0142 2218ga.#65tud (20) 2218ga#105tud (20) 16-14ga. #6.5tud 20) 16-14ga. #105tud (20) 16-14ga. #121/4"Stud (20) 1210ga.3/8" Stud (20)
F2041 F21923 F2820 F2434
2 B v
o) € g Commd Q,}ﬂ
METAL SnapSpade Ring Terminal Ring Terminal RingTerminal
1210ga.#105tud (20) 2218ga. #6-8105tud 25) 16-14ga. #6-8105tud 25) 1210ga. #12-1/4"Stud (20)
F22779 F22844 F23086 F2872
; mmm e =D Chommd L - Cno
ButtConnector ButtConnector ButtConnector RingTerminal Ring Terminal RingTerminal
22184a.(25) 161492.25) 12100a.(25) 22182, #2-4-65ud (25) 16-14ga.#2-4-65tud (25) 1210ga.#6-8-105tud (25)
F2585 F2443 F2375 F21057 F2815

Copyright © 2023
10-2-1



ASSORTMENTS
2 Electrical

ELECTRICAL — TERMINAL & CONNECTOR (CONT.)

F03549

TERMINAL & CONNECTOR — INSULATED
W/METALDRAWER

545 Pieces

Drawer (Empty)
F01137

METAL

F013305

TERMINAL & CONNECTOR — NYLON
INSULATED TERMINALS

W/SMALL PLASTICBOX

501 Pieces

Drawer (Empty)
F012110

PLASTIC

F03546

TERMINAL & CONNECTOR — SOLDERLESS NYLON
INSULATED W/TOOLS

W/METALDRAWER

336 Pieces

Drawer (Empty)
F01136

METAL

F03523

TERMINAL & CONNECTOR — SOLDERLESS
HEAT SHRINK

W/METAL DRAWER

107 Pieces

Drawer (Empty)
F0142

METAL

10-2-2

Do - — omm Ovmm O Opn O
FemalePush-On22-16 MalePush-On 22-16 Butt Connector 22-16 Spade Terminal 22-16 RingTerminal 22-16Red | RingTerminal22-16Red | RingTerminal22-16Red | RingTerminal 22-16 Red
Red(15) Red(15) Red (25) Red (25) 6-8Ring (25) 8-10Ring (25) 1/4"Ring(15) 5/16"Ring(15)
F22555 F2807 F22546 810 F21688 F22014 F21839 F21374
F2868
FemaleBullet 16-14 MaleBullet 16-14Blue(15) | RingTerminal 16-14Blue | Ring Terminal 16-14Blue | RingTerminal 16-14Blue | Ring Terminal 16-14Blue | Ring Terminal 16-14Blue | RingTerminal 16-14Blue
Blue(15) 6-8Ring (25) 6-8Ring (25) 8-10Ring (25) 1/4"Ring (15) 5/16"Ring(15) 3/8"Ring(15)
F22173 F21395 F21505 F23337 F2571 F21275 F21859
[ = o — D [ 2 flove.
FemalePush-On 16-14 MalePush-On 16-14 ButtConnector16-14 | Spade Terminal 16-14Blue| Male Push-On 16-14 Female Push-On 16-14
Blue(15) Blue(15) lue Blue(25)
F22605 F22545 F22375 F23295 F22704
" 1 ] 3
Female Push-On 1210 MalePush-On12-10 ButtConnector 1210 SpadeTerminal 12110 | Ring Terminal 12-10 Yell Ring Terminal 12-10 Yell Ring Terminal 1210 Yell Ring Terminal 12-10 Yellow|
Yellow (10) Yellow (10) Yellow (25) Yellow8-10(15) 8-10Ring (10) 1/4"Ring (10) 3/8"Ring(10) 1/2"Ring(10)
F23249 F21m3 F21808 F22358 F2509 F23880 F23433 F21462
FemSpd (25) FemQd3/16(25) FemSpd. (25) 90" Fem Spade (25) 90" Fem Spade (25) Bullet Female (25)
F FullIns. (110”) Red e Fulllns.Red 1822 = Fulllnsulated 1/4Red e Fullinsulated 3/16 Red + Fullinsulated 1/4 Red ¥ Red 156 B
F21990 F2604 F: F23479 F2377 F2413
5) MaleBullet (25) Step Down Butt (25) FemaleQd3/16"(25) FemaleSpd. (25)
| Red180 1 Red 156 Red 180 1 Blue/Red PVC 1 614 | 1/4Blue
I F23500 T F22050 + F2391 T F23207 T F22007 T
F 90FemSpade(2s) T 90°Fem Spade(25) ¥+ 2! ¥ (25) T 3 MaleBullet (25)
Fullinsulated 1/4Blue Fullinsulated 3/16 Blue Blue.176 Blue.157 Blue.157 Blue.176
F2126 | F25237 F23814 F22173 F2811 F2956 |
Female Spade (25) 90" Fem Spade (25)
FullIns. 1/4 Yellow 10-12 Fullinsulated 1/4 Yellow Multi-Purpose Crimper (1)
F23249 F21710
ButtConnector Multi-Stud Ring Terminal FullIns| Female Quick Fullinsl Male Quick
Yellow 10-12Ga. (25) Yellow #6-8-10(25) Yellow 1/4" (25) Disconnect Yellow 1/4"(15) Disconnect Yellow 1/4"(15)
F21808 F21556 F23880 F23249 F21113
StepDown Butt StepDown Butt
Blue/Red-PVC(10) Yellow/Blue-PVC (10)
F23207 F21800
. ™ R
= © - Crem == ==
ButtConnector Multi-Stud Ring Ring Terminal Quick Disconnect Quick Disconnect
Blue(25) Blue #6-8-10(25) Blue 1/4"(25) Blue Female 1/4"(15) Blue Male 1/4" (15)
F22375 F23306 F2571 F22605 F22545
= =3 (@ Ope= B= ==
ButtConnector Multi-StudRing Ring Terminal Quick Disconnect Quick Disconnect Solderless Terminal
Red (25) Red #6-8-10(25) Red 1/4"(25) RedFemale 1/4" (15) RedMale 1/4"(15) Tool (1)
F22546 F22844 F21839 F22555 F2807 F23604
BlueBullet YellowRing StepDown Butt StepDown Butt
Male(s) 1/2"Stud (5) 16-14t022-18(3) 12100 16-14(3)
F2799 F2266 F22307 F21890
RedRing BlueBullet BlueRing YellowRing YellowButtConn.
#10Stud (5) Female (5) 5/16"Stud (5) 3/8"Stud (5) 12-10(7)
F21068 F21285 F2791 F23215 F2890
Red-Full.Insulated Blue-Full.Insulated BlueRing YellowRing Yellow-Full.Insulated Male BlueButtConn
Male Quick Disc. (5) Male Quick Disc. (5) 1/4"Stud (5) 1/4"Stud (5) Quick-Disc. (5) 16-14GA.(7)
F23167 F21663 F21639 F23662 F22990 F2577
Red-Full.Insulated Blue-Full. Insulated Female BlueRing YellowRing Yellow-Full. Insulated Female RedButtConn.
Female Quick Disc. (5) Quick Disc. (5) #10Stud (5) #10Stud (5) Quick-Disc. (5) 2218GA.(7)
F21691 F23932 F2300 F2382 F278 F22816
Copyright © 2023



ASSORTMENTS
Electrical 2

ELECTRICAL — TERMINAL & CONNECTOR (CONT.)

F012642

TERMINAL & CONNECTOR — OPTI-SEAL
W/METALDRAWER

115 Pieces

Drawer (Empty)
F0142

METAL

F013521

TERMINAL & CONNECTOR — OPTI-SEAL &
HYDRALINK

W/METALDRAWER

120 Pieces

Drawer (Empty)
F0143

METAL

F013308

TERMINAL & CONNECTOR — SOLDER
SHRINK

W/SMALLPLASTICBOX

352 Pieces

Drawer (Empty) ‘
F012110 \tff"“i

F03522

TERMINAL & CONNECTOR — CRIMP
&SHRINK

W/METAL DRAWER

170 Pieces

Drawer (Empty)
F01137

METAL

(o ___ 2

Ot

O

Omm...,

#6RING #8RING #I0RING #6RING #8RING H#I0RING
2218AWG(S) 2218AWG(5) 1614AWG(S) 1614AWG(5)
F25031 F25032 F25033 F25026 F25027 F25028
T4'RNG 5/16’RNG #8RING #I0RNG V4RING 38'RING
16-14AWG(S) 1614AWG(S) 1210AWG(5) 1210AWG(5) 1210AWG(5) 1210AWG(5)
F25029 F25030 F25021 F25022 F25023 F25024
5/16'RNG STPDNBUTT STPONBUTT STPDNBUTT STPDNBUTT BUTTCONN.
1210AWG(S) 2022T02218(5) 2218T016714(5) 16-14T01240(5) 1210T08(5) 1822AWG(10)
F25025 F25037 F25036 F25035 F25034 F23978

e ™ e R
] i T
BUTTCONN. BUTTCONN.
16-14AWG(10) 10-12AWG(10)
F23977 F23976

- ..

s

14-16GaOpti 14-16GaOpti 10-12GaOptis 10-12GaOptiseal Male Disconnect (10)
F25661 F25664 F25660 F25663
i - e 3 2E
W SESE E S - m m
22-14GaHydralink Closed End Cap (10) 18-10GaHydralink Closed End Cap (10) 18-22 Ga Optiseal Female Disconnect (10) 18-22GaOptiseal Male Disconnect (10)
22876 F22044 F25662 F25665
[ — |50 msEpers [ 3
247 i (10) onn.(10) 16-14GaHydralink Butt Conn. (10) 12-10GaHydralink ButtConn. (10)
F2645 F2777 F23706 F21172
L Ll L T
| am _ -
Stepdown Butt (50) Stepdown Butt (50)
24227022118 2218TO16-14 16-14TO12-10 1210708
F25037 F25036 F25035 F25034
th H H Hi H
Optiseal Butt (50) Optiseal Butt (50) Optiseal Butt (50)
1822AWG 1416 AWG 10-12AWG
F23978 F23977 F23976
H th i th H
Micro-Jet Torch (1)
F23177
Multi-Purpose Crimper (1)
el i -
e | BT s | wom B | g, |
Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal
Female Spdinsl.22-18ga. (5) MaleSpdinsl. BulletFemale BulletMale pd L pd pdFully pd
F21691 22-18ga.(5) 16-14ga.(5) 16-14ga.(5) 16-14ga.(5) 16-14ga.(5) 12-10ga.(5) 12-10ga.(5)
F23167 F21285 F2799 F23932 F21663 F278 F22990
T - - -
aammn | Op® | Om® | Om™ | O | Qe g
Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal Stpdwn
ButtConn 12-10ga. (5) Ring#81210ga.(5) Ring#1012-10ga.(5) Ring 1/4"1210ga. (5) Ring 5/16"12-10ga. (5) Ring3/8"12-10ga.(5) Ring 1/2"12-10ga. (5) HtshrkButt
F2890 F23056 F2382 F23662 F21061 F23215 F2266 12-10to16-14ga (5)
F21890
s | DB | omem | OmG® | opmgm | O™ | Omud
Heat Seal Heat Seal Sp Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal Heat Seal
ButtConn 16-14ga. (10) Tong#816-14ga.(5) Ring #6 16-14ga. (5) Ring#316-14ga.(5) Ring#1016-14ga. (5) Ring 1/4" 16-14ga.(5) Ring5/16" 16-14ga.(5) i
F2577 F23066 F2559 F2182 F2300 F21639 F2791
Eommes | Omezm | Omen | Ome™ | cme | Oeem | e | m——"
Heat Seal Heat Seal Sp Seal Heat Seal Heat Seal Heat Seal Heat Seal Stpdwn HtShrk Butt
ButtConn22-18ga.(10) Tong#822-18ga.(5) Ring #622-18ga.(5) Ring#322-18ga.(5) Ring #1022-18ga.(5) Ring 1/4" 22-18ga.(5) Ring 3/8"22-18ga.(5) 16-14t022-18ga (5)
F22816 F22370 F21734 F23761 F21068 F2940 F23053 F22307
Copyright © 2023

10-2-3




ASSORTMENTS
2 Electrical

ELECTRICAL — TERMINAL & CONNECTOR (CONT.)

F03521
TERMINAL & CONNECTOR — HEAT - Om~ m O
SEAL CRIMP o S B . =

W/ METAL DRAWER ButtConnector Female Spade 10-12a Yellow) (30) Male Spade 5/16/Ring Terminal 3/8"Ring Terminal V2RingTerminal
7200Pi 1012a Yellow)50) F278 10122 Yellow) G0) 1012a Yellow) G 101 30 10122 Yellow) G0)
leces F2890 F23560 F21061 F23215 F2266
N Y " - .
- [T s Omm - O 7
Drawer (Empty) ButtConnector FemaleSpade Male Spade 1416 ga 1/4"Ring Terminal 5/16'Ring Terminal 3/8 Ring Terminal
FO142 14162 Bue) (50 141652 Blue) (50) Blue) (50 1 i A
F2577 F23932 F23740 F21639 F2791 F2587
o — L o - O O
METAL ButtConnector Female Spade MaleSpade 1/4RingTerminal 3/8"RingTerminal
182452 Rec)50) 101262 Red) 30 1012gaRec) 30) 101 101
F22816 F21691 F21601 F2940 F23053

F012600
TERMINAL & CONNECTOR — CRIMP
SOLDER SEAL FReEarE | TEEme | -ToE - | O O O
W/METAL DRAWER 2018ButtC 1614ButtCc 1210ButtCc i
155 Pieces F23163 F22706 2248 F20971 F24972 2973
T —— e (pm - Onwiges.. o
2218#85pade(s) 2218MaleDisc(5) 2 Disc5) i
F01 42 ! FIAQS::* ! F25000 F24997 F24965 F24966 F24967
— Ommi | Owmen | D | apmedl | mpeen | Ol
16-141/4Ring(10) " il ! i JeDisc(5) 121048Ring (5)
F24968 F24969 F24981 F24999 F24996 F24959
1210#10Ring (5) 12-101/4Ring (5) 12-10MaleDisc(5) 12-10FemaleDisc(5)
F24960 F24962 F24998
F03158
TERMINAL & CONNECTOR — WIRE CONNECTORS
(WIRE NUTS)
W/SMALL PLASTICBOX
175 Pieces
Drawer (Empty) F
F012111
\: 1305 N
PLASTIC
Gray22-16Gauge (50) Blue 22-16 Gauge (50) Orange: Yellow 18-1 5) Red 181 @
F21995 F2734 F2431 F22575
F03535
TERMINAL & CONNECTOR — WIRENUTS 3M
W/METALDRAWER ; ~
265 Pieces
Wire Connector Red 18-10(25) Wire Connector Yellow 18-10(25) Wire Connector Orange 22-14(25) Wire Connector Blue 22-16 (25)
F25683 25682 F25681 F25680
Drawer (Empty) f
F0143 Wire ConnectorGray 22-16(25) WingWire ConnectorRed 25) WingWire Connector Yellow (25)
F25679 F25677 F25678
METAL i
Spring Connector Blue/Gray (20) Spring ConnectorRed/Yellow (30) SpringConnectorOrange/Blue 40)
F2863 F2876
Copyright © 2023

10-2-4



ASSORTMENTS
Electrical 2

ELECTRICAL — TERMINAL & CONNECTOR (CONT.)

F03534
TERMINAL & CONNECTOR —
METRI-PACK 280 g P
W/METALDRAWER - =
211 Pieces F21095 F23003
—T] s A %
Drawer (Empty) o o g % s
F0143 F2633 F21457 F21851 F21004 F266
=k e oo, il
METAL
@ @ @ @ @
F23283 F21941 F21360 F23027 F2176
@ @ @ © Gl
F22661 F23445 F2836 F23504 F21372
F03532
TERMINAL & CONNECTOR —
WEATHER-PACK e g <=t ==t
W/METALDRAWER o . o o
199 Pieces F22316 F2250 F21954 F21939
s - ¢
Drawer (Empty)
F0143 oo Farest rass
@ @ @ @
F21422 F2am1 F23010 F2898
F21635 F23961 F2768 F2130
F012645 . -, =N
TERMINAL & CONNECTOR — L= AR
DEUTSCH-DTM g - -
W/METAL DRAWER 2Cavity 3Cavity 3Cavity 4Cavity aCavity 6Cavity 6Cavity
140 Pieces Receptade(2) Plug(2) Receptade(2) Plug(2) Receptade(2) Plug(2) Receptade(2)
F25040 F25041 F25042 F25043 F25045 F25046
LR I N
Drawer (Empty) 8Cavity 12Caity 12Cavi ug@ yWedg g Wedgel
F01137 Receptadie(1) Plug(1) F25050 F25052 Receptade(2) F25054 Receptade(2)
F25048 F25049 F25053 F25055
METAL lug i y ,' ug@) i igelockPlug g igelockPlug 1 g
F25056 Receptade(2) F25058 Receptade(2) F25060 Receptade(1) F25062 Receptade(l)
F25057 F25059 F25061 F25063
e —— —— [ S—
SocketC i SodketC ¢ PinC i PinC i 1
AWG5) 1618AWG(25) AWG(5) AWG(25)
F25051 F25064 F25065 F25066
F03539
TERMINAL & CONNECTOR — COPPER f e j
W/METAL DRAWER ‘ 3 } ¥
88 Pieces W0GA 12'5td ) 2MGA 12°0)
F2171 F2886
Qb» | Qi= | Q= | OD= | OD@ O
Drawer (Empty) 6GA 3B'(7) 4GA 38'6) 2GA 38'0) 1GA 3869 10GA 3/8°6) 20GA 38°G)
F0142 F23386 F22461 F22415 F22640 F23319 F21850
= | Obm | ODm | GD>%
METAL £ 4
6GA 5/16'(7) 4GA 516'(5) 2GA 51669 1GA 516°6) 20GA 516'G)
F2805 F22159 F22357 F22411 F22237
acs | D= | Obe ab-
6GA 1/4'(7) 4GA 147 26A 1) 1GA 1/4'(5) 200GA 1/4"(3)
2907 F22309 F22630 F21442
Copyright © 2023

10-2-5



ASSORTMENTS
2 Electrical

ELECTRICAL — TERMINAL & CONNECTOR (CONT.)

F05047

TERMINAL & CONNECTOR — BATTERY LUGS
AND SPLICES HEAVY DUTY
W/METALDRAWER

39 Pieces

Drawer (Empty)
F0143

METAL

F03512

TERMINAL & CONNECTOR — BATTERY LUGS
AND SPLICES HEAVY DUTY
W/METALDRAWER

83 Pieces

Drawer (Empty)
F0142

METAL

F03538

TERMINAL & CONNECTOR — NONINSULATED
BRAZED BARREL (1/0-4/0)

W/METALDRAWER

90 Pieces

Drawer (Empty)
F01135

METAL

F03513

AUTOMOTIVE & FLEET —
BATTERY TERMINALS
W/METAL DRAWER

51 Pieces

Drawer (Empty)
F0143

METAL

10-2-8

2/0GA 3/8"Stud (3)
F23771

F2183

o)

m m s - -
1/0GA 3/8"Stud (3) 0GA 1/2"Stud 3) 0GAB)
F22782 F22658 F2987
12GA 5/16"Stud (3) 12GA 38" S(udﬁ) 12GA 1/2"Stud3) 12GAB)
F23959 F21746 F21474
4GA V/4"Stud(3) 4GA 5/16 Stud (3) 4GA 3/8"Stud@3) 4GAQ)
F22960 F21919 F21853 F2282

] | ¥ :
4GASOLDERGRAY (5) 2GASOLDERGREEN (5) 1GASOLDERPINK (5) 1/0GASOLDERBLACK (5) 2/0GASOLDERORANGE (5) FLUX(1)
F23101 F22184 F21849 F23110 F21584
Ny 1 x e .
") ‘ S | -0
, |
1-22GA5/16"STUD (3) 1-2GA3/8"STUD3) 1-22GA1/2"STUD3) 1-2GASPLICE(3) 1/0GASPLICE(3) 2/0GASPLICE(3)
F23959 F23: F21746 F21474 F2987 F2183
Qo | Qe | Qs | s | OO
4GA1/4"STUD(3) 4GA5/16"STUD(3) 4GA3/8"STUD(3) AGASPLICE(3) 1/0GA1/2"STUDB) 2/0GA1/2"STUD(3)
F22960 F21919 F21853 F2282 F22658 F22319
apsi | Qpm | (b= Qwa | Qi
6GA1/4"STUD (5) 6GAS5/16"STUD(5) 6GA3/8"STUD (5) 1/0GA3/8"STUD(3) 2/0GA3/8"STUD(3)
F22831 F2866 F22291 F22782 F23771

=

=

F2139

2/0Ring Terminal 1/4" Stud (5)
F22189

2/0Ring Terminal 5/16” Stud (5)
F22363

2/0Ring Terminal 3/8” Stud (5)
F2353

1/0Butt Connector (5) 1/0Ring Terminal 1/4” Stud (5) /0Ring Terminal 5/16Stud (5) 1/0Ring Terminal 3/8" Stud (5) 1/0Ring Terminal 1/2" Stud (5)
2174 F23307 F22283 F2306

2/0ButtConnector (5) 2/0Ring Terminal 1/2" Stud (5)
F21784

3/0Butt Connector (5)
F2371

3/0 RlngTerm\nalS/’lS Stud(5)

3/0RingTerminal /8" Stud (5)
F2728

]

3/0Ring Terminal 1/2"Stud (5)
F21196

4/0Butt Connector (5)
F21717

=

4/0Ring Tevrnlnal 3/8" Stud (5)

4/0Ring Terminal 1/2"Stud (5)
F21357

Qe

4/0Ring Terminal 5/8" Stud (5)

ELECTRICAL— AUTOMOTIVE & FLEET

HDPostType 1/0+(5)
F2452

HDPostType1
&2ga+(3)
F23151

HDPostType1
&2ga.Neg.3)
F21282

d HDPostType 1/0-(5)
F2405

el
=Cl
&1

HDPostType2/0+(3) HDPostType 2/0-(3) HDPostType4ga.(3)
F22877 F21229
u Universal Marine Type . "
Iniversal Top Mount (4) 516'4) SideMount3/8" (4)
F23190 Y F2299
u ﬁ Side Mount Battery Bolt (4) Bolt5/16-18x1-1/4"
F22701 W/Nut(10)
F2789
Copyright © 2023




ASSORTMENTS

Electrical 2

ELECTRICAL— AUTOMOTIVE & FLEET (CONT.)

F03749

AUTOMOTIVE & FLEET —
MINIATURE-AUTOMOTIVE
W/METALDRAWER

120 Pieces

Drawer Cabinet

(Empty)
F01101

F03163

FUSE & BREAKER — BLADE TYPE
(ATO/ATC & MINI)

W/SMALL PLASTICBOX

90 Pieces

Drawer (Empty)
F012113

PLASTIC

F03640

FUSE & BREAKER — BLADE TYPE ATC, MINI, MAXI
W/METALDRAWER

200 Pieces

Drawer (Empty)
F0142

METAL

F03642

FUSE & BREAKER — ATO/ATC, MINI®, MAXI®
W/METAL DRAWER

300 Pieces

Drawer (Empty)
F01135

METAL

=0

#1157(10) #1156(10) #1157A(10)
F23173 F22238 F23439
- o J:y +
#2057(10) a’{iﬁ\\. #3157(0) 1 -
F22819 e F22579 2 JVA
o
e o 2
#2057A(10) #3157A(10) #3156(10)
F2627 F22485 F22157
#67(10) @\
F22066 . N
= - =
) P i
#194(10) #89(10) _— #906(10)
F23405 F2357

ELECTRICAL— FUSE & BREAKER

W E Ll ] as
ATC3AMp(5) ATC4Amp(5) ATCSAmp(5) ATC75Amp(5) ATCT0AMP(5) ATC15Amp(S)
F23444 F259 F22001 F22599 F22359 F2329
e B
| I W B 0N
= | 12y ¢
L Ik vV ¥ v v
ATC20Amp(5) ATC25Amp 5) ATC30Amp(5) Mini3Amp (5) Mini4Amp (5) Mini5Amp (5)
F21884 F22534 F23088 F21116 F22088 F22366
LS (m i LS
; by Vi |
Mini 75 Amp (5) Mini 10Amp(5) Mini15Amp(5) Mini20Amp 5) Mini25Amp(5) Mini30Amp(5)
F22989 F2518 F21291 F23820 F2191 F23947

ELECTRICAL— FUSE & BREAKER

MiniFuse 2 AMP(10)
F21116

A

MiniFuse 3 AMP (10)

MiniFuse4 AMP (10)
F22366

MiniFuse5 AMP (10)
F22989

MiniFuse 7.5 AMP (10)

MiniFuse 10AMP(10)

F21291
H H
MiniFuse 15AMP (10) MiniFuse 20 AMP (10) MiniFuse 30 AMP(10) MaxiFuse 20AMP MaxiFuse 30AMP MaxiFuse 40 AMP
F21760 F21146

ladk Violet (10) BladeFuse 4 AMPPink(10) BladeFuse’5 AVMPTan (10) BladeFuse75 AMPBrown (10)
F23009 F2922 23444 F22001 F22599
m iy
= ‘_
BladeFuse 10AMP Blade Fuse 15 AMP Blade Fuse 20AMP BladeFuse 25AMP BladeFuse 0AMP LtGreen(10) BladeFuse40AMP
Red(10) LtBlue(10) Yellow (10) Natural(10) F23088 Orange(10)
F22359 2329 F21884 F22534 F22765

Mini® 25 AMP (Natural) (25)

Mini® 7.5 AMP Brown) (10)
F22989

ATO/ATC 25 AMP (Natural) (25)
F22534

ATO/ATC75 AMP (Brown) (10)
F22599

) ]
Maxi™50 AMP (Red) (10)

)

Mini® 20 AMP (Yellow) (25)
F23820

Mini® 5 AMP (Tan) (10)
F22366

ATO/ATC 20 AMP (Yellow) (25)

ATO/ATC 5 AMP (Tan) (10)
F22001

F23009

Maxi™40 AMP (Orange) (10)
F21146

Minie 15 AMP (Light Blue) (25) Mini®2AMP Gray) (10) ATO/ATC 15 AMP (Light Blue) (25) ATO/ATC2AMP (Gray) (10) Maxi™20 AMP (Red) (10)
F2657 F2329 F23155
|} |
Mini® 10AMP (Red) (25) ATO/ATC10AMP (Red) (25) ?;“Kﬁ:?;‘;ﬁ?gﬁ;;
F22359 F22431
Copyright © 2023

10-2-7




ASSORTMENTS
2 Electrical

F05051

FUSE & BREAKER — MAXI®, MINI®, AGC,
ATM & ATO/ATC

W/METALDRAWER

126 Pieces

Drawer (Empty)
F01137

METAL

F013293

FUSE & BREAKER — MCASE PLUS™
W/METALDRAWER

42 Pieces

Drawer (Empty)
F01134

METAL

F03636

FUSE & BREAKER — GLASS AGC
&SFE

W/METALDRAWER

200 Pieces

Drawer (Empty)
F0142

METAL

F013492

HEAT SHRINK TUBING —BLACK 6”
W/METALDRAWER

42 Pieces

Drawer (Empty)
F01134

METAL

10-2-8

ELECTRICAL — FUSE & BREAKER (CONT.)

MAXI™ 20AMP () MAXI™30AMP (1) MAXI™40AMP (1) MAXI™50AMP (1) MAXI™60AMP (1) MAXI™80AMP (1)
F2115 F21760 F21146 F23009 F2922 F23363
ATO/ATC3AMP (5) ATO/ATCSAMP (5) ATO/ATC75AMP (5) ATO/ATC 10AMP(5) ATO/ATC 15 AMP(5) ATO/ATC 20AMP (5) ATO/ATC25AMP(5) ATO/ATC30AMP (5)
F23444 F22001 F22599 F22359 F2329 F21884 F22534 F23088
=3 —_—
m m | m ) 5] m
vy vy vy v v vy
MINIP3AMP(5) MINFSAMP(S) MINI*75AMP(5) MINI® 10AMP (5) MINI®15 AMP (5) MINI®20AMP(5) MINI®25AMP(5) MINI®30AMP(5)
F21116 F22366 F22989 F2518 F21291 F23820 F21191 F23947
—= ] 5= B | B8 8 - = = =d | ==
AGC3AMP (5) AGCSAMP (5) AGC75AMP(5) AGC10AMP (5) AGCI5AMP(5) AGC20AMP (5) AGC25AMP(5) AGC30AMP (5)
F23020 F22985 F21917 F2373 F21583 F21349 F21659 F2418
MCASE+™32V Slotted 15AMP Gray (6) MCASE+™32V! 20AMPBlue(6) MCASE+™32VSlotted 25 AMPWhite (6)
F25626 F25628 F25630
MCASE+™32V Slotted 30AMPPink(6) MCASE+™32VSlotted 40AMP Green(6) MCASE+™32VSlotted SOAMPRed 6)
F25632 F25633 F25635
MCASE+™32V Slotted 60AMP Yellow(6)

a—n 2B a—n [ B ] == —-—pr
AGC2AMP(10) AGC3AMP(10) AGC4AMP(10) AGC5AMP(10) AGC6AMP(10) AGC7-1/2AMP(10)
F22478 F23020 F23564 F22985 F22024 F21917
=0 _=—n - [ 0 L —— | ———
AGC10AMP(10) AGC15AMP(10) AGC20AMP(10) AGC25AMP(10) AGC30AMP(10) AGC3SAMP(10)
F2373 F21583 F21349 F21659 F2418 F2580
[F=="1 -
AGC40AMP(10) SFE4AMP(10)
F2631 F21514
[ = o= [ =] =—=a i [ =—0 ]
SFEGAMP(10) SFE7-1/2AMP(10) SFE9AMP(10) SFET4AMP(10) SFE20AMP(10) SFE30AMP(10)
F23142 F22233 F23797 F23605 F23728 F23352

ELECTRICAL — TUBING/HEAT SHRINK

ShrinkTube 1”(6)
F25710

ShrinkTube3/8"(6) ShrinkTube 1/2”(6) ShrinkTube3/4”(6)
F25722 F25712 F25720
ShrinkTube 1/8"(6) ShrinkTube3/16"(6) ShrinkTube 1/4"(6)
F25716 F25718 F25714

Copyright © 2023




ASSORTMENTS
Electrical 2

ELECTRICAL — TUBING/HEAT SHRINK (CONT.)

F013493
HEAT SHRINKTUBING —RED 6"
W/METAL DRAWER
42Pieces
Drawer (Empty) ) »
Fo1134 i
METAL o PO Vo O
ShrinkTube 3/8”(6) ShrinkTube 1/2"(6) ShrinkTube 3/4”(6)
771.6.9381 77169121 77169341
ShrinkTube 1/8”(6) ShrinkTube3/16"(6) ShrinkTube 1/4”(6)
771.6.9181 771.6.93161 77169141
F03653
w/ MEI'AL DRAWER 1/2"Shrink Tubing (10)
85 Pieces Fzm
3/8"Shrink Tubing (15)
F22401
e e e, e L R e e o)
Drawer (Empty)
1/4" Shrink Tubing (15)
F01130 st FuTmng 15
[ A S|
3/16"Shrink Tubing (15)
METAL 2
ey
1/8" Shrink Tubing (15)
F21036
3/32"Shrink Tubing (15)
F21468
F03652
HEAT SHRINK TUBING — HEAVY DUTY
W/METALDRAWER
50 Pieces 34" HD Shrink Tubing (5)
F2737
Drawer (Empty) e Srhz':r:gmng °
= —
3/8"HD Shrink Tubing (10)
F2199
METAL | S ———— R ]
1/4”HD Shrink Tubing (10)
F21624
3/16"HD Shrink Tubing (10)
F21607
e R PR,
1/8"HD Shrink Tubing (10)

ELECTRICAL — WIRE MANAGEMENT

Fosee7 P
WIRE MANAGEMENT — WIRE TIES

TY-RAPS®-BLACK 134 (x270°(W) MaximumBundle Dia:35" (20)
W/METAL DRAWER e

380 Pieces T ————————

14.20"(1)x.184"(W) Maximum Bundie Dia:4" (30)
F2365

#

11.40"()x.184" (W) MaximumBundle Dia:3" (30)

e — 111

731"(x184"(W) Maximum Bundle Dia:1.75"(100)
F221

T ——— e —— T

5.50"(L)x.140"(W) Maximum Bundile Dia: 1.125"(100)
F22048

Drawer (Empty)
F01130

S

362"(1)x.091"(W) Maximum Bundle Dia: 625" (100)

Copyright © 2023
10-2-9



ASSORTMENTS
2 Electrical

ELECTRICAL — WIRE MANAGEMENT (CONT.)

F012958 5 ®
WIRE MANAGEMENT — WIRE |
TIES 7” FLUORESCENT COLORS
W/METAL DRAWER
1000 Pieces
Drawer (Empty)
F01131
METAL
1/8"x 7" Fluor Pink Tie (200) 1/8"x7"Fluor Green Tie (200) 1/8"x7" Fluor Orange Tie (200) 1/8"x7" Fluor Yellow Tie (200) 1/8"x 7" Prem White Tie (200)
F25448 F25449 F25450 F25451 F21328
F03665 =
WIRE MANAGEMENT — WIRE
TIES-BLACK 4" Black Wire Tie (200)
W/METAL DRAWER £
600 Pieces 0=
14x5-3/4" Black Wire Tie (100)
F24043
pr
Drawer (Empty)
75" Black Wire Tie (100)
FO1130 KW T
loc=m . TR e R o el
11-1/4" Black Wire Tie (100)
METAL
Bl e e e B
14-1/2"Black Wire Tie (50)
.30x 15" Black Wire Tie (50)
F03160
WIRE MANAGEMENT — GROMMETS
RUBBER (INCH)
W/SMALL PLASTICBOX
90 Pieces
Drawer (Empty) 3/16"x5/16"x7/16"(10) 1/4"x3/8"x9/16"(10) 5/16"x7/16"x5/8"(10) 3/8"x1/2"x5/8"(10) 3/8"x5/8"x7/8"(10) 3/8"x5/8"x7/8"(10)
F012112 1625 F2160 F23665 F21354 F22509
PLASTIC
1/2"x5/8"x13/16"(5) 1/2"x3/4"x7/8" (5) 1/2"x3/4"x1"(5) 5/8"x7/8"x1-1/8"(5) 5/8"x7/8"x1-1/8"(5) 3/4"x1-1/16"x1-3/8"(5)
F22390 F23786 F2541 F23813 F22663 F22941
F03159
WIRE MANAGEMENT — GROMMETS
RUBBER (METRIC)
W/SMALL PLASTIC BOX
105 Pieces
Drawer (Empty)
F012111
PLASTIC
6x10x13(25) 9x11x16(25) 10x13x18(25) 12x20x25(10) 16x24x30(10) 21x31x38(10)
F23043 F23698 F23590 F2800 F22880 2177
Copyright © 2023

10-2-10



ASSORTMENTS
Electrical 2

F03550

WIRE MANAGEMENT — GROMMETS
RUBBER (INCH)

W/METAL DRAWER

165 Pieces

Drawer (Empty)
F01134

F03551

WIRE MANAGEMENT — GROMMETS
RUBBER (METRIC)

W/METAL DRAWER

275 Pieces

Drawer (Empty)
F01134

F03625

TOOLS — ELECTRICALTOOLS
W/METALDRAWER

108 Pieces

Drawer (Empty)
F01133

METAL

METAL

ELECTRICAL — WIRE MANAGEMENT (CONT.)

1/4"x3/8"x9/16" 35)
F21625

5/8"x7/8"x 18" (15) 1/2X5/8x 13/16"(15) 3/8"X1/2'x5/8" (30)
F23813 F22390 F23665
3/16'X5/16'x7/16"(35) 18" 1/4"x11/32" 35)

(50) (50) (50)
F21154 F23068 F23043
(50) (25)
F23698 F23590
(25) (10)
F2800 F22880

177

(10)
F22290

ELECTRICAL — TOOLS

—
0
F215%

i

[V}

|/

[V}
F2973

|

()
F21539

- = —

ContactTool (1)
F21142

Crimping/Cutting Tool (1)
F23722

60/40 Rosin Core Solder (1)
Fa1211

Stripper/CutterTool 1
F22128

WireTie 11-1/4"(100)
F24051

Copyright © 2023

10-2-11




ASSORTMENTS
2 Electrical

Copyright © 2023
10-2-12



ASSORTMENTS

Shop Supplies 4

SHOP SUPPLIES — HAND TOOLS USA

F03621
HAND TOOLS USA —HEX KEY WRENCHES | 1 1 1 |
W/METALDRAWER B T
i 1050 (Short) (20) l 7/64" (Short) (20) 3/16" (Short) (10)
177 Pieces MADE IN = FM067 == Fa17 ES F41681 E= =
5 1/16'(short) (20) + 178" (short) 20) =+ 7732 (Short)10) =+ 38" (shor)9) E
Drawer (Empty) Fa1622 F41589 F4140 F4282
F01133 | 1 1 1 ]
METAL 5/64 (Short) 20) L 9/64"(Short) (10) 14" (Short)(5)
= F4319 = F41099 =+ F41073 == =
— 3/32"(Short) (20) F 5/32"(Short)(10) T+ ‘ 5/16" (Short) (5) ‘ 1/2"(Short) 2) :
‘ Fa1373 l F41301 Fa146 F4137
F03620
HAND TOOLS — HEX KEY WRENCHES -
IMPORT (METRIC) 25MM (Short) 20)
W/METALDRAWER Fase
87 Pieces
3MM (Short) (20) 5MM (Short) (10) 8MM (Short) (5) 12MM (Short) (5)
F4729 Fa1707 Fas7 F41544
Drawer (Empty) '
F01133
METAL
4MM (Short) (10) 6MM (Short) (10) 10MM (Short) (5) 14MM (Short) (2)
Fa264 Fa874 Fas21 F41020
F012733
HAND TOOLS —HEX BITS / DRIVERS N
W/METAL DRAWER E—— = = tin
60 Pieces = 76'x29/16" #5-6Slotted PowerBit
Phillips#1x115/16"(3) Phillips#2x1”(3) T20Torx(3) Magnetic Hy it 3"(1) i w/Finder (3)
F4271 F41561 F41359 F4855 F4524 F43893
o S |(SO—— BEIES gaa e
Drawer (Empty) 1/4"x2-9/16" Magnetic #6-8Slotted Power Bit
Phillips#2x1-15/16"(3) Phillips#3x1”(3) #1x2"3) NutSetter(1) Slotted#6-8(3) wiFinder (3)
F0142 Ipst:ﬂﬂ ITLQ; SquaFr:SO); F41335 F41522 F43894
e = | gE— v s oy o
METAL 5/16"x2-9/16" MagneticNut 6-8Slotted Power Bit
Phillips #3x1-15/16"(3) TI0Torx(3) Square#2x2"(3) Setter(1) Slotted#8-10(3) wiFinder (3)
F4456 F4600 F4196 Fa1254 F4426 F43892
o &= S ﬂ [, |
3/8"X2-9/16" Magnetic lQuick Change Chuck Adapter (1)
Phillips#1x1"(3) TISTorx(@) Square#3x2" () NutSetter(1) Slotted#10-12(3) Fane3
Fa181 F4566 F41405 F4843 F4938
F012760 - H T ‘ H " H -
HAND TOOLS — POWERBITS
W/METAL DRAWER SLOTIEDFONERSI 200!
30 Pieces H H y H
.‘ -
PPOWERHEXBITDRILLADAPTER(1) 5/16x2-3/4SLOTTEDPOWERBIT (2)
I F41163 - n o
Drawer (Empty) = —d B et
Fo1 132 PHILPOWERBIT#1x1-15/16"(2) PHILLIPSPOWERBIT#1 (2) PHILPWRBIT #1x6”"LONG(2)
Fa271 F4303 F4128
PHILPOWERBIT#2x115/16"(2) PHILLIPSPOWERBIT#2(2) PHILPWRBIT#2x6’LONG 2)
METAL e " | i ‘ " Fas
o g ——ea, S E——
PHILPOWERBIT#3x1-15/16"(2) PHILPWRBIT #3x2-3/4"LONG(2) PHILPWRBIT #3x6"LONG (2)
" " ; Faess 1 " F41069 "
1/4x2-1/8MAGBITHOLDRADAPTR(1) 'MAGNETICHEXBITHOLDER3"(1) 'MAGNETICHEXBITHOLDER6"(1)
m 895 m Fapps m m
Copyright © 2023

10-4-1



ASSORTMENTS
4 Shop Supplies

F012820

HAND TOOLS — TAMPER RESISTANT
INSERT BITS

W/METALDRAWER

38Pieces

Drawer (Empty)
F0142

METAL

10-4-2

SHOP SUPPLIES — HAND TOOLS (CONT.)

. [ T —
e Chex Sl = =K
#4x1" #6x1" #8x1" #10x1" #2x1" 1/4x1"
] " ! ] !
Fa173 F4329 F490 F4834 F43872 F42374
SR~ SR — = —_— —
ToTorx® Security T10Tor® Security T15Tonc® Security T20Torx" Security T25Tonc® Security T27Torx® Security
InsertBit(2) InsertBit(2) InsertBit(2) InsertBit(2) InsertBit 2) InsertBit(2)
F43871 F43634 F4318 F41216 F41007 F4577
T30Tonx" Security T40Torx® Security 332 ”m 5/32 316
InsertBit(2) InsertBit(2) ity Bi it Hex-Lock DriverBit(2) HexSeaurityBit(2)
F41440 F41192 F44139 F42373 F4188 F42399
7132
HexSecurityBit(2)
F43539
Copyright © 2023




ASSORTMENTS

Abrasives 5

F013331

FLAP DISC—TYPE 27 SHOPPRO
W/METAL DRAWER

10 Pieces

Drawer (Empty)
F01133

F013333

FLAP DISC — TYPE 27 SHOPPRO
W/ METAL DRAWER

10 Pieces

Drawer (Empty)
FO1133

F013335

FLAP DISC — TYPE 27 SHOPPRO
W/METAL DRAWER

8Pieces

Drawer (Empty)
F01133

F013330

FLAP DISC — TYPE 29 SHOPPRO
W/ METAL DRAWER

10 Pieces

Drawer (Empty)
F01133

METAL

METAL

METAL

ABRASIVES — FLAP DISC

Flap Disc4-1/2x5/8-11 36G 2)
F51392

Flap Disc4-1/2x5/8-1160G (2)
F51394

Flap Disc4-1/2x5/8-1180G (2)

N\
e
'

son s i
Ll

FlapDisc4-1/2x5/8-11 120G (2)

FlapDisc4-1/2x7/836G(2)
F51401

FlapDisc4-1/2x7/840G (2)
F51402

FlapDisc4-1/2x7/860G(2)
F51403

FlapDisc4-1/2x7/880G(2)
F51404

FlapDisc4-1/2x7/8120G(2)
F51405

[T
e

Ll

41/2x5/811XL40G (2)
F51406

41/2x5/811XL60G(2)
F51407

s
)|

1

L

41/2x5/811XL80G (2)

41/2x5/811XL120G(2)
F51408 F51409

stagpro

41/2x5/8-1136G(2)
F51418

4/2x5/81140G(2)
F51419

41/2x5/8-1160G(2)
F51420

4-1/2x5/8-1180G(2)
F51421

41/2x5/811120G(2)
F51422

Copyright © 2023

10-5-1




ASSORTMENTS

5 Abrasives

ABRASIVES — FLAP DISC (CONT.)

F013463

FLAP DISC — TYPE 29 SHOPPRO - +
W/METAL DRAWER

10 Pieces - +

Drawer (Empty) B FlapDisc4-1/2x7/836G(2) ] FlapDisc4-1/2x7/840G (2) ) FlapDisc4-1/2x7/860G (2) T
F01 133 | F51427 1 F51428 1 F51429 1
FlapDisc4-1/2x7/880G(2) FapDisc4-1/2x7/8120G(2)
F51430 F51431
F013334
FLAP DISC — TYPE 29 SHOPPRO = + +
W/METAL DRAWER
8 Pieces - + +

41/2x7/8XL40G (2) 4-1/2x7/8XL60G (2)
F51432 F51433 F51434 F51435

41/2x7/8XL120G(2)

Drawer (Empty)
F01133

ABRASIVES — GRINDING WHEEL

F03750

GRINDING WHEEL — TYPE 27
W/METAL BIN

23 Pieces

Contains: 5/8" & 7/8" Arbor Zirconia Grinding Wheels @ é
Bin Dimensions: — — — E—

16"Wx 8"H 18-3/8"D 412XV (5) 212x1/45/811 (5) 412X1/BXS/811 (5)
F5125 F5728 Fs752

Drawer (Empty)
F03130 METAL
e —
41/2X1/4X7/8 (@) 41/2X045X7/8 (4)
F5341 F5760
F03658
QUICK CHANGE — SURFACE CONDITIONING B
CLEAN & STRIP T
W/METAL DRAWER
23 Pieces T
2Disc(5) =
F5434
Drawer (Empty) T 3"Disc(s) = 3'Disc(5) T 4'x1/2'Disc(2)
F5417 F5158 F5631
FO1133
BrakeHubDisc(2) T = +
METAL F5589
4x1/2" Adapter (1) T DiscHolder (1) T 2"DiscHolder(1) T 3"DiscHolder(1)
F5410 F5333 F5588 F5284

Copyright © 2023
10-5-2



ASSORTMENTS
Cutting Tools 6

CUTTING TOOLS — RECIPROCATING BLADES

F03161 -
RECIPROCATING BLADES — RECIPROCATING I ,
BLADES
W/ SMALL PLASTIC BOX it
18 Pieces [
3 m
2
: 2
Drawer (Empty) )
FO12111 §§'§ =
3 i
IR : iﬂs
b 3
PLASTIC i j E!
; L
3 ;
6"x6TPI(3) 6"x10TPI(3) 6" 14TPI(3) 6"x18TPI(3) 6"x24TPI(3) 6"x1014TPI(3)
F6955 F6826 F6582 F6442 F6608 F61348
F05048 -
RECIPROCATING BLADES — RECIPROCATING |
BLADES
W/ METAL DRAWER
18 Pieces
Drawer (Empty) 3 ‘
FO1131 :
ThE
b
METAL %
%
3
< 5 3 i i
6x3/4.050x6TPI(3) 6x3/4.035x10TPI(3) 8x3/4.050x10TPI(3) 6x3/4.035x14TPI(3) 6x3/4.035x18TPI(3) 6x3/4.035x24TPI(3)
F6955 F6826 F6234 F6582 F6442 F6608
F63987
RECIPROCATING BLADES — RECIPROCATING - =
BLADES SHOP PRO GENERAL MAINTAINANCE SIS e e, SR
W/ METAL DRAWER
18 Pieces

J" DEMOLITION
9X7/8x.0626TP1(3) 5
F63947

i Sl ()

Drawer (Empty) Wh &3 14Tel
F°1130 6x1x.04214TPI(3) Mede 10 US A "W Parmarce Cuteg Yoo 142 Thick 42652 @

F63951

Mpy L iy
sxioziae e X ISTRI ST

METAL
6x3/4x.0505/8TPI(3) m m.x w2190 67 5/8TPI
F63965
X314 0356TPI() PRSI
F63966
F63988
RECIPROCATING BLADES — WOOD CUTTING SET ) " DpEmOLITION
W/METAL DRAWER ST IRSTE) o et LT )
18 Pieces
6"3’4;‘;';5635'"‘3’ -mu s 6 X 6TPI
Drawer (Empty)

FO1130 SxaxIs0eThE) L 2] -

"
6"3’4’%5‘;655””'3’ hop 2 .m 1o 6" x 5/8TPI
METAL

2/ 9"x6TPI @

orods 035 Thick #2805

. P )
SR BT o
F63967

9x3/4x.0356TPI(3)
F63966

Copyright © 2023
10-6-1



ASSORTMENTS
6 Cutting Tools

CUTTING TOOLS — RECIPROCATING BLADES (CONT.)

F63985
RECIPROCATING BLADES — ALL PURPOSE SET
W/ METAL DRAWER R
18 Pieces
S S0P 2 <o
TN -
SIECEE) el SBOPL 2 oo
METAL el A
F63951
6x3/4x.0506TPI(3)
F63964
F63986
RECIPROCATING BLADES — METAL CUTTING SET 5
W/ METAL DRAWER o WQ_‘Q Sx el
18 Pieces
8x34x.03518TPIG) D512 o
P w..m L2 s
Drawer (Empty) S WO 2 i
FO1130 F63951
B R
METAL Fea954
Dp— L2 ST
F63957
9x7/8x.06214TPI(3)
F63960
F63989
RECIPROCATING BLADES — DEMOLITION SET 2
W/ METAL DRAWER ] WN ox 1ore!
18 Pieces
6x3/4x03510/14TPI(3) Tl
F63945
Drever o) s
METAL Fe%4g
- SO L2
F63949
F— e
F63950
F63990
RECIPROCATING BLADES — FIRE + RESCUE SET
W/ METAL DRAWER ST e
18 Pieces
I
6x7/ Fg:;g 5 X 14:I'P| lt
Drawer (Empty) TEXOGOTE) m(/)% meanees
Fo1130 o700 A Sx TRl
IXT/BX06214TPI) < y S 1aTe) )
METAL Fe3960
2X7BX06210TPI3) Sliop,) 2 5
o LI O e +
N sliop o Fim g
F63962

Copyright © 2023
10-6-2



ASSORTMENTS

Cutting Tools 6

F03556

HOLE SAWS — HOLE SAWS CT7
(5/8-1-1/2)

W/METAL DRAWER

16 Pieces

Drawer (Empty)
F01133

F011972

HOLE SAWS — BI-METAL
(3/4-1-1/4)

W/METAL DRAWER

8 Pieces

Drawer (Empty)
F01133

F011973

HOLE SAWS — BI-METAL
(3/4-3)

W/METAL DRAWER

12 Pieces

Drawer (Empty)
F01133

F012015

DRILLBITS —MECHANICS LENGTH
SHOPPRO 1/16-9/32

W/METAL DRAWER

19 Pieces

Drawer (Empty)
F0143

METAL

METAL

METAL

METAL

CUTTING TOOLS — HOLE SAWS

o ]
@ e
F61026
” U} U}
F6810 Fe4199
(U] Ul
F61592 Fé6721 E" I il ﬁ
Ul U] U]
F61249 F6808 F6637
) % %
Fe517
[ [
i Fé1363 F6171
Ul [U) U] U]
F6388 F61194 F61554 F6284
Arbor Adapter (1)
F6189
P ﬁ
Pilot Drill (1) 11/829mm) ()
F6720 F61570
-- SR
SLAbor (1) 34" (19mm) (1) 7/8"(22mm) (1) 1" @5mm) (1)
F6912 F6679 F61516 F6860
LEnox %
2'(51mm)(1) 2:/2"(64mm) (1) 3"(76mm) (1)
Fé416 Fé415
. 3 [
=k =
1-1/8" 29mm) (1 1-1/47 (32mmm) (1) 14172 38mm) (1)
F61570 F6398 F61267
LENOX & ' q E ‘ E
L Arbor (1) Pilot Drill(1) 2L Arbor(1) 34" (19mm) (1) 7/8"(22mm) (1) 1"(@5mm) (1)
F6170 F61559 Fe6347 F6679 F61516 F6860
e 0 -, o, —s——— . — . —
14Q) 17/64(1) 932'(1)
Fé1685 Fé1688 F61706
e ———— S NS | W
316'Q) 13/647() 732'(0) 15/64"(1)
F61696 Fé1684 F61704 F61687
B = - ———eSsThaa —_—TTN
182 9/64" (1) 5/32'(1) /64" (1)
F61689 F61707 F61701 F61681
716'2) 5/64(1) 332'(0) 764 (1)
F61680 F61702 F61698 F61705
Copyright © 2023

10-6-3




ASSORTMENTS

6 Cutting Tools

F012018

DRILL BITS —MECHANICS LENGTH
SHOPPRO 19/64-1/2

W/METAL DRAWER

16 Pieces

Drawer (Empty)
F01133

F03567

WOOD BORING BITS — 1/4-1-1/2
W/METAL DRAWER

12 Pieces

Drawer (Empty)
F01134

F03568

FILES — BLACK MAXI-SHARP
W/METAL DRAWER

8 Pieces

Drawer (Empty)
F01130

10-6-4

METAL

METAL

METAL

CUTTING TOOLS — DRILL BITS (CONT.)

15/32"(1) 31/64"(1)

F61686 F61697
B — —— ]
N3 V2 ()
F61679 _ _ F61682
— N
13/32°(1) 716" (1)
F61683 F61703
25/64"(1) 27/64"(1) 29/64" (1]
F61693 F61694 F61695
CUTTING TOOLS — WOOD BORING BITS
4 (1) 5/16"(1) 3/8"(1)
F6195 F61236 F61410
7/16"(1) 1/2'(1) 5/8'(1)
F6282 F61226 F6639
34(1) 7/8'(1) 0
F6493 F6538 F61401
11/8"(1) 114" (1) 172" (1)
F6632 F6308 F6705

CUTTING TOOLS — FILES

WoodFileHandle
For10”Files
F6322

WoodFileHandle
For8"Files
F61350

10"Flat
Multi-Kit Bastard

10" Half-Round
Mutti-Kit Bastard
F61264

10" Mill Smooth
F6908.

Copyright © 2023



ASSORTMENTS
Fluid Power 7

F03594

BRASS FITTING — BRASS NPT
(1/8-3/8)

W/METAL DRAWER

66 Pieces

Drawer (Empty)
F0142

METAL

F03596

BRASS FITTING — BARB BRASS
W/METAL DRAWER

51 Pieces

Drawer (Empty)
F0142

METAL

F03598

BRASS FITTING — BRASS BARB-TITE
1/4-5/16

W/METAL DRAWER

40 Pieces

Drawer (Empty)
F0142

METAL

F03599

BRASS FITTING — BRASS BARB-TITE
3/8-1/2

W/METAL DRAWER

42 Pieces

Drawer (Empty)
F0142

METAL

FLUID POWER — BRASS FITTING

3/8" Street Elbow (2) 3/8"Close Nipple (4) 3/8"Hx.Hd.Plug (5) 3/8"x1/4" Bushing (5) 3/8"Coupling (3) 3/8F-1/4M Adapter (3)
F72293 F78262 F77058 F76825 F72824 F75371
1/4" Street Elbow (2) /4" Close Nipple (4) 1/4"Hx.Hd. Plug (5) 3/8"x1/8" Bushing (5) 1/4" Coupling (3) 1/4F-1/aM Adapter (3)
F74787 F77813 F7505 F74402 F75269 F73377
m. — = A — LB
1/8" Street Elbow (2) /8" CloseNipple 4) 1/8"Hx.Hd.Plug 5) 1/4"x1/8" Bushing (5) 1/8"Coupling 3) 1/4F-1/8M Adapter (3)
F76075 F74949 F75501 F73963 F76907 F73835

1/2x3/8MalePipe 3)
F75662

- g

—— e

1/4X 1/4MalePipe(3) iped) 5/16X ipe 3/8X 1/8MalePipe (3 3/8X 14 Male Pipe (3) 1/2x1/4MalePipe )
F72071 F75435 F75600 F77579 F76076 F73286
3/16X 1/8MalePipe(3) 3/4HoseMender(2)
F75154
3 fender d) foseMender (4 @ ( @
F71301 F77203 F75098 F7775 F72328

) ﬂﬁ

6ird =

1/4"Hose 1/8” Pipe 1/4"Hose 1/4" Pipe 1/4"Hose 1/4" Tube 1/4"Hose 5/16" Tube
FemalePipe (2) ipe: SAE45 SAE4:
F76557 F72792 F71170 F75085
P | E—
—p= | == | BEEe | B | B
1/4"Hose Mender (1) 5/16"Hose Mender (1) 1/4"Hose 1/8" Pipe 1/4"Hose 1/4" Pipe 5/16"Hose 1/4" Pipe
F7763 © Male jid(2) ipeRidgid 2)
F77277 F76944

1/4"Hose 3/16' Tube
jvel 2)

1/4"Hose 1/4" Tube

B

1/4"Hose5/16' Tube
jvel )

P

5/16"Hose 1/4' Tube
2

el

5/16"Hose5/16" Tube
P

B

5/16'Hose 3/8" Tube

F72008 F78164 F75410

F76170 F71457 F72301

- = | =

1/4"Hose 1/4" 5/16"Hose 5/16"Tube 1/4"Hose 1/4" Pipe
igi id (2) SAE37°0IC) i
FZ.

F71130 F77138

B= | a@= | B=

1/4"Hose 5/16"Pipe 5/16"Hose 5/16"Tube 5/16"Hose 5/16'Tube
SAE37°(IC) el SAE45°F idgid (2) SAE37°(IC) jvel 2)
F73397 F77755 F76039

- - it e ——
e — - | Wl = &l
:E g
3/8"F /2" der (1) 3/8"Hose 1/8" Pipe 3/8"Hose 1/4" Pipe 3/8"Hose 3/8"Pipe 3/8"Hose 3/8"Tube
F77014 F71263 ipeRigi ipeRigi ipeRigi SAE45°Flare MaleRigid (2)
F73203 F71458 F7951 F77346
= s | &= (@SS e
1/2"Hose 3/8" Pipe 1/2"Hose 1/2" Pipe 3/8"Hose 5/16" Tube 3/8"Hose3/8"Tube 1/2"Hose {/Z”Tube 3/8"Hose 3/8" Tube
Male PipeRigid (2) Male PipeRigid (2) jvel 2) SAE45 2
F78167 F7a121 F77071 F72801 F78275 F74685
S ;
= | E= = o —
3/8"Hose 3/8"Tube 1/2"Hose 1/2" Tube 3/8"Hose 3/8" Tube 1/2"Hose 1/2" Tube 3/8"Hose 18" Pipe 3/8" g1/4 Pipe
igic i SAE37°(IC) i SAE 37°(JIC) Female Swivel 2) Male Pipe Rigid 90° Elbow (2) MalePipe Rigid 90° Elbow (2)
F71276 F71607 F74014 F73189 F74680
——— P
== : ==
3/8”Hos:|/4”P\pe 3/8"Hose 3/8"Pipe 1/2"Hose3/8" Pipe 1/2"Hose 1/2"Pipe
Female Pipe (2) FemalePipe(2) FemalePipe (2) FemalePipe (2)
F71599 F77871 F7832 F71472
Copyright © 2023

10-741




ASSORTMENTS
7 Fluid Power

FLUID POWER — BRASS FITTING (CONT.)

F03592 JE—
BRASS FITTING — BRASS PIPE m ﬁ m
COUPLINGS & ADAPTERS " ; J !;!
W/METAL DRAWER HexPlug HexPlug Bushing 90°Street Elbow 90°Street Elbow Hvy Coupling ReducerCplg HexNipple
79 Pieces 2 Q) 32 Q) 172'0) 38'Q) 12°0) 12'x38°(1) V2
F7223 F76324 F72448 F77204 F72293 F76614 F73556 F75861
Drawer (Empty) HexPlug Bushing Bushing Adapter 90°Street Elbow Hvy Coupling ReducerCplg HexNipple
FO1137 380) YEX1E) 3U'x3B'Q) V2F-3EMO) 1) Q) 38X Q) 38'0)
F77058 F76825 F73907 F77476 F7a787 F7830 F75285 71291
B 8 B = B = g =
METAL HexPlug Bushing Bushing Adapter 90°StreetElbow) Hvy Coupling ReducerCplg HexNipple
IZE0) IBX1B') 12386 IFF- UM X8R 1R X180 22}
F7505 F74402 F7900 F75371 F76127 F75747 F75943 F75097
e & B | 2= | B | = | B | ==
HexPlug Bushing Bushing Adapter 90°StreetElbow Hvy Coupling Reducer Cplg HexNipple
G) VX 18'(5) XU WM 8 Q) 156) WxB' Q) 18'6)
E75501 F73963 72605 Fr3835 F76075 Fr7898 72016 F73072
F03593
BRASS FITTING — BRASS PIPE i
VALVES & ADAPTERS 4
wi/ METAL DRAWER VAMX VAT Valve (1) /8" Drain Cock (1 1/4"Dra\nC:xk(Ti 3/8"Drain Cock(1) Tee 1/2'() o0Bbow12°() | 45°StreetElbow1/2'() Cp12'Q)
56 Pieces F72894 F77104 F74915 F77555 F72205 F73604 F77230
Drawer (Empty) VBMXVBFValve(l) | Adapter3BFx3BM() | StreetTee3/8'(1) Ma\eBrandwTee}/s (U] Tee3/8() 0EboW3B'R) | 45°StreetEbow3/E'R) Cap38°G)
F01137 F73253 F73168 F751 F72814 F71146 F71394 F73976
METAL &% = ﬁ mo | % L
HexNipple3/8"x1/4"(2) | Adapter 1/4Fx 1/4'M(2) StreetTee 1/4(1) MalEBran(hTeelM" 1) Tee 1/4"(1) 90°Elbow 1/4"(2) 45°Street Elbow 1/4" 3) Cap 1/4"(5)
F73377 F76015 F75744 F72828 F77015 F72087
14"'x1/8"(2) Adapter 1/8"Fx 1/8"'M (2) StreetTee 1/8"(1) MaleBranch Tee 1/8" (1) Tee1/8"(2) 90°Elbow 1/8"(2) 45°Street Elbow 1/8” (3) Cap1/8"(5)
F72641 F76480 F72249 F7851 F78072 F73610 F75753 F7991
F03591
BRASS FITTING — BRASS PLUG, '
ELBOW, BUSHING, COUPLING
w/ METAL DRAWER 8 HexHeadPlug (5) /4 HexHeadPlug () 14 x V8 Bushing (5) 378" V8 Bushing (5) 3/8"x V4" Bushing 5)
99 Pieces F75501 76324 F73963 F74402 F76825
Drawer (Empty) 144" HexHeadPlug 5) /890" Eloow 5) 290" Hoow ) "2 x1/B“Bushlng(5 172X 14 Bushing (5) 1/2'x3/8 Bushing 5)
F0142 F7505 F73610 F72205 F72605 F7900
METAL l n u
3/8"HexHeadPlug (5) 14 90°E] ) 34" 90° ) a'x 4"Bu5hmgt2) 3/4"x3/8 Bushlng 3/4"x1/2"Bushing (2)
F77058 F72828 F72327 F72448
172 HexHeadPlug (5) /8 Coupling ) 14 Coupling (5) 38" Coupllng(S) 172 Coupling &) 34 Coupling @)
7223 F76907 F75269 F73014 F78009
F03597
BRASS NICKEL PLATED — PUSH-ON ¥ i
W/ METAL DRAWER e o i Al
41 Pieces Male Connector 1/8x 1/8(2) Male Connector 1/8x 1/4(2) Meale Connector 1/4x 1/8(3) Meale Connector 1/4x 1/4(2) Male Connector 3/8x 1/4(3) Male Connector 3/8x3/8(2)
F76626 F76985 F77251 F7a241 F76044 F78203
Drawer (Empty) Male Connector 1/4x10/32(2) MaleEIbmvsva\O‘l/Bx‘l/ﬁ{j) ” 1/4x1/42) 14x1/8(2) Tee 1/4x1/8(2)
F0142 F7709 F77247 F76598 F76983 F7179
METAL Male Branch Tee 1/4x 1/4(2) Union 183) Union 143) Unions/16(2) Union3/8(2)
F7240 F73296 F72852 77747 F71869
UnionTee 1/4(2) UnionTee3/8(2)
F7773
Copyright © 2023

10-7-2



ASSORTMENTS

Fluid Power 7

FLUID POWER — BRASS NICKEL PLATED (CONT.)

F012905

BRASS NICKEL PLATED — UNIVERSAL THREAD
1/4” NICKEL PLATED BRASS

W/METAL DRAWER

24 Pieces

Drawer (Empty)
F01134

METAL

F012906

BRASS NICKEL PLATED — UNIVERSAL THREAD
3/8” NICKEL PLATED BRASS

W/METALDRAWER

24 Pieces

Drawer (Empty)
F01134

METAL

F012903

BRASS NICKEL PLATED — UNIVERSAL THREAD
1/2” NICKEL PLATED BRASS

W/METALDRAWER

21 Pieces

Drawer (Empty)
F01134

METAL

F012907

BRASSNICKEL PLATED —UNIVERSALTHREAD
1/4",3/8",1/2" NICKEL PLATED BRASS
W/METAL DRAWER

36 Pieces

Drawer (Empty)
F01135

METAL

Union1/4(2) UnionElbow 142 UnionTee 1/4(2)
F72852 F71950 F75904
SWVMaleElbow 1/4Tx1/8P(3) SWVMaleElbow 1/4Tx1/4P(3) SWVMaleElbow 1/4Tx3/8P(3)
F79699 F79700 F79554
STRMale 1/4Tx1/8P(3) STRMale 1/4TX1/4P(3) STRMale 1/4Tx3/8P )
F79689 F79690 F79691
Union3/8(2) UnionElbow3/8(2) UnionTee3/8(2)
F71869 F75727 F7773
SWVMaleElbow 3/BTX 14P(3) SWVMaleElbow 3/8TX3/8PG) SWVMaleElbow3/8TX 1/2P3)
F79556 F79705 F79706
STRMaleCONN3/8Tx1/4P(3) STRMaleCONN3/BTX3/8P(3) STRMaleCONN3/8TX1/2P(3)
F79693 F79548 F79694

]
Union1/2() UnionElbow 1202) UnionTee1/2(2)
F75014 F72632 F72994

SWV)LQ)
F79557

SWVMal 1/2Tx3/8P(2)
F79708

V2TX12PQ2)
F79558

STRMaleCONN 1/2Tx 1/4P(3) STRMaleCONN 1/2Tx3/8P(3) STRMaleCONN 1/2Tx1/2P(3)
F79549 F79695 F79550
[
STRMale 1/2Tx 1/2PG3) SWVMaleElbow 12Tx1/2P(2) Union126) UnionElbow12(2) UnionTee12(2)
F79550 F79558 F75014 F72632 72994
m X -
x3/8P(3) 3/8TX3/8P3) Union1/2(2) UnionElbow3/8(2) UnionTee3/8(2)
706 F71869 F75727 F7773
o <
STRMale 1/4Tx1/4P(3) SWVMaleElbow 1/4Tx1/4P3) Union1/4(2) UnionElbow 1/4(2) UnionTee1/4(2)
F79690 F79700 F72852 F71950 F75904
Copyright © 2023

10-7-3




ASSORTMENTS
7 Fluid Power

FLUID POWER — BRASS NICKEL PLATED (CONT.)

F012908
BRASS NICKEL PLATED — UNIVERSAL THREAD
M6 NICKEL PLATED BRASS m
w’ METAL DRAWER UnionM6(2) Union! M6(2) UnionTeeM6(2)
21 Pieces F744493 F71520 F75579
Drawer (Empty)
F01134
METAL
SWVMaleElbowM6Tx 1/8P (3) SWVMaleElbow M6Tx 1/4P (3)
F79707 79678
STRMale CONNM6T X 1/8P(3) STRMale CONNM6Tx 1/4P(3) STRMale CONNM6Tx3/8P(3)
F79672 F79673 F79675
F012909
BRASS NICKEL PLATED — UNIVERSAL THREAD
M8 NICKEL PLATED BRASS
WI METAL DRAWER UnionM8(2) UnionElbowM10(2) UnionTeeM8(2)
24 Pieces F72332 F75281 F73843
Drawer (Empty)
F01134
METAL
SWVMaleElbowM8Tx1/8P(3) SWVMaleElbowM8Tx1/4P(3) SWVMaleElbowM8Tx3/8P 3)
F79701 F79702 F79703
STRMaleM8Tx 1/8P(3) STRMaleM8Tx 1/4P(3) STRMaleM8Tx3/8P(3)
F79551 F79552

F012902

BRASS NICKEL PLATED — UNIVERSAL THREAD

M10 NICKEL PLATED BRASS m
W/METAL DRAWER

22 Pieces UnionM10(2) UnionTeeM10(2)
F74542 F72714
Drawer (Empty)
F01134
METAL SWVMaleElbowMI0TX 1/4(3) SWVMaleElbowMIOTx3/8P 3) SWVMaleElbowMIOTX1/2P(3)
F79533 F79534 F79535
"
'STRMale CONNM10TX 1/4P (3) STRMale CONNM10Tx3/8P(3) STRMale CONNM10Tx 1/2P(3)
F79525 F79667 F79668
F012904
BRASS NICKEL PLATED — UNIVERSAL THREAD
M12 NICKEL PLATED BRASS
W/METAL DRAWER UnionM12(2 UnionElbowM12(2) UnionTeeM12(2)
16 Pieces 77779 F71806 75821
Drawer (Empty)
F01134

lln

SWVMale ElbowM12Tx3/8P (2) SWVMaleElbowM12Tx1/2P(2)
METAL F79677 F79676
STRMale CONNM12Tx1/4P(2) STRMale CONNM12Tx3/8P(2) 'STRMaleCONNM12Tx1/2P(2)
F79669 F79670 F79671
Copyright © 2023

10-7-4



ASSORTMENTS
Fluid Power 7

F03584

D.O.T.FITTING —D.O.T.
PUSH-ON BRASS
W/METALDRAWER

26 Pieces

Drawer (Empty)
F0142

F012538

D.O.T.FITTING —D.O.T.
PUSH-ONBRASSTO 1/2”
W/METALDRAWER

36 Pieces

Drawer (Empty)
F0142

F03617

D.O.T.FITTING — D.O.T. PLASTIC
PUSH-TO-CONNECT
W/METALDRAWER

48 Pieces

Drawer (Empty)
F0142

F03616

METAL

METAL

METAL

PUSH TO CONNECT FITTING — METRIC

W/METALDRAWER
36 Pieces

Drawer (Empty)
F0142

METAL

FLUID POWER — D.O.T. FITTING

=5

1/2"x3/8"Male 1) 3/8"x3/8" Male Elbow (2) 1/2" Union (1)
F7ian F75300 F7168
B | =3 n, —
3/8"x1/4" Male (2) 3/8"x3/8"Male (2) 3/8"x1/4" Male Elbow (2) 3/8"Union (2)
F7a821 F73338 F72964 F72920
31 (== 1
1/4"x1/8" Male (2) 1/4"x1/4" Male (2) 1/4"x1/8" Male Elbow (2) '\/4”x|/47"MaleEIl')ow(2) 1/4" Union (2)
F71081 F76070 F72152 F73051 F75978
= (=4 ‘w
5/32"x1/16"Male (1) 5/32"x1/8" Male (1) 5/32"x1/8" Male Elbow (1) 5/32" Union (1)
F73444 F74494 F7772
@ ) @ @ @ @
F73506 F7ian F77021 F73398 F75106 F7168
@ @ @ @
F74821 F73338 F73213 F72920
2] 2] @
F71081 F76070 F74383 F73415 F75978

[l U] [

F73444 F74494 F7772

DOT.Male Elbow5/32x1/8(2) DOT.Male Elbow 1/4x1/8(2) D.OT.Male Elbow 1/4x 1/4(2) DOT.Male Elbow 1/4x3/8(2) DOT. 1/402) DOT. 2
F74027 F73114 F72076 F75754 567 F76149

DOT.Union5/32(2) DOT.Union 1/42) DOT.Union3/8(2) DOT.UnionTee5/32(2) DOT.UnionTee 1/4(2) DOT.UnionTee 3/8(2)
F75333 F74922 F73371 F73669 F72353 F73125
DOT.Male Connector5/32x1/8(2) | DOT.Male Connector 1/4x1/8(2) | DOT.MaleConnector 1/4x1/4(2) | DOT.MaleConnector3/8x1/8(2) | DOT.MaleConnector3/8x 1/4(2) | DOT.Male Connector3/8x3/8(2)

F72538 F76123 F76963 F73129

DOT.FemaleC DOT.FemaleC 2 | DOT.Female Connector 1/4x1/8(2)| DOT.Female Connector 1/4x 1/4 (2) | DOT. Female Connector 3/8x 14 (2)| DOT. Female Connector 3/8x3/8(2)
X1/8(2) X1/4() F76298 F77740

F71824

FLUID POWER — PUSH TO CONNECT FITTING

- <) - ¥ m | 0B
MaleConnectorM4x 1/8"(2) MaleConnectorMAx 14" 2) Male Connector M6x 1/8" (2) MaleConnectorM6x 1/4°(2) Male ConnectorM8x 1/8" (2 MaleConnectorMBx 1/4(2)
F792 F76383
- 7 ' - \ i
‘i t.' . i q’g&t'
Male ElbowMAx /8" (2) Male ElbowMAx 1/4(2) 78'Q) ) 18'2) Q)
F77241 F74350 3 F75206 F78193 F78237
Union V4 (2) UnionM6(2) UnionM8 (2) Unic ) Ui ) Union ElbowM8 (2)
F72360 F74417 F73769 F72616 F71306 77977
Copyright © 2023

10-7-5




ASSORTMENTS
7 Fluid Power

FLUID POWER — STEEL & MALLEABLE

F03610
STEEL & MALLEABLE — BOSS
olo|l o] OO
W/METAL DRAWER " -/ . - ’ -
: g 9 g 9 9(6) 9
258 P|ece$ F72744 F75105 F7933 F73004 F76036 F71468 F719||
Drawer (Empty) #20FlatFace O #24FlatFace
FO1137 1x1-1/8x1/16(5) FI6x13/16x1/16(5) | T-BX1VAXVI60) | 13/16x15/16x1/16(5) | 1V/AXI3BX1/16(5) | 1-5/16x1 7/16)(1/]615) 1:3/8x1-1/2x1/16(5) 1 1/2x1 5/5“/15 5)
F76199 F75022 F76862 F73161 F76751 F75334
METAL #8FlatFace #10FiatFace #12FlatFace #16FlatFace
1/2x5/8x1/16(10) 9/16x11/16x1/16(10) 5/8x3/4x1/16(10) 11/16x13/16x1/16(10) 3/4x7/8x1/16(10) 13/16x15/16X 1/16(10) 7/8x1x1/16(10) 15/16x1-1/16X1/16(10)
F72647 7731 E73079 7746 F7877 F73518 77907
° o o o o o o O
#4FlatFace #6FlatFace
18X 1/4x1/16(10) 5/32x9/32x1/16(10) 3/16x5/16x1/16(10) |  7/32x11/32x1/16(10) 1/4x3/8x1/16(10) 5/16x7/16x1/16(10) 3/8x1/2x1/16(10) 7N16x9/16x1/16(10)
F74683 F71886 F73848 F75491 F76165 F78333 F75168 F77927

F03602 "]
STEEL & MALLEABLE — CAPS & PLUGS
e i
W/METAL DRAWER P Plug3/4"(6) Plug1/2'6)
48Pieces 79996 g2 Fr638
Drawer (Empty) ! -
Plug3/8”(6) Plug 1/4"(4)
F01134 ‘379” F?uzs
METAL _— .
Cap3/4"(6) Cap1/2"(6)
F78039 F72323

Cap3/8'(6) Cap 1/ @)
F7612 F73471

F03608 —
STEEL & MALLEABLE — FLAT ol ‘ g '
FACE O-RING CAPS & PLUGS - B ey

W/METALDRAWER : 3 " - g2
. lug 3/4" (4) lug 5/8" Plug1/2"(4)
32 Pieces F75872 F75466 F7665
Drawer (Empty)
Plug 3/8"(4) Plug 1/4"(2)
F01134 F71507
METAL g
Cap3/4 @ Cap5/8"Q) Cap1/2'@)
F75619 F71063 F71987
Cap3/8"(4) Cap1/4'(2)
F75255 F74552
F03609
STEEL & MALLEABLE — HYDRAULIC i =
CAPS&PLUGS - e
W/METAL DRAWER
60 Pi V4" Flat Face Cap () 3/8" FlatFace Cap @) 1/2"FlatFace Cap (3) 58" Flat Fa(e CaptZ) 3/4" FlatFace Cap (2)
ieces F74552 F75255 19
Drawer (Empty)
Fo-|42 /4" FlatFacePlug (4) 3/8"FlatFace Plug (4) 1/2"Flat Face Plug 3) 5/8"Flat Face Plug 2 3/4"FlatFace Plug (2)
F71507 F75688 F7665 F75872
METAL e . I it -
/4" JICCap( y 3/8"JICCap @) 1/2"ICCap3) 5/8"JICCap(2) 3/4")ICCap(2)
F7612 F72323 F71013 F78039
2 i |
U
4. JIC Flug @ 3/8"JICPlug (4) 1/2"JICPlug 3) 5/8"JICPlug (2) 3/4"JICPlug (2)
F77998 F76388 F74689 F72182

Copyright © 2023
10-7-6



ASSORTMENTS
Fluid Power 7

FLUID POWER — STEEL & MALLEABLE (CONT.)

F03603
STEEL & MALLEABLE — JICTO MALE
PIPEELBOW
W/METAL DRAWER \ - &
. 34X 90°Q) 12X 12’ 90°@)
30 Pieces 176026 S
Drawer (Empty) \ SF
1/4"x1/4"90°(4) 1/4"x1/8"90°(2)
F01134 175086 @ 77820
METAL
12'x1/2"45°@)
/5828
VA X1/4"45°(4)
F73013
F03605 .
STEEL & MALLEABLE — MALEJICTO J
MALE PIPE
W/METALDRAWER 'vtn) s
48 Pieces 76088 72829
Drawer (Empty) o
5/8"x1/2"(4) 12"x1/2" 1/2"x3/8" (@)
F01134 F74185 ! W1M9w F71110( '
METAL - o
1V2'x /4" (4) 3/8"x1/2"(4) 3/8"x3/8"(4)
F73672 F73639 F71782
3/8"x1/4"(4) VA" X4 (4) A"X1/8" (4)
F77308 F7542 F72580
F012556
STEEL & MALLEABLE — STEEL PIPE E |
ADAPTERS A
W/METAL DRAWER § e o Y
39 Pieces 14Q) Steel Pipe StreetElbow 1/2(2) | Steel Pipe Street Elbow 3/4(1) Steel Pipe Street Ebow 1(1) SteelHexPipePlug 3/4(1)
F74349 F7201 E@J F7876
Drawer (Empty) m i “%
F0142 SteelHexPipeNipple 1/4 (2) SteelHexPipeNipple 3/8(2) |HexPipe Nipple 3/4(1) IHexPipeNipple 1 (1) SteelHexPipePlug 1/2(2)
F74472 F7613 F73643 7929 F75595
- e o J E 4 (v
- — h
METAL 7 el el :r‘_ | ‘(“W
SteelPipe Coupling 1/4(2) Steel Pipe Coupling 3/8(2) Steel Pipe Coupling 3/4(1) Steel Pipe Coupling 1(1 SteelHexPipePlug3/8(2)
F75341 F75127 F74565 F76331 F78145
I
ing 1x3/4(1) IHexPpePlug 14 2
F74840 F71939

BINLESS

FITTINGS — MEGACRIMP MALE PIPE
F012026 (42 total pieces)

Qty PartNo. Qty PartNo.

5 Fr8s 5 F77097

5 F77937 3 F76108

5 F77300 3 F73987

5 F74165 3 F76167

5 F73407 3 F74095
Copyright © 2023

10-7-7



ASSORTMENTS
7 Fluid Power

FLUID POWER — O-RINGS

F03449
O-RINGS —BUNA 70
(1/16)
w/ MFTAL DRAWER 138X 14/2'X 116" (25) 15161716 X 116" (25) 1AX13/8'X1/16(25) 13/16'1-5/16'x1/16'(25) 1B 1V X116 (25) 11/16x13/16'x /167 (25)
575 Pieces F75334 F75833 F76751 F73161 F76862 F75022
Drawer (Empty) TXIVBXVIE25) 151611716’ 1/16"(25) 7B'X1'XV16"(25) 16X15/16'116"(25) 34X 78" X 116 (25) 116X 116X /16 (25)
F0142 F76199 F77907 F73518 F7877 F7746 F7679
METAL O
5/8'X3/4"x1/16" (25) 9/16'x11/16"x1/16"(25) 1/2'x5/8"x1/16" (25) 716'x9/16"x1/16(25) 3/8"x1/2'x1/16" (25) 5/16"x7/16"x1/16" (25)
73079 F1731 F72647 F77927 F75168 F78333
VXX /16 (25) YB2XNBL XN (25) IEXE/6X /16 (25) 5/32'x9/32'X 116" (25) VB'XVA'X1/16(25)
F76165 F75491 F73848 F71886 F74683
F03450
O-RINGS —BUNA 70
(3/32)
w/ MFTAL DRAWER 13/16'x 18 x3/32'(25) 18" 1-5/16'x3/32"(25) 16X VA X3/32"25) T'x13/16'x3/32"25) 15/16'x 11/8'x3/32'(25) 78X 11/16'x 332 (25)
550 Pieces F77318 F76494 F72081 F76230 F76045 F76018
Drawer (Empty) 13/16'x1'x3/32"(25) 34X15/16/x3/32"25) NG XTB'X332'25) S/8XT3/16'X3/32"(25) 916" X34 x3/32" (25) 12X N/16'x3/32°25)
F74305 F77149 F75831 F75489 F72379 F72310
METAL O
TN6'XS/8'x3/32(25) 38" 9/16'x3/32(25) 5/16'x1/2'x3/32"(25) a'X7N16'x3/32" (25) 732X 13/32'x3/32'(25) 316X 32 25)
F7a213 F77239 F76662 72186 F756 F74630
5/32'X1V/32'x3/32°(25) 1B'X5/16'x3/32(25) 332'x9/32'x3/32(25) 116X V4"x3/32" (25)
7179 F74576 F75147 F76104
F03451
O-RINGS —BUNA 70
(1/8)
w/ MFTAL DRAWER 134" xZ"xl/S 10 15/8"x 178" x /8" (10) 121 3/4“)(1/3" 10) 1776'x1116'x /8" (10) 13/8"x15/8"x 18" (10) 15/16"x1-9/16'x /8" (10)
355 Pieces F75170 F71444 F74532 F71542
Drawer (Empty) 11 ”x'\ V. "xvs" 10 13161 7/'\6")(1/5"110) 18X 1 3/5”x‘|/8”(10) U6 X1S/16 X /8" (10) X8 (10) 116X 116X /8 (15)
F0142 F77190
METAL O O O
B XX 1B (15) 13/16")(1 1/15“;(1/8' s) XX 1B (15) TN6'X15/16"x /8" (15) /8778 X 18 (15) 9/16'x13/16'x /8" (15)
F75267 F71467 72030 F72791
V2'X3 X B (15) 716X T1/16'x /8" (25) IB'XS/B X VB (25) 516'%9/16X 18" (25) VX2 X B (25) 316'X716'X VB (25)
F73159 F77105 F7616 77877 75233 F7140
F03457
O-RINGS —BUNA 70
[RVoSE-4 1516 1-9/16" 13/8x15/8" 17716'X 111/16" 2x13 15/8x17/8" 13%2" 178X218"
(GENERAL) x1/8"(5) x1/8"(5) x1/8"(5) x1/8"(5) x1/8"(5) x1/8"(5) x1/8"(5) x1/8"(5)
W/METAL DRAWER F77409 F71542 F74532 F71444 F78166 F75170 F72391 F7a598
240 Pieces
1316517716
X8 (10)
Drawer (Empty) F74335
I8 (10) BAGXKVIENE0) | IBXNUBXB0) | 15716%1-3/16X1/8"(10)
Fo1137 F71467 75267
14X1716" 15/16'x11/2"
x3/32"(5) x3/32'(5)
METAL F74035 F74520
INANER) | IS6XBIELE) | XSG | VIS 7
F76018 F76045 F76230 F72081
IBHONEXIB0) | TSNS | U2XANEXIB0 | INEMBBL0) | 96360 | MENIBXIRZN0) | 346320 | 1316%1%332°(10)
F77239 Fra213 F72310 F72379 F75489 F75831 F77149 F74305
Copyright © 2023

10-7-8



ASSORTMENTS
Fluid Power 7

FLUID POWER — O-RINGS (CONT.)

F03445 .
O-RINGS —BUNA ‘N’ LARGE
(METRIC) 36;;:6:353)
wl METAL DRAWER 3mmx2(5) 7mmx2(5) TImmx2.5(5) 17mmx2.5(5) 20mmx3(5) 25mmx3(5)
132 Pieces 841 F8298 F82259 F72589 F74471 F72890
Drawer (Empty) 4mmx20) smmx2(5) 2mmx25(5) 19mmx256) 2mmx36) 2mmx36) ‘ @
F01137 F85149 F85089 F73274 77479 F72309 F7205 =
4immx4(3) |
METAL F76843
Smmx2(5) ommx2(5) Tammx25(5) Tommx3(5) 2mmx3(5) 28mmx36)
F899 784309 F76885 73200 F75464 F75989 -
6mmx2(5) 10mmx25(5) @ ‘
F84995 F84408
F05039
O-RINGS —BUNA 90
o o) (o) O
W/METALDRAWER o ° o

450 Pi 5/32x11/32x3/3225) 316x3/8x3/32(25) Vax7/16x3/32(05) 5/16x1/2x3/32(25) IBx9/16x3/32(25) T/16X5/8x3/32(25)
leces F72322 7279 F71278 F78219 F73545 F75528
Drawer (Empty) O O O O
F0142 12X T1/16x3/32(25) 96X3ax3/32(25) 5/8x 13/|6x3/32125) wmstxs/n(zs) 3/4x|5/|6x3/32(25) 116 X1x3/32(25)
F7a547 F77672 F72960
HETE O O O O
78X11/16x3/32(25) 15/16x 118X 3/32(25) x mexz/zz(ls) 117161 |/4x3/32125) 1B XIS/16x3/32(25) 1VAX17/16x3/32(25)
F76035 7942 F71682 F74916

O

F03442
O-RINGS — VITON
(3/32)

w/ MFTAL DRAWER 134X 1-5/6'x 332" (5) 16X 17/8'X3/32°(5) 158" 113/16'x3/32°(5) 19/16'X1-3/4"X3/32"(5) /2'X1V16'X332°(5) 1716X1-5/8"X3/32"(5)
115 Pieces F76436 F75380 7378 F7633 73721 F7778
Drawer (Empty) 13/8'X 1-9/16'X3/32"(5) 15/16'x 11/2"x3/32"(5) 1 1/4“)('\ 7/16 X3/32'(5) 13/16'X 1-1/8"X3/32"(5) /8" X15/16'%3/32"(5) /16" /"X 3/32°(5)
F0142 F72330 F74046 F76396 F77436 F74913
METAL O
T'x13/16'x332'(5) 15/16"%1-1/8"x3/32"(5) 78'X11/6'x3/32"(5) 13/16'x1"x3/32"(5) 34x15/16'x3/32'(5)
F75449 F7407 F73150 F72944
5/B'X13/16'x3/32"(5) 916X 3/4"X3/32"(5) 12X N6'X3/32'(5) 716'X5/8"X3/32"(5) 308'X9/16'X3/32"(5)
F72388 F75762 F75425 F74885 F72075
F03443
O-RINGS — VITON
(1/8)
W/METALDRAWER
64 Pieces 178" X218 /8" 4) 134X 2 X 1/8" @) 15/8'x17/8'x /8" () /2 X134 1/8" @) 176X 11116 1/8" @)
F74150 F76063 F7556 F7272 F75477
Drawer (Empty)
F01135
13/8"x 1+ 5/s X1/8' @) 15/16'x1-9/16'x /8" (4) AX1/2 X8 ) 1316'x 1716 1/8" @) /8 X1-3/8"X 18" ()
F72716 F77537 F73023 F77718
- O O
11/16'; x'l 5/16 x‘I/S @ VX 1I/A"X1/8" @) 15/16'x13/16'x1/8" 4) 7/8"x1-1/8"x1/8" 4) 13/16'x1-1/16" xl/S @
F76610 78293 F73804
O 34X XV8' )
F74588

Copyright © 2023
10-7-9



ASSORTMENTS
7 Fluid Power

FLUID POWER — O-RINGS (CONT.)

F03441
O-RINGS — VITON
(GENERAL)
wl METAL DRAWER 11/2"x1-3/4"x1/8" (5) 1-1/8"x1-3/8"x /8" (5) 11116"x1-5/16"x1/8"(5) 1"x1-1/4"x1/8"(5) 7/8"x11/8"x1/8"(5) 13/16"x1-1/6"x 1/8" (5)
175 Pieces F7272 F77718 F71133 F76610 F73804 F77994
Drawer (Empty) 34X XV () IX15/16X3/32(10) TI/16°X7/8'X3/32"(10) S/8"X13/16X3/32°(10) 916X/ x3/32(10) 12X 111637327 (10)
F0142 F74588 F76115 F7840 72388 F75762 F75425
METAL
7/16"x5/8"x3/32"(10) 3/8"x9/16"x3/32"(10) 1/2"x5/8"x1/16"(10) 7/16"x9/16"x1/16"(10) 3/8"x1/2"x1/16"(10) 5/16"x7/16"x1/8"(10)
F76579 F71960
14'X3/8"X1/16'(10) I16X5/16X1/167(10) VB X VX116 (10)
F75790 F73714 F76686
F03162
O-RINGS —HYDRAULIC
W/SMALLPLASTICBOX
170 Pieces
1/4"Flat Face (10) 3/8"FlatFace(10) 172 FitFace(10) 5/8" FatFace(10) 34" FlatFace 10) 1"FlatFace (10)
F75729 F74366 F74778 F78060
- =
Drawer (Empty) |
— | O @, O
/4" Straight Thread (10) 3/8"Straight Thread (10) 1/2" Straight Thread (10) 5/8" Straight Thread (10) 3/4" Straight Thread (10) 1"Straight Thread (10)
e oSN F72744 F7933 F73004 F76036 F72980 F71468
PLASTIC
[l -1/ saightThvead 10) i 1SplitFlange (10) ll vsoitFangeio)
\ / F71662 F73483
1/2"SplitFlange(10) 34" SplitFlange (10)
F74048 F77686
F012559
CAPS &PLUGS — THREADED CAPS
&PLUGS il
W/METAL DRAWER ‘
145 Pieces N -
E i
1 o
Drawer (Empty) ¢ \
(10) 5 )
F01 135 F74089 F74613 F72133
METAL ol d
(10) (10) (10) (10)
F75646 F77599 F77357 F74412
(10) (10) (10) (10)
F74607 F7343 F76538 F76358
F03386
CAPS &PLUGS —HYDRAULIC
FITTINGS & .
w/ MFTAL DRAWER -3X(@5) -6X(20) 11X (15) -15X(8) 200 250(4)
316 Pieces 73820 F76501 F71967 F72823 F75375 F72325
Drawer (Empty) l ‘ Q Q ‘ ‘
F0142 325 -5(20) -10(15) -14X(10) -19(5) 240(4)
F75922 F71660 F77759 F77295 F72015 F73280
METAL l m ‘ ‘
2025 -4X(20) -OX(15) -13X(10) 18(5) 2304)
F77838 7189 F71441 F7982 F71726 F74635
-1(25) -4(20) -8(15) -12X(10) -1758) 214
F71044 F7303 F7807 F7781 F78313 F76141
Copyright © 2023

10-7-10



ASSORTMENTS
Fluid Power 7

FLUID POWER — CAPS & PLUGS (CONT.)

F012690

CAPS &PLUGS —HYDRAULIC
SERVICE PLUGS

W/METAL DRAWER

10 Pieces

Drawer (Empty)
FO1131

METAL

@ @ @ @
F78855 F78856 F78856 F78857

FLUID POWER — HOSE ACCESSORIES

F012596
FLUID POWER —HYDRAULIC
HOSE PROTECTOR F7f2) .,
W/METAL DRAWER 505 -
24 Pieces
@
F73546
Drawer (Empty) o
FO1130 a0
@
METAL F76973

@
F72373

(10) ‘

F2365

Copyright © 2023
10711



ASSORTMENTS
7 Fluid Power

Copyright © 2023
10-7-12



ASSORTMENTS

Automotive 8

AUTOMOTIVE — BODY HARDWARE

F05045
BODY HARDWARE — BODY CLIPS -
DOMESTIC I S 2 w
W/ METAL DRAWER h A e ® " 0
400 Pieces F83806 F81359 F81060 F82394 F8488 F83273
Drawer (Empty) l I ' i i
Fo142 st rotits o2 rasase o2 o502
) I F v &
METAL ¢
(15) 0 (50) (15 (15) 5)
F81041 F8535 F81959 F8541 F83337 F85210
F012756
BODY HARDWARE — BODY CLIPS -
FORD F150 TRUCKS M * Em am
W/ METAL DRAWER (10 (10 (10) (10 (10) 10)
170 Pieces F85657 F43298 F85764 F85765 F85846 F81959
" e B i s it s R
METAL E H
(10) (10) (10) (10) (10)
F82473 F85528 F84173 F82156 F86171
F03500
BODY HARDWARE — BODY CLIPS -
FORD F-150 TRUCKS '
W/METAL DRAWER (0 10) 10) [E) (10) )
. (1 (1 (1 (15) (1 (1
135 Pieces F82753 F8501 F81207 F82439 F83256 F81173
v ' vV ¥
Drawer (Empty) )
Fo142 ratars rasase a2y rasurs raztse
METAL
F03502
BODY HARDWARE — BODY CLIPS -
FORD -'—
W/METAL DRAWER (s) 25) @5 @) 25)
315 Pieces F85211 F84186 F83616 F8541 F84822 F83355
Drawer (Empty)
F0142 retato ratssn N rasazz raoos raanas
METAL E “
(10) 25 @5 25
F8501 F84649 F83273 F8535
Copyright © 2023

10-8-1



ASSORTMENTS

8 Automotive

F03504

BODY HARDWARE — BODY CLIPS -GM
2-PIECE DOOR/TRIM PANEL RETAINERS
W/METAL DRAWER

105 Pieces

Drawer (Empty)
F0143

METAL

F03501

BODY HARDWARE — BODY CLIPS -
GM TRUCKS

W/METAL DRAWER

160 Pieces

Drawer (Empty)
F0142

METAL

F012545

BODY HARDWARE — BODY CLIPS -
LATE MODEL HONDA

W/METAL DRAWER

180 Pieces

Drawer (Empty)
F0142

METAL

F03495

BODY HARDWARE — BODY CLIPS -
HONDA

W/METAL DRAWER

210 Pieces

Drawer (Empty)
F0142

METAL

10-8-2

AUTOMOTIVE — BODY HARDWARE (CONT.)

Ay 1] 32

L

White Grommet/WhitePin (5) White Grommet/WhitePin (5) YellowPin : YellowPin 5)
F8250 F81906 F85197
“P H P) ]
White Grommet/Black Pin (5) Yellow Grommet/Green Pin (5) White(15)
F8632
(> | SN (- "
White(15) Yellow(15) Yellow(15) White(15)
F83472 F82574 F81189 F8537
(10) (10) (10) (10) 6 )
F84088 F8391 F81184 F81161 F81549 F84271
e o | e
L
(10) (10) (15) (10) 15) (10)
F82468 F84680 F83618 F82266 8331 F84721
(10) 5) (15)
F84318 F84596 F84521
(10) (10) (10) (10) (10) ©
F85504 F85572 F85573 F85636 F85557 F8983
=
= - J ! ' I I
(10) ©) 5) (10) (10) )
F85525 F84156 F85472 F82471 F85487 F83456
(10) (10) © (10) (10) (10)
F82487 F85526 F83980 F85616 F85473 F85474
| a '
©) (10) (10)
F83642 F85593 F81459
(15) (15) (10) (10) (10) (10)
F82559 F8141 F85167 F83222 F81696 F856
(15) (15) (10) (10) (i0) ©)
F8448s F84196 F81218 F8425 F85055 F8404
(10) (10) (10) (10) ©) ©
F81778 F81098 F8572 F84176 F8816 F81275
) (15
F8422 F8783
Copyright © 2023




ASSORTMENTS

Automotive 8

F012550

BODY HARDWARE — BODY CLIPS -
SUBARU

W/METAL DRAWER

170 Pieces

Drawer (Empty)
F0142

F03491

BODY HARDWARE — BODY CLIPS -
JAPANESE

W/METAL DRAWER

340 Pieces

Drawer (Empty)
F0142

METAL

METAL

F011967

BODY HARDWARE — BODY CLIPS -
TOYOTA ‘B’

W/METAL DRAWER

215 Pieces

Drawer (Empty)
F0142

F03503

BODY HARDWARE — BODY CLIPS -
TUFLOK RETAINERS

W/METAL DRAWER

275 Pieces

Drawer (Empty)
F01134

METAL

METAL

AUTOMOTIVE — BODY HARDWARE (CONT.)

\ 4

(10) (10) (10) ) ) (10)
F81105 F84226 F8135 F84330 F82973 F85425
(10) (10) (10) (10) (10) (10)
F85431 F85426 F85427 F85685 F85712 F85160

N—

(10) (10) (10) (10) (10) (10)
F85683 F85436 F85713 F85714 F85684 F85686
25 25) 25) 25 25) 25)
F84a764 F82559 F8141 F84924 F82366 F8542
25 (15) (15) 15) (15) (15)
F8591 F81655 F83655 F81418 F84196 F81681

7 ' o 0’4 =

(15) (15) (15) (15) (15)

F84879 F82508 F85232 F88s1 F8939

w T v v ' '
25) (25) (25) (10) (10) (10)

F84764 F84924 F85209 F82212 F82675 F82543
(10) (10) (10) (10) (10) (10)
F83392 F84121 F83194 F84594 F82169 F83594
(5) (25)

F81737 F8851

(25) (25) (25)
F82538 F84609 F81917
(25) 5) 25)
F81785 F83109 F84952
(25) 25 (25)
F85051 F81936 F85174
25) 25)
F85133 F84160

Copyright © 2023

10-8-3




ASSORTMENTS

8 Automotive

AUTOMOTIVE — BODY HARDWARE (CONT.)

F03508
BODY HARDWARE — BODY CLIPS -
PUSH RETAINERS o 'w
w/ MFTAL DRAWER 20 20 ‘ 20 ) 0
245 Pieces F81664 F82794 F83328 F8592 F81041
Drawer (Empty) 5 (10) (10) (10 (10) | (10)
F0142 F82305 F82645 F82115 F81959 F82726 F83355
METAL ‘ ' ‘
(10) (15) (10) ) (15) (10)
F84003 F83616 F83398 F81863 F83363 F84822
(10 (10)
F8209 81173

F012012
BODY HARDWARE — NUTS * h *
(METRIC)

W/METAL DRAWER M6x25, 24mm Washer (25) M6x20,1 ) M6x19, 10) Mex35, T M6x25, 18mm Washer (25)
330 Pieces F83800 F83949 F8249 F81878 F84658
& =
Drawer (Empty) MBNut,Lrg, Washer (10) MBFlangeNut(25) MBx30,24mm Washer (15) M8x25, 24mm Washer (10)
F0142 F81307 F8186 F82386 F84826
METAL
) (25) M6Nu (25) M6, (15 M5, 11.8mmFlange (15)
F81645 F8566 F84450 F83538
M63U-Nut(15) MBU-Nut Long (15) MBU-Nut, Standard (15) M6 U-Nut Long (25) M6U-NutStandard (25)
F8905 F8243 F82831 F8728
F03505
BODY HARDWARE —RIVETS - |
AUTOMOTIVE FORD ]
W/METAL DRAWER - 0 -
180 Pieces F84391 F81752 F84469
Drawer (Empty)
(15) (15) (15 ©)
F0143 F84143 F85021 F83663 F8432
METAL l
(1) s) 15)
F8710 F8494 81722
(15) (15) (15)
F8113 F82279 F83822

F03507
BODY HARDWARE — RIVETS - : — ———
AUTOMOTIVE GM :

W/METAL DRAWER ® o 0
125 Pieces F83171 F85125 F83331
;‘-:f, ————— ]  e—
* |
Drawer (Empty) (10) (10) 10
F01134 F82722 F81860 F81201
q— w —
METAL
(10) (10) 20)
F82803 F81666 F81615

e

(10
F8113

Copyright © 2023
10-8-4



ASSORTMENTS

Automotive 8

AUTOMOTIVE — BODY HARDWARE (CONT.)

F03499
BODY HARDWARE — RIVETS - * d *
NYLON
W/ METAL DRAWER - @ @ ) )
240 Pieces F81546 F82759 F82879 F84188 F84289
Drawer (Empty) l
Fo1136 s s a0 Fos ramss
= +
METAL Y
20 )
F83725 F81202
F05046
BODY HARDWARE — RIVETS AND TOOLS -
NYLON q R —
W/METAL DRAWER ) @) 0 20) @0
241 Pieces F81546 F82759 F82879 F84188
Drawer (Empty) I
F01136 Fa(;g;s Fi(??)n Fagg)m Fa(fg’zs Fsg?ss
_)
METAL =t 7
20 0
F83725 F81202
U]
F16496
F03511
BODY HARDWARE — HOLE PLUGS -
NYLON
WI METAL DRAWER Plasticindented 1-1/2"(10)
215 Pieces F83088
Drav;eor:l ‘(II;T pty) Plastic| In:;nzt;:WE“HSP Plastic| Ir;c;l(sed 1"(15) Plasnc\n::r:::‘:rm” (15)
METAL Plastic FlushMount 1/2"(25) Plastic Flush Mount 3/4" (20) Plasticindented 3/4" (15)
F84366 F85062
| | E 23 -
PlasticLocking 1/4" (50) Plastic Flush Mount 3/8" (25) Plasticindented 1/2" (25)
F82268
F03510
BODY HARDWARE — HOLE PLUGS -
W it il w w
W/METAL DRAWER (s) 5/16/(15) 805 120
105 Pieces F81630 F83656 F8603 F8617
o o o e e
13/16"(5) 7/8"(5) 106
F81709 F81061 F83429
Copyright © 2023

10-8-5




ASSORTMENTS

8 Automotive

F03506

BODY HARDWARE — RUBBER BUMPERS -

AUTOMOTIVE
W/METAL DRAWER
77 Pieces

Drawer (Empty)
F0142

F03371

BODY HARDWARE — BODY
BOLTS - (METRIC)
W/METAL DRAWER

280 Pieces

Drawer (Empty)
F0142

F03498

BODY HARDWARE — NUTS -
GROMMET

W/METAL DRAWER

550 of Pieces

Drawer (Empty)
F0142

F03415

BODY HARDWARE — NUTS -
SPEED &PUSH

W/METAL DRAWER

800 Pieces

Drawer (Empty)
F0142

10-8-8

METAL

METAL

METAL

METAL

AUTOMOTIVE — BODY HARDWARE (CONT.)

g

-

) 5) @ )
F84856 F81101 F83287 F81056 F84811 F81489

(10) (10) ) (10) ) )
F85143 F84988 F84047 F84268 F82850 F81676

)
F8435

M10x30 M10x40
FlangeBolt(15) 28mm Washer (10)
F858

L

M8x30

-

M8x25

M8x30, 10mm Wrench

Tg

M8x30

FlangeBolt(10) 10) 23mm Washer (25)
F81423 F84826 F84031 F82386
M6x22, french M6x2: M6x28; french M6x28, M6x25
19mm Washer, Yellow Zinc (15) 19mm Washer (25) 19mm Washer, Yellow Zinc (25)
F8700 F83928 F8249 F8260 F84658
M6x20,Flange Bolt M6x20 M6x20 M6x35 M6x25
13mm Washer (25) (10) 1 ) (
F84087 F8857 F83949 F81878 F83800

g

(25) (25) (25) (25) 25 (25)
F81193 F81146 F8488 F8535 F82640 F83818
(25) @5 (25) (25) 5 25
F81681 F8141 F8542 F84764 F81033 F81394
(25) 25 (25 (25) 25 5
F82559 F81890 F85210 F8591 F82472 F8294
25 5 (25) (25)
F81579 F82366 F83821 F84436

Q

Push Retainer 1/8"(50)
F84013

©

Push Retainer 5/32"(50)
F82960

O

Push Retainer 3/16"(50)

o

Push Retainer M6 (50)
F81526

O

Push Retainer M6 Large Flange (25))
F8817

O

O

K

1/4(50) 12'25) PushRetainer 5/16"(50) TinNutLarge 1/8"(50) TinNutLarge3/16"(50) TinNut 1/4(50)
F83438 F81812 F81570 F81099 F84119
TinNutLarge 1/4"(25) Spedial TinNut 3/16"(25) Spedial TinNut 5/16"(25) 1/8"(50) 3/16'(50)
F84513 F85147 F83848 81735 F83657
#8'U'Nut(25) #8Wide'U' Nut(25) #8Long'U'Nut(25) Tube Speednut 5/32(50)
F83665 F83272 F8222 Fa1as
Copyright © 2023



ASSORTMENTS

Automotive 8

F03492

BODY HARDWARE —NUTS -
PUSH & SPEED (METRIC)
W/METALDRAWER

600 Pieces

Drawer (Empty)
F0142

F03414

BODY HARDWARE — NUTS -
U&JTYPENUTS

W/ METAL DRAWER

225 Pieces

Drawer (Empty)
F01135

F03494

BODY HARDWARE — NUTS -
U &JTYPE (METRIC)

W/ METAL DRAWER

345 Pieces

Drawer (Empty)
F0142

F03517

HOSE CLAMPS — STEPLESS EAR

W/ METAL DRAWER
320 Pieces

Drawer (Empty)
FO1135

METAL

METAL

METAL

METAL

AUTOMOTIVE — BODY HARDWARE (CONT.)

(50) (50) (50) (50) (50)
F81258 F85127 F83344 F83448 F81526 F81975
(50) 25 25 25) (25) (25)
F81338 F83122 F83116 F8197 F8858 F82530

: ° o
25) 25 5) (50)
F8247 F8759 F8817 F81843

Speed U-NutUniversal 4 2mm (10)
F8416

SpeedNut-F/048(10)

SpeedNut-F/O#80lds(15)
F82002

SpeedNut-F/O#8Chev.(15)

FoldOver NutGM-Ford #8 (35)
F8222

U-NutWide Range #8(10)

FoldOverNutGM #8(35)
F83665

Speed Nut-F/O#10(20)
F8455

Speed Nut-F/O#10 Universal (20)
F83201

Speed Nut-F/O#10-24(15)

F83967
SpeedNut-F/O#14 GM/FD/Chry (15) U-NutWide Range 1/4-14(10) Speed Nut-F/O 1/4-20(15)
F81581 F83753 F82103
-] ) £
BodyFastener BodyFastener BodyFastener SpeedNut-UMetal SpeedNut-UMetal SpeedNut-UMetal
M3.5SpireClip (20) M390) M42(15) M42(35) MA42MB#8(35) M42MB(20)
F83122 F887 F8197 F83116 F83219
-
SpeedNut-UMetal BodyFastener SpeedNut-UMetal SpeedNut-UMetal SpeedNut-UMetal SpeedNut-UMetal
M42VW/Audi (20) M48(1s) M4.8(10) M48MB (20) M48MB/BMW (35) M48GM(10)
F84828 F8651 F84628 F8610 F8858 F83717
2|
|
BodyFastener BodyFastener SpeedNut-UMetal SpeedNut-UMetal
M55(10) M56BMW (35) M63(20) M65(25)
F83381 F82530 F8247 F8759

AUTOMOTIVE — HOSE CLAMPS

M7(25) M8 (25) M10(25) M1125) Mi3(25)
F81920 F83699 F83065 F81492 F84384
N N v < QO
M14(25) M145(25) MI5(25) M157(25) M17(25)
F83889 F82713 F83441 F82216 F83451
M18(10) MI19(10) M21(10) M22(10) M24(10)
F84591 F81951 F84350 F81119 F81018
)
M25(10) M28(10)
F84742 F83246
Copyright © 2023

10-8-7




ASSORTMENTS

8 Automotive

AUTOMOTIVE — HOSE CLAMPS (CONT.)

F03520
HOSE CLAMPS — VINYL COATED
W/METAL DRAWER
90 Pieces
17(10) 1-1/4" (10)
F81953 F84401
Drawer (Empty)
1/2"(10) 5/8"(10) 3/4”1170;
METAL F84539 F84283 F8827
3/16"(10) 1/4"(10) 3/8"(10) 11/2"(10)
F84015 F84529 F82102 F84355
F03518
HOSE CLAMPS — VINYL COATED CLAMPS !
W/METAL DRAWER . H.%mgeu
90 Pieces ey F85179
1/2" Diameter/1/4" Hole (5) 1"Diameter/1/4"Hole 5) H.D.3/8" Diameter/3/8"Hole (5) H.D.7/8" Diameter/3/8"Hole (5)
F83857 F82448 F82102 F84876
7
< H.D.1-1/2" Diameter/3/8" Hole (2)
Drawer (Empty) F84355
FO1135 3/8" Diameter/1/4"Hole (5) 7/8" Diameter/1/4” Hole (5) H.D.5/16" Diameter/3/8"Hole (5) H.D.3/4" Diameter/3/8"Hole (5)
F83261 F8932 F83804 F8827
é H.D.1-1/4" Diameter/3/8" Hole (3)
METAL é
5/16" Diameter/1/4"Hole (5) 3/4" Diameter/1/4" Hole (5) H.D./4" Diameter/3/8"Hole (5) H.D.5/8" Diameter/3/8" Hole (5)
< i 1-1/4" Diameter/1/4" Hole (5) &
F81643
14" Diameter/1/4" Hole (5) 5/8"Diameter/1/4”Hole (5) HD.1/2" Diameter/3/8"Hole (5) H.D.1"Diameter/3/8"Hole (3)
F85138 F81953
F013820
CLAMPS — POWER GRIP B s 1 1 i
W/METAL DRAWER
36 Pieces = . ES ' ES a + E
- 44 4 3/8"(4) 4 24 4+ 5/8" (@) .
B F710519 T F710520 T F710521 T F710522 N
Drawer (Empty) i T + + |
FO1133 5 a + a 4 4 E
i 3/4" (4) T 8" 4 T @ T ]
METAL F710523 F710525 1 F710524 | i
114" ) 2 134" 2'Q
F710526 F710527 F710528 F710529
iz (S HOSE CLAMPS
Hose Clamp Rack Hose Clamp Rack Hose Clamp Rack
(Empty) (Empty) (Empty)
F012258 F012257 F012257
HOSE CLAMPS — STANDARD HOSE CLAMPS —NORMA
HOSE CLAMPS — STANDARD FO11932 F012264
F012259 Sizes: #4, #5,#10,#12, #16, #20, 424, #28, #32, #36 Sizes: M8-12, M10-16, M12-20, M16-25, M20-32, M25-40,
Sizes: #40, #48, #52,#36, #72 Pieces: 120 clamps + rack M32-50, M40-60, M60-80, M70-90
Pieces: 50 clamps + rack See clamp section for more details. Pieces: 151 clamps + racks
See clamp section for more details. 6mm Driverincluded
HOSE CLAMPS — STAINLESS Seedl ction f details.
HOSE CLAMPS — STAINLESS FO11933 ee clamp section for more aetaills.
F012260 Sizes: #4, #6, #10,#12, #16,#20, #24, #28, #32, #36
5[2855 #40, #48, #52, #56, #72 Pieces: 120 clamps + rack
Pieces: 50 clamps + rack See clamp section for more details.
See clamp section for more details.
Copyright © 2023

10-8-8



ASSORTMENTS

Automotive 8

AUTOMOTIVE — SEALING WASHERS

F03151
SEALING WASHERS — COPPER
SEALING (METRIC)
W/SMALL PLASTIC BOX
300 Pieces
- (o O O O O O
Drawer (Empty) |
FO12112 M6X10(25) M8x12(25) MI0x14(25) MI0X16(25) MI2x16(25) MI2X18(25)
F84611 F84279 F81321 F8864 F82405 F81938
MIax18(25) M14x2005) MIax2205) MI6x22(05) Migx24(25) M19x26(25)
81571 F84442 F83886 F84462 F81480 F85192
F03440
SEALING WASHERS — FIBER o o o (o] O (o) O
W/METAL DRAWER Max8(10) Msx9(10) M6x10(10 M6x12(10) M8x12(10) MBx14(10) MI0X14(10 Miox16(10)
270 Pieces F82444 F84996 F81225 F81342 F83286 F83991 F84608 F82604
MI2x76(10) MI2x18(10) M12x19(10) MI2x24(10) MIax18(10) M14x20(10) M1ax24(10) M16x20(10)
Drawer (Empty) F81078 F83749 F84782 F81918 F8469 F84038 F8653 F85108
F01137 :
MI6x22(10) M18x22(10) MIBx24(10) M20x24(10) M20x26(10) M22x27(10) M22x29(10) M24x30(10)
METAL F82798 F8195 F84354 F82453 F875 F83308 F83962 F82800
M26x32(10) M28x34(10) M30x36(10)
F81539 F83022 81334
F03438
SEALING WASHERS — COPPER
(METRIC)
wi/ METAL DRAWER M6x10(50) M6x12(50) M8x12(50) M8x14(50) MI0x14(25) MI0x16(25)
549 of Pieces F8a611 F83464 F84279 F84147 F81321 F8864
Drawer (Empty) M12x16(25) MI2x18(25) Miax18(25) M14x20(25) Miax12(25)
F0142 F82405 F81938 F81571 F84442 F83886
METAL
MI6x20(25) Mi6x22025) MIBx12(25) M18x24(25) M19x26(25) M20x26(25)
F84423 F84462 F82825 F81480 F85192 F84360
M22x27(12) M24x30(12)
F84864 F83050
F03439
SEALING WASHERS — ALUMINUM . _—
(METRIC) 3 1
WIMFTAL DRAWER M6x10(50) M6x12(50) M8x12(50) M8x14(50) MI0X 14(50) MI0X16(50)
725 Pieces F8635 F83937 F83880 F83051 81124 F81973
Drawer (Empty) M12x16(50) MI2X18(50) MI2x19(50) M14x18(25) M14x20(25) M14x2205)
F0142 F82977 F81429 F8106 84734 F81301 F83958
O . O
METAL Q
M1ax24(25) M16x20025) M16x22(25) MIBx22(25) Migx24(25) M20x24(25)
F84504 F81133 F82340 F81092 F84586 F83828
M20x26(25) M22x27(25)
F83217 F82670
Copyright © 2023

10-8-8



ASSORTMENTS

8 Automotive

AUTOMOTIVE — DOMESTIC AUTO SPECIALTY

F03669
DOMESTIC AUTO SPECIALTY — CONNECTORS -
e | e e e ) _——
VACUUM TEE’S & CAPS —
W/METAL DRAWER (10) 3/16°(10) 4 (10) (10) 8°(10)
. 1/8”(10) 3/16” (10) 1/4”(10) 5/16”(10) 3/8”(10)
243 Pieces F82464 F8854 F82044 F81983 F8720
Drawer (Empty) l I i l '
F0142 18°(10) 5/32°(10) 3716 (10) 14°(10) S/16°(10) 38°(10)
F81000 F81622 F8223 F84320 F8185 F83345
METAL L
3/16”x3/16”(10) 1/47x1/47(10) 3/87x3/87(10) 12°(3)
F8314 F81841 F8115 F84717
= = o= o =
18" (30) 3716 (30) 14 20) 5/16°(10) 38°(10)
F81266 F82100 F81003 F83819 F85194
F03365
DOMESTIC AUTO SPECIALTY —
DRAIN PLUGS & COPPER WASHERS i
WIMETAL DRAWER M12x1.75(3) M14x150(3) M14x1.2503) M14x1.50(3) M16x1.50(3) M18x1.50(3)
211 Pieces F81417 F82497 F8289 F81992 F83298 F84125
Drawe0r1(4Ezmpty) 1/23/4AF(3) /220916 A/F (3) 1/2-20Escort (3) M12x1.5BMW (3) MI12x1.25, M14AFF (3) M12x1.25,MI9A/F (3)
F F81077 F81066 F8687 F82408 F83534 F82221
METAL : O O
Non-Asbestos Crush Non-Asbestos Crush CopperSealingWasher 14mmVAMAC/
WasherM12x 18(25) WasherM14x20(25) M16x24(25) ‘Steel Drain Seal (25)
F82783 F81428 F83683 F8181
Toyota SealingWasher Fiber Fiber Seali
MI2x24x2(25) 1205 MI42x24(25)
F81918 F81599
F03364
DOMESTIC AUTO SPECIALTY — DRAIN PLUGS
& COPPER WASHERS (METRIC) Y |
W
wl METAL D RAWE R M12-1.5,177mmW.AF.(5) M14-1.50,19mmWAF.(5) M12-1.25, 14mmWAF.(5) M12-1.5,13mmWAF.(5) M14-1.50,13mmW.AF.(5)
213 Pieces F81981 F83706 F8561 F861 F84183
Riaver(Empty) M14-1.50, 13mmWAE5) MI215, 11/16"WAF.5) M141.50, 13mmWAF.(5) MI4150(5) MI61.50, 17mmWAF.5)
F01135 F8313 F82408 F81504 F82073 F84240
METAL ﬂ : O O
M18-1.50,17mmW.AF.(3) M12x16x1.5 Copper (20) M12x18x 1.5 Copper (20) M14x18x 1.5 Copper (20)
F83432 F82405 F81938 F81571
M14x20x 1.5 Copper(20) M14x24x1.5 Aluminum (20) M16x22x 1.5 Copper (20) M18x22x 1.5 Copper (20) M22x27x1.5 Copper (20)
F84442 F84504 F8a462 F82825 F84864
F03633
DOMESTIC AUTO SPECIALTY — PIGTAILS
FORD HARNESS REPAIR
W/ METAL DRAWER
8 Pieces
Drawer (Empty)
F01 43 Voltage Regulator Conn. 86+ (1) Fuel Pump Relay 82+ (1) Headlamp Switch Conn, ‘85+(1) Ignition Coil Conn. 86+ (1)
F2403 F22566
——
oy
—
—
=
METAL e = Y /
Ignition Switch Conn. 86-+(1 Alterator Connector(1) Taurus/Sable HDLMP.Switch (1) EGAR Sensor Connector(1)
260 F23197 21019 F22837
Copyright © 2023

10-8-10




ASSORTMENTS

Automotive 8

AUTOMOTIVE — DOMESTIC AUTO SPECIALTY (CONT.)

F03631

DOMESTIC AUTO SPECIALTY — PIGTAILS
UNIVERSAL LIGHTING

W/METAL DRAWER

18 Pieces

Drawer (Empty)
F01134

METAL

F03634

DOMESTICAUTO SPECIALTY — BULBS
MINIATURE AUTOMOTIVE

W/METAL DRAWER

90 Pieces

Drawer (Empty)
F01133

METAL

F03626

IMPORT AUTO SPECIALTY — STARTER/
ALTERNATOR PARTS ASIAN

W/ METAL DRAWER

33 Pieces

Drawer (Empty)
F01134

METAL

F03425

DOMESTIC AUTO SPECIALTY — SHIMS -
ALIGNMENT ZINC PLATED

W/ METAL DRAWER

360 Pieces

Drawer (Empty)
F01135

METAL

—+ vt

Single Contact Pigtail (2)
F21386

===

Double Contact Pigtail (2)

=

Headlamp Sealed Beam 3 prong (2)

::(ﬁ)

Pigtail for Bulb #194 (2)
F21420

é—_%(?'

Side Marker Socket for Bulb #194 (2)

PigtailforBulb #9004 (2)
F23194

—3=

Pigtailfor Bulb #9005 (2)
F2786

Pigtailfor Bulb #9006 (2)
F23501

&

InstrumentPanel Cluster 5/8”(2)
F21030

e

Y

#3157(10)
F22579

#194NA-AMBER(10)
F290

"

==

3

#194(10)
F23405

#67(10)
F22066

o

#2057(10) #1156(10) #1157 NA-AMBER(10) #1157(20)
F22819 F22238 F23173
ND Sol Plunger ST-0821A (1) ALTBrushNDSide Wire (2)
F83282 F84647
NDSolenoid Contact Right SZ0180CL (6) NDSolenoid ContactLeftND-726A (6) NDSolenoid ContactND727(6)
F81360 F83579
NDSolenoid ContactND724(6) ND Solenoid Contact 2pc(6)
F82516
1132'25) 1/16'25) 1/8"Q5) 132'25) 116'25)
F83260 F85070 F82341 F81943 F82291
3/16"(10) 1/16'(25) 1/8"(25) 1/32'(25)
F84323 F81353 F83667 F84638
|
116"Q5) 132'25) 116'25) 1/8'25)
F83751 F85095 81784 F81823

Copyright © 2023

10-8-11




ASSORTMENTS

8 Automotive

F03661

WHEEL & TIRE — TIRE REPAIR
DRAWER

W/ METAL DRAWER

100 Pieces

Drawer (Empty)
F01133

METAL

F03662

WHEEL & TIRE— TPMS KITS
W/METAL DRAWER

145 Pieces

Drawer (Empty)
F0142

METAL

F03370

WHEEL & TIRE— WHEEL NUTS
W/METAL DRAWER

66 Pieces

Drawer (Empty)
F0142

METAL

F03367

STUDS —ENGINE
W/METAL DRAWER
62 Pieces

Drawer (Empty)
F01135

METAL

10-8-12

AUTOMOTIVE — WHEEL & TIRE

Cemical Vul. Cement8oz. (1)

T-HadleProbe (1)
F83797

Tire Plug4” Fat Brown (1)

Tire P\ug4 Fa\ Bmwn( )

1-1/4"X.625 Valve Stem (3)

2'X453Valve Stem (3)
F8690

F83732

1-1/2"X 453 Valve Stem (5)

31/8"TubePatch(5)
F83998

TireValve Repair Tool 1)

1-1/4°X 453 Valve Stem (5)
F82834

THandleTirePlug Tool (1)
F83572

2:3/16TubePatch (5)
F82133

114" Valve Enensmn 5)

1"X453Valve Stem (5)
F8788

1-3/4Tube Patch (10)
82284

3/4'Valve Extension (5)
F84190

Valve Cap(10)
F81674

-4

F85237

AL

Valve Core(25)

&0

e

Chrysler/Dodge &) Ford(8) M@ G“"sz‘:":“:"’g’?;y"" Chrysler, GM, Imports 8)
F81678 F82097 F81946 F82881
F82846
ol | @ o
Nissan, /Inﬁanm(ks/ Suv's(8) @) Honda/AcuraHy
F83488 F84601 F82601
Toyota/Lexus (8) Toyota/Lexus(8) LexusSC43002-'05(4) w(g) MercedesBenz(4)
F8707 F8625 F81214 F82885 F81967

A

—

TPMSHighTempValve Core(20) |  TPMSValve Cap Gray Plastic 20) TPMSValve Core
Fotes TorqueTool ()
F8573
7/16-20x3/4" 7/16-20x3/4" 1/2-20x3/4" 1/2-20x13/16" 1/2-20x13/16" |/2 ZOXB/WB"
Cone® Cone(® Cone®®) Cone® Cone®
F8179 F81354 F8asss F82884 F84839 F81385
1/220x3/4" 1/2:20x3/4" 1/220x3/4" 9/16-18x1-1/16" 3/410x11/4" 12mm-1.5x19mm
PNUE) PNULE) PNt() Cone Fiat () Cone)
F82617 F8948 F81335 F84275 F84140
12mm-1.5x19mm 14mm-1.5x22mm 12mm-1.5x19mm 12mm-1.5x19mm 12mm-1.5x21mm 12mm-1.5x19mm
PNUE) PNUtG) PNtG) PNUE) Cone® PNULA)
F84635 F84554 F84965 F83850 F83840 F8820
14mm-1.5x19mm
Pist(10)
F8201

AUTOMOTIVE — STUDS

12'x3" ()
F8451

12'%x21/2'3)
F82235

1/2'x21/4" 3)
F83712

12'x2'3)
F8s514

7N6'x3" ()
F81432

7N6'x21/2"3)
F83912

762" 3)
F84193

716"x13/4" 3)
F84650

716"x11/2" 3)
F84041

38'x21/2'(5) 38'x2'(5) 3/8'x134°(5) 3B'X11/2'(5)
F83250 F82457 F83863 F82458
" e fe
5/16'x2"(5) 5/16'x11/2"(5) 5/16"x1-1/4"(5)
Fe7m F8629 F84346
Copyright © 2023




ASSORTMENTS

Automotive 8

AUTOMOTIVE — STUDS (CONT.)

F03366
STUDS —DIN AND JIS
(METRIC) OVET | CHRRMOE | oo | cossemme  pwTTSSSS | guEmmmm
wi/ M_ETAL DRAWER M10x15(10) MI0x15(10) M6x10(10) M6x10(10) M8x125(10) M8x125(10)
120 Pieces Fas85 F85061 F83309 F83638 F83605 F84932
Drawer (Empty) MBx125(10) M6x10(10) M8x1.25(10) MBx125(10) MI0x125(10) MI0x125(10)
F0142 F83641 F83412 F81899 F13118 F84998 F83440
METAL
F03368
STUDS — WHEEL INCH m = r—
(METRIC)
7620x11/2" 1220017732 12200134 1/2:20x119/32" 1220x2" 916-18x321/64"
W/METAL DRAWER K72 Ko 535 Kourt 620 Kot 673 Keurt 585 Kourt 677
44 Pieces Shoulder: 11/32"(2) Shoulder:5/16(2) Shoulder:11/32"(2) Shoulder:9/16(2) Shoulder:34(2) Shoulder:3732'(2)
F81821 F82451 F81558 F82148 F81766 F82584
M1215x37m MI215x415: MI2125x3251 MI215x41 MI215x375 MEX214 Q)
Drawer (Empty) Knurt 1a2omm Kout 73 Kourt 12830 Knurt 1454mm Koutt- 12500 Fa3as1
F0142 Shoulder:8mm (2) Shoulder: 1273mm (2) Shoulder: 12.83mm (2) Shoulder: 13.5mm (2) Shoulder: 13mm (2)
614 F81374 F8266 F83100 F897
METAL M1215x42mm M1215x40mm MI215x395mm MI215x41.5mm M1215x42mm 12'x22'Q)
Knurk 1445mm Knurk:14.20mm Knurk:12.50mm Knurk 14.25mm Knurk1308mm 82235
Shoulder:11.5mm (2) Shoulder:8mm (2) Shoulder: 11.5mm (2) Shoulder: 14mm 2) Shoulder:12.5mm (2)
F81772 F83320 FB1566 F83917 F84823
AL [
MI215x46.5mm M12:125x41.5mm M14-1.5x45.5mm I410x278' Q)
Knurk 15.55mm Knurk1283mm Knurk 16mm F82120
Shoulder:75mm (2) Shoulder: 14mm (2) Shoulder.8.5mm (2)
F8636 F84107 F81453
F03654
AUTO HOSE & TUBING — NYLON
FUEL LINE CONNECTORS ;
W/METAL DRAWER
12 Pieces U] U] U U]
F8164 F84519 F85213 F81518
Drawer (Empty) b P
F0143
(U] U] U] U]
F8643 784203 F81248 F81403
F81422 F84467
U] U]
F82492 F8882
F03656
AUTO HOSE & TUBING — VACUUM &
FLUID CONNECTORS A ey
W/ METAL DRAWER I8'x3/B(10) /4 X1/4(10) 38'x3/8(10) Z (10) 38X 1/4(10)
N 'x3/8(10 X 1/4(10) x3/8(10) X316 (10 X 1/4(10)
115 Pieces F8314 F81014 F8115 F82465 F8822
Drawer (Empty) :
3167(10) 14°(10) 5/16°(10) X UEX3NE'(5)
F0142 F8121 F82954 F81220 F82190
METAL '
316'5) IEXIE X6 (5) 316'%3/16'%3/167(10) &I X1(5)
F82270 F85072 F84110 F81787
6
F83576
Copyright © 2023

10-8-13




ASSORTMENTS

8 Automotive

AUTOMOTIVE — GREASE FITTINGS

F05036
ACSERVICE & REPAIR — GREEN O-RINGS -
FORR-134 REFIGERANT SYSTEMS '0) @ ( j )‘ )
w/ M_ETAL DRAWER 3/16x5/16x1/16(30) 1/4x3/8x1/1630) 5/16x7/16;<1/16(30) 3/8x1/2x1/16(30) 716x9/16x1/16 30)
375 Pieces F8444 F8232 F83500 F82250 78836
Drawer (Empty) V2x5Bx¥3260) 9/16x11/16X1/1630) 5/8x3/4x1/16(30) 11/16xX13/16X1/16(30) 3/4x7/8x1/16(30)
F01135 F85161 F83786 F84599 F84077 F81691
\
METAL 7/16x5/8x3/32(30) 13/16x1-1/6x1/8(25) y4x9§x3ﬁ2[20)
F84062
F03663
AC SERVICE & REPAIR — SERVICE O . .
KIT FORD AND GENERAL
APPLICATIONS « inglock | ¢ inglock | G inglock | G ingLock FordOval Cut GreenORing ServiceValveCap ServiceValve Cap
38(15) 172(19) 5/8(15) 34(15) O-ing(10) (R134-910(15) 3/16Filing (15) 1/4Filing (15)
WI M ETA L DRAWE R F81398 F83692 F83120 F81500 F82329 F84062 F8809 F8189
437 Pieces
Drawer (Empty) GreenORing GreenORing GreenORing GreenORing GreenORing GM#8 Captured Service Viave Cap ScrewValveCap
FO1137 (R1341011 15) (R1341013(15) (R134-015(15) (R134-017(15) (R134-018(15) ORing(15) 134HighSide(15) 134LowSide(15)
F83500 F8836 F83786 F84077 F81691 F85037 F8353 F82590
METAL o O O O O ‘ o
GM#6 Fixed Orifice Tube GreenORing GreenORing GreenORing GreenORing ‘GM#10Captured GM#12 Captured
CapturedORing (15) ORing(15) (R1341012(15) (R134-014(15) (R134-11115) R134:211(15) ORing(15) ORing(15)
F82265 F83922 F82250 F85161 F8518 F81205 F8442 F83893
<am- e @ o = (") T |l
Valve Core Valve Core GM 134 Primary Ford/GM/JA A/CCan A/CCharging A/CValve Valve Core Test
Standerd (10) LargeBore (5) SealFitting (3) ImportValve (3) Tapping Gasket (20) Hose Gasket 20) Core Depressor (20) 3/8(1)
F85083 F8562 F82136 F84891 F81315 F82005 F83494 F8969
F03188
GREASE FITTINGS — (INCH)
W/SMALL PLASTICBOX
180 Pieces 0 &
i i (10) i ong(10) 1/4"28 Straight Extra-Long (10) 1/4"2845°(10) 1/4"2890°(10)
F84365 F81446 F83218 F84939 F83698 F81405
=
Drawer (Empty) |
Drawer Number '
9
EEEES 2‘*:
\ = 1/8" PipeStraight 10) 1/8" PipeStraight Long (10) 1/8"Pipeds°(10) 1/8"Pipe6s°(10) 1/8"Pipeg0°(10) 1/8" PipeSelfTap(10)
— F83080 F84792 F81441 F83849 F83766
PLASTIC
3/16' Straight Drive Type (10) 114" Straight Drive Type (10) 5/16"Straight Drive Type(10) 4P i 34824 Straight (10)
F81347 F83669 F82547 F84814 F85004
F05057
GREASE FITTINGS — INCH & METRIC @
W/METAL DRAWER = D
122 Pieces .
1/8"4-Jaw Couple (1)
F4965
J— S & & £ | ,
D rawer (E m pty) 1/4-28” Straight Extra 1/8701/4-28” Adapter (1) 1/8”x1-3/4” Straight 1/8” Pipe90°(5) 5/16" Drive (5) M6-1090°(5) M8-1.090°(5) MI0-1.090°(5)
Fo‘l 137 Long(5) F85180 Long(5) F83849 F83669 F84225 F84580 F84079
F84939 F84792
METAL m - ‘ ‘ s
1/4-28” Straight Long (5) 1/4-28" Pipe90° (5) [1/8”x 1-14” Straight Long (5) 1/8” Pipe45°(5) 1/4” Drive (5) M6-1045°(5) M8-1.045°(5) MI0-1.045°(5)
F83218 F81019 F81644 F82621 F81347 F82n F83105 F83055
1/4-28” StraightShort (10) | 1/4-28” Pipe45° (5) 1/8” Straight (5) 18" Pipe30°(5) 3/16” Drive 5) M6-10Straight (5) MS8-10Straight (5) MI0-10Straight (5)
F81446 F83698 F83080 F83972 F85135 F8664 F85134 F8846
Copyright © 2023

10-8-14



ASSORTMENTS

Automotive 8

F03699

GREASE FITTINGS — (INCH)
W/METAL DRAWER

175 Pieces

Drawer (Empty)
F01135

METAL

F03698

GREASE FITTINGS — STAINLESS STEEL
(INCH)

W/ METAL DRAWER

45 Pieces

Drawer (Empty)
F01134

METAL

F03187

GREASE FITTINGS — (METRIC)
W/METAL DRAWER

110 Pieces

Drawer (Empty)
F012112

METAL

F03697

GREASE FITTINGS — (METRIC)
W/METAL DRAWER

90 Pieces

Drawer (Empty)
F01134

METAL

AUTOMOTIVE — GREASE FITTINGS (CONT.)

Drive Type 3/16 Straight (15) Drive Type 1/4 Straight 15) Drive Type 5/16 Straight (15) 1/8Pipe Straight (15) 1/8Pipe30D (10)
F81347 F83669 F83080 F83972
1/8Pipe45D(15) 1/8Pipe67-1/2D (10) 1/8Pipe90 D (15) 1/8PipeX-Long(5) 1/4Pipe Straight (10)
F82621 F81441 F83849 F84234 F82547
14 15) 1/4-2 ht Long(10) 1/4-28 Straight X-Long (5) 1/4-2845D Stud (10) 1/4-2890D Stud (10)
F81446 18 F84939 F83698
Drive Type 3/16Straight (5) Drive Type 1/4Straight 5) 1/4-28 Straight (5)
F85239 F8991 F8909
1/8-27 Pipe Straight (5) 1/4-18 Pipe Straight (5) 1/8-27 Pipeds° (5)
F82636 F81160 F889
1/4-2845°(5) 1/4-2890°(5) 1/8-27 Pipe90°(5)
F83024 F82958 F83166
l? H !i !%’
M6 10Straight (10) M6x1.045°(10) M6x1.090°(10) MB8x 10Straight (10) M8x1.045°(10) M8x1.090°(10)
F8664 F821 F84225 F85134 F83105 F84580
M10x 1.0Straight (10) M10x1.045°(10) M10x1.090°(10) M8x1.25 Straight (10) M10x1.25 Straight (10)
F8846 F83055 F84079 F82680 F8177
MI0x1STR(10) MI0x145°(10) MI0x190°(10)
F8846 F83055 F84079
M8x1STR(10) M8x145°(10) M8x190°(10)
F85134 F83105 F84580
'} IE l%
M6x1STR(10) M6x145°(10) M6x190°(10)
F8664 F8211 F84225
Copyright © 2023

10-8-15



ASSORTMENTS

8 Automotive

AUTOMOTIVE — GREASE FITTINGS (CONT.)

F03696
GREASE FITTINGS — STAINLESS STEEL e i
(METRIC) ﬁ [

WI METAL DRAWER M6x1STR(5) M6x145°(5) M6x190°(5)
45 Pieces v i rostn
Drawer (Empty) & g !

M8x1STR(5) M8x145°(5) M8x190°(5)
F01134 FEZS‘S( FBZSZS( F84063 )
METAL i f ?
M10x1STR(5) M10x145°(5) M10x190°(5)
F83795 F83018
Copyright © 2023

10-8-16



ASSORTMENTS

Security 9

F03554

KEYS — KEY BLANKS - GENERAL DOMESTIC
W/METAL DRAWER

200 Pieces

Drawer (Empty)
F0142

METAL

SECURITY — KEYS

!

GM DealerB(10)
F9216

GM DealerC(10)
F9556

(=

GMDealerE (10)
FN73

—— —

GM DealerH (15)
F9693

GMOEM (B85)(10)
F9648

GM Dealer W-Body H (B79) (10)
F9342

!
!

GML

GML

F9139

F9327

Chrysler Universal (Y154) 10)
F9825

Chrysler Universal (Y155) 10)
F9867

ChryslerUniversal (Y157) (10)
Fo73

Chrysler OEM (Y159) (10)
Fo755

I

Ford Dealer (H51)(10)
F9621

=

Ford Dealer (H50) (10)

Ford Universal (H67) (10)
F9328

(B

Ford8-Cut Universal (10)
F9669

|

Ford Universal (H60) (10)
F9627

Copyright © 2023

10-91




ASSORTMENTS
9 Security

Copyright © 2023
10-8-2



ASSORTMENTS

Organization 10

DRAWERS AND RACKS — LARGE

LARGE STORAGE DRAWERS

BoxMaterial: Cold-rolled steel

BoxFinish:  Rustandacid resistant
baked enamel paint

Insert Material: Gray high-impact plastic

compound Fo12168
Width: 18" 12 Compartment
Height: 3"
Depth: 12"
Color: Gray

Weight: 8lbs.

F012171
21 Compartment
F01130 FO1131 F0143 F01134
F115327
FO1135 FO1136 FO142 FO1137 6 Compqrtment
(Vertical)
Adjustable Drawers

F01133 - Adjustable
Comes with (9) dividers

F0177 -forextra divider

F01132 - Adjustable
Comes with (12) dividers

F0132 -forextradivider

HEAVY-DUTY LARGE STORAGE DRAWERS

Box Material: Cold-rolled steel

Box Finish: Rust and acid resistant baked enamel paint
Insert Material: Gray high-impact plastic compound
Special Features: Double latch heavy-duty handle

Width: 18"
Height: 3"
Depth: 12"
Color: Gray
Weight: 8lbs.
LARGE SLIDE RACKS Standard Standard
4-DrawerTrack  4-Drawer Roller Bearing
«  Slide Drawers have extra center brace for Slide Rack Slide Rack
added support F01124 F01126
«  Drawer-stop mechanism prevents drawer Width: 20" 20"
from being pulled out Height: 15" 15"
+ Material: Cold rolled steel Depth:  15-3/4" 15-3/4"
« Color:Gray Weight:  321bs. 40bs.
LOCKING HINGE FOR SLIDE RACK
STANDARD SLIDE
Rack Stand

«  Forusewith FO1126 rack
«  Someassembly required
Material: Cold-rolled steel

F012664 -7" (length)

Width: 20-3/8"
Depth: 16"
FO12164 -13-1/2" (length) Color: Gray
ShortLegs TallLegs
«  Secures rack contents with padlock FO1125 FO1123
(notincluded) Height: 5-3/4" Height: 15-1/8"
+ Material: Steel Weight: 13 lbs Weight: 15 lbs

- Plating:  Zinc **Set of Short Legs for stand: F03133

Copyright © 2023

F012169 F012170

16 Compartment 20 Compartment
F012172 F012173

24 Compartment 32 Compartment

F012165 F012166 F012167
6 Compartment Adjustable Adjustable
(Horizontal) (Vertical) (Horizontal)

-
-
=

Space Saver

4-Drawer Track 2-Drawer Track
Slide Rack Slide Rack
Fo1128 Fo1129

20" 20"

15" 8-1/8"

12" 15-3/4"

31 lbs. 201bs.

SPACE SAVER SLIDE

Rack Stand

«  Forusewith FO1128 rack
«  Someassembly required
Material: Cold-rolled steel
Width: 20-3/8"

Depth: 12"

Color: Gray

TallLegs
Fo1127

Height: 15-1/8"
Weight: 13 Ibs

10101



ASSORTMENTS

10 Organization

BINS & ORGANIZATIONAL PRODUCTS

- Variety of configurations «  Finished in acid-resistant and rust-resistant baked enamel (Gray)
« Heavy duty casters have a capacity of 1000 Ibs. Two casters are rigid and two swivel with « Fasteners are provided to affix the fully assembled storage cabinets and bins
locking brakes for security. Includes one handle. +  MadeinUSA

«  Rubbertray mat provides safe, secure, non-skid work surface
« Eachmodule s fabricated of prime, high quality steel

MOBILE CART CABINET/BIN/DRAWER

F03129
Components: « OverAllDimensions: 36"Hx 24"W x 34"D
F01104 Storage Bin 12 Compartment «+ Shipsin 5 cartons. Shipping weight is 180 Ibs.

F01091 Aerosol Cabinet
F01100 (2) Storage Cabinets 6 Drawer
F03123 Mobile Cart Base

MOBILE CART 48 BIN

F03128

Components: « OverAllDimensions: 32" Hx24"Wx34"D
F01107 (2) Storage Bins 24 Compartment « Shipsin 3 cartons. Shipping weightis 167 Ibs.

F03123 Mobile CartBase

FASTSERV STORAGE BINS

Material: Cold-rolled steel

Finish: Rustand acid resistant baked enamel paint
Color:  Gray

12LARGE COMPARTMENT

F01104

« Extra-wide and tall compartments

«  Idealforlarge parts like pipe fittings,
chemicals, 16 0z. aerosol cans, etc.

16 COMPARTMENT
FO1105

Width: 33-3/4"
Height: 1-1/2"

Depth: 12"
Width: 33-3/4" Weight: 251bs.
Height: 23-7/8" Compartments:

Depth: 12" 4"Wx4-1/2"Hx 11-7/8"D
Weight: 361bs.
Compartments:

8"Wx6-5/8"Hx 12D

18 COMPARTMENT 20 LARGE COMPARTMENT

Fo1113 = F01106

«  Extra-wide and tall compartments

« Ideal for large parts like pipe fittings, tools,
chemicals, 16 0z. aerosol cans, etc.

Width: 33-3/4"
Height: 19-1/4"

Depth: 12"

Weight: 38lbs. Width: 33-3/4"

Compartments: Height: 42"

5-3/8"Wx 6-3/8"Hx 11-7/8"D Depth: 12"
Weight: 55Ibs.
Compartments:

8"Wx8-1/2"Hx 11-7/8'D

Copyright © 2023
10-10-2



ASSORTMENTS

Organization 10

BINS & ORGANIZATIONAL PRODUCTS (CONT.)

24 COMPARTMENT 32COMPARTMENT
F01107 F01108
« Idealforlarge cap screws,

pipefittings, etc. Width: 33-3/4"

Height: 19-1/4"

Width: 33-3/4" Depth: 12"
Height: 23-7/8" Weight: A lbs.
Depth: 12" Compartments:
Weight: 44 bs. 4"Wx4-1/2"Hx 11-7/8"D
Compartments:

5-3/8"Wx5-1/2"Hx 11-7/8"D

36 COMPARTMENT
F01093 40 COMPARTMENT
- Features removable vertical dividers (12" DEPTH)
thatallows you to create multi-width FO1112
compartments Width: 33-3/4"
Height: 23-7/8"
Width: 23-3/4" Weight: 50 Ibs.
Height: 23-3/4" Compartments:
Depth: 4-3/4" 4"Wx4-1/2"Hx 11-7/8"D
Color: Gray
Weight: 25 lbs. (9" Depth)
Compartments: FO1111
3-7/8"Wx3-3/4"Hx4-5/8"D Width: 33-3/4"
Height: 22-1/4"
Weight: 40 lbs.
Compartments:

4"Wx4-1/2"Hx8-3/8"D

:gﬁ;)‘:?PARTMENT (40+32) 36 COMPARTMENT
F01109
FO1112 Storage Bin 40 Comp i qeb. 177797
F01108 Storage Bin 32 Comp ":ve'?t:ty Z/
F0347 Modular Hardware Kit gntas
. Depth: 12
«  40CompartmentBinand 32 Wei
" eight: 50 |bs.

Compartment Bin Compartments:

«  OverAllSize:41-1/2"Hx 12"Dx 33-3/4"W P '

4"Wx4-1/2"Hx 11-7/8"D

Copyright © 2023
10-10-3



ASSORTMENTS

10 Organization

BIN BASES

Material: ~ Cold-rolled steel
Finish: Rust and acid resistant
baked enamel paint

Color: Gray

HINGED DOOR SET

FO1110

BINS & ORGANIZATIONAL PRODUCTS (CONT.)

BASES FOR 12” DEPTH BINS

Short Tall

FO1151 F03132

Legs: Short Legs: Tall
Width: 34" Width: 34"
Depth: 12-1/4" Depth: 12-1/4"
Height: 5-3/4" Height: 15-1/8"
Weight: 13 Ibs. Weight: 15 Ibs.

BASE FOR9” DEPTH BINS
F01099

Legs: Short

Width: 34"

Depth: 9" \
Height: 5-3/4"

Weight: 11 |bs.
Forusewith: FO1111

LEGS ONLY
Fits: F01104 (12 Comp.Bin) F03133
F01107 (24 Comp. Bin) SHORT SETOF 4
F01112 (40 Comp. Bin)
Height: 5-3/4"
- Padlockattachment (Padlock notincluded) Color: Gray
«  Attached using sheet metal screws or pop rivets (not included)
Fits: F01125,F01123,F01127,F01114,
F01099, F01151, F03132
Material: Cold-rolled steel
Finish: Rust and acid resistant baked enamel paint
Color: Gray
6 DRAWER 9DRAWER 12DRAWER
F01100 FO1101 F03134

18 DRAWER
F01102

Drawers 6 9 12 18 24
Width, Inches 33-3/4" 17-1/4" 33-3/4" 33-3/4" 33-3/4"
Height, Inches 4 10-7/8" 7-3/8" 10-7/8" 14-3/8"
Depth, Inches 11-5/8" 11-5/8" 11-5/8" 11-5/8" 11-5/8"
No. of Drawers 6 9 12 18 24
Drawer Width, Inches 5-3/8" 5-3/8" 5-3/8" 5-3/8" 5-3/8"
Drawer Height, Inches 2-3/4" 2-3/4" 2-3/4" 2-3/4" 2-3/4"
Drawer Depth, Inches n-1/4" 1n-1/4" 1n-1/4" 1n-1/4" 1-1/4"
Drawer Dividers 12 18 24 36 48
Material Prime cold rolled steel interlocking and welded construction

Color Gray

Weight per Carton, Lbs. 181bs. 281bs. 341bs. 501bs. 62 Ibs.
Note: Two plastic dividers are supplied with each drawer.

Copyright © 2023

10-10-4

24 DRAWER
F01103

Extra Plastic Dividers F0147




ASSORTMENTS

Organization 10

BINS & ORGANIZATIONAL PRODUCTS (CONT.)

64DRAWER
Drawers 64 F012030
Width, Inches 25-7/5
Height, Inches 21-3/8 Material: Heavy duty steel cabinet with scooped drawers
Depth, Inches 6-3/8 made of clear polyproplene plastic which
No. of Drawers 64 will not crack or break under normal use
Drawers Width, Inches 2-1/8 Color: Gray
Drawers Height, Inches 1-7/8
Drawers Depth, Inches 5-1/2
Weight per Carton, Lbs 33

Note: Two plastic dividers are supplied with each drawer.

Extra Plastic Dividers FO157

AEROSOL CADDY

F01092 AEROSOL STORAGE CABINET

« Keep your most used aerosols close at hand
Holds 6 aerosol cans

Material: Cold-rolled steel

N Finish: Rustand acid resistant baked enamel
«  Mounting holes allow for easy F01088 F01091
- attachmenttowall ortool cart Width: 33-3/4" 33-3/4"
Height: 22-1/4" 23-7/8"
Material: Cold-rolled steel Depth: 8-1/2" 12"
Finish: Rustand acid resistant baked enamel Includes: lock&keys lockattachmentis builtin
Width: 21-1/2" (padlock not included)
Height: 5-1/4" Color: Gray Gray
Depth: 6-3/8"
Color:  Gray
AEROSOL / UTILITY CABINET
F01090
« Door can be securely locked with a padlock
« Twoadjustable shelves and keyhole slots for
WELDING ROD RACK wall mounting
F03130 Material: ~ Cold-rolled steel
+ Holdswelding rods up to 18” long in six compartments Finish: Rustand acid resistant baked enamel
« Each compartmentis 18-3/8" deep x 4" high x 5-1/4" wide Width: 19-7/8"
Material: Cold-rolled steel Height: 32-3/4"
Finish: Rustand acid resistant baked enamel paint Depth: 14-1/4" Shelffor
Color: Gray Color: Gray Aerosol Cabinet
Width: 16" F01089
Height: 8"
Depth: 18-3/8"
Weight: 181bs.
Copyright © 2023

10-10-5



ASSORTMENTS

10 Organization

BINS & ORGANIZATIONAL PRODUCTS (CONT.)

3 COMPARTMENT TUBE RACK
F01096
+  Used for low-pressure hydraulicand
shop air hose
Material: Cold-rolled steel
Finish: Rustand acid resistant
baked enamel
Width: 20"
Height: 15-1/2"
Depth: 15"
Color:  Gray
Weight: 18lIbs.

KEY STOCK RACK

F01094

« Idealfor 12" length keystock

«  Comes with keyholes for easy wall mounting
Material: ~ Cold-rolled steel

Finish: Rust and acid resistant baked enamel
Width: 12-1/4"

Height: 12"

Depth: 6-1/4"

Color:  Gray

Weight: 8lbs.

WIRE CADDY & TERMINAL STORAGE
F02182

« Heavyduty cold-roller steel

«  Durable baked enable finish

Width: 11"

Height: 16-3/4"

Depth: 7-1/2"

Color:  Gray

10-10-6

THREADED ROD RACK
F01095
« Idealfor3'or 1 meterlengths

Material: ~ Cold-rolled steel

Finish: Rust and acid resistant baked
enamel

Width: 24-1/8"

Height: 24"
Depth: 6-7/8"
Color: Gray
Weight: 16lbs.

GRAVITY FEED DISPENSER

F012675

«  Designed for use with Roloc style
abrasive discs

« 6-compartments

Width: 205"

Height: 18"

Depth: 8"

Color:  Gray

WALL MOUNT LIGHTING CABINET
F011949

« Storesautomotive lamps

«  Pulldown drawers with 32 dividers

« Top panels lifts for extra storage

Material: ~ Metal Cabinet, Styrene
Acrilonitrile Drawers

Color: Gray

Width: 19"

Height: 26-3/4"

Depth: 4"

WIRE AND HOSE SPOOL RACKS

4-Rod 2-Rod

F01097 F01098

« Forstorage of wire spools, fuel line or
vacuum line spools

«  Accommodates spools up to 6" in diameter

Material: Cold-rolled steel

Finish: Rustand acid resistant baked enamel

Width: 26-1/8" 26-1/8"
Height: 37-1/8" 21-1/2"
Depth: 6" 6"

Weight: 25Ibs. 17 Ibs.

Copyright © 2023



ASSORTMENTS

Organization 10

BINS & ORGANIZATIONAL PRODUCTS (CONT.)

VALVE SHIM STORAGE BOX

F13908

« 35compartments F012105 F012106
Material:  Polypropylene Plastic Large Clear Plastic Large Clear Plastic
Width: 10-1/2" Drawer -6 Compartment Drawer - 12 Compartment
Depth: 1-1/2" 13-1/8"Wx9"Dx 2-5/16"H 13-1/8"Wx9"Dx 2-5/16"H
Color: Orange

F012108 F012109 Fo12110
Large Clear Plastic Large Clear Plastic Large Clear Plastic
Drawer - 18 Compartment Drawer - 24 Compartment Drawer - Adjustable with/9 dividers
13-1/8"Wx9"D x 2-5/16"H 13-1/8"Wx9"D x 2-5/16"H 13-1/8"Wx9"D x 2-5/16"H

FO12111 F012112 F012113
Small Clear Plastic Small Clear Plastic Small Clear Plastic
Drawer - 6 Compartment Drawer - 12 Compartment Drawer - 18 Compartment
10%2"W x6Y2"Dx 134"H 10%2"Wx 6Y2"Dx 134"H 10%2"Wx6%2"Dx 1%4"H

W

F01122 FUEL/VACUUM LINE DISPENSER
Rack for Small Plastic Drawers FO3131
Gray -5 Drawer

An easy to use dispenser for fuel and vacuum hoses

Holds reels up to 6-1/2" in diameter

Grommets on front hold hose in place, ready for dispensing

Hinged top helps keep hoses clean

Dimensions: 12" Hx 19-1/2" W x 14" D Nominal

Designed to be able to be placed on top of a 4-drawer rack system
Ruler is painted on lid for easy measuring of hose lengths

10%"Hx 113/16 “W x 634D

Copyright © 2023

F012107
Large Clear Plastic
Drawer - 16 Compartment
13-1/8"Wx9"D x 2-5/16"H

Fo1121
Rack for Large Plastic Drawers
Gray -5 Drawer
13-1/4"Hx 13-1/2"Wx 9-1/8"D

F012114
Small Clear Plastic
Drawer - Adjustable
10V2"Wx 6%2"D x 1%4"H

WEATHERHEAD'
STEEL BRAKE LINES 10

W e e W

HYDRAULIC BRAKE LINE
STORAGE RACKS

Rack Style Part No.

U.S.3/16"™1/4" Brake Lines F0136
« Eachrack holds 42 pieces

10107



ASSORTMENTS

10 Organization

Copyright © 2023
10-10-8



	FS_10-00_TOC
	FS_10-01-01-FASTENERS
	FS_10-01-09-FASTENERS
	FS_10-01-17-FASTENERS
	FS_10-01-23-FASTENERS
	FS_10-01-29-FASTENERS
	FS_10-01-35-FASTENERS
	FS_10-01-41-FASTENERS
	FS_10-01-47-FASTENERS
	FS_10-01-53-FASTENERS
	FS_10-01-61-FASTENERS
	FS_10-01-67-FASTENERS
	FS_10-01-73-FASTENERS
	FS_10-01-79-FASTENERS
	FS_10-01-87-FASTENERS
	FS_10-01-93-FASTENERS
	FS_10-02-01-Electrical
	FS_10-02-07-Electrical
	FS_10-04-01-Shop Supplies
	FS_10-05-01-Abrasives
	FS_10-06-01-Cutting Tools
	FS_10-07-01-Fluid Power
	FS_10-07-07-Fluid Power
	FS_10-08-01-Automotive
	FS_10-08-07-Automotive
	FS_10-08-13-Automotive
	FS_10-09-01-Security
	FS_10-10-01-Organization

